Smooth/Low Speed Cylinders New
Reducing stick-slip in a low speedange

Smooth Cylinders Series CL1Y

Stable operation possible even at g
a IOW Speed Of 5 m m/S (Measurement based on JIS B 8377) g
Low sliding possible even in Added the CJ2Y-Z
bi-directional operation and MBY-Z series. cJ2
Can be operated regardless of the direction of pressure. cM2

Lightweight/Improved functions Interchangeable with |gg,
(New structure equivalent to the standard models) the standard models
- Better visibility for auto switches (only when the D-MICI/A9C are used in the CJ2Y-Z, CM2Y-Z, CG1Y-Z) (CJ2Y-Z, CM2Y-Z, MBY-Z, CA2Y-Z, CS2Y) MB
- Female rod end available as standard (CG1Y-Z, CM2Y-Z, CQSY, CQ2Y-Z) ’ ’ ’ ’
cJ2y-Z cma2y-z . CG1Y-Z MBY-Z CA2
(210, 216) § (220 to 940) e -A (220 tomo/())j (232 to 100) _ cQ2
> /%,'.i ’ - F - ,,_,::;"7,, o cas
™ = 3 3 o Lube-
95)) fﬁ\ é"%g Qﬁ retainer
CA2Y-Z cszy cQsy cQzy-z JA
(940 to 2100) N (2125 t0 9160) __ (912 to 925) (232 to 100) I@
» “\ )
— MGP

o0

=
2 1B

Reducing adhesion/quick extension

Low Speed Cylinders Series CLIX

(]

(LK

Smooth operation possible even at 0.5 mm/s

(1 mm/s for @16 or smaller) ?
Minimum operating pressure is reduced in half. compared o previous version) .
The new structure has improved low friction characteristics. (CM2X-Z, CQSX, CQ2X)

Improved functions Interchangeable with WFF
(New structure equivalent to the standard models) the standard models

- Better visibility for auto switches (only when the D-M9T/A90 are used in the CJ2X-Z, CM2X-2)
- Female rod end available as standard (CM2X-Z, CQSX, CQ2X)

CJ2Xx-Z
(210, 216)

CM2X-Z ) casx Clean room specification
(02010 040) A (A\2}to]a25) 8 Series 10-/11-

o

le cux

@
_ (210 to @32)

cQz2x
(932 to 9100/)/

Series CL1Y/CLIX oo

1064



Smooth/Low Speed Cylinders

1] | L]

007 Large

— ow speed cylinder \ N

G (Ex15tmg model: " @ Standard cylinder 7>

£ /| -XB9,XB13 ) Wi

o A A

® 005 | 00 de : X 2

a o8 op g speed g A c

5 o004 Replaceable g ——— — e ul;

? ESESLLC T~ 1l &

g ~Hl 2

g 0.03 g g

g y SO 3

€ o002

£ L —

= 0.01 210 need de - ode l
Reducing adhesio p Low speed opera S

01 10 100 1000

Piston speed (mm/s)

_“ Smooth cylinder

I Low speed operation (from 5 mm/s)
M Low pressure operation
W Pressure on both sides

- Pressing force control

- Balance control of winders etc.

- General low-speed operating applications
- Tension control

_g Low speed cylinder (New model)

B Low speed operation (from 0.5 mm/s)
M Low pressure operation
M Pressure on both sides
B Reducing adhesion
- Load transfer without a lateral load (Lightweight trays etc.)

- Transfer with less adhesion (Wafers etc.)
- Higher-accuracy pressing force control

_g Low speed cylinder

(Existing model: -XB9, XB13)

I Low speed operation

Function

© Smooth cylinder

_G Standard non-lube cylinder

[ General applications

@ Low speed cylinder|@ Low speed cylinder| @ Standard non-lube

(New model) (Existing model: -XB9, XB13) cylinder
@ Low pressure operation (@) 8#3;:306 A A
@ Low speed operation O o O A
© Reducing adhesion @) [©) @) A
O Reducing quick extension O [©) O A
@ Pressing force control e} 831)(;:50(5 o A
@ Low sliding O [©) @) A
©: Excellent O: Good A:Usable x: Handle with caution.
1065

N
5



series CLIY/CLX

[l Selection Procedures (Reference Example)

Transfer Thrust control, Handling, Pressing

Purposes

Thrust control length 2 mm or longer

Less than the minimum
operating pressure

Low pressure, low thrust!

The minimum operating
ressure or more
50 mmis ! 500 mmis

or more or more

[
-
(7]
©
=
>
o
=
<

Piston speed Piston speed Control stroke

Less than . Less than Thrust control length c'lz
50 mm/s Wlttlov:ts Fsganr‘:;v or 500 mm/s 100 mmls less than 2 mm Le:;e‘:‘;‘?"‘;zg‘;me“ "
—_— ormore = ————— CMZ
Low sliding je====) @@ E) Follow-up speed ) ©) Low pressure, low thrustfrss)y. )
With balancer or Less than The minimum operating| cG1
thrust control 100 mm/s pressure or more

Required ———— Required ———— Required
LowadhesionH (2] LowadhesionH (2] | Low adhesion [ (2)

Not vequivedl Not required Not rcqu\rcdl (Except CUX10)

o o o

g

(1]
>
N

28
CAN]

@ Consider using the smooth cylinder. @ Consider using the low speed cylinder (New model).
© Consider using the low speed cylinder (Existing model: -XB9, XB13).
O Consider using the standard non-lube cylinder. @ Please consult with SMC.

Wi

=
>
=

B Glossary Explanation MGP
X - — - —— coy
Average piston speed Cylinder full stroke (length) divided by air pressure operating time. coX
Adhesive phenomenon Quick extension or delay occurs when cylinders are not operated for long hours. GKD1
Thrust control Control the pressing force by controlling air pressure in the cylinder.
Balancer Cylinders move along with the moving workpiece. ﬂ(l,)KD
Balancer follow-up speed The speed of an air cylinder moving along with the workpiece at a small stroke. E |. KU
| HEHLRGUTE I (GELR  Calculate the cylinder thrust multiplying piston area by pressure. Piston area varies depending on models and bore sizes. ( )
CKQ
M Applicable Model/Bore Size CKZN
o Low?p @ Smooth cylinder @ Low speed cylinder (New model) WRF
Type Smooth cylinder
cylinder N g” model) Compact
Small [ ] [ ) [ ] CJ2-Z Model | CJ2Y-Z|CM2Y-Z| CG1Y-Z | CA2Y-Z| CS2Y | MBY-Z| CQSY | CQ2Y-Z | CJ2X-Z | CM2X-Z | CQSX| CQ2X | CUX
ERn [ ] [ ] [ ] Cm2-Z 210 | ® [ ] [ ]
[ [ ] CG1-Z 212 [ ] [ ]
[ ] [ ] MB-Z 016 | ® [ ] [ ] [ ] [ ]
Tie-rod [ ] CA2-Z 020 [ ] [ ] [ ] [ [ ] [ ]
[ ] Cs2 025 [ B ) [ ] [ ) [ ]
o [ ] [ ] [ ] cQas 232 [ K ) [ ] ® [ ] [ N )
- [ ] [ ] [ ] CQ2-z 240 oo | o [ ] ° [ ] [ ]
Free mount [ ] [ ] cu 250 [ N ) [ ] [ ] [ ]
O: Standard 063 L] (] (] ()
280 [ N ) ° ° [ ]
2100 [ K ) ° ° [ ]
0125 [ ]
2140 [ ]
2160 [ ]
P.1070|P.1084|P.1101|P.1127|P.1141|P.1112|P.1154|P.1163|P.1182(P.1196 |P.1216|P.1225 P.1240 INDEX

SMC 1066

O



Smooth/Low Speed Cylinders

Added compact foot brackets.

B Compact foot bracket has the same width as the
cylinder. Overall width reduced by up to 43% (212)

\/,_,5 J
Overall width \_Compact foot bracket

shortened

B More compact installation space possible
¢ Short pitch mounting is possible.
¢ Allows installation close against a wall.

New mnstalled state Shortened
installation width
[—— Bore |(New Compact| Existing | Reduced width for short
size foot type foot type pitch mounting (mm)
(mm) | width A (mm) |width B (mm)[ 3 unit T2 units |3 units
12 25 44 19 38 57
16 29 48 19 38 57
20 36 62 26 52 78
25 40 66 26 52 78
32 45 71 26 52 78
40 52 78 26 52 78
50 64 95 31 62 93
63 77 113 36 72 | 108
80 98 140 42 84 126
100 117 162 45 90 135
+ Short pitch mounting is possible only without auto switch.
Please consult with SMC for mounting with auto switch.

B Height from the bottom of brackets to the center of
a cylinder is the same as the existing model.

New Compact foot bracket Existing foot bracket

LH2 | J M LH1' LH HJ

Applicable Cylinders: CQSY, CQ2Y (Smooth Cylinders), CQSX, CQ2X (Low Speed Cylinders)

1067



series CLOY/CUIX

@w Part numbers with rod end bracket and/or pivot bracket available

Not necessary to order a bracket for the applicable cylinder separately
Note) Mounting bracket is shipped together with the product, but not assembled.

example) CDM2Y[C]20-50Z2- N W -moBwW

Air Cylinders

(1]
(2
~

Mounting cM2
Pivot bracket Rod end bracket CG1
Nil |None Nil |None MB
N | Pivot bracket is shipped together with the product, but not assembled. V | Single knuckle joint
= Applicable to only mounting C, T, U, E, V, and UZ. W | Double knuckle joint CA2
Kit of pivot bracket | Kit of pivot bracket With rod end bracket

and single clevis i and trunnion V: Single knuckle joint  W: Double knuckle joint

£t
Lube-
JA

example) CDA2Y [D]40-100Z- N W -M9BW

o

0

(v X~}
|}
=<

CKC1

Mounting —|_

Pivot bracket Rod end bracket C(LIKU
Nil |None Nil |None S

N | Pivot bracket is shipped together with the product, but not assembled. V | Single knuckle joint GKQ

+ Applicable to only mounting D (Double clevis) and T (Center trunnion). W | Double knuckle joint GI(ZZH

Kit of pivot bracket | Kit of pivot bracket With rod end bracket WRF
and double clevis | and trunnion V: Single knuckle joint  W: Double knuckle _ —

Applicable Cylinders: CJ2Y, CM2Y, CG1Y, CA2Y, MBY (Smooth Cylinders)
INDEX

SMC 1068

O



Series CJ2Y-Z/CM2Y-Z/CG1Y-Z/MBY-Z/
CA2Y-Z/CS2Y/CQSY/CQ2Y-Z

. Minimum operatin

cJ2y-Zz
% 10,16 0.03 1070
AR
cmzy-Z
— ' 20, 25, 32, 40 0.02 1084

CG1Y-Z

20, 25, 32, 40 0.02
1101
50, 63, 80, 100 0.01
mBY-z 32,40 0.02
1112
50, 63, 80, 100 0.01
Double
acting
CA2Y-Z 40 0.02
1127
50, 63, 80, 100 0.01
csa2y
125, 140, 160 0.005 1141

casy . 12,16 0.03
Q:Q/}/ 1154

—
L 20, 25 0.02
cQzy-Zz G 32, 40 0.02
.‘ — 1163
X / 50, 63, 80, 100 0.01
1069

O
5



Smooth Cylinder

Double Acting, Single Rod

Series CJ2Y

210, 216

How to Order

Bore size

Double-side bossed
Double clevis
Single foot
Double foot
Rod flange
Head flange

+ Foot bracket and flange bracket are shipped
together with the product, but not assembled.

QmE(riomn

With auto switch
(Built-in magnet)

Head cover port location

10 | 10 mm
H

Cylinder standard stroke (mm)
Refer to “Standard Strokes” on

page 1071.

TSmooth cylinder

16]-[60] 1Z-

-

Rod end bracket

Nil None

\' Single knuckle joint
w Double knuckle joint
T Rod end cap (Flat type)
U Rod end cap (Round type)

+ Rod end bracket is shipped together
with the product, but not assembled.
+ A knuckle joint pin is not provided

with the single knuckle joint.

Auto switch

m Without auto switch

+ For applicable auto switches,

Auto switch mounting type

“ Rail mounting
| B | Band mounting

refer to the table below.
" . # For rail mounting, screws
Nil Per?()er;d!gular § - _ Pivot bracket Number of and nuts for 2 auto switches
Xi \ Nil None - come with the rail.
auto switches
‘ N ‘Pwm bracket p ‘  Refer to page 1082 for auto
i 2 3 switch mounting brackets.
R Axial \( # Only for CJ2D (double clevis) "gl 1 pes, 9
\\ . + Pivot bracket s shipped together with the product, but not assembled. pC. Made to Order
n “n” pcs. -
= For double clevis, the product is perpendicular to the cylinder axis. Refer to page 1071 for details.
# For double-side bossed, the product is perpendicular to the cylinder axis. N N
" e 4 + Refer to “Ordering of Cylinder A ” on page 1071. ‘

Applicable Auto Switches/Refer to the WEB catalog or Best Pneumatics No. 3 for further information on auto switches.

Air Cylinders

Blectica ES3 Wiri Load voltage Auto switch model Lead wire length (m) B 3| Aoplicabl
0 9 lectrical | 5 iring 5 - - re-wire pplicable
Type| Special function 5 Band mounting Rail mounting 05| 1135 [Noe E([)KD
enti £ | (Output ¥ connector load
Y ||| Ge AC  [Fependdar] _in-ine | Pependovar]_indine | (NI) | )| )| @) | (N)
3uire (NPN) MONV M9N M9INV M9N ® | ® @ O|—| O . C(LIKU
= commet | [swepw)] V12V MOPV | MoP | MOPV | MoP | e |@|e|o|—| o | ot Y
= . M9BV M9B M9BV M9B ® | ® @ O|—| O
2- 12V .
H Connector wire = H7C J79C = o — o0 0 — cKo
<]
= 3-wire (NPN) MONWV | MONW | MONWV | MONW | @ (@ | @ O —| O
3 i icati 5V,12V IC it
= D(‘é”‘%';‘l’:r“f" l;g;?;':)” Yes| 3ie PNP) [24 V — | M9PWV | M9PW | MIPWV | M9PW | e |[e@|e O [—| o | ™" CKZ2N
s 2-wire 12V M9BWV | MOBW |M9BWV | MOBW | @ (@ | @ O|—| O —
® ] Grommet | | 3vire (VPN) MONAV™ | MONA™ [MONAV** MONA™ | O |[O [@|O|—| O ] WRF
B | Water resistant - 5V,12v PR " o *X IC circuit
S | (2-color indication) 3-wire (PNP) M9IPAV**| MOPA** |MOPAV**| MPA™* | O |O |@ | O |—| O
Ll 2-wire 12V MYBAV**| M9BA** |MIBAV**| M9BA*™*| O |O |@|O|—| O —
Wihdiagnosic ovput (2o0orndifon) 4-wire (NPN) 5V,12V — H7NF — F79F [ ) ® | O|— O |ICcircuit
3-wire
::g (Pleiaen)| — 5V — A9V A96 A%6V A% ® | —|®| —|—| — |[Corut] —
H commet| — | 200v - - AT2 A72H | ® o —|—| — | _
° —_— L 100 V A93V A93 A93V A93 [ ] [ ] - —
= INo| e 1oy |100Vorless| A90V A90 A90V A90 ® |—|®|—|—| — [Ccicut|Relay,
] Yes 24V — — C73C | A73C — o —ejej®| — | — |PC
2 Connector |No 24V or less — C80C A80C = ® | —|®/® ® — Coiut
Diagnesicndicaon (<olorindiaion) | Grommet | Yes — — — — A7T9W = ® —| & —|—| — —
=+ \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
= Lead wire length symbols: 0.5 m Nil (Example) MONW
im M (Example) MONWM
3m L (Example) MONWL
5m Z (Example) MONWZ
None N (Example) H7CN
= Since there are other applicable auto switches than listed above, refer to page 1083 for details.
= For details about auto switches with pre-wired connector, refer to the WEB catalog or Best Pneumatics No. 3. INDEX
= Solid state auto switches marked with “O” are produced upon receipt of order.

* The D-A900/MIOOC/A700/A800/F700/J700 auto switches are shipped together, (but not assembled). (For band mounting, only the auto switch mounting brackets are assembled before shipment.)

1070




Series CJ2Y

Specifications
———
Bore size (mm) 10 \ 16
Action Double acting, Single rod
Fluid Air
Proof pressure 1.05 MPa
Maximum ing pressure 0.7 MPa

Ambient and fluid temperature

Without auto switch: ~10°C to 70°C (No freezing)
With auto switch: —10°C to 60°C 9

Symbol Cushion Rubber bumper (Standard equipment)
v Lubrication Not required (Non-lube)
Rubber bumper Stroke length tolerance °
Piston speed 5 to 500 mm/s
. [ ot0 0.035 J
Allowable kinetic energy ‘ 216 0.090J
Minimum Operating Pressure
—
Unit: MPa
I Bore size (mm) I 10 I 16 |
\ Minimum operating pressure \ 0.03 \
to
made ’l Made to Order Standard Strokes
(For details, refer to pages 1247 to 1264.)
Symbol Specifications Bore size (mm) Standard stroke (mm) Maximum stroke (mm)
XA | Change of rod end shape 10 15, 30, 45, 60, 75, 100, 125, 150 400
XC3 | Special port location 16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 400
? p - - - Note 1) Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)
-XC9 | Adjustable stroke cylinder/Adjustable retraction type Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air

Mounting Brackets/Part No.

Cylinders Model Selection” on front matter pages of the Best Pneumatics No. 2 or the
WEB catalog. In addition, the products that exceed the standard stroke might not be able
to fulfill the specifications due to the deflection etc.

Mounting Bore size (mm) . .
bracket 10 16 Mountlng and Accessoriesror details, refer to page 1077.
—
Foot CJ-Lo10C CJ-L016C @---Mounted on the product. O---Please order these separately.
Flange CJ-Fo10C CJ-Fo16C - - Double*
T-bracket® CJ-T010C CJ-T016C Mounting Basic Foot Flange s
= A T-bracket is used with double clevis (D). S [Mounting nut ° ° ° —
% Rod end nut [ ) [ ] [ ] [ ]
5 | Clevis pin — — — [ ]
Single knuckle joint o o o [©)
é Double knuckle joint* o o o @)
& |Rod end cap (Flat/Round type) @) o o [0}
T-bracket — — — o
= A pin and retaining rings are included with double clevis and/or double knuckle joint.

1071

Ordering Example of Cylinder Assembly

Cylinder model: CDJ2YD16-60Z-NW-M9BW-B

Double clevis

Mounting D: Double clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

Pivot bracket

* Pivot bracket, double knuckle joint and auto switch are

shipped together with the product, but not assembled.

Auto switch
Band mounting



Smooth Cylinder
Double Acting, Single Rod

APrecautions

Aemmm mm RO OTE OO —————————————
1 Be sure to read before handling. Refer to page 1574 for Safety Instructions. I
IFor Actuator and Auto Switch Precautions, refer to “Handling Precautions !
for SMC Products” and the Operation Manual on SMC website, http:/www. I
1 Smcworld.com 1
4

L el e e e e e T I

\ Mounting
ACaution

1. During installation, secure the rod cover and tighten by applying an appropriate tightening
force to the retaining nut or to the rod cover body.
If the head cover is secured or the head cover is tightened, the cover could rotate, leading
to the deviation.

2. Tighten the retaining screws to an appropriate tightening torque within the range given be-
low. Apply a Loctite® (no. 242 Blue) for mounting thread.

Bore size | Proper tightening torque for mounting thread (N-m)
(mm) (Tightening torque for mounting nut)
10 3.0t03.2
16 54105.9

3. To remove and install the retaining ring for the knuckle pin or the clevis pin, use an appro-
priate pair of pliers (tool for installing a type C retaining ring).
Especially with 210, use ultra thin pliers.

4. In the case of auto switch rail mounting type, do not remove the rail that is mounted. Be-
cause retaining screws extend into the cylinder, this could lead to an air leak.

Weights
——
()
Bore size (mm) 10 16
Basic 22 46
Basic weight Axial piping 22 46
(When the stroke is zero) | Double clevis (including clevis pin) 24 54
Head-side bossed 23 48
Additional weight per 15 mm of stroke 4 7
Single foot 8 25
Mounting bracket | Double foot 16 50
weight Rod flange 5 13
Head flange 5 13
Single knuckle joint 17 23
Double knuckle joint (including knuckle pin) 25 21
Accessories Rod end cap (Flat type) 1 2
Rod end cap (Round type) 1 2
T-bracket 32 50

+ Mounting nut and rod end nut Calculation: Example) CJ2YL10-45Z
are included in the basic weight. © Basic Weight..- - reeeerinniinninnn 22 (610)
Note) Mounting nut is not included o Aggitional weigh - 4/15 stroke
in the basn:_welght for the © Cylinder stroke- - 45 stroke
double clevis. * Mounting bracket weight - 8 (Axial foot)
22+4/15x45+8=42¢g

Series CJ2Y

1072

Air Cylinders

MGP
[H) §
COX
K1
Ma
Y
CKQ
CKIN

WRF

EHE

INDEX




Series CJ2Y

Dimensions

Basic (B)

CJ2YB ‘Bore size‘ - ‘Stroke‘ ‘ Head cover port location | Z

Section Y detail

¢ Mounting nut

Rod end nut NN\ Y GA  Piping port 2 x M5 x 0.8 GB__ _
& wm\ a) o
e
(]
/ N,
B3s A F|NA NB
H S + Stroke
Z + Stroke
Piping port M5 x 0.8
Head cover port location
Axial location (R)
* The overall cylinder length does not change.
¢ Refer to page 1077 for details of the mounting nut.
(mm)
Bore size A B C D F GA GB H MM NA NB NDh8 NN S Y4
10 15 | 12 | 14 4 8 8 5 28 M4x07 | 125 | 95 8.3 000 M8 x 1.0 46 | 74
16 15 | 183 | 20 5 8 8 5 28 M5 x 0.8 125 | 95 10 M10 x 1.0 47 | 75
Single foot (L)
CJ2yL ‘Bore size‘— ‘Stroke‘ ‘ Head cover port location | Z
Y¢ Mounting nut
Rod end nut NN \ F GA Piping port 2 x M5 x 0.8 GB
Cover surface ~
/ MM \ \ &
\ Q, il AR
/Cy o| > i °$ /
- o
N/ 5[ i v
} } 0
B-os
x| 5
LZ A Piping port M5 x 0.8
2x0LC X|_Y_ | .NA NB
Mounting hole H S + Stroke
Z + Stroke
Head cover port location
_ ) Axial location (R)
¢ Refer to page 1077 for details of the mounting nut. « The overall cylinder length does not change.
(mm)
Bore size A|B|C|D F |GA|GB| H |LB|LC |LH|LT |LX|LY|LZ MM NA | NB NN S | X |Y|Z
10 15 | 12 | 14 8 8 5 28|15 45| 9 |16 | 24 (165| 32 | M4x0.7 |[125|9.5| M8x1.0 | 46 | 5 7 |74
16 15 [18.3| 20 8 8 5 |28 |23 55|14 |23 |33 |25 |42 | M5x0.8 |125(9.5 | MI0x1.0 | 47 | 6 9 |75

1073



Smooth Cylinder
Double Acting, Single Rod

Series CJ2Y

Dimensions
—
Double foot (M)
CJ2ym ~[stroke|z 0
(7]
H H
Floa Y Mounting nut ¢ Mounting nut _;
(8}
Rod end nut NN Piping port 2 x M5 x 0.8 GB_ _F /NN =
Cover surface ‘\ f <
MM
' | ﬁ/
((? > o Cl2
| 4 - ’LH H =
5 -'1 = cM2
‘ LX ‘ r CG1
Lz A
4xoLC = T. MB
Mounting hole X|.Y_|.NA NB| Y |X
S + Stroke CA2
LS + Stroke
Z + Stroke Egg
Lube-
Y¢ Refer to page 1077 for details of the mounting nut. retainer
(mm)
Bore size A D F |GA|GB| H [LB|LC|LH|LS |LT |LX|LY]|LZ MM NA | NB NN S X Y z JA
10 15 | 4 8 8 5 28|15 |45| 9 | 60 | 16| 24 |16.5| 32 | M4x0.7 |125| 95 | M8x1.0 | 46 | 5 7 | 86
16 15 | 5 8 8 5 | 28|23 |55|14 |65 |23|33 | 25| 42 | M5x0.8 |[125| 9.5 | M10x1.0| 47 | 6 9 | 90 MXH
mxa
MGP
Rod flange (F) coyY
COX
CJ2YF ‘Bore size‘— ‘Stroke‘ ‘ Head cover port location | Z CKOt
Yt Mounting nut E(I.)KD
Cover surface Rod end nut NN GA  Piping port 2 x M5 x 0.8 GB "
. CILKU
MM D) —_—
Qﬂ |
O e ] 4 C cKa_
H _/ CKZ2N
FX FT Bos e
Fz 2% oFC A F | NA NB WRF
Mounting hole H S + Stroke
Z + Stroke
Piping port M5 x 0.8
‘
;
‘VA
Head cover port location
Axial location (R)
¢ Refer to page 1077 for details of the mounting nut. * The overall cylinder length does not change.
(mm)
Bore size A B [ D 7 FB | FC | FT | FX | FY | FZ |GA |GB | H MM NA | NB NN S z
10 15 | 12 | 14 4 8 13 |45 |16 | 24 | 14 | 32 8 5 28 | M4x0.7 |[125] 9.5 | M8x1.0 | 46 | 74
16 15 |18.3| 20 5 8 19 | 55 | 23| 33 | 20 | 42 8 5] 28 | M5x0.8 |125| 9.5 | MI0x1.0 | 47 | 75
INDEX

1074




Series CJ2Y

Dimensions

Head flange (G)

CJ2YG |Bore si

[Stroke| 2

Rod end nut GA  Piping port 2 x M5 x 0.8 GB_ ¢ Mounting nut Cover surface
NN NN
& MM a
T T i
o3 7 ¥ 1} == 7 o >
5 22 i R BE
Bos LA | | FINA NB||_|FT EX 2xoFC
H S + Stroke F Fz Mounting hole
Z + Stroke
Y% Refer to page 1077 for details of the mounting nut.
(mm)
Bore size A B [ D F FB | FC | FT | FX | FY | FZ |GA |GB | H MM NA | NB NN S z
10 15 | 12 | 14 4 8 13 |45 |16 | 24 | 14 | 32 8 5 28 | M4x0.7 |[125] 9.5 | M8x1.0 | 46 | 82
16 15 |18.3| 20 5 8 19 | 55 | 283 | 33 | 20 | 42 8 5 28 | M5x0.8 |125| 9.5 | M10x1.0 | 47 | 83
Double clevis (D)
CJ2YD [Stroke| Z
oCDH9"5*
GA Piping port 2 x M5 x 0.8 NB Clevis pin (2cdd973 58
Rod end nut GB
& MM a VY i &
/ N\ B i I, o
3 {€ Brgb- =
5 ) | 3
BSs A LNA |
H S + Stroke U
Z + Stroke R
ZZ + Stroke
# A clevis pin and retaining rings are included.
(mm)
Bore size A B C |CD(ed)] CX cz GA | GB H MM NA | NB R S u 4 zz
10 15 12 14 3.3 3.2 12 4 8 18 28 M4x0.7 | 125|225 5 46 8 82 87
16 15 183 | 20 5 6.5 | 18.3 5 8 23 28 M5x0.8 | 125 | 27.5 8 47 10 85 93

1075



Smooth Cylinder .
Double Acting, Single Rod Series CcJ2Y

Dimensions

Double-side bossed (E)

Cu2VE Bore siel— Sroke] 2

[ . .
& || Air Cylinders

CM2

Section Y detail ¢ Mounting nut
Rodendnut NN \ Y 9_5 Piping port 2 x M5 x 0.8
MM
$

Bds
%
i\
i

,_
E
=3
S

[=) . . -
s Section YY detail retainer
H S + Stroke F
Z + Stroke JA
MXH
Y¢ Refer to page 1077 for details of the mounting nut.
(mm)
Bore size A B [ D F GA GB H MM NA NB NDh8 NN S 4
10 15 12 14 4 8 8 5 28 M4x07 | 125 | 95 8.0 02 M8 x 1.0 46 82 GP
16 15 | 183 | 20 5 8 8 5 28 M5x08 | 125 | 95 10z M10x1.0 | 47 | 83

ﬂﬂﬂg
1
O EE

(LK

=2
=
==
=

LI
>

=

=5

WRF

INDEX

1076



Series CJ2Y
Dimensions of Accessories

Single Knuckle Joint

MM @NDHio

RR:

NX=8%

Material: Rolled steel

Clevis Pin

mt Li tm

oDdg

Material: Stainless steel

Knuckle Pin

mt Li tm

oDdg

8

Material: Stainless steel

Part no. " A, (L | MM |NDwio[NX| Re | Us

bore size

Incuded
relaining fing

Applcable:

tesze| 299 [d | L [Li\m

Part no.

Applicable Included
parlic retaining ing

wespe | 299 | d | L [Lijm

-

1-J010C| 10 | 8 |21 |M4x07|3.3%°*|3.1| 8 | 9

€D-J010| 10 |3335%] 3 [152]122]1.2]0.3[TypeC32

CD-J010| 10 [33:0%| 3 |152|122]1.2|0.3|TypeC32

1-J016C| 16 | 8 |25 |M5x08|50°*°|6.4| 12|14

CD-Z015| 16 |52065 |4.8|227183]1.5{0.7 | TypeC5

1Y-J015| 16 | 55080 |4.8|166(122|1.5]0.7 | TypeC5

Double Knuckle Joint

# Retaining rings are included with a clevis pin.

Mounting Nut

# For size 10, a clevis pin is diverted.
= Retaining rings are included with a knuckle pin.

Rod End Nut

d
MM oND hole Hio L d
Axis dg
7 e
LA
B2 Ha
B Hi
Material: Rolled steel Material: Carbon steel Material: Carbon steel
Partno. [f8lcable Ay | L [ Li | MM licabl Applicable
Y-J010C 10 8 [152] 21 |Méx07 Part no. b?re size B | C d H1 Part no. bors siz6 B2 | C d H2
Y-J016C 16 11 |16.6| 21 | M5x0.8 SNJ-010C| 10 11 [12.7| M8x1.0| 4 NTJ-010C| 10 7 | 81| M4x07 | 3.2
Part no. NDes | NDwio | NX | R: Us SNJ-016C 16 14 [16.2| MI0x10 | 4 NTJ-015C 16 8 |92 |M5x08| 4
Y-JO10C |3.3206%/3.30**| 3.2 8 10
Y-J016C 0000 | 50°° | 5 | 12 | 10
# A knuckle pin and retaining rings are included.
T-bracket Rod End Cap
— ——
(S + Stroke)  (U) N
=L TDs1o % Flat type/CJ-CFO OO Round type/CJ-CROOO
=]
= A MM
L
1112 T
4xoTC = RR - EI
M
: i
E
<H> Material: Polyacetal
™™ Part no. Aoplicabl
. PR A|D|L MM N R|W
Flat type |Round type | bore size
B T)pplica_ble Tc| TDwo |TH|TK|TN|TT TviTw|TX | TY| TZ CJ-CF010 | CJ-CR010 10 8 10| 13| M4x0.7 | 6 |10 8
orelsize CJ-CF016 | CJ-CRO16 | 16 |10 |12 | 15| M5x0.8 | 7 | 12|10

CJ-TO10C| 10 |4.5]3.3'0°®|29|18|3.1| 2

40(22|32|12| 8

CJ-TO16C| 16 |55| 5%%° |35|20|64|23

4828|3816 10

# A T-bracket includes a T-bracket base, single knuckle joint, hexagon

socket head bolt and spring washer.

«For dimensions of (U) and (S + Stroke), refer to the double clevis

drawing on page 1075.

1077




Series CJ2Y

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Solid state auto switch
<Band mounting>

D-M9O

D-M9CW
D-M9CIA

Auto switch
gl e
[ d=— —=04
szl s
(24)

(): Dimension of the D-M9LJA
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-MoCIV

D-M9CIMV

D-M9CIAV

=Hs Auto switch
.‘ g o, !
== 2
A.JA.‘ *LE

(22)

( ): Dimension of the D-M9CIAV
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-H70
D-H7OW
D-H7BA
D-H7NF
D-H7C
Auto switch
| !
i ==
i L
Al LB

Reed auto switch
<Band mounting>

D-A90

Auto switch

L . b, !

e =

A|| 245 ‘L .B
(@2)

(): Dimension of the D-A96
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-A9CIV

Auto switch

L i o |

Air Cylinders

CJ2

[}
[T}
-

g

CA2

retainer

B B
alzl s

A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-C701/C80
D-C73CLI/C80C

Auto switch
| !
[ p— ]
I el g
[ T
AllL LB

1078

£s
=
JA
MX

(v X~}
m|m}
<=

o= o
=|= || =
JEIE

LD
>

=

=&

WRF

INDEX




Series CJ2Y

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Rail mounting>
D-M9CI

D-M9CIW
D-M9CIA

Auto switch
.

(): Dimension of the D-M9TJA

i

235 || B
(25.5)

D-M9CIV
D-M9CIWV
D-M9CJAV Auto switch
iy
iR
215|| B
(23.5)

(): Dimension of the D-M9CIAV

D-F70J79
D-F70O0W/J79W
D-F79F/F7BA

Auto switch

Al

B
D-F7OV/IF7TOWV
D-F7BAV
D-J79C Auto switch
A .B

1079

<Rail mounting>

D-A9C]
Auto switch
@35
( ): Dimension of the D-A96
D-A9CIV
Auto switch
7} S
% ‘ T 7 =
125] |, [125 A.E 235 || B
D-A7C1/A80
D-A73C/A80C
D-A79W

Auto switch

&%

D-A7CH/A80H

Auto switch

B i =i




Auto Switch Mounting Series CJ2 Y

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

[
b
(7}
°
=
>
o
=
<

DD
2 g

g

CA2

S
PN

retainer

o

=
>
=

Auto Switch Proper Mounting Position (mm)
Auto switch Band mounting
model
D-M9C]
D-M9OIV D-c70] AL
D-M9CIW D-A9[] D-C80 D-H7NF
D-M9CIWV D-A9CIV D-C73C D-H7OW
D-M9CIA D-C80C D-H7BA
D-M9CIAV
Bore size A B A B A B A B
10 (5)6 (5)6 (1)2 (1)2 25 25 15 1.5
16 (5.5)6.5 | (5.5)6.5 | (1.5)2.5 | (1.5)25 3 3 2 2
= The values in ( ) are measured from the end of the auto switch mounting bracket.
(mm)
Auto switch Rail mounting
model D-A7CH/ASOH
D-MoT] D-A73C/A80C
D-F70/J79
D-MoW D-A9C] D-A7C] DeRTIEW 7SV
D-MICIWV D-A9CIV D-A80 D-F7OVIF7TOWV D-F7NT D-A79W
D-F79F
D-M9CIA
D-M9LCIAV Bel7aC,
D-F7BA
D-F7BAV
Bore size A B A B A B A B A B A B
10 4.5 4.5 0.5 0.5 3 3 3.5 3.5 8.5 8.5 0.5 0.5
16 5 5 1 1 3.5 3.5 4 4 9 9 1 1
* Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height
Auto switch Band mounting
model
D-M9C] D-MoCIV D-C7C1/C80
D-M9CIW D-M9oCIWV D-H7C/H7O0W D-C73C D-H7C D-A70]
D-M9CJIA D-M9CJAV D-H7NF D-C80C D-A80
D-A9C] D-A9C1V D-H7BA
Bore size Hs Hs Hs Hs Hs Hs
10 17 18 17 19.5 20 16.5
16 20.5 21 20.5 23 23.5 19.5
(mm)
Auto switch Rail mounting
model
D-m9oC]
Kikar D-A7CIH/ABOH
D-MOCIWV. D-F7C1/J79 D-A73C D-F700V
D-M9LIA D-F70O0W/J79W D-A80C D-F700WV D-J79C D-A79W
D-F7BA/F79F D-F7BAV
D-M9LJAV D-F7NT
D-A90]
D-A9L1V
Bore size Hs Hs Hs Hs Hs Hs
10 17.5 17.5 23.5 20 23 19
16 21 20.5 26.5 23 26 22

1080

=
>
=)

55

P

KOt
e

e
oK

WRF

INDEX




Series CJ2Y

Minimum Stroke for Auto Switch Mounting

(mm)
A itch Number of auto switches
Ui SV’.'”C Auto switch model § With 2 pcs. With n pcs. (n: Number of auto switches)
mounting With 1 pc. - 5
Different surfaces| Same surface Different surfaces Same surface
D-MoC] -
D-MOCIW 10 15 Note 1) 450 1) 15 + 35022 45415 (n—2)
B:'\A’IQQEA (n=2, 4, 6...) Note 3) (n=2,3,4,5)
n-2)
D-MoCIV 5 15 Note 1) 35 154355 35+25(n-2)
(N=2, 4, 6. Note ) (n=2,3,4,5-)
(n-2)
D-M9CIWV 15+35 35+25(n-2)
10 15 Note 1) 35 2
D-M9LJIAV (=2, 4, 6. Note3) (n=2,3,4,5.)
n-2
Band mounting | p-A9CV 5 10 35 10+ 35(7) 35+25(n-2)
(N=2,4,6.)Note3) (n=2,3,4,5-)
D-C70] 10 15 50 15+40("2;2) 50 +20 (n-2)
D-C80 (N=2,4,6..)Noted) (n=2,3,4,5+)
D-H7C/H70OW (n-2) -
D-H7BA 10 15 60 18+4575 60+225(n-2)
D-H7NF (N=2, 4, 6. Note ) (n=2,3,4,5+)
D-C73C (n-2) -
D-G80C 10 15 65 154507 50+27.5(1-2)
D-H7C (n=2,4,6.)Noted) (n=2,3,4,5-)
10+10(n-2
D-M9LIV 5 — 5 — o e
10+15(n—-2
D-ASLIV 5 - 10 - (n =1 64.(.;]Note)4)
D-M9(] 10 o 10 _ 15+ 15 (n—2)
D-A9(] (n =4, 6...) Note d)
D-M9CIWV 10 _ 15 _ 15+15(n-2)
D-M9CJAV (n =4, 6...) Note'4)
oW s - ° - 2R,
20+15(n—-2
D-M9[A 15 — 20 - n =t1, 64-(-) Nots)A)
D-A7[1/A80
Rail mounting | D-A7CJH/A80H 5 - 10 — 15_-;12 (I;I\L(E)A)
D-A73C/A80C (n=4,6-
D-A70H 5 _ 10 _ 15+ 15 (n—2)
D-A80H (n =4, 6...) Note d)
10+15(n-2)
D 10 - 15 - (n = 4, 6...) Note 4)
D-F70 5 _ 5 _ 15 +15 (n - 2)
D-J79 (n =4, 6...) Note'd)
D-F70IV 5 _ 5 _ 10+10(n-2)
D-J79C (n=4, 6--) Note 4)
D-F700W/J79W 10 _ 15 _ 15+20 (n-2)
D-F7BA/F79F/F7TNT (n =4, 6...) Note 4)
D-F700WV 10 _ 15 _ 10+15(n-2)
D-F7BAV (n =4, 6..)Note 4)

Note 1) Auto switch mounting

Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 4) When “n”is an odd number, an even number that is one larger than this odd number is used for the calculation.

However, the minimum even number is 4. So, 4 is used for the calculation when “n”is 1 to 3.

Auto switch model

With 2 auto switches

Different surfaces Note 1)

Same surface Note 1)

Auto switch

The proper auto switch mounting position is 5.5 mm inward
from the switch holder edge. The above A and B indicate values
for band mounting in the table of page 1080.

The auto switch is mounted by slightly displacing it in a direction
(cylinder tube circumferential exterior) so that the auto switch
and lead wire do not interfere with each other.

D-MOLC/M/9CIW/MOLIA

Less than 20 stroke Note 2)

Less than 55 stroke Note 2)

D-A90/A93

Less than 50 stroke Note 2)

Note 2) Minimum stroke for auto switch mounting in styles other than those mentioned in Note 1.

1081



Operating Range

Auto Switch Mounting Series CJZ Y

Auto Switch Mounting Brackets/Part No.

Air Cylinders

(mm)
. Bore size Auto switch 5 Bore size (mm)
Auto switch model 10 16 mounting Auto switch model 10 16
D-MQEIMQDE D-M9o[]
D-M9CIW/MOCIWV 25 3 D-MOCIV
j=
5 D-M9TJA/MOLIAV D-M9CIW BJ6-010 BJ6-016
3|D-A9C] 6 7 D-M9CIWV (Asetofa,b,c,d) (Asetofa,b,c,d)
£ |p-c7rucso/c7ac/csoc | 7 7 Deads!
° D-A9CIV
& | D-H7CI/H7OW 4 4
2 D-H7BA/H7NF D-M9[JA Note2) BJ6-010S BJ6-016S
D-HTC s 5 D-M9JAV Note 2) (Asetofa, b, d,e) (Asetofa,b,d, e)
g:mg%’mﬂ%\éwv 3 35 Band Switch bracket (Resin) /
D-MSCIA/M9OIAV : €| Transparent (Nylon) Note 1) e
mounting| ¢ [White (PBT) 2
o[D-A9LVAILIV 6 65
£ | D-A7L/AB0/ATH/ABOH 8 9 a
B RATSCAST Switch holder
s D-A79W 1 13 (Zinc die-casted) Auto switch mounting screw
D-F7C/J79/F7CIW/J79W
D-F70IV/F7CIWV/F79F 5 5
D-J79C/F7BA/F7BAV
D-F7NT I ~a

* Values which include hysteresis are for guideline
purposes only, they are not a guarantee
(assuming approximately +30% dispersion) and
may change substantially depending on the
ambient environment.

Auto switch mounting band

D-C7C1/C80
Band | D-C73C/C80C BJ2-010 BJ2-016
mounting | D-H7C/H7COIW (A set of band and screw) (A set of band and screw)
D-H7BA/H7NF
BQ2-012(S) BQ2-012(S)
(A set of a and b) (A set of a and b)
D-M9C] fel screw
D-MOCIV (Accessory)
noo )| D-MOOIW % &
Rail | D-MoCIWV BQ2-012
) D-MO[JA Note5)
mountin Y
9| D-M9TIAV Notes) X
D-A9C]
D-A9CIV b
Auto switch mounting screw| CKD1
Nut (Cylinder accessory) E([)KD
Note 1) Since the switch bracket (made from nylon) are affected in an environment where alcohol, l: I. KU
chloroform, methylamines, hydrochloric acid or sulfuric acid is splashed over, so it cannot ( )
be used. Please contact SMC regarding other chemicals. —___
Note 2) Avoid the indicator LED for mounting the switch bracket. As the indicator LED is projected cKﬂ
from the switch unit, indicator LED may be damaged if the switch bracket is fixed on the ——-—
indicator LED. cKzz"
Note 3) When the cylinder is shipped, the auto switch mounting bracket and the auto switch will
be included.
Note 4) For the D-M9LIA(V), order the BQ2-012S, which uses stainless steel mounting screws. WRF
Band Mounting Brackets Set Part No.
Set part no. Contents
* Auto switch mounting band (a)
BJ2-000 * Auto switch mounting screw (b)
* Switch bracket (White/PBT) (e)
BJ4-1 « Switch holder (d)
5 * Switch bracket (Transparent/Nylon) (c)
BJ5-1 « Switch holder (d)
[Stainless Steel Mounting Screw]
The following stainless steel mounting screw kit is available. Use it in accordance with the operating
environment. (Since the auto switch mounting bracket is not included, order it separately.)
BBA4: For D-C7/C8/H7 types
Note 5) Refer to the WEB catalog or Best Pneumatics No. 3 for details on the BBA4.
When the D-H7BA type auto switch is shipped independently, the BBA4 is attached.
INDEX

1082




Series CJ2Y

o= mmmmm e e e mmm e e m— -

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to the WEB catalog or Best Pneumatics No.3 for the detailed specifications.

Grommet (Perpendicular)

D-A80 Without indicator light

# With pre-wired connector is also available for solid state auto switches. For details, refer to the WEB catalog or Best Pneumatics No. 3.
* Normally closed (NC = b contact) solid state auto switches (D-F9G/F9H) are also available. For details, refer to the WEB catalog or Best

1 1
1 1
: Type Mounting Model Electrical entry Features I
1 Band in D-H7A1/H7A2/H7B — :
1 v D-H7NW/H7PW/H7BW Grommet (In-line) Diagnostic indication (2-color indication) 1
1 Sold state D-F79/F7PIJ79 — 1
1 Rail D-F79W/F7PW/J79W Diagnostic indication (2-color indication) 1
1 D-F7NV/F7PV/F7BY Grommet (Perpendicular) — 1
1 D-F7NWV/F7BWV Diagnostic indication (2-color i 1
q D-C73/C76 —
: o 'Y [bcso Grommet (n-ine) Without indicator light :
1 Reed D-A73H/A76H — 1
1 Rail D-A80H Without indicator light 1
1 D-A73 — 1
1 1
1 1
1 1

Pneumatics No. 3.

S |

1083



Smooth Cylinder

Series CM2Y

020, 325, 932, 340
How to Order
- im Z-
- im Z-

B cm2y(B40]
| with auto switch [o]0] | PAYI[ Y ET0)

[ . .
& || Air Cylinders

Refer to “Standard Strokes” on + No bracket is provided for the female

With ?Elittiﬁins r‘r’\?gtr?erl: Rod end thread . Mad1e t°' Order$ |GG1
" ) m Male rod end Refer to page 1085 for details.
|
- - ounting “ Female rod end MB
B Basic (Double-side bossed) Bore size i Number of auto switches
L Axial foot 20 [ 20 mm Pivot bracket . CA2
F Rod flange Nil None Nil 2 pos.
G Hoad f 25 | 25 mm S 1pc
ead flange 2 | 32 Pivot bracket is shipped —
c Single clevis 20 20 rmnrmn N | together with the product. n_ |’ pes. Egg
) Double clevis = Only for C, T, U, E, V, UZ mounting types Aut itch Lub
" + Pivot bracket is shipped together with uto switcl une-
u Rod trunnion Port thread type the product, but not assembled. - - - tai
. = [ Nil_T without auto switch | |etainer
T Head trunnion Nil Rc Rod end bracket
E Integral clevis N NPT * For applicable auto switches, JA
] ] - S Nil None refer to the table below.
ntegral clevis (90°) L7 G )\ Single knuckle joint
BZ Boss-cut/Basic — A .
FZ Boss-cutRod flangs Cylinder stroke (mm) w Double knuckle joint Built-in Magnet Cylinder Model |MXH
uz

Boss-cut/Rod trunnion If a built-in magnet cylinder without an
auto switch is required, there is no need
to enter the symbol for the auto switch.

(Example) CDM2YB20-100Z

rod end type.

+ A knuckle joint pin is not provided with
the single knuckle joint.

+ Rod end bracket is shipped together
with the product, but not assembled.

page 1085.

= Refer to “Ordering Example of Cylinder
Assembly” on page 1086.

mxa

E

Applicable Auto Switches/Refer to the WEB catalog or Best Pneumatics No. 3 for further information on auto switches. ) §
s N Load voltage . Lead wire length (m) . ]
. " Electrical |TE Wirin Auto switch model Pre-wired Applicable
b= Enezaliinelon entry ég’ (Outpugt) DC AC : Tniine &'% (l:/l) (E) (g) N(")\F)e connector load
3-wire (NPN) M9INV M9N ® | —|® O0|— o .

Grommet | [ awire (PNP) 5v,12v MOPV | MoP | e |—|e|o|—| o |co Gk
= _ 2-wire 12v M9BV M9B o |— o= o _ —_—
S Connector — H7C AN — c(L)Ku
g Terminal 3-wire (NPN) 5V, 12V — G39A | — |—|—[—|® — IC circuit
5 conduit ” 2-wire 12V — K39A — | —|—]—]@® — — Rela
: Diagnostic indication ;) Swire (NPN) | 24V 5V,12V - MONWV MONW ® 0,00 — o) IC circuit PLCyY cKn
s (2-color indication) 3-wire (PNP) ! MOPWV | MPW | @ (@ @ O | — o :
@ 2-wire 12V M9BWV | M9BW | @ (@ @[ O [¢) — CKZ2N
% Water resistant Grommet Srwire (NPH) 5V,12V MINAV=**MONA™*| O O @ O — o IC circuit 7
% | (2-color indication) 3-wire (PNP) ’ MOPAV*** | MOPA™** | O |O | @ |O |— @) WRF

2-wire 12V M9BAV*** | M9BA***| O |[O | @ | O |— o —
4-wire (NPN) 5V, 12V = H7NF ® | — ® O |— o IC circuit
@ | Suire (NPNequivdent) | — 5V — A96V A96 o — e — | — — IC circuit —
[>] 100V A93V A93 o —|0 |0 | — — —
5 Grommet |2 | 12v 100 Vorless| A90V A90 o — e — | — — IC circuit
z [E] 100 V, 200 V — B54 o —|o|0 | — — Relay,
g _ 3 200 V or less — B64 o —|0|—|— — — PLC
2 $ . — = C73C [ K 2K BK ] —
E Connector 2] 2-wire v 24V orless = C80C [ K K BK ] — IC circuit
o Terminal 12V — — A33A | — [—|—[—|@® — PLC
o« conduit | ¢ 100V, = A34A | — [—|—|—]® — — | Reta
DIN terminal | > 200 V = AddA | — |—|—|—|® — oy
Dignosic Grommet — — = B59wW | e |— @ |—|— —
== Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
+ Lead wire length symbols: 0.5 m Nil (Example) MONW = Solid state auto switches marked with “O” are produced upon receipt of order.
im M (Example) MONWM # Do not indicate suffix “N” for no lead wire on the D-A3C]A/A44A/G39A/K39A models.
3m L (Example) MONWL
5m Z (Example) MONWZ
None N (Example) H7CN
= Since there are other applicable auto switches than listed above, refer to page 1100 for details.
= For details about auto switches with pre-wired connector, refer to the WEB catalog or Best Pneumatics No. 3. INDEX
= The D-A90J0)/M90IOIO auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

* The D-C700/C800/H70 auto switches are assembled before shipment.

1084




Series CM2Y

Integral clevis

Symbol
Double acting, Single rod, Rubber bumper

B

Specifications
Bore size (mm) 20 25 32 40
Action Double acting, Single rod
Piston speed 5 to 500 mm/s
Fluid Air
Proof pressure 1.05 MPa
operating pressure 0.7 MPa

Ambient and fluid temperature

Without auto switch: -10°C to 70°C (
With auto switch: —10°C to 60°C

No freezing)

Lubrication Not required (Non-lube)
Stroke length tolerance 4 mm
Cushion Rubber bumper

All bl rate 0.5 L/min (ANR) or less

Minimum Operating Pressure

Unit: MPa
‘ Bore size (mm) ‘ 20 ‘ 25 32 ‘ 40
‘ Minimum operating pressure ‘ 0.02 ‘
Made t0 .
order | Made to Order Mounting Brackets/Part No.
(For details, refer to pages 1247 to 1264.) —
Symbol Specifications : Min. Bore size (mm) Contents (for minimum
-XALO |Change of rod end shape Mountinglbrackst order q'ty 20 25 ‘ 32 40 order quantity)
-XC3 | Special port location Axial foot® 2 CM-L020B | CM-L032B | CM-L040B | 2 foots, 1 mounting nut
-XC6 | Made of stainless steel Flange 1 CM-F020B | CM-F032B | CM-F040B | 1 flange
-XC9 Adjustable stroke cylinder/Adjustable Single clevis™* 1 CM-C020B | CM-C032B | CM-C040B | 1 single clevis, 3 liners
retraction type Double clevis 1 CM-D020B | cM-D032B | CM-Do40B 1 double clevis, 3 liners,
-XC10 | Dual stroke cylinder/Double rod type (with pin)&%, 1 clevis pin, 2 retaining rings
-XC13 | Auto switch rail mounting Trunnion (with nut) 1 CM-T020B | CM-T032B | CM-T040B | 1 trunnion, 1 trunnion nut
-XC20 | Head cover axial port # Order 2 foots per cylinder.
-XC25 | No fixed throttle of connection port 3 liners are included with a clevis bracket for adjusting the mounting angle.
### A clevis pin and retaining rings (split pins for 240) are included.
-XC27 Double clevis and double knuckle joint
pins made of stainless steel Mountlng and Accessorles
-XC29 | Double knuckle joint with spring pin
£X652 Mountllng nut “{nh set scre\(v Accessories Standard Option
-X1854 | Low friction cylinder mounting Single | Noe9 | _Noed| yaeg| Noo7
* Refer to page 1086 for "-X1854". Mounting |Rod end| Clevis Kknuckle | Double Clevis | piyot | Pivot
! nut nut pin  [<NUCKI®|knuckle| pivot bracket
Mounting joint joint | bracket | bracket| ™ pin
Basic (Double-side bossed) | @ (1 pc.) [ ] — [ ] [ ] —
Replacement Parts/Rod Seal Axal foot e | & | — | & | o | —
Rod flange o (1) [ J — [ J ] — — —
Bore size (mm) Part no. Head flange o (1) o — ° ° _
20 CM20Z-PS Integral clevis — Note 1) [ ] — [ ] [ ] [ J
25 CM25Z-PS Single clevis — Note 1) [ ] — [ J [ ] — [ J [ J
32 CM322'PS Double clevis Note 3) — Note 1) . . Note 5) . . — — pa—
40 CM40Z-PS Rod trunnion @ (1)Noe2)) @ — [ ] (] — °
Head trunnion @ (1) Noe2)| @ — [ [ J —
Grease Pack for Maintenance Boss-cut/Basic o | & | — | @ e | —
Boss-cut/Flange ®(1) [ — [ J (] — — —
When maintenance requires only grease, use the Boss-cut/Trunnion @ (1)Noe2| @ — [ J [ J —

following part numbers to order.

Grease pack part number: GR-L-005 (5 g)
GR-L-010 (10 g)
GR-L-150 (150 g)

1085

Note 1) Mounting nuts are not attached to the integral clevis, single clevis and double clevis types.

Note 2) Trunnion nuts are mounted on the rod trunnion and head trunnion types.

Note 3) A pin and retaining rings (split pins for 040) are included with the double clevis and double knuckle joint types.
Note 4) A pin and retaining rings are included with the clevis pivot bracket.

Note 5) Retaining rings (split pins for 940) are included with the clevis pin.

Note 6) A pin and retaining rings are included with the pivot bracket.

Note 7) Retaining rings are included with the pivot bracket pin.

Standard Strokes

‘ Bore size (mm) ‘

Standard stroke (mm)

\ 20, 25, 32, 40 \

25, 50, 75, 100, 125, 150, 200, 250, 300

Note 1) Manufacture of intermediate strokes in 1 mm intervals is possible. (Spacers are not used.)

Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air Cylinders Model
Selection” on front matter pages of the Best Pneumatics No. 2 or the WEB catalog. In addition, the products
that exceed the standard stroke might not be able to fulfill the specifications due to the deflection etc.



Smooth Cylinder Series cMm2y

Option: Ordering Example of Cylinder Assembly

Cylinder model: CDM2Y C40-150Z-NV-M9BW

Single clevis

Auto switch

Mounting C: Single clevis

Pivot bracket  N: Yes

Rod end bracket V: Single knuckle joint
Auto switch D-M9BW: 2 pcs.

* Pivot bracket, single knuckle joint and auto
switch are shipped together with the product,
but not assembled.

* Pivot bracket is only applicable to mounting
C,T,U,E, Vand UZ

* No rod end bracket is provided for the female
rod end type.

Weights
—
(kg)
Bore size (mm) 20 25 32 40
Basic (Double-side bossed) 0.14 0.21 0.28 0.56
Axial foot 0.29 0.37 0.44 0.83
Flange 0.20 0.30 0.37 0.68
Integral clevis 0.12 0.19 0.27 0.52
. . Single clevis 0.18 0.25 0.32 0.65
Basic weight -
Double clevis 0.19 0.27 0.33 0.69
Trunnion 0.18 0.28 0.34 0.66
Boss-cut/Basic 0.13 0.19 0.26 0.53
Boss-cut/Flange 0.19 0.28 0.35 0.65
Boss-cut/Trunnion 0.17 0.26 0.32 0.63
Additional weight per 50 mm of stroke 0.04 0.06 0.08 0.13
Clevis bracket (with pin) 0.07 0.07 0.14 0.14
X Single knuckle joint 0.06 0.06 0.06 0.23
gg::'s; Double knuckle joint (with pin) 007 | 007 | 007 | 020
Pivot bracket 0.06 0.06 0.06 0.06
Pivot bracket pin 0.02 0.02 0.02 0.03
Calculation: Example) CM2YL32-100Z
* Basic weight--- .44 (Foot, ©32)
* Additional weight- .08/50 stroke
* Cylinder stroke: 00 stroke
0.44 + 0.08 x 100/50 = 0.60 kg
Same Mounting Dimensions as the Low Friction Cylinder
—
CM2Y [Mounting|[Bore size||Stroke| Z —X1854 Dimensions

APrecautions

Fem_-_—_—_—_—_——_——_——_—_————————
1 Be sure to read before handling. Refer |
lto page 1574 for Safety Instructions. 1
For Actuator and Auto Switch Precau-
j tions, refer to “Handling Precautions
1 for SMC Products” and the Operation |
I Manual on SMC website, http:/www. 1
I smcworld.com 1

| R e |

\ Operating Precautions \

Air Cylinders

AWarning

. Do not rotate the cover.
If a cover is rotated when installing a cylinder or
screwing a fitting into the port, it is likely to
damage the junction part with cover.

ACaution

. Not able to disassemble.

Cover and cylinder tube are connected to each
other by caulking method, thus making it
impossible to disassemble. Therefore, internal
parts of a cylinder other than rod seal are not
replaceable.

Use caution to the popping of a retaining
ring.

When replacing rod seals and removing and
mounting a retaining ring, use a proper tool
(retaining ring plier: tool for installing a type C
retaining ring). Even if a proper tool is used, it is
likely to inflict damage to a human body or
peripheral equipment, as a retaining ring may be
flown out of the tip of a plier. Be much careful
with the popping of a retaining ring. Besides, be
certain that a retaining ring is placed firmly into
the groove of rod cover before supplying air at
the time of installment.

Do not use an air cylinder as an air-
hydro cylinder.

If it uses turbine oil in place of fluids for cylinder,
it may result in oil leakage.

The oil stuck to the cylinder is grease.
The base oil of grease may seep out.
The base oil of grease in the cylinder may seep
out of the tube, cover, crimped part or rod
bushing depending on the operating conditions
(ambient temperature 40°C or more, pressurized
condition, low frequency operation).

-y

-y

[

©

o s

Same mounting dimensions as the CM2Q

In order to adjust the mounting dimensions of the low
friction cylinder (CM2Q), extend the longitudinal dimension

(S, ZZ) by 3 mm.

S + Stroke
Specifications ‘ 2Z + Stroke |
Cylinder bore size (mm) 20 [ 25 | 32 | a0

Action Double acting, Single rod Bore size (mm) s 77
Direction of low friction Bi-directional 20 65 119
Fluid Air 25 65 123
Proof pressure 1.05 MPa 32 67 125

operating pressure 0.7 MPa 20 91 157

= Low friction operates bi-directionally.

+ Add 3 mm to S and ZZ dimensions of the double acting, single rod type on pages
1087 to 1093 for the dimensions for each mounting bracket other than the basic type.

1086

Ma

UKy
oK
el

INDEX




Series CM2Y

Basic (Double-side Bossed) (B)

CM2YB Bore size] - stroke] [ |2

G
Width across flats B2 Hz G~ 2xP | 2x NN
Width across flats B1  Hu /(Re, NPT, G) |/ >
H [ =
a = { u )
JEE8s ‘ 5| 1/
e s NS
MM AL s . 5 Effective thread length NA =
Width across flats KA A ‘K Fr ] | 2xFL -
H | S + Stroke F |
ZZ + Stroke |
Boss-cut
Female rod end
Female thread MM
T
i
ZZ + Stroke
ZZ + Stroke
(mm)
Bore size A |AL|B1 |B2| D E F|FL| G| H | Hi |H| I K | KA MM NA NN P | S |zz
20 18 |[15.5/ 13 | 26 | 8 | 209955 | 13 |105| 8 | 41 | 5 8 |28| 5 6 M8x125 | 24 | M20x1.5 |1/8]| 62 |116
25 22 [195] 17 [ 32 | 10 | 26805 | 13 |[105] 8 [ 45| 6 | 8 [335/55] 8 | M1ox1.25 [ 30 | M26x1.5 [1/8] 62 [120
32 22 |19.5| 17 | 32 | 12 | 265053 | 13 |105| 8 |45 | 6 8 |37.5/55| 10 | M10x1.25 |345| M26x1.5 |1/8| 64 | 122
40 24 |21 |22 | 41 | 14 | 32545 | 16 |135] 11 | 50 | 8 | 10 |46.5] 7 | 12 | M14x1.5 |425] M32x2 1/4 | 88 | 154
Boss-cut (mm) Female Rod End (mm)
Bore size zz Bore size A1 H MM zz
20 103 20 8 20 M4 x0.7 95
25 107 25 8 20 M5 x 0.8 95
32 109 32 12 20 M6 x 1 97
40 138 40 13 21 M8x1.25 | 125

1087

* When female thread is used, use a thin wrench

when tightening the piston rod.

* When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being

deformed depending on the material of the
workpiece.



Axial Foot (L)

Smooth Cylinder Series cMm2y

F |G 2xP e NN
Width across flats B1 [T AL He (Rc, NPT, G) F, 2x
Width across flats B1 ) ) LI : »
Width across flats KA Hy . : [': L (Effective thread length 2 x FL) 3
K] ‘ A H .g
Q - - E =
2 4} N 2x0LC k L o >
Width across flats B2 4xoLD 5 8
. Width across flats INA N—o E———h P
H YL X S + Stroke X Y LX
=z LS + Stroke Lz
ZZ + Stroke
Female rod end ZZ + Stroke Female Rod End (mm)
H Bore size A | H MM zz
35 20 8 | 20 | M4x07 | 110 G
Female thread MM 25 8 20 M5 x 0.8 110
Thread depth A1 32 12 | 20 M6 x 1 112 MB
40 13 21 M8 x 1.25 142
= When female thread is used, use a thin wrench when CA2
tightening the piston rod.
= When female thread is used, use a washer etc. to prevent |G0Q2
the contact part at the rod end from being deformed cas
depending on the material of the workpiece. Lub
+ Mounting bracket is shipped together with the product. (mm) Ul 9
Bore size | A |AL| B |B1|B2| D | F |FL| G | H [H1|Hz| | | K |KA[LC|LD|LH|LS[LT[LX[LZ]| MM |NA| NN |P[S|X|V]Zz|zZz l:relamer
20 18(155/40 (13|26 | 8 |13|105/ 8 |41| 5|8 (28| 5 | 6 | 4 [68]25|102{32|40|55| M8x1.25 |24 | M20x 1.5|1/8/62|20| 8 |21 |131 JA
25 22195|47|17|32|10|13|105| 8 |45| 6 | 8 |335/55| 8 | 4 |6.8|28|102]3.2|40|55| M10x1.25 |30 | M26 x 1.5|1/8|62|20| 8 |25|135
32 22|195|47 17|32 |12 |13 |105| 8 |45| 6 | 8 |375/55|10| 4 |6.8|28|104|3.2|40|55| M10x 1.25 |345| M26 x 1.5|1/8| 64| 20| 8 | 25|137 MXH
40 24|21 |54 (22|41 (14|16 (13511 |50 | 8 (10 (465| 7 (12| 4 | 7 | 30| 134|32|55|75| M14x15 |425| M32x2 |1/4|88|23|10|27 171
h(1]
Rod Flange (F)
———
[] e
- 4
Width fats B Width across flats B2 g%;
I across flats B1
" He G 2xP G 2xNN
(Rc, NPT, G) ™Mo CKOI
| ¥ T et
l o O : B EE UK
7 i L
| - Effective
Mounting w—/ AL | Width across flats INA 15 L_,M E(L)Ku
hole — A K ’ﬁ‘ﬂ' 2xFL cKQ
020 to 032 ez
Width flats KA H | S + Stroke E P—
Width across flats KA, ZZ.+ Stroke CKIN
Boss-cut Female rod end WRF
Female thread MM
K
Thread depth At Female Rod End (mm)
] j Boresize | A1 | H MM zz
} 20 8 | 20 | M4x0.7 95
25 8 | 20 | M5x0.8 95
2ZZ + Stroke % 32 12 | 20 M6 x 1 97
Boss-cut (mm) 35 40 13 | 21 | M8x1.25 | 125
" Boresize | 7z 7 H * When female thread .is used, use a thin
20 | 103 wrench when tightening the piston rod.
— = ZZ + Stroke + When female thread is used, use a washer
25 | 107 etc. to prevent the contact part at the rod
32 109 end from being deformed depending on
40 138 the material of the workpiece.
+ Mounting bracket is shipped together with the product. (mm)
Boresize | A |AL| B |[B1|B2|C2| D E F |FL|FD|FT|FX|FY|FZ| G | H |H1|H2| | | K [KA MM NA NN P|S|Z|ZZ
20 18 {155/ 3413|2630 | 8 | 20505 | 13 [105] 7 | 4 |60|— (75| 8 |41| 5| 8 |28| 5 | 6 | M8x1.25|24| M20x 1.5 |1/8| 62|37 |116
25 22[19.5/40(17 | 32|37 | 10| 2600 | 13]105] 7 | 4 |60 | — 75| 8 |45| 6 | 8 [335/5.5| 8 [M10x1.25{30 | M26x 1.5 |1/8] 62 | 41 |120
32 2219540 (17 |32 |37 |12 | 2600: |13]10.5| 7 | 4 (60| —|75| 8 |45| 6 | 8 [37.5/5.5| 10 |[M10x 1.25|34.5| M26x 1.5 |1/8| 64 | 41 |122 |INDEX
40 24 |21|52 |22 |41 (47.3]/14 | 3284 |16(135| 7 | 5 (66 |36|82|11|50| 8 |10 (465 7 |12 | M14x 1.5 |425] M32x 2 |1/4| 88|45 |154




Series CM2Y

Head FIange (G)
CM2YG —[stroke|][ |z

Effective thread length 2 x FL

Hz  Width across flats B2 2xoFD 4xoFD
i G 2xP S =5 i
Width across flats B1 ~ Hi12x NN R)::, TS ru I Mounting hole  Mounting hole,
T T
=t | 7 T %% | 7\ €7
alaf < a 4¢ @ r
’ . % EM
MM AL 1115 \Width across flats ONA FX
Width across flats KA A HK F S Sto -
+ Stroke
Z + Stroke 020 to 032
ZZ + Stroke
Female rod end
Female thread MM
Thread depth A1
35
ZZ + Stroke
* Mounting bracket is shipped together with the product. (mm)
Bore size A | AL B B1 B2 | C2 D E F FL | FD | FT | FX | FY | FZ G H H1 H2 1
20 18 | 155 | 34 | 13 | 26 | 30 8 | 200033 | 183 |105] 7 4 60 | — | 75 8 41 5 8 28
25 22 |195| 40 | 17 | 82 | 37 | 10 | 265033 | 13 | 105 | 7 4 60 | — | 75 8 45 6 8 |335
32 22 [ 195| 40 | 17 | 32 | 37 | 12 | 26033 | 13 |105| 7 4 60 | — | 75 8 45 6 37.5
40 24 | 21 52 | 22 | 41 |473| 14 | 32449 | 16 | 185 | 7 5 66 | 36 | 82 | 11 50 8 10 | 465
(mm) Female Rod End (mm)
Bore size K KA MM NA NN P S z zz Bore size A1 H MM zz
20 5 6 | M8x125 | 24 |M20x15]| 1/8 | 62 | 107 | 116 20 8 | 20 M4 x0.7 95
25 5.5 8 |Mi10x125| 30 |M26x15]| 1/8 | 62 | 111 | 120 25 8 | 20 M5 x 0.8 95
32 5.5 10 |M10x1.25| 345 |[M26x1.5| 1/8 64 | 113 | 122 32 12 20 M6 x 1 97
40 7 12 | M14x15 | 425 | M32x2 | 1/4 | 88 | 143 | 154 40 18 | 21 | M8x1.25 | 125

# When female thread is used, use a thin wrench
when tightening the piston rod.

+ When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being
deformed depending on the material of the
workpiece.

1089



Smooth Cylinder Series cMm2y

Single Clevis (C)
cm2yc —[stroke][ |z

Effective thread length FL

Width across flats B1 -~ H1 NN G oxP G °
(R, NPT, G) > w
S R [7}
LT i -g
© < =
HOR Se s ) : z =
=il (&)
-
MM/ /AL s |lexg3 P
Width across flats KA ATK | F[ NA
H S + Stroke |
'5° + Stroke
ZZ'3* + Stroke CJ2
M2
Female rod end Female Rod End (mm)
Female thread MM Eorelsize) A b MM (ez2) 061
Thread depth Aq ‘ 20 8 20 M4 x 0.7 121
25 8 20 M5 x 0.8 121 MB
& 32 12 20 M6 x 1 123
40 13 [ 21 | M8x1.25 | 159 CA2
3.5 + When female thread is used, use a thin wrench when
H tightening the piston rod. cQ2
- « When female thread is used, use a washer etc. to prevent  |GQS
ZZ*+ Stroke the contact part at the rod end from being deformed Lube-
depending on the material of the workpiece. mm) retainer
Boresize | A |[AL|B1| Cl |[CD|CX| D E FIFL|G|H|H1| | | K|KA|L MM NA NN P |RR| S | U |(2)/(Z2) JA
20 18 155/ 13|24 | 9 (10| 8 | 2000: | 13105 8 |41 | 5 |28 | 5 | 6 [30| M8x1.25 |24 | M20x 1.5 [1/8| 9 | 62 | 14 | 133|142
25 22119517 | 30| 9 | 10 | 10 | 26805 | 13 [10.5| 8 |45 | 6 (33.5/55| 8 |30 | M10x1.25 |30 | M26x 1.5 |1/8| 9 |62 | 14 |137 | 146 MXH
32 221195/ 17 | 30| 9 | 10 | 12 | 26805 | 13 [10.5| 8 |45 | 6 [37.5/5.5| 10 | 30 | M10x 1.25 34.5| M26 x 1.5 |1/8| 9 | 64 | 14 | 139 148
40 24 21|22 /38|10 |15 |14 | 3280 | 16 (13511 |50 | 8 (465 7 |12 |39 | M14x15 (425 M32x2 |1/4| 11|88 |18 (177|188 qu
Double Clevis (D) MGP
————————
coy
- o]z
Effective thread length FL. oCD hole H10'5%*® KO
Width across flats Bt H1 NN G 2xP G Axisd9708% CL
] (Rc, NPT, G) > E(l.)KD
R sz v 4 A . U
i S 7 < Q CEWT 2 [
i i =2 cK
MM,/ AL s Y cx:gt 70
Width across flats KA A K LF,| | cz 1
H S + Stroke . L NA CKZ2N
'5” + Stroke ' RR —
ZZ';* + Stroke | WRF
Female rod end Female Rod End (mm)
Female thread MM Bore size A1 H MM (Z2)
Thread depth At 20 8 20 M4 x 0.7 121
25 8 20 M5 x 0.8 121
32 12 20 M6 x 1 123
40 13 21 M8x1.25 | 159
35 * When female thread is used, use a thin wrench when
H tightening the piston rod.
M o * When female thread is used, use a washer etc. to prevent
ZZ'y’+ Stroke the contact part at the rod end from being deformed
depending on the material of the workpiece.
(mm)
Bore size | A |AL|B1|CD|CI |[CL|CX|CZ| D E F|FL|G|H|Hi| Il |K|KA|L MM NA NN P |[RR| S | U |(2)|(Z2)
20 18 {155/ 13| 9 |24 |25 (10|19 | 8 | 2086 |13 105/ 8 (41| 5 |28| 5 | 6 [30| M8x 1.25 |24 | M20x 1.5 |1/8| 9 |62 |14 (133|142
25 22(195/17| 9 |30|25|10|19| 10| 2650 |13[10.5| 8 |45 | 6 |335/55| 8 |30 (M10x 1.25/30 | M26 x 1.5 [1/8| 9 |62 | 14 |137|146
32 2219517 9 |30(25|10|19|12| 2630 |13(105) 8 |45| 6 [37.5/5.5| 10|30 |[M10x 1.25(345| M26 x 1.5 |[1/8| 9 |64 | 14 139|148
40 24| 21]22]10]38]41.2[15]30] 14| 328 |16|135[11]50] 8 |465] 7 [12]39] M14x 1.5 [425] mM32x2 [1/4]11 88|18 ][177[188 [INDEX

= A clevis pin and retaining rings (split pins for @40) are shipped together.

1090



Series CM2Y

Rod Trunnion (U)

CM2YU

= [stroke][_]

~0.025

0TDes Z0.061

4

Width across flats B2 G NN
Width across G 2xP 2x
flats B1 H1 — (Rc, NPT, G) /
u:‘\i:“ S |
o
=T ras
| h
id

Width across flats CINA

L__ Effective thread length

1z A K |TT 15 2xFL
Width flats KA ’—Zj.
~hacos R 22 H S + Stroke F
ZZ + Stroke
Boss-cut
__1# 1] H
1
4@1@ : Zax
-
ZZ + Stroke
Female rod end
Female thread MM
Thread depth A1 | }
3.5
H
ZZ + Stroke
+ Mounting bracket is shipped together with the product. (mm)
Bore size A AL | B1 B2 D E F FL G H H1 1 K KA MM NA NN P

20 18 | 155| 13 26 8 20005 13 | 105 8 41 5 28 5 6 M8 x 1.25 24 M20 x 1.5 1/8

25 22 |19.5| 17 32 10 260 18 |105| 8 45 6 |335| 55 8 M10x 1.25 | 30 M26 x 1.5 1/8

32 22 |195]| 17 32 12 263035 13 |105| 8 45 6 |375]| 55 10 | M10x1.25 | 345 | M26x1.5 1/8

40 24 21 22 41 14 32303 16 | 135 | 11 50 8 |465| 7 12 M14x 15 | 425 M32 x 2 1/4

(mm) Boss-cut (mm) Female Rod End (mm)
Bore size S TD | TT | TX | TY | TZ z zz Bore size zz Bore size A1 H MM zz

20 62 8 10 32 32 52 36 | 116 20 103 20 8 20 M4 x 0.7 95

25 62 9 10 40 40 60 40 | 120 25 107 25 8 20 M5 x 0.8 95

32 64 9 10 40 40 60 40 | 122 32 109 32 12 20 M6 x 1 97

40 88 10 11 53 53 77 | 445 | 154 40 138 40 13 21 M8x1.25 | 125

1091

+# When female thread is used, use a thin wrench
when tightening the piston rod.

# When female thread is used, use a washer etc.
to prevent the contact part at the rod end from
being deformed depending on the material of the
workpiece.



Smooth Cylinder Series cM2y

Head Trunnion (T)

CM2YT —[stroke]| |z

Effective thread length 2 x FL

) 2xNN G 2xP <]
Width across flats B1 _H1_- (Rc, NPT, G)

Width across flats B2

I/

.02
oTDes 5087

(2
I o
r T HE _g
2lat = - = 1 — =
%Lﬁl ° =
I o
MM/ ZAL | 15\ Width across flats CINA =
Width across flats KA A F TZ <
H S + Stroke T f—=
|- !
Z + Stroke
ZZ + Stroke
Female rod end
Female thread MM
Thread depth A1
35 |
ZZ + Stroke
* Mounting bracket is shipped together with the product. (mm)
Bore size A AL | B1 B2 D E F FL G H H1 I K KA MM NA NN P
20 18 | 155| 13 26 8 20303 13 |105| 8 M 5 28 5 6 M8 x 1.25 24 M20 x 1.5 1/8
25 22 |195| 17 32 10 26303 13 |105| 8 45 6 |335| 55 8 M10x 1.25 | 30 M26 x 1.5 1/8
32 22 | 195 17 32 12 26.00m 13 |105| 8 45 6 |375| 55 10 | M10x1.25 | 345 | M26x1.5 1/8
40 24 21 22 41 14 32303 16 | 185 | 11 50 8 |465| 7 12 M14x1.5 | 425 M32 x 2 1/4
(mm) Female Rod End (mm)
Bore size S TD | TT | TX | TY | TZ Y4 zz Bore size A1 H MM zz
20 62 8 10 32 32 52 | 108 | 118 20 8 20 M4 x 0.7 97
25 62 9 10 40 40 60 | 112 | 122 25 8 20 M5 x 0.8 97
32 64 9 10 40 40 60 | 114 | 124 32 12 20 M6 x 1 99
40 88 10 11 53 53 77 | 1435 | 154 40 13 21 M8x1.25 | 125
+ When female thread is used, use a thin wrench when E(l.)KD
tightening the piston rod.
# When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being E(I.)KIJ
deformed depending on the material of the workpiece. S
INDEX

1092



Series CM2Y

Integral Clevis (E)

CM2YE ~[stroke|[ ]2
LZ + Stroke .
L ZZ + Stroke
Z + Stroke | LP
‘F A S + Stroke hALRB{
)—rr 2xP_ g™ 1 | 0CDH105™
[Hy T . (Rc, NPT, G) \ 7
1 ‘ .
2 n] - N a S
Hs LL \ ;\Wé )
T '
MM
2xolLD
Width across flats B1 NN /| \
Width across flats KA Effective thread length FL ﬁ\ -
LLF[ LG |
5 LY
Refer to page 1095 for details
of clevis pivot bracket.
Female rod end Integral clevis (90°) (V)
35 Port

Female thread MM
Thread depth A1

ZZ + Stroke

* The outer dimensions are the same as those for the integral clevis (E).

(mm)
Bore size A |AL | B1 |CD|CI |CX| D E F |[FL| G H | Hi I K |[KA| L MM NA NN
20 18 |1565| 13 | 8 | 20 | 12 8 | 2080 | 13 |10.5] 8 | 41 5 | 28 5 6 12 M8 x 1.25 24 M20 x 1.5
25 22 |195| 17 | 8 | 22 | 12 | 10 | 2680 | 13 |105| 8 | 45 | 6 [335|55| 8 12 | M10x1.25 | 30 M26 x 1.5
32 22 [19.5) 17 | 10 | 27 | 20 | 12 | 268es | 13 |105] 8 45 6 |375|55| 10 | 15 M10x1.25 [345| M26x1.5
40 24 | 21 | 22 | 10 | 33 | 20 | 14 | 328« | 16 |13.5| 11 | 50 | 8 |465| 7 12 | 15 M14x1.5 |425 M32 x 2
(mm) Female Rod End (mm)
Bore size P |[RR| S u Z | zz Bore size A1 H MM zz
20 1/8 9 62 |11.5| 115|124 20 8 20 M4 x 0.7 103
25 1/8 | 9 62 [11.5| 119 | 128 25 8 20 M5 x 0.8 103
32 1/8 | 12 | 64 |14.5| 124 | 136 32 12 20 M6 x 1 111
40 1/4 | 12 | 88 (14.5| 153 | 165 40 13 21 M8x1.25 | 136

+ When female thread is used, use a thin wrench
when tightening the piston rod.

+ When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being
deformed depending on the material of the
workpiece.

1093



Series CM2Y
Dimensions of Accessories

With Single Knuckle Joint

Single Knuckle Joint

1-020B, 032B Material: Carbon steel ~ 1-040B Material: Free-cutting steel
ND. Y(MAX ’ | o [4
DIRDHIL, M\ - > oND+10 ()
o N L i - AR g
n / MM . . AN |2
/ Y T | 2
NX1 A / = =
U H / A |ud !! <
Ro| Z (MIN) LB
A
(mm)
Boresize| A | H MM NDuio | NXi |Ui |[Re| Y | Z Partno. | A% | A [ A+ | E1 [LB]| MM | NDuio
20 18 | 41 |[MBx125| 9%% | 933 |14 | 10| 11 | 66 1-020B 20 [46|16]20 |36 [M8x1.25| 9¢*°
25, 32 22 | 45 |[M10x1.25 9%°° 52 | 14 | 10 | 14 | 69 1-032B | 25,32 |48 |18 |20 | 38 [M10x1.25 99>
40 24 | 50 |M14x1.5] 1279°° | 16353 | 20 | 14 | 13 | 92 1-040B 40 69 | 22 | 24 | 55 |M14x 15| 1270°°
With Double Knuckle Joint
oND hole H10 MM Y(MAX)
Axis d9 \ i
— L |
=H /
S 4
A
U2 H
Rz Z (MIN)
(mm)
Boresize| A | H L MM ND | NXa | R2 | U2 | Y z
20 18 | 41 | 25 [M8x125| 9 821 10 | 14 | 11 | 66
25,32 | 22 | 45 | 25 |M10x1.25 9 53| 10 | 14 | 14 | 69
40 24 | 50 |49.7|M14x15) 12 |163%7| 13| 25 | 13 | 92 MGP
. coy
Double Knuckle Joint eOX
Y-020B, 032B Material: Carbon steel Y-040B Material: Cast iron CKD1
S
@ E([)KD
oND hole H10
MM oND hole H10 Axis d9 c(L)Ku
Axis d9 MM = —
o J Y CK|
o Pt =sy 4 Pt s a
LA Ui Al LU CKZ2N
L L =
A (mm) WRF
Partno. | fepleabe | A | A | Ei | LA | LB MM ND NX | NZ | Ri | Ui | poicecel [Soepin® "9size R
Y-020B 20 46 | 16 | 20 | 25 | 36 | M8x 1.25 9 03| 18 5 14 CDP-1 Type C 9 for axis
Y-032B 25, 32 48 | 18 | 20 | 25 | 38 | M10x1.25 9 165 | 18 14 CDP-1 Type C 9 for axis
Y-040B 40 68 | 22 | 24 |49.7| 55 | M14x 1.5 12 1603 | 38 | 13 | 25 | CDP-3 | 03x18L
* A knuckle pin and retaining rings (split pins for 40) are included.
Double Clevis Pinmateria: Carbon steel (mm) Double Knuckle Pinmaterial: carbon steel (mm)
Bore size/020, 925, 632 Bore size/o40 Bore size/020, 025, 032 Bore size/o40
CDP-1 CDP-2 CDP-1 CDP-3
2x03 2x03
Through hole Through hole 88
T 1% —_ire - T 1%
A, e i
4 32 || ® 17g][[_192 75 4 a7 || %
4.2 5 A 25 N q1s 49.7
Retaining ring: Type C9 for axis Split pin: 63 x 18 L Retaining ring: Type C9 for axis Split pin: 63 x 18 L INDEX

* Retaining rings (split pins for 240) are included.

* Retaining rings (split pins for 940) are included.

1094



Series CM2Y

Rod End Nut Clevis Pivot Bracket (For CM2YE(V))

. Material: Carbon steel
=
‘@j
9
ul

Material: Carbon steel

RLR oLC hole:5s2

(mm)
Partno. | Apleable | g | ¢ | D d H
NT-02 20 |13 [15.0{125|M8x1.25| 5
NT-03 | 25,32 | 17 [19.6]/165|M10x1.25| 6
NT-04 40 | 22[254[21.0|M14x15] 8

(mm)
Mounting Nut Applicable Included
g Part no. e ey L [LC|LD|LE|LF|LG|LH|LR|LT|LX|LY|LV pin part no.
] Material: Garbon steel - "Cy-E0208| 20,25 |24.5] 8 |6.8| 22 | 15|30 | 30 | 10 | 3.2| 12 | 59 [18.4] CD-S02
S CM-E032B| 32,40 34 |10| 9 (25 |15|40 |40 |13 | 4 |20 | 75 | 28 | CD-S03
Note 1) A clevis pivot bracket pin and retaining rings are included.

[=) Note 2) It cannot be used for the single clevis (CM2YC) and the double clevis (CM2YD).

S|
H

mm  Clevis Pivot Bracket Pin (For CM2YE(V))

Partno. | tpleable | g | ¢ | p d H Material: Carbon steel
SN-020B 20 26 | 30 |25.5|M20x1.5| 8 3
SN-032B| 25,32 | 32 | 37 |31.5|M26x 15| 8 H]
SN-040B 40 41 |47.3|40.5|M32x2.0| 10 m L2 m
A N
. (mm)
ITrunnion Nut partno. | Aopicabe [ o | g || | |y | incluced
H Material: Carbon steel poralsize [EEIITE T
30| B CD-S02 20, 25 56 7.6 | 245 | 195 1.6 0.9 | TypeC8foraxis
7 CD-S03 | 32,40 o 96 | 34 | 29 | 1.35 | 1.15 |TypeCi0foraxs
I—F + Note) Retaining rings are included.
ola| 4 |
99 E \

(mm)
Partno. | tpleable | g | ¢ | p d H
TN-020B| 20 |26 |28 [255/M20x 15| 10
TN-032B| 25,32 | 32 | 34 [31.5|M26x 1.5| 10

TN-040B 40 41| 45 |40.5|M32x 2| 10

1095



With Single Clevis

Dimensions of Accessories Series CMZY

Z + Stroke CX
* oCD -
g
! 5 3
g £
’ 3
268 17205 =
75 40 6.8x3.4 <
) 57
Rotation Angle
Bore size A° B° A° + B° + 90° Mounting Part no. | Applicable bore size | CX Z + Stroke CcD
(mm) 20 133
20 25 85 200 CcMm2yYC CM-B032 25 10 137 9
25,32 21 81 192 (Single clevis) 32 139
40 26 86 202 CM-B040 40 15 177 10
Note) A pivot bracket pin and retaining rings are not included with the pivot bracket.
With Rod Trunnion With Head Trunnion
Z + Stroke Z + Stroke
oCD oCD
LR & B q
6.8x3.4 26.8 17|20.5
" 75 40
D 57
6.8x34
Rod trunnion Head trunnion
Mounting Part no. Applicable bore size | TX Z+ Sl:rokle Z+ S:okle
CM-B020 20 32 36 108 Y
CM2YUICM2YT CM-B032 25 40 40 112 X
(Rod/Head trunnion) 32 114
CM-B040 40 53 44.5 143.5 10 87 103 CKD1
Note) A pivot bracket pin and retaining rings are not included with the pivot bracket. E(l.)KD
Pivot Bracket Pivot Bracket Pin (For CM2YC) 75('-)“
———
* Pivot brackets consists of a set of two brackets. e
75 40 40 7.5
34 34 [ CKQ
) Q;'b
2 & Y CKZ2N
Ie L
{ L
! ['e}
; Nl WRF
- L -
o o ol &
g g Q
s S I e
oCD%E & &,  oCDUR m L2 m
5 N
t] L1 Nt
T T
28 ¥ ¥ 28
57 57 (mm)
(mm) Applicable Included
ool ) bore size Part no. Das d Li L2 m t retﬁhrgng
CM-B020 Note 2) 8 Note 1) A pivot bracket pin and retaiing 1 20t0 32 | CDP-1 352 | 86 | 25 [19.2]1.75]1.15 | TpeCoforans
x ote pivot bracket pin and retaining rings -
CM-B032 9 are not included with the pivot bracket. 40 CD-S03 | 10352 | 96 | 34 |29 [1.35]1.15 |TpeCi0forans
CM-B040 10 Note 2) Only for the trunnion Note) Retaining rings are included with the pivot bracket pin.
INDEX

1096




Series CM2Y

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Solid state auto switch

D-M9C]
D-MoCIW
D-M9CIA
<Hs
@éﬂ mml e =]
Allz] 8]
(24)
( ): Dimension of the D-M9TJA
A and B are the dimensions from the end of the head
cover/rod cover to the end of the auto switch.
D-M9oCIV
D-M9CIWV
D-M9CIAV
=~Hs
9: H E@ %ﬂ
Alln] 8]
(22)

( ): Dimension of the D-M9OIAV
A and B are the dimensions from the end of the head
cover/rod cover to the end of the auto switch.

D-H70/H70OW/H7NF/H7BA/H7C
=Hs

© vz I B
@%ﬁ@@@ww
A

B

e
&

D-G5NT

3 Al

D-G39A/K39A

o

Q5 =ik £t

i3
A B

1097

Reed auto switch

D-A90I
=Hs
los|] B
(22)
( ): Dimension of the D-A96
A and B are the dimensions from the end of the head
cover/rod cover to the end of the auto switch.
D-A9C1V

-

A and B are the dimensions from the end of the head
cover/rod cover to the end of the auto switch.

2] B

D-C7/C8/C73C/C80C

iﬂ§
@ =iIE==H
[ ® A
A

D-B5/B6/B59W

jﬂs.
@ ﬁq@@ B \%
3 A B |
D-A33A/A34A
~Hs
ot =sfe 8
O = 2u
A Bl




Auto Switch Mounting Series CMZY

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (mm)
A_uto
Suiteh e D-Cc70] D-ASTA | D-H7O)
D-B50J D-C80 D-G39A D-H7C
B:mgng((vv)) D) D-B64 p-c7ac | DBSOW D-k39A | DH7ow | D-GSNT
D-C80C D-A44A D-H7NF
Bore size A B A B A B A A B A B A B A B
20 1 9.5 7 55 | 15 0 75 4 25 1 0 6.5 5 3 15
25 10 10 6 6 0.5 0.5 6.5 6.5 35 | 35 0 0 5.5 55 | 2 2
32 115 10.5 7.5 6.5 2 1 8 5 4 15 0.5 7 6 3.5 25
40 175 | 155 | 135 | 115 | 8 6 14 12 11 9 7.5 55 | 13 1 9.5 7.5

Note) Adjust the auto switch after confirming the operating condition in the actual setting.

Auto Switch Mounting Height (mm)
Auto -MOL]
switch | D-MOCIV g:gg? B-Mebw D-A3CIA
model | D-M9CIWV -A9L] D-C73C
D-B59W | D-C7L] D-G39A | D-A44A
D-M9JAV D-C80 D-C80C
D-A9CIV D-G5NT | P 7L D-K39A
-| D-H7W
DS -H7NF
Bore size Hs Hs Hs Hs Hs Hs
20 23.5 25.5 22.5 25 60 69.5
25 26 28 25 27.5 62.5 72
32 29.5 31.5 28.5 31 66 75.5
40 335 35.5 325 35 70 79.5

1098

[
b
(7}
°
=
>
o
=
<

(1]
(2
N

[}
[}
-

g

CA2

,_
E
=3
S

28
? o™

retainer

Hid

=
>
=

] =
i £

Ma

UKy
oK
WRF

INDEX




Series CM2Y

Minimum Stroke for Auto Switch Mounting

(mm)
Number of auto switches
Auto switch model With 1 pc With 2 pcs. With n pcs. (n: Number of auto switches)
oI Different surfaces Same surface Different surfaces Same surface
20 +35(0=2) 55+ 35 (n-2)
- Note 1) Note 1)
D-M9CI 5 15 Note 40 Note (=2, 4, 6 LN n=234,5-)
20+35(=2 55+ 35 (n—2)
- Note 1) Note 1)
D-MOCIW 10 15 Nete aomee (n=2, 4, 6.-)Noted) (n=2,34,5)
25 +35(N-2) 60 +35 (n—2)
-| Note 1)
D-M9CIA 10 25 40 Note PP (1=2.3.4,5-)
15 +35(0=2) 50 +35 (n—2)
D-A90 5 15 30 (02 4 6 Prote) =2.3,4 5.
20 + 35N =2 35+ 35 (n—2)
D-M9CIV 5 20 35 (n=2, 4, 6.)Note 3) (n=2,3,4,5-)
15+ 35N =2) 25+35(n-2)
D-A9CIV 5 15 25 (=2 4, 6 LN (n=2.3,4,5)
D-MOIWV 10 20 35 20 +35(0>2) 35+35(n-2)
D-M9CIAV (n=2,4,6-)Noted) n=2,8,4,5)
D-C701 15+450-2) 50 + 45 (n —2)
D-C80 10 15 50 (h=2, 4 6. froted) (n=2,3,4,5.)
D-H7L] 15+ 45002 60 + 45 (n —2)
D-H7OIwW 10 15 60 2
D-H7NF (n=2, 4, 6.-)Note 3) (n=2,3,4,5-)
D-C73C (n-2) _
D-C80C 10 15 65 15 + 50 65+ 50 (n—2)
D-H7C (n=2, 4, 6...) Note 3) (n=2,8,4,5)
D-B501/B64 10 15 75 15 + 50N =2) 75+ 55 (n—2)
D-G5NT (n=2, 4, 6.y Note 3) (n=2,3,4,5.)
20+50(N=2 75+ 55 (n—2)
D-B59W 15 20 75 (n =2, 4, 6. Note3) (n=2,3,4,5.)
D-A3CIA/G39A 10 a5 100 35+30(n-2) 100 + 100 (n—2)
D-K39A/A44A (n=2,3,4,5-) (n=2,3,4,5-)

Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 1) Auto switch mounting

Auto switch model

With 2 auto switches

Different surfaces

Same surface

A
35
|

15
e

-
=

The proper auto switch mounting position is 3.5 mm inward
from the switch holder edge.

The auto switch is mounted by slightly displacing it in a
direction (cylinder tube circumferential exterior) so that the auto
switch and lead wire do not interfere with each other.

DgAom! Note 2

) Note 2)
D-MOCOIW Less than 20 stroke Less than 55 stroke
D-M9LJA Less than 25 stroke Note 2) Less than 60 stroke Note 2)
D-A90] Less than 50 stroke Note 2)

Note 2) Minimum stroke for auto switch mounting in styles other than those in Note 1.

Operating Range

(mm) (mm)
. Bore size . Bore size

Auto switch model 20 | 25 | 32 | 40 Auto switch model 20 [ 25 | 32 | 40
D-M9C(V) D-B59W 12 |12 [13 | 13
D-M9CIW(V) 35| 3 | 35| 3 D-H7O/H7OW 4| a 45| 5
D-M9TIA(V) D-G5NT/H7NF ’
D-A9C1(V) 6 6 6 [ D-H7C 71 859 10
D-C7C1/C80 7 8 8 8 D-G39A/K39A 8] 9 9 9
D-C73C/C80C
D-B50C1/B64
D-A3CIA/A44A 818"

* Values which include hysteresis are for guideline purposes only, they are not a guarantee (assuming approximately +30% dispersion) and may change substantially depending on the ambient environment.
Note) The D-A90] and D-A91V cannot be mounted on @50.

1099



Auto Switch Mounting Series CMZ Y

Auto Switch Mounting Brackets/Part No.

. Bore size (mm)

Auto switch model 220 225 232 240
g:mgg‘v‘vl()v) BM5-020 BM5-025 BM5-032 BM5-040
D-A9CI(V) (Asetofa,b,c,d) | (Asetofa,b,c,d) | (Asetofa,b,c,d) | (Asetofa,b,c,d)

BM5-020S BM5-025S8 BM5-032S8 BM5-040S
D-MoDIA(V) (Asetofb,c,d,e) | (Asetofb,c,d e) | (Asetofb,c,d e) | (Asetofb,c,d,e)
Switch bracket (Resin) Auto switch
a | Transparent (Nylon) Note 1)
& [White (PBT) 55 %
b -~
Switch holder P
(@inc) /
c

D-C701/C80
g:ﬁ;%c’ (Ce0C BM2-020A BM2-025A BM2-032A BM2-040A
D-H7OW (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-H7NF
D-H7BA BM2-020AS BM2-025AS BM2-032AS BM2-040AS

(A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-B501/B64
D-B59W BA2-020 BA2-025 BA2-032 BA2-040
D-G5NT (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-G5NB
D-A3CIA/A44A Note 3) BM3-020 BM3-025 BM3-032 BM3-040
D-G39A/K39A (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)

Note 1) Since the switch bracket (made from nylon) are affected in an environment where alcohol, chloroform,
methylamines, hydrochloric acid or sulfuric acid is splashed over, so it cannot be used. Please contact

Air Cylinders

Ma

SMC regarding other chemicals.
Note 2) Avoid the indicator LED for mounting the switch bracket. As the indicator LED is projected from the E(L)Ku
switch unit, indicator LED may be damaged if the switch bracket is fixed on the indicator LED.

Note 3) The D-A3LJA/A44A/G39A/K39A cannot be mounted on the CDM2(IP series centralized piping type. GKQ

Band Mounting Brackets Set Part No. CKI2N
Set part no. Contents |
BM2-[||:||]A(S) ®Auto switch mounting band (c) WRF
+ S: Stainless steel screw | ®Auto switch mounting screw (d)
¥ *Switch bracket (White/PBT) (e)
BJ4-1 *Switch holder (b)
BJ5-1 *Switch bracket (Transparent/Nylon) (a)
*Switch holder (b)
T e L e e |
1 Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable. 1
1 Refer to the WEB catalog or Best Pneumatics No. 3 for the detailed specifications. 1
1 1
1 Type Model Electrical entry Features 1
1 D-H7A1/H7A2/H7B — 1
1 . D-H7NW/H7PW/H7BW Diagnostic indication (2-color indication) 1
Solid state - ——
1 D-H7BA . Water resistant (2-color indication) 1
Grommet (In-line) -
1 D-G5NT With timer 1
1 D-B53/C73/C76 — !
1 Reed " — " 1
D-C80 Without indicator light

! = With pre-wired connector is also available for solid state auto switches. For details, refer to the WEB catalog or Best Pneumatics No. 3. !
1 = Normally closed (NC = b contact) solid state auto switches (D-FOG/F9H) are also available. For details, refer to the WEB catalog or Best Pneumatics No. 3. 1 INDEX
1 = Wide range detection type, solid state auto switch (D-G5NB) is also available. For details, refer to the WEB catalog or Best Pneumatics No. 3. 1
L

- e e R e R e M M M R M M M M R M R M R M M R M R e R R M M e R e e e e e e e e e owm

1100



Smooth Cylinder

Series CG1Y

020, 625, 032, 340, 850, 963,

How to Order

280, 2100

B cGi1y[Bl25] -[00[ Jz-
Mcgew -[A00] Jz-

With auto switch Made to Ord
(Built-in magnet) Bore size ade to Order
20 20 mm Rod end thread Refer to page 1102
Mounting S5R 25 mm [ Nil_ [ Male rod end for details.
B Basic |_F | Femalerodend
: ; v ; 32 | 32mm Number of auto I
Z* |Basic (without trunnion mounting female thread) .
- 40 | 40mm Pivot bracket Nil 2
L Axial foot 50 | 50 mm L pes.
F Rod flange SR [ Nil ] None S 1 pc.
G Head flange mm “ Pt ke i shped tgeher ih e prodict n “n” pes.
u* Rod trunnion 80 | 80mm 3« Crly oD, U, mouring ypes ]
T Head trunnion 100 | 100 mm « Piotbackeis stigpe ogehe ith e prouct bt ot asembed Auto switch
b Clevis Port thread type Rod end bracket .Iﬂ.
+ Not available for 280 or 100. Nil R 20 to 9100 o N + For applicable auto switches,
= Mounting bracket is shipped together with ™ N;T 020 to 0100 ":III Singl konekl s refer to the table below.
the product, but not assembled. o 00 Ingle knuckle join
= The cylinder for F, G, L, D mounting types is TF M5x0.8 | 020, 925 w Double knuckle joint
‘Zh:rs:ds)'_c (without trunnion mounting female G 032 to 6100 * :\::(c’l l;fgl:;();s provided for the female - Buljlt-in Magnet Cylinder Model
inder stroke (mm + Rod end bracket is shipped together a built-in magnet cylinder without an
Cylind trok If a built gnet cylindi ithout
Refor to “Ordering E 1o of Cylind Refer to “Standard Strokes” on Xit:nih:k;lnéo%uﬁt. gu: qsotna;ss:gb\_zi.d auto switch is required, there is no need
« Refer to “Ordering Example of Cylinder age 1102. * i joint pin Vi "
Assembly” on page 1102 pag with the single knuckle joint. to enter the symbol for the auto switch.
. (Example) CDG1YB32-150Z
Applicable Auto Switches/Refer to the WEB catalog or Best Pneumatics No. 3 for further information on auto switches.
£ Auto switch model .
Tye Special Electrical f:f Wiring LR RliEEE Applicable bore size gl ISEin () Pre-wired |  Applicable
s function entry | §| (Output) DC AC 220 to 963 80,2100 | 0.5 | 1 | 3 | 5 |None|connector load
= Perpendicular In-line In-line (Nil) [(M)[ (L) [(Z) [(N)
. MONV M9N = ® /@ 0O|—| O
3-wire (NPN) — — —
Grommet| | 3o (NP) Sv.12v M9PV MoP = e slec—T o ot
— = = G5P ® —|®0|—| O
S MOBV M9B = { K ) O|—] O
= 2-wire 12V = = K59 ® —|®/0|—| O —
5 Connector| — H7C — e — o006 —
[} . MONWV MONW = ® /0 0O|—| O
5 3-wire (NPN) — — — —
| ) ) Ves 24V |5V 12V _ G59W ] ®| O o IC | Relay,
@ | Diagnostic indication 3-wire (PNP) MOPWV MoPW = ® |®/® O|—| O [circuit| PLC
.3 (2-color indication) — — G5PW ® —|® O|—| O
° 2-wire 1oV MOBWV M9BW = ®/® O|—| O _
5 Grommet = = K59wW ® —|®0|—| O
2] 3-wire (NPN) 5V 12V MONAV*| MONA*** — O|l®@|O0|—| O IC
Water resistant 3-wire (PNP) MIPAV* | MOPA™** — O |O|@|O|—| O |circuit
(2-color indication) " M9BAV***| M9BA*** — O|l@|O o _
2-wire 12V — — GEBAT —Te |0 — 6}
[ 4-wire (NPN) 5V,12V — H7NF G59F —|®@|O|—| O |[ICcircuit
= Ve Firg (NPN equivalent) | — 5V — A96V A! — — | @ |— — |[Ccircuit| —
£ ) 100 V A93V A — —ele[— — | —
H Grommet [No| 100V orless|  A9OV A90 — — @ == — [iCireut
o — [Ves| 100V, 200V — B54 —ele[—[ —
5 No| 2wie |24V | "2V fooVorkess]  — B64 —lo—[— — | — |F&
3 Connector% — — C73C — — 000 —
® o 24V or less — C80C — —@®|® @ — |iCcirmuit
| Degusicingeeion 2ol ndator) | Grommet [Yes| — — — B59W — | ®|—|—] — -
+++ Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee the water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
- Nil (Example) MONW + Solid state auto switches marked with “O” are produced upon receipt of order.

= Lead wire length symbols: 0.5 m
1 M (Example) MONWM

. L (Example) MONWL

- Z (Example) MONWZ

- N (Example) H7CN

+ Since there are other applicable auto switches than listed, refer to page 1111 for details.

+ For details about auto switches with pre-wired connector, refer to the WEB catalog or Best Pneumatics No. 3.

+ The D-A90I0/M90IOO auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

1101



Smooth Cylinder Series CG 1 Y

Specifications
35 Bore size (mm) 20 [ 25 [ 32 | 40 | 50 | 63 | 80 [ 100

Action Double acting, Single rod

Type Non-lube (4

Fluid Air %

Proof pressure 1.05 MPa £
operating pressure 0.7 MPa 3-

Ambient and fluid temperature W“C\Z::: :Etg :x::z: _1 gog Ig ggog (No freezing) 5

Piston speed 5 to 500 mm/s

Stroke length tolerance Up to 1000*3* mm, Up to 1500*3° mm

Cushion Rubber bumper

Basic, Basic (without trunnion mounting female thread),
Axial foot, Rod flange, Head flange,

Mounting Rod trunnion, Head trunnion,
Clevis (used for changing the port location by 90°)
A rate 0.5 L/min (ANR) or less
Allowable Male
Symbol Kinetic Rubber| rod end 0.28 | 0.41 | 066 | 1.20 | 2.00 | 3.40 | 5.90 | 9.90
Rubber bumper ener bumper
P ) d " f:;":r:z 011 | 018 | 029 | 0.52 | 0.91 | 1.54 | 271 | 4.54
:S:@ # Cylinder sizes @80 and @100 do not have rod trunnion and head trunnion types.
Foot, flange and clevis types of cylinder sizes from 20 to 863 do not have trunnion mounting

female thread.
Operate the cylinder within the allowable kinetic energy.

de 10 .. -
Made to Order Minimum Operating Pressure
(For details, refer to pages 1247 to 1264.) - Unit: MPa
[symbol] Specifications \ \ Bore size (mm) [ 20 [ 25 [ 32 [ 40 | 50 [ 63 | 80 [ 100 |
-XC6 ‘ Made of stainless steel ‘ ‘ Minimum operating pressure ‘ 0.02 ‘ 0.01
Standard Strokes
———————
Replacement Parts/Seal Kit Bore size (mm) Standard stroke (mm) Note 1) | Max. stroke (mm)
20 25, 50, 75, 100, 125, 150, 200 Up to 1500 E(l)KD
Bore size N 25, 50, 75, 100, 125,
(mm) Kit no. Contents 25, 32, 40, 50, 63, 80, 100 150, 200, 250, 300 Up to 1500 W
20 CG1Y20Z-PS | Piston seal 1pe. Note 1) Intermediate strokes not listed above are also available. ( )
25 CG1Y25Z-PS | Rod seal 1pc. Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
32 CG1Y32Z-PS | Tube gasket 1pc. ‘(’DVyEIi;der: l;/lodeil S(le.tiltion”tﬁn fror:jt mtatt‘t;r 1palges %fme BtesldF'n;u‘maktics r.\u:],tz otrk:he o GKQ
g catalog. In addition, the products that exceed the standard stroke might not be able ——
40 CG1Y40Z-PS | Grease pack (10g) 1 pe. to fulfill the specifications due to the deflection etc. CKZ2N
When maintenance requires only grease, use the

following part numbers to order. . .

Grease pack part number: GR-L-005 (5 ) Orderlng Example of Cylinder Assembly WRF
GR-L-010 (10 g)
GR-L-150 (150 g)

Gylinder model: CDG1YD20-100Z-NW-M9IBW Clevis

Auto switch

Mounting D: Clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Pivot bracket

+ Pivot bracket, double knuckle joint and auto
switch are shipped together with the product,

but not assembled. Double knuckle joint

INDEX

1102



Series CG1Y

Mounting Brackets/Part No.

Mounting Procedure

Mounting procedure for trunnion

Mounting |Order Bore size (mm) Contents Follow the procedures below when mounting a
bracket | gty | 20 25 32 40 50 63 80 | 100 pivot bracket on the trunnion.
Foot |2Vl CGL02D | CGL025 | C-L0%2| CG-L040 | 06050 | CGLoss | cGrLomn | cGLiop 2 OO 220 to 063 Trunnion balt (With
8 mounting bolts soolch grip) 4 o 5
imes remounting
1 flange, Cylinder body possible
Flange 1 | CG-F020 | CG-F025 | CG-F032 | CG-F040 | CG-F050 | CG-F063 | CG-F080 | CG-F100 4 mounting bolts —
2 trunnion pins 7E | r ’
Trunnion pin| 1 | CG-T020 | CG-T025 | CG-T032 | CG-T040 | CG-Tos0 | CG-Tog3 | — | — ' ! Flat washer
2 trunnion bolts, 2 flat washers 1 Trunnion pin
. 1 clevis, 4 mounting bolts, (Put grease on the exterior.)
Clevis 1| Co:D020) C6:D025 | C:DO32 | C:DO40 | CG:DOS0 | CG:D06S | CG:D08D | CDIOO | - 4.2 etining ings Pivot bracket
Pivot bracket| 1 | CG-02024A | CG-025-24A | CG-032-24A | CG40-4A | CG050-4A | CG083-24A | CG080-44 | CG-100-44 |1 pivot bracket
Note) Order two foots per cylinder.
Mounting procedure for clevis
. Follow the procedures below when mounting a
We ghts pivot bracket on the clevis.
(mm) 220 to 063
- ci
Borslsizel(min) 200 P 2577 32 | 40 |7 500 |7 637 [ 80| 100 Retanng (Pi‘:‘;vz‘:se) Gyinderbody Retaining
Basic 0.11 1 0.18 | 0.28 | 0.44 | 0.83 | 1.17 | 2.23 | 3.43 i ring
Baci Axial foot 022 | 0.31 | 0.44 | 0.66 | 1.31 | 1.89 | 3.19 | 5.18 ‘n‘!—’ﬂT "
W:is'ﬁt Flange 0.19 | 0.28 | 0.42 | 0.64 | 117 | 1.67 | 2.94 | 4.78 ‘ ‘
9 Trunnion 0.12 | 0.20 | 0.31 | 0.49 | 0.97 | 1.31 — — ]
Clevis 0.16 | 0.26 | 0.43 | 0.67 | 1.23 | 1.85 | 2.94 | 4.71 Pivot bracket
Pivot bracket 0.08 | 0.09 | 0.17 | 0.25 | 0.44 | 0.80 | 0.98 | 1.75 l r iy
Single knuckle joint 0.05 ] 0.09 ]| 0.09 | 0.10 | 0.22 | 0.22 | 0.39 | 0.57
Double knuckle joint (with pin) 0.05 | 0.09 | 0.09 | 0.13 | 0.26 | 0.26 | 0.64 | 1.31 280, 5100
Additional weight per 50 mm of stroke| 0.05 | 0.07 | 0.09 | 0.15 | 0.22 | 0.26 | 0.35 | 0.49 ’ g
- > Retanng Clevis pin_ Cylinder  Retainin
Weight reduction for female rod end | -0.01|-0.02|-0.02|-0.05|-0.10|-0.10|-0.18 | -0.27 V_mg (Put grease) body  /Fing
Calculation (Example) CG1YL20-100Z (Foot, 620, 100 st) Jj— | — - s
* Basic weight 0.22 (Foot, 820)
* Additional weight 0.05/50 stroke
* Air cylinder stroke 100 stroke
0.22 + 0.05 x 100/50 = 0.32 kg

e e e el |

Be sure to read before handling.

Refer to page 1574 for Safety Instructions. For Actuator and Auto Switch Precautions, refer to “Handling |
Precautions for SMC Products” and the Operation Manual on SMC website, http://www.smcworld.com I

- e e e e e R e e e e e e e e e e R e e e e e e e e e e ]

Operating Precautions

Disassembly/Replacement

/A Warning

N

-

. Operate within the specified cylinder speed.
Otherwise, cylinder and seal damage may occur.

. When the cylinder is used as mounted with a single
side fixed or free (basic, flange types), a bending
moment will be applied to the cylinder due to the
vibration generated at the stroke end, and the cylinder
may be damaged. In such a case, mount a bracket to
reduce the vibration of the cylinder or use the cylinder
at a piston speed low enough to prevent the cylinder
from vibrating at the stroke end.

/\ Caution

-

.Tighten clevis bracket mounting bolts with the
following proper tightening torque.
©20: 1.5 N-m, 925 to 32: 2.9 N-m, 940: 4.9 N-m,
©50: 11.8 N-m, 963 to 80: 24.5 N-m, 2100: 42.2 N-m

1103

A\ Caution

1. Do not replace the bushings.

The bushings are press-fit. To replace them, they must be replaced
together with the cover assembly.

2. To replace a seal, apply grease to the new seal before

installing it.

If the cylinder is put into operation without applying grease to the
seal, it could cause the seal to wear significantly, leading to
premature air leakage.

3. Cylinders with @50 or larger bore sizes cannot be

disassembled.

When disassembling cylinders with bore sizes of 820 through @40,
grip the double flat part of either the head cover or the rod cover
with a vise and loosen the other side with a wrench or a monkey
wrench etc., and then remove the cover. When retightening,
tighten approximately 2 degrees more than the original position.
(Cylinders with @50 or larger bore sizes are tightened with a large
tightening torque and cannot be di nbled. If di nbly is
required, please contact SMC.)




Smooth Cylinder Series CG 1 Y

Dimensions: 220 to 100
Basic: CG1YB

Width across s KA~ F_ GA 2 x P GB Section TA/TB
(R, NPT, G) 2xTC @
MM Hi o ]
=Yl B i / B
o FH e S % : &
LI SESiRR 0
S ~ =
Widih across flats B & o8 <
8; across flats AL 4XTC uj
Q
<_.UA K TA L] || TE cJ2
H S + Stroke F TG TF
ZZ + Stroke NA | M2
G1
Section TA/TB ™ | MB
Sorches *TC ™ TE | TF | TG
o CA2
T 20 M5 x 0.8 8 4 0.5 5.5
aﬂ' 25 M6 x 0.75 10'3%® 5 1 65 [C02
] 32 M8 x 1.0 1279% 55 | 1 75 |CQS
40 M10x 1.25 = 6 1.25 8.5 |Lube-
50 M12x1.25 16%9% 75 | 2 10 retainer
|H | 77 63 M14x15 | 18%% | 115 | 3 145 [Ja
+ Stroke # Cylinder sizes @80 and 100 do not have trunnion mounting
female thread on the width across flats NA. MXH
(mm)
Bore size |Stroke range I:
o) fea) A | AL | B1 c D E F H | Hi 1 J K | KA MM na |MXQ
20 18 | 155 | 13 | 14 8 | 12 2 35 5 | 26 |[M4x0.7depth7| 5 6 | MBx125 | 24 |mep
25 22 [ 195 17 [165| 10 | 14 | 2 40 6 | 31 [M5x08depth7.5| 55| 8 | M10x1.25 | 29
32 22 [ 195 17 | 20 12 | 18 | 2 40 6 | 38 |M5x0.8depth8| 55| 10 | M10x1.25 | 355
40 Un to 1500 |32 27 19 | 26 16 | 25 | 2 50 8 | 47 | M6x1depth12 | 6 14 | Mi4x15 | 44 LOHMS
50 P 35 | 32 27 | 32 20 | 30 2 58 | 11 58 |M8x1.25depth 16| 7 18 | M18x15 | 55 |pKq
63 35 | 32 27 |38 20 | 32 | 2 58 | 11 72 [M10x1.5depth 16| 7 18 | M18x1.5 | 69
80 40 | 37 32 | 50 25 | 40 3 71 | 13 | 89 [M10x15depth22| 10 22 | M22x15 | 86 N”KD
100 40 |37 41 | 60 30 | 50 | 3 71 | 16 | 110 [M12x1.75depth22| 10 | 26 | M26x1.5 |106
(mm) G(L)KU
Bore size |Stroke range Re, NPT port G port P
(mm) (mm) S| ™| ™| Zcale]| P [GAleGs P CKQ
20 77 | 11 1 | 114 | 12 12 | 18 |12 12 |M5x0.8 —
25 77 | 11 11 119 | 12 12 1/8 | 125 | 125 |[M5x0.8 CKZ2N
32 79 | 11 1| 121 | 12 12 | 1/8 [105 | 105 1/8 —
40 87 | 12 12 | 139 | 13 13 | 1/8 |13 10 1/8
Up to 1500 WRF
50 102 | 13 13 | 162 | 14 14 | 14 |14 14 1/4
63 102 | 13 13 | 162 | 14 14 | 14 |14 14 1/4
80 122 | — — | 196 | 20 | 20 | 38 [175 | 175 | 3/8
100 122 | — — | 196 | 20 | 20 | 1/2 |175 | 175 1/2
Female Rod End (mm)
Bore | Ay | H MM 2z
size
20 8 | 13 | M4x07 92
25 8 | 14 | M5x08 93
32 [ 12 | 14 M6 x 1 95

40 13 15 M8 x 1.25 104
50 18 16 M10x 1.5 120
63 18 16 M10x 1.5 120
80 21 19 M14x1.5 144
100 25 22 M16x 1.5 147

+ When female thread is used, use a washer etc._ to INDEX
prevent the contact part at the rod end from being
deformed depending on the material of the workpiece.

1104




Series CG1Y

Mounting Bracket

Axial foot: CG1YL

Weledh Y
e e 1 ! ==
3
4anD4 LX w, F 2xolC f w
- Lz X y (Knock pin position) y X M
z LS + Stroke
ZZ + Stroke
Axial Foot (mm)
Bore size (mm) B LC LD LH Ls LT LX Lz M w X Y r4 zz
20 34 4 6 20 53 3 32 44 3 10 15 7 47 118
25 38.5 4 6 22 53 3 36 49 3.5 10 15 7 52 123.5
32 45 4 7 25 53 3 44 58 3.5 10 16 8 53 125.5
40 54.5 4 7 30 60 3 54 74l 4 10 16.5 8.5 63.5 144
50 70.5 5 10 40 67 4.5 66 86 5 17.5 22 11 75.5 | 169.5
63 82.5 5 12 45 67 4.5 82 106 5 175 22 13 75.5 | 169.5
80 101 6 11 55 74 4.5 100 125 5 20 28.5 14 95 202.5
100 121 6 14 65 74 6 120 150 7 20 30 16 95 206

# Other dimensions are the same as basic type.

= For female rod end, since the wrench flap (K and KA portions) will be inside of the bracket when the piston rod is retracted at the stroke end, extend
the piston rod to tighten the nut using a tool, and mount a workpiece on the rod end.

= Refer to the basic type for the female rod end.

Rod flange: CG1YF

4xoFD F, FT
*Q;} "“"T“{z} I i
&l T @&g@ il e —
A L]
FX:015 H
B
Head flange: CG1YG
2 4xoFD
.-

! s Lo oS

. @,\@\

@ x v 5 é i

w 5 /
| A
FT| || F FXeo15
ZZ + Stroke B
Flange (mm)
Bore size (mm) | B E F | Fx | FD | FT | n | Headfange

20 20 | 12 2 28 | 55 | 6 35 120
25 24 | 14 2 32 | 55 | 7 40 126
32 53 | 18 2 38 | 66 | 7 40 128
40 61 25 2 46 6.6 8 50 147
50 76 | 30 2 58 9 9 58 171
63 92 32 2 70 11 9 58 171
80 104 | 40 3 82 | 11 (R EZ 207
100 128 | 50 3 | 100 | 14 | 14 | 7 210

Note) End boss is machined on the flange for oE.
= Other dimensions are the same as basic type.
= Refer to the basic type for the female rod end.

1105



Smooth Cylinder Series CG 1 Y

Mounting Bracket

Rod trunnion: CG1YU

Note) Refer to page 1107 for pivot bracket.

TR 4
TS Bracket mounting range %
Trunnion (mm) | £
Bore i 3
i TR ore size
T \ Ak (mm) TDe8 TR TS =
&) <
; 9’1 \ 20 83% 39 28
/ \ 25 10365 43 33
J 32 125 54.5 40 cJ2
— 40 14388 65.5 49
2 50 1655 80 60 |CM2
63 18565 98 74
. - — |CG1
Bore size 1z Rod side | Head side
(mm)
L z z MB
Head trunnion: CG1YT ™" i 2 76 6 o1
TS racket
© i mounting range 25 o il 11065 CAZ
38 i « 32 67.7 51 108
Ko 40 78.7 62 125 (173
L A N 50 98.6 71 147 cas
EE— 7z B 63 119.2 7 147 he-
NS = Constructed of a trunnion pin, flat washer and hexagon |retainer
5 socket head cap bolt.
JA

‘ Z + Stroke

Clevis: CG1YD

20 to 063
L _RR 8xdJ
0CD hole H1(;\
Axis d9
— o
L
Z + Stroke _ _
ZZ + Stroke J
(The above shows the case port location is changed by 90°.)
280, 5100 L RR
|V oCD hole H10

Axis d9

Z + Stroke.
ZZ + Stroke

* A clevis pin and retaining rings are shipped together for the clevis type.

* Other dimensions are the same as basic type.
+ Refer to the basic type for the female rod end.

MXH
mxQ

=
=
<

coy
COX
CKC
Clevis
Blempel e [ ex | cz | L | AR
(LK
20 8 — 29 14 1" — —
25 10 — 33 16 13 — cKn
32 12 — 40 20 15 —
40 14 — 49 22 18 —
50 16 — 60 25 20 — OKZ2N
63 18 = 74 30 22 =
80 18 28 56 35 18 26 WRF
100 22 32 64 43 22 32
Bore size Applicable pin
(mm) s 7 £Z part no.
20 43.4 | 126 | 137 CD-G02
25 48 133 | 146 CD-G25
32 59.4 | 139 | 154 CD-G03
40 714 | 159 | 177 CD-G04
50 86 185 | 205 CD-G05
63 105.4 | 190 | 212 CD-G06
80 64 228 | 246 1Y-G08
100 72 236 | 258 1Y-G10
Note) = Refer to page 1107 for pivot bracket.
= Other dimensions are the same as basic type.
« Refer to the basic type for the female rod end.
INDEX

1106




Series CG1Y
Dimensions of Accessories

Single Knuckle Joint

Double Knuckle Joint

1-G02, G03 1-G04, G05, G08, G10 Y-G02, GO3 Y-Go04, G05, G08, G10
Material: Carbon steel Material: Cast iron Material: Carbon steel Material: Cast iron
MM @NDHio MM ©NDHio Ly
.
—+-] St
E & =
u\ / MM oND hole H1o
LA u.] M MM oND hole 1o Axis 49
=L Axis d9
A =
L i P -
Part no. | €0 A | At | Ed [ Li| MM | Ri|Ui| NDwo | NX =< fk
size (mm Al ol |B
20 34 185|016] 25 | M8x1.25 [103]115] 898 8% 1 A1 | U1
25,32 |41 [105]|020| 30 | MI0x1.25 | 128 | 14 | 107 | 10 Lt L1
40 42 |14 |022| 30 | Mi4x15 | 12 | 14 | 107 | 18 A A
50,63 | 56 | 18 |028| 40 | Mi8x15 | 16 | 20 | 14:8°° | 22768
80 | 71[21[038]50 [ M22x15 |21 |27 | 18" | 28 (mm)
100 |79 |21 |o44| 55| M6x15 |24 | 31| 22 3235 Part ?;2::‘; AlAE L] Mm |Ri| Ui |ND| NX |NZ| L Included pin
no. | (mm partno.
A Y-G02| 20 [34[85|016|25 | M8x1.25 [10.3[115| 8 | 8:25:|16 |21 | IY-GO2
Knuckle Pin Y-G03 | 25,32 41 [ 105] 520 30 | W10x125 [128] 14 [ 10| 10:32 | 20 | 256 IV-G03
Y-GO4| 40 |42 |16 |022)|30 | Mi4x15|12|14 |10 18:55 | 36 |416]| IY-GO4
o2 Y-G05 | 50,63 | 56 | 20 | 028 | 40 | M18x15 | 16 | 20 | 14 | 22:53 | 44 | 506 | IY-GO5
T 9,2 Y-G08| 80 |71|23|038)|50 | M22x15|21|27|18|28:53 |56 | 64 | IY-G08
m L m Y-G10| 100 [79 |24 |o44|55 | M26x15 |24 | 31 |22 | 32:55 | 64 | 72 | IY-G10
AN * A knuckle pin and retaining rings are included.
L
t Nt
Material: Carbon steel (mm) .
T Pivot Bracket (Order separately)
Part no. pplicable bore: Dds L d L. m t Included
. size (mm) 2 retaining ring
Y-G02 20 886 | 21 [7.6[162] 1.5 [ 0.9 [TypeC8foraxs 220 to 263
__1Y-Go3 25,32 1088% | 25.6 | 9.6 | 20.2 | 1.55 | 1.15 | Type C10 for axis Material: Carbon steel
__1Y-Go4 40 1088 | 41.6| 9.6 | 36.2 | 1.55 | 1.15 | Type C10 for axis Y 5Td
_IY-G05 | 50,63 | 1482 |50.6 | 13.4[44.2|2.05 | 1.15 [TypeCldforads TR r—j/'
__1Y-Gos 80 18888 | 64 | 17 | 56.2 | 2.55 | 1.35 | Type C18 for axis S
Y-G10 100 228%% | 72 | 21 | 64.2 | 255 | 1.35 | Type C22 for axis I
* Retaining rings are included. S ,“_7'
(oLl oTE*R!®
. . 0 1 _LE Knock pin hole
Clevis Pin =
—_— Lo ]
> w
)| —"
280, 0100
n L AN m Material: Cast iron
t L Nt oTR oTd A
Material: Carbon steel (mm)
Applicable bore Included
Partno. | " Ge (mn Dd9 Ljd|L | m|t retaining ring i
_CD-G02 20 84872 | 43.4| 7.6 [38.6 | 1.5 | 0.9 |Type C8 for axis
CD-G25 25 108878 | 48 | 9.6 | 42.6 | 1.55 | 1.15 | Type C10 for axis
_CD-G03 32 128858 | 59.4 | 11.5| 54 | 1.55 | 1.15 | Type C12for axis : -
_CD-G04 40 14352 | 71.4 [ 134 65 | 2.05 | 1.15 | Type Cléforaxs L ;
CD-G05 50 168838 | 86 | 15.2 | 79.6 | 2.05 | 1.15 | Type C16 for axis TY TX
CD-G06 63 185685 | 1064 | 17 | 97.8 | 2.45 | 1.35 | Type C18 for axis ™w 1z
* Retaining rings are included. (mm)
* A clevis pin and a knuckle pin are common for the bore size 80 and 2100. TR
Part no. G TB|Td |[TE|TF [ TH |TN | TR | TT
Rod End Nut CG-020-24A 20 (36| 8 | 10 |55 25 [(293)[ 13 [3.2
M _CG-025-24A 25 43 | 10 | 10 | 5.5 | 30 |(331)]| 15 | 3.2
¢ CG-032-24A 32 50 | 12 | 10 | 6.6 | 35 |(404)| 17 | 45
® d CG-040-24A 40 58 | 14 | 10 | 6.6 | 40 [(492)| 21 | 45
— CG-050-24A 50 70 | 16 | 20 | 9 | 50 |(604)]| 24 | 6
CG-063-24A 63 82 | 18 | 20 | 11 | 60 |(746)| 26 | 8
9| CG-080-24A 80 73 |18 | — [ 11 | 55 [ 285 | 36 | 11
CG-100-24A 100 90 [22 [ — [135] 65 [825 [ 50 [ 12
Hi B1 Fy—, i i
Material: Carbon steel (mm) Part no. size () TU | TV | TW | TX | TY | TZ App“g_’g_e =
Applicable bore C 0-24A 0 [(18.1)[(35.8)] 4 16 | 28 [38. 8ds5.07
Part no. 8 d H B Cc D
size (mm) S CG-025-24A 5 [(207)](398)] 42 | 20 | 28 |42.1] 1005352
_NT-02 20 M8x1.25 | 5 13 | (15) |125 CG-032-24A 2 [(236)](494)| 4 22 | 28 |53.
-03 25,32 M10x125 | 6 17 | (19.6) | 165 C 0-24A 0 (27.3) | (584)| 56 | 30 | 30 |64.6
-G04 40 M14x15] 8 | 19 | (21.9) | 18 CG-050-24A 50 [(297)[(724) 64 | 36 | 36 [79.2
-05 50, 63 M18x1.5 | 11 | 27 | (31.2) | 26 CG-063-24A 63 [ (34.3)[(904)] 74 | 46 | 46 [97.2
-08 80 M22x1.5 | 13 | 32 | (37.0) | 31 CG-080-24A 80 — | — 172185 ]| 45 | 110
-10 100 M26x 1.5 [ 16 | 41 [ (47.3) [ 39 CG-100-24A | 100 | — | — | 93 [100] 60 | 130 | 22ds3%®

1107




Series CG1Y
Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and lts Mounting Height

Solid state auto switch Reed auto switch
D-M9C1 D-A90]
D-M9IW 220 to 963

020 to 063
~Hs

A 24.5

% € | Air cylinders

(24) (22)
( ): Dimension of the D-M9OA ( ): Dimension of the D-A96
Aand B are the dimensions from the end of the head cover/rod cover to the end of the auto switch Aand B are the dimensions from the end of the head cover/rod cover to the end of the auto switch. BG1
D-G5, K5, G5COW D-C7, C8
D-K59W, D-G59F, D-G5NT 220 to 063 MB
220 to o1 ggs 12 Auto switch 8.5 Auto switch
- r T CA2
= ) = s <1 [c02
[Om i© it |cas
A 33 B LA |26 B Lube-
D-H70J, H7TOW D-C73C, C80C rlsingr
D-H7NF 020 to 063 JA
220 to 563 85 Auto switch Auto switch
~H: a -
> MXH

=
>
=

=
=
<

D-H7C D-B5, B6, B59W
220 to 2100

|}
<=

LA [382] LB
Auto Switch Proper Mounting Position (Detection at stroke end) (mm) Auto Switch Mounting Height (mm) CKQ
Auto switch | p-M9] Auto switch D-M9C]
model | p.grv o lp-c7o [PECHR model| pygry(v) | B-METW passs psow | |OKZ2N
D-M9OW [D-A90 |S"isn) [D-CBO | D-B50 | meow D-M9CW (V)| D-A9L] | D-C73C |D-B59W D-G5NT | ——
D-MOCIWV | D-A9CIV D-C73C D-B64 D-M9UA (V) | D-H701 | D-C80C |D-G5/K5 D-G59F | | WRF
D-H70) D-GENT D-H7OW
D-M9CIA c |D-C80C | D-AID(Y) | DIHTNF D-GSCWD-HTC | L——
D-MOTIAV D-H7 D-GSBA 5
Bore Bore D-C7/C8
size A B A B A B A B A B A B A B ||size Hs Hs Hs Hs
20 33 |32 |29 |28 [28.5(|27.5/29.5|285|25 |24 |23.5|225|26.5|23.5 20 255 24.5 27 275
25 325|325(|28.5(285(28 (28 |29 |29 |245|245|23 (23 |26 |26 25 28 27 29.5 30
32 34 |33 |30 |29 [29.5|28.5|30.5/29.5|26 |25 |24.5|23.5(27.5|26.5 32 31.5 30.5 33 33.5
40 39 |36 |35 |32 [34.5|315(355|325|31 |28 |29.5|26.5(32.5|29.5 40 36 35 37.5 38
50 46 |44 |42 |40 |415|39.5/425|/40.5/38 |36 |36.5/34.5(/39.5|37.5 50 415 40.5 43 43.5
63 445|455|405|41.5/40 |41 |41 |42 [365(|375(35 |36 |38 |39 63 48.5 47.5 50 50.5
80 — | —|—|—|—|—|— | — |495|445|48 |43 |51 |46 80 — — — 59
100 — | —|—=|— | — | — | — | — |485|455|47 (44 |50 |47 100 = = = 69.5 INDEX

Note) Adjust the auto switch after confirming the operating condition in the actual setting.

1108



Series CG1Y

Minimum Stroke for Auto Switch Mounting

(mm)
Number of auto switches
Auto switch model With 1 pc With 2 pcs. With n pcs. (n: Number of auto switches)
i Different surfaces Same surface Different surfaces Same surface
n-2
D-M9C] 5 15 Note 1) 40 Note 1) 20 + GSKT) 55+35(n-2)
(n=2,4,6..)Noted) (n=2,3,4,5+)
n-2
D-MoCIW 10 15 Note 1) 40 Note 1) 20 + BSKT) 55+35(n-2)
(n=2,4,6..)Note3) (n=2,3,4,5)
D-M9CIA 10 25 40 Note 1) 25+ 35" ; ) 60 +35(n-2)
(n=2,4,6..)Note ) (n=2,3,4,5)
n-2
D-A9D] 5 15 30 Note 1) 154 352 50+ 35 (n-2)
(n=2, 4, 6.)Note 3) (n=2,34,5")
n-2
20+35 35+ 35 (n-2)
-| 5 20 35 2
i (n=2,4,6-)Noted) (n=2,3,4,5)
n-2 _
D-A9CIV 5 15 25 15+357 25+35(n-2)
(n=2,4,6.)Note3) (n=2,3,4,5)
D-M9CIWV 10 20 5 20+350 > 2) 35435 (n-2)
D-MSLJAV (N=2, 4, 6..-) Note 3) (n=2,3,4,5.)
D-C70 5 15 50 15+45£—)";2 50 + 45 (n - 2)
D3C8y (n=2,4,6.)Note 3) (n=2,3,4,5)
D-H70) (n=-2) -
D-H7OW 10 15 60 15+ 45 5 60_+24g (2 2)
D-H7NF (=2, 4, 6.-) Note 3) (n=2,8,4,5-)
D-C73C 5 15 o5 15+ 5002 5 2) 65 +50 (n—2)
S (n=2,4,6.)Note3) (n=2,3,4,5.)
D-B501 -
D-B64 5 15 75 15+50£—)”22 75+ 55 (n—2)
Becois (n=2,4,6.-)Note3) (n=2,3,4,5)
D-K590] , 4,
n-2 _
D-B59W 10 20 75 20 +50 > 75+55(n-2)
(n=2,4,6..)Note ) (n=2,3,4,5)

Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 1) Auto switch mounting

Auto switch model

With 2 auto switches

Different surfaces

Same surface

A

15,

Correct auto switch mounting position is 3.5 mm from the back

face of the switch holder.

B

The auto switch is mounted by slightly displacing it in a
direction (cylinder tube circumferential exterior) so that the
auto switch and lead wire do not interfere with each other.

pHAED Note 2

) Note 2)
D-MOCOIW Less than 20 stroke Less than 55 stroke
D-M9CIA Less than 20 stroke Note 2) Less than 60 stroke Note 2)
D-A90] — Less than 50 stroke Note 2)

Note 2) Minimum stroke for auto switch mounting in styles other than those mentioned in Note 1.

1109



Auto Switch Mounting Series CG 1 Y

Operating Range

(mm) (mm)
) Bore size ) Bore size
Auto switch model Auto switch model
20 | 25 | 32 | 40 | 50 | 63 | 80 | 100 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100

D-M9CI(V) D-H7C/H7TmW — - »
D-M9CIW(V) 45| 5 | 45|55 | 5 | 55| — | — D-H7NF 414|455 6|85 5
D-M9TIA(V) D-H7C 7 |85 9 [ 10 |95 105 — [ — || B
D-A901(V) 7|68 /8 |89 - D-G501/G5CIW/G59F =
D-C7/C80 s l1olo lolwolual—]_ D-G5BA/K59/K59W 4 | 4 |45| 5 | 6 |65|65]| 7 5.
D-C73C/C80C D-G5NT 4 | 4 (455 |6 [65[65]| 7 || =
D-B501/B64 8 10| 9 |10 | 10 | 11 | 11 | 11 D-G5NB 35 40 | 40 | 45 | 45 | 45 | 45 | 50 <
D-B59W 13 | 13 | 14 [ 14 [ 14 ][ 17 | 16 | 18

* Values which include hysteresis are for guideline purposes only, they are not a guarantee (assuming approximately +30% dispersion) and may change substantially depending on the ambient environment.

Auto Switch Mounting Brackets/Part No.

Auto switch Bore size (mm)
model 20 25 32 40 50 63 80 100
B:MSSW()V) BMA3-020 BMA3-025 BMA3-032 BMA3-040 BMA3-050 BMA3-063 _ _
D-A9CI(V) (Asetofa, b, c,d)|(Asetofa,b,c, d)|(Asetofa,b,c, d)|(Asetofa b, c,d)|(Asetofa,b,c, d)|(Asetofa,b,c,d)
D-M9TIA(V) Note2)| BMA3-020S BMA3-0258 BMA3-032S BMA3-040S BMAB3-050S BMA3-063S _ _
(Asetofb,c,d,e)|(Asetofb,c,d,e)|(Asetofb,c, d e)|(Asetofb,c,d,e)|(Asetofb,c,d e)|(Asetofb,c,d, e)

Switch bracket (Resin)

Auto switch
a| Transparent (Nylon) Note 1)
White (PBT)

L~

®

c
Auto switch mounting band E(I.)KD
+ Band (c) is mounted so that the projected part is
on the internal side (contact side with the tube). I:(I.)I(IJ
D-C7C1/C80
D-C73C CKQ
D-C80C BMA2-020A BMA2-025A BMA2-032A BMA2-040A BMA2-050A BMA2-063A _ _ L
D-H70O (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) [:KZZN
D-H7OW
D-H7NF s
Sp— BMA2-020AS | BMA2-025AS | BMA2-032AS | BMA2-040AS | BMA2-050AS | BMA2-063AS _ _ WRF
(Aset of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) —
D-B5C1/B64
D-B59W
g:gggll\l\?lsKQSQW BA-01 BA-02 BA-32 BA-04 BA-05 BA-06 BA-08 BA-10
D-G5BA/G59F (Asetof band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-G5NT
D-G5NB

Note 1) Since the switch bracket (made from nylon) are affected in an environment where alcohol, chloroform, methylamines, hydrochloric acid or sulfuric
acid is splashed over, so it cannot be used.
Please contact SMC regarding other chemicals.

Note 2) Avoid the indicator LED for mounting the switch bracket. As the indicator LED is projected from the switch unit, indicator LED may be damaged if
the switch bracket is fixed on the indicator LED.

Band Mounting Brackets Set Part No.

Set part no. Contents : The foll S'teel1mo|ummtg S|creW]:' kit i ilable. Use it i d
- - e following stainless steel mounting screw kit is available. Use it in accordance
-| - Aute itch ting band
?ygaﬁgge(ei)mw vAttg x:lzh 22321:23 s::ew(z}) with the operating environment. (Since the auto switch mounting bracket is not
- - - included, order it separately.)
BJ4-1 - Switeh bracket (White/PBT) (e) BBA3: D-B5/B6/G5/K5 types

'SWf‘Ch holder (b) Note 3) Refer to the WEB catalog or Best Pneumatics No. 3 for details on the
Y - Switch bracket (Transparent/Nylon) (a) BBA3. When the D-G5BA type auto switch is shipped independently, the

BJ5-1 i f

- Switch holder (b) BBA3 is attached.

INDEX

1110



Series CG1Y

Cylinder Mounting Bracket, by Stroke/Auto Switch Mounting Surfaces

Auto switch mounting surface varies depending on mounting brackets and cylinder strokes. Refer to the table below.

(mm)

Auto switch model

Basic, Foot, Flange, Clevis

Trunnion

With 1 pc.
(Rod cover side)

With 2 pes.
(Different surfaces)

With 2 pcs.

(Same surface)

With 1 pc.
(Rod cover side)

With 2 pes.
(Different surfaces)

With 2 pes.
(Same surface)

Auto switch mounting

surface Port surface Port surface Port surface o
(ox ods méony
& & &)
Auto switch type
D-M9[(V)
D-M9CIW(V)
D-MOCIA(V) 10 st or more 15t0 44 st 45 st or more 10 st or more 15t0 44 st 45 st or more
D-A9C](V)
D-C7/C8 10 st or more 15 to 49 st 50 st or more 10 st or more 15 to 49 st 50 st or more
UL 10 st or more 15to0 59 st 60 st or more 10 st or more 15to0 59 st 60 st or more
D-H7NF
D-C73C/C80C/H7C 10 st or more 15to 64 st 65 st or more 10 st or more 15 to 64 st 65 st or more
D-B5/B6/G5/K5
D-G5CIW/K59W 10 st or more 15to 74 st 75 st or more 10 st or more 15to 74 st 75 st or more
D-G59F/G5NT
D-B59W 15 st or more 20to 74 st 75 st or more 15 st or more 20to 74 st 75 st or more

# Trunnion type is not available for 80 and 100.

i e ks

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to the WEB catalog or Best Pneumatics No. 3 for the detailed specifications.

Pneumatics No. 3.

1111

1 1
1 1
: Type Model Electrical entry Features Applicable bore size (mm) :
1 D-H7A1/H7A2/H7B — 1
. D-H7NW/H7PW/H7BW Diagnostic indication (2-color indication) 220 to 063
I Solid state I
1 D-H7BA Water resistant (2-color indication) 1
1 D-G5NT Grommet (In-line) With timer 220 to 8100 1
1 D-C73/C76 — 220 to 563 1
1 Reed D-C80 Without indicator light 1
: D-B53 — 220 to 6100 :
1 1
1 1
1 1

+ With pre-wired connector is also available for solid state auto switches. For details, refer to the WEB catalog or Best Pneumatics No. 3.
* Normally closed (NC = b contact) solid state auto switches (D-F9G/F9H) are also available. For details, refer to the WEB catalog or Best

= Wide range detection type, solid state auto switch (D-G5NB) is also available. For details, refer to the WEB catalog or Best Pneumatics No. 3.

i |



Smooth Cy
Series

linder

MBY

032, 340, 850, 063, 380, 3100

How to Order

BN wvBY[B40
[IEEETE MDBY(B]40

With auto switch
(Built-in magnet]
Mounting
B Basic Bore size
L Axial foot 32 32 mm
F Rod flange 40 40 mm
G Head flange 50 50 mm
C Single clevis 63 63 mm
D Double clevis 80 80 mm
T Center trunnion 100 | 100 mm
Built-in Magnet Cylinder Model Pt “r‘qrifad t’;'ze
If a built-in magnet cylinder without an N NPT
auto switch is required, there is no need TF G

to enter the symbol for the auto switch.
(Example) MDBYB40-100Z

Applicable Auto Switches/Refer to the WEB catalog or Be:

-1 s

lAccessories 1 Made to Orderl
NI None ] Rler o page 1113
. for details.
[ N[ Pivot bracket |
* Only for D and T mounting types Number of auto switches
= Pivot bracket is shipped together Nil
with the product, but not assembled. i 2 pcs.
) S 1 pc.
Accessories 2 3 | 3pcs.
Nil None n " pes.
Vv Single knuckle joint .
w Double knuckle joint —e Auto switch

* A knuckle joint pin is not provided ‘ Nil ‘ Without auto switch ‘

[
-
(7}
k-]
£
>
(&)
x
<

(1]
(2
N

H

C

G1

g

CA2

retainer

with the single knuckle joint.
= Rod end bracket is shipped together
with the product, but not assembled.

+ For applicable auto switches,
refer to the table below.

Cylinder stroke (mm)
Refer to “Standard Strokes” on page 1113.

+ Refer to “Ordering of Cylinder A on page 1114. ‘

st Pneumatics No. 3 for further information on auto switches.

HHE &

H
mxQ

=
=
<

Electrical Wirin Load voltage Auto switch model | Lead wire length (m) Pre-ired i
: " Wil
Type Special function ot (Out L?‘) - ac | Tierod | Band 05 [113]5 | omcer e coy
v P! mounting | mounting | (Ni) |(M)| (L) | @) COX
3-wire (NPN) M9N = ® (@ 0 O o IC
5V,12V -
rommet | (B (PNP)| 24y [P — [mop = ® [@|®[O[ O |ocimauit KO
2-wire 12V M9B = ® (e 0 O o
£ — | — [wovoev] Js1 = e [ Je[o — | CLKD
-‘;’ Terminal 3-wire (NPN) 5V,12V — G39 — | —=|—]—] = —
@ conduit 2-wire 12V — K39 — === = E(L)Ku
] -
= 3-wire (NPN) MONW = ® (@ 0 O o IC e
= Diagnostic indication - 5V,12V . | Relay.
E - — f
[ (2-color indication) Ves| S-wire {FNP) MOPW L J ®|0® 0 o cireuit PLC GKQ
s 2-wire 12V M9BW = ® @ e O O —
) 3-wire (NPN) | 24V — | MONA** = © |O|®@|O] O Ic
o i vii2v P
5 (2‘12}?; irrfjif;ir:n) Grommet 3-wire (PNP) 5V, M9PA** — O |O|®@|O| O circuit CKZ2N
@ 2-wire 12V M9BA** — O |[O|®@|O| O —
With diagnostic output (2-color indication) 4-wire (NPN) 5V,12V F59F — ® —|0|0 O |IC circuit WRF
Magnetic field resistant 2-wire _ P3DW = e —|ej®| O _
(2-color indication) (Non-polar) P4DW = — |—]ele® [e)
3-wire (NPN equivalent)|  — 5V — A96 = [ ] — | ®|— — [ICcircuit| —
£ ] 100V | A93 — o [— oo — —
-'é Grommet |No| 100 Vorless. A90 = ® |—|®|—| — |ICcircuit Rel
z Ves| 100V,200V] _A54 — o (oo — Pe
£ No ) 12V [20Vorkess|  A64 — e [—|o —
F] - 2-wire 24V
it Terminal — = A33 — === = _
9 conduit — A34 — | =1= — PLC
o 100V, 200V
o« DIN terminal|' ) e — A44 — |=|=l=1 = Relay,
Diagnostic indication (2-color indication) | Grommet — — A59W — ® |—|eo|—| — PLC
++ \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
A water resistant type cylinder is recommended for use in an environment which requires water resistance.
+ Lead wire length symbols: 0.5 m.. .Nil (Example) MONW = Solid state auto switches marked with “O” are produced upon receipt of order.
1m, . M (Example) MONWM
3m . L (Example) MONWL
5m.. . Z (Example) MONWZ
+ Since there are other applicable auto switches then listed above, refer to page 1126 for details.
+ For details about auto switches with pre-wired connector, refer to the WEB catalog or Best Pneumatics No. 3.
For the D-P3DW, refer to the WEB catalog or Best Pneumatics No. 3. INDEX
+ The D-A9LJ/MOTICIC/P3DW auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled for the D-A9C/M9IITIC]

before shipment.)

1112




Series MBY

Specifications

Bore size (mm)

32 [ 40 | 50 | 63 | 80 | 100

Action Double acting
Piston speed 5 to 500 mm/s
Fluid Air
Proof pressure 1.05 MPa
Maximum operating pressure 0.7 MPa

Ambient and fluid

Without auto switch: —10°C to 70°C (No freezing)

temperature With auto switch: —10°C to 60°C

Cushion None

Lubrication Not required (Non-lube)

M . Basic, Axial foot, Rod flange, Head flange, Single clevis, Double clevis,
ounting

Center trunnion

Allowable leakage rate

0.5 L/min (ANR)

Standard Strokes

Minimum Operatlng Pressure Bo(:ﬁms.)ze Standard stroke (mm) Max m:tn;fkaemurame

- Unit: MPa 32 | 25,50,75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500 1000

Bore size (mm) | 32 [ 40 [ 50 [ 63 | 80 [100 40| 25,50, 75, 100, 125, 150,175, 200, 250, 300, 350, 400, 450, 500 1000

Min. operating pressure| ~ 0.02 0.01 50 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600 1000

63 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600 1000

80 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600, 700, 800 1000

100 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600, 700, 800 1000

Mg?c?eﬁo Made to Order Note 1) ::qfe:r;eg;a;:uslttﬁﬁss?\/?gilsotregt::tl:oevseoirtiizles?hz‘l:giSIee ranges

= (For details, refer to pages 1247 to 1264) Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
Symbol Specifications Cylinders Model Selection” on front matter pages of the Best Pneumatics No. 2 or the
-XAL | Change of rod end shape WEB catalog. In addition, the products that exceed the standard stroke might not be able

Tie-rod, Cushion valve, Tie-rod nut, etc.

to fulfill the specifications due to the deflection etc.

Xt made of stainless steel Accessories
-XC14 | Change of trunnion bracket mounting position —
_-XC27/| Double clevis and double knuckle joint T — Basic | Axial Rod | Head | Single | Double | Center
pins made of stainless steel 9 foot flange | flange | clevis | clevis | trunnion
-XC29 | Double knuckle joint with spring pin Rod end nut [ ] [ ] [ ] [ ] [ ] [ ] [ ]
Standard o~
-XC30| Rod trunnion C.Iews pin _ — — — — — ° —
-XC65 Made of stainless steel §|nglle l;nucl:le Jl0|.nt LJ L L) LJ L L LJ
(Combination of XC7 and XC68) Option (v;)i;b;n)nuc el [ ) [ ] [ ) [ ] [} [} [
_xceg| Made of stainless steel Rod boot ° ° ° ° ° ° °
(with hard chrome plated piston rod)
Mounting Brackets/Part No.
—
Replacement Parts/Seal Kit Bro size 2 0 50 o3 %0 100
- Axial foot Note1) MB-LO3 MB-L04 MB-L05 MB-L06 MB-L08 MB-L10
50::;'29 Kit no. Contents Flange MB-FO3 | MB-FO4 | MB-FO5 | MB-FO6 | MB-FO8 | MB-F10
(m) Single clevis MB-C03 MB-C04 MB-C05 MB-C06 MB-C08 MB-C10
32 MBY32Z-PS Double clevis | MB-D03 | MB-D04 | MB-DO5 | MB-D0O6 | MB-D0O8 | MB-D10
40 CA2Y40Z-PS |Rod seal 1pe. Note 1) Order two foots per cylinder.
50 CA2Y50Z-PS | Piston seal 1pc. Note 2) Accessories for each mounting bracket are as follows: Axial foot, Flange, Single clevis: Body mounting bolt,
63 CA2Y63Z-PS | Cylinder tube gasket 2 pcs. Double clevis: Body mounting bolt, Clevis pin, Flat washers and Split pins. — Refer to page 1120 for details.
80 CA2YB0Z-PS |Grease pack (10 g) 1 pc.
100 CA2Y100Z-PS

When maintenance requires only grease, use the
following part numbers to order.
Grease pack part number: GR-L-005 (5 g)

1113

GR-L-010 (10 g)
GR-L-150 (150 g)



Ordering Example of Cylinder Assembly

Cylinder model: MDBYDA40-150Z-NW-M9BW

Double clevis

Smooth Cylinder Series MBY

Mounting

Pivot bracket
Rod end bracket W: Double knuckle joint

D: Double clevis
N:Yes

Auto switch D-M9BW: 2 pcs.

# Pivot bracket, double knuckle joint and auto
switch are shipped together with the product,
but not assembled.

Weights
——
(kg)

Bore size (mm) 32 40 50 63 80 100

Basic 044 | 059 | 1.04 | 1.29 | 241 | 3.36

Axial foot 0.56 | 0.73 | 1.26 | 1.57 | 2.91 | 4.02

Basic weight Flange 0.73 | 0.96 | 149 | 2.08 | 3.86 | 6.67

Single clevis 069 | 0.82 | 1.38 | 1.92 | 3.52 | 6.53

Double clevis 0.7 | 0.86 | 1.47 | 2.08 | 3.81 | 7.05

Trunnion 0.73 | 0.95 | 1.52 | 2.09 | 3.96 | 7.03

Additional weight per 50 mm of stroke | All mounting brackets | 0.11 | 0.16 | 0.26 | 0.27 | 0.42 | 0.56

Accessorie: Single knuckle joint 0.15 | 0.23 | 0.26 | 0.26 | 0.60 | 0.83

Double knuckle joint (with pin) | 0.22 | 0.37 | 0.43 | 0.43 | 0.87 | 1.27

Calculation Example) MBYB32-100Z (Basic, 832, 100 st)
.44 (Basic, 832)
0.11/50 stroke

® Basic weight---
* Additional weight:

® Cylinder stroke:«------ 100 stroke

0.44 +0.11 x 100/50 = 0.66 kg

1114

Air Cylinders

MGP
[H) §
COX
K1
Ma
Y
CKQ
CKIN

WRF

EHE

INDEX




Series MBY

Standard
—
Basic: MBYB
2xRcP L.V Port
G 0?’
Width across flats KA
i M N7
s e
_ < =N
wla [T olm
o & [L]
/ ] 4
== =
M |H1| = ==
Width across AL MB N
flats B1 MA 2x4xd
A K||_F N
H S + Stroke
ZZ + Stroke
Dimensions (mm)
B?ﬁgfe A|AL| B |Bi|C |D|E|F|G|H|H J K | KA [MA|MB MM N|P|s |V |z
32 22 [195]| 46] 173251230 13]13 [47] 6 | Mex1 6[10]16] 4 | Miox1.25 [265] 1/8 | 84| 4 [ 135
40 |30 |27 52/ 2238 | 1635|1314 |51 8 | Mex1 6|14]16] 4 | M1ax15 [265] 174 | 84| 4 | 139
50 |35 |32 65| 27 [46.5| 20 | 40 | 14 |[155| 58 | 11 | M8x1.25 | 7|18 | 16| 4 | M18x15 [31 [ 14| 94| 5 | 156
63 |35|32 75] 27 [56.5] 20 | 45 | 14 [16.5| 58 [ 11 [ M8x1.25 | 7|18 |16 4 | M18x15 [31 [38 | 94| 9 [156
80 | 40|37 95/ 32|72 |25] 452019 |72]13 | Miox15 [10]22]16]| 5 | M22x15 [375] 3/8 | 114 | 11.5] 190
100 | 40|37 | 114| 41|89 |30 |55 |20 |19 [72]16 | Miox15 [10]26|16] 5 | Me6x15 [375] 12 [ 11417 | 190

1115



Smooth Cylinder Series MBY

Standard/With Mounting Bracket + Refer to Basic (B) for other dimensions.
Axial foot: MBYL

[
E
o
o
£
>
(&)
4xoLD =
g <
X CJ2
LS + Stroke Y
ZZ + Stroke cM2
CG1
Axial Foot (mm) I:
; MB
Boresize | by y| s | LT x| Ly |z | x| v |2z
(mm)
32 7|80 ]128]32]32] 53 | 50|22] 9162 CA2
40 9|33 [132]32]38| 59 | 55|24 11170 2
50 9|40 |148|32]46| 725| 70|27 |11 |190 oS
63 | 1245|148 3.6 |56| 82.5| 80|27 |14]193 Luhe-
80 | 12|55|174| 45 |72|102.5]100| 30 | 14 | 230 retainer
100 | 14|65 |178| 4589|122 |120| 32|16 | 234 I:JA
Rod flange: MBYF
FE FT Port 4xoFD coY
a X
CKO1
o
%
GLKD
= G(L)KU
CKQ
CKZ2N
Rod Flange (mm) T
Boresize | g | kp |FE|FT | FX |FY | FZ | Fd WRF
(mm)
32 50| 7|3 |10] 64|32| 79| 245
40 55| 9|3 |10] 72|36| 90| 305
50 70| 9|2 |12] 90|45]110] 365
63 80| 9|2 |12[100]50 120|395
80 |100|12| 4 |16 |126|63|153| 39.5
100 |120] 14| 4 |16 |150| 75 178 | 465
INDEX

1116



Series MBY

Standard/With Mounting Bracket + Refer to Basic (B) for other dimensions.
Head flange: MBYG

Port 4xoFD

e
2 e

FY
FB

FT EX
ZZ + Stroke FZ
Head Flange (mm)
Boresize | pp | pp| FT| FX |FY | FZ | 22
(mm)

32 50| 7|[10| 64|32 79|141
40 55| 9]10| 72|36| 90|145
50 70| 9]12] 90|45|110|164
9
2

63 80 12100 50 | 120 | 164
80 100] 12| 16 | 126| 63 | 153 | 202
100 120| 14| 16 [ 150| 75 | 178 | 202

Single clevis: MBYC

Port
CDH10

¥
<3
Q |

e

CX
Z + Stroke RR
ZZ + Stroke
Single Clevis (mm)
Boresize | oo | ex |L|RR|U|Z | 2z
(mm)
32 10'9%%° | 1401 [ 23] 105 | 13 [ 154 | 164.5
40 10'9%° | 1404 [ 23| 11 |13 |158] 169
50 14997 | 2033 |30 | 15 | 17|182| 197
63 14997 | 2003 (30| 15 |17 |182] 197
80 2270% | 303 | 42|23 |26 |228] 251
100 2299 | 3094 | 42|23 |26 |228] 251

1117



Smooth Cylinder Series MBY

Standard/With Mounting Bracket * Refer to Basic (B) for other dimensions.
Double clevis: MBYD

o
o
a

N

Hole dia.: CDH10 3
Shaft dia.: CDd9 y
"J]{ 1N

ShiE=

|
&

=
Chiis

T
UHJjg
1

e
o
N X
'%" € | Air cylinders

Z + Stroke RR
ZZ + Stroke
CG1
Double Clevis (mm) IE
H10 d9
B"(::r:')ze cD cD cx [cz|L|RR|U|Z| 2z
32 107098 | 10090 | 14:9% | 28 | 23| 10.5 | 13 | 154 164.5 CA2
40 10°0%%® | 1070%% | 14:0% | 2823 | 11 |13 158] 169 a2
50 143970 | 1425859 | 20203 | 40|30 | 15 |17]182] 197 c0s
63 143970 | 1470980 | 20:33 | 40|30 |15 | 17| 182|197 Lube-
80 2279984 | 22095 | 30102 [ 60 | 42 | 23 |26 228 251 retainer
100 207908 | 20005 | 30:32 [ 0 | 42 | 23 | 26228 251

o

=
>
=

=
>
=

Center trunnion: MBYT

MGP

Z + 1/2 Stroke

- coy

== COX
)

( CKO1

== CLKD

T e éa GILIKU

TZ Cl
CKQ
Center Trunnion (mm) CKZ2N
Bore size

() TDes |TT|TX|TY|TZ| Z WRF
32 127905 |17 | 50| 49| 74| 89
40 16992 | 22| 63| 58| 95| 93
50 162052 | 22| 75| 71[107|105
63 202353 | 28| 90| 87130105
80 202004 | 34 110|110 | 150| 129
100 2500 | 40 | 132[136 | 182 129

INDEX

1118



Series MBY

Pivot Bracket/Trunnion and Double Clevis Pivot Bracket

Part No.
Boresize| mMpO32 | MBO40 | MBOS0 | MBCI63 | MBLI80 | MBLI100
Description
Trunnion pivot bracket Nte) | MB-S03 MB-S04 MB-S06 MB-S10
Double clevis pivot bracket MB-B03 I MB-B05 I MB-B08
Note) Order 2 trunnion pivot brackets per cylinder.
Trunnion pivot bracket Tz
Z + 1/2 Stroke TO X TO
L |a
=
Zls
[}
2l
(mm)
Part no. B?ﬁ;TS B |TA|TL|TU|TC|TX |TE|TO |TR | TT | TS | TH | TF | Z** | TDH1o
MB-S03 32 46| 62] 45 | 85| 62| 50| 74| 12 | 7 |13 | 10 [ 35 | 47| 89| 129
40 52| 80| 60 |10 80| 63| 97|17 | 9 [ 17 |12 [ 45 | 60| 93] 169
MB-S04 O
50 65| 80| 60 [10 | 92| 75[109] 17 | 9 [ 17 | 12 | 45 | 60| 105| 16%
MB-S06 63 75]100] 70 [15 [ 110| 90 |130] 20 [11 | 22 | 14 | 60 | 80| 105 | 2070%*
80 95[100] 70 [15 [130 | 110|150 | 20 [11 [ 22 | 14 | 60 | 80[129 | 2070%*
MB-S10 | 100 [ 114|120 90 [15 [ 158132184 | 26 |[13.5] 24 | 17 | 75 | 100 | 129 | 259%
Double clevis pivot bracket B
Z + Stroke DX
4 x oDT
Iv
oo
4xoDR DO, pc__| |po
pu| | oL | |pu DE
DA
(mm)
Part no. Biﬁ;fe B |DA|DB|DL|DU|DC|DX|DE|DO|DR|DT|DS|DH|Z* | DDHi0
MB-B03 32 46| 42 [ 32 [ 22 [10 | 44 |14 | 62| 9 | 6.6] 15 | 7 | 33 [ 154 | 109%%
40 52| 42 [ 32 | 22 [10 | 44 [ 14 | 62| 9 | 66] 15 | 7 | 33 [158] 109
50 65| 53 | 43 | 30 [115] 60 | 20 | 81]105] 9 | 18 8 | 45 [182 ] 1497
MB-B05 10070
63 75| 53 | 43 | 30 [11.5] 60 | 20 | 81[105] 9 | 18 | 8 | 45 | 182 14%
MB-B08 80 95| 73 | 64 | 45 [14 | 86 | 30 [ 111[125[11 | 22 | 10 | 65 | 228 | 2270%%
100 [ 114] 73 [ 64 | 45 [14 | 86 | 30 [ 111[125[11 | 22 | 10 | 65 | 228 | 2270%¢
Rotating Angle
Bore size A | B | Ac+ B+ 00°
(mm)
32, 40 25° | 45° 160°
50, 63 40° | 60° 190°
80,100 | 30° | 55° 175°

1119



Smooth Cylinder Series MBY

Dimensions of Accessories

Rod end nut 30 Knuckle joint pin .
(Standard) d Clevis pin 2xod 3
Q
o o & ¢ @
mll e ] (7}
L ©
- =
Bore size Bore size (mm) d Applicable >
Part no. (mm) g i 3 © w PR Clevis[Knuckle B B¢ m Dl trough) split pin 8
NT-03 32 M10 x 1.25 6 17 19.6 | 16.5 CD-M03 32,40 10988 | 44 | 36| 4 3 23x18¢ E
NT-04 40 M14x 1.5 8 22 | 254 | 21 CD-M05 50,63 [ 143565 |60 |51 45| 4 04x25¢
NT-05 50, 63 M18x 1.5 1 27 31.2 26 CD-Mo08 80, 100 22393 82|72 | 5 4 24 x35¢
NT-08 80 M22 x 1.5 13 32 37.0 31 Note) Split pins and flat washers are included. c'lz
NT-10 100 M26 x 1.5 16 41 47.3 39 Y type

[x)
=
~

Double knuckle joint

1 type MM NDH1o |, @
Single knuckle joint N NTAN CG1
b )
Q, ) <IN
A1 U1 | == MB
L U1 ,7
L1 GAZ
Partno. |B9® 8128 | A [A¢|E1[Li| MM |Ri|Ui|NDHio| NX Partno. |B9®SiZ8 | 111 | MM |Ri|ui|NDmio| NX | Nz |CQ2
(mm) (mm) cQs
1-03M 32 40142030 |M10x1.25] 12|16 | 108" | 14 Y-03M 32 2030 M10x1.25[ 10| 16| 103°% | 14333 | 28" bt
1-04M 40 |50 19[22[40 | M14x15 12519 | 10%3° | 14 Y-04M 40 [22[40| Mi4x15[11[19]105° | 1433 | 28 retner
1-05M | 50,63 | 6424|2850 | Mi8x15 165 24| 14 | 20- Y-05M | 50,63 | 28|50 | M18x15 | 14| 24| 14%™ | 2053 | 40-
1-08M 80 | 80264060 | M22x 15 [235] 34 | 22'5™ | 30- Y-08M 80 (4065 M22x15 |20 [34[22%% | 305% | 6055 | JA
1-10M | 100 | 8026|4060 | M26x 15235/ 34 | 22" | 3033 Y-10M | 100 | 40|65 M26x15 | 20 | 34| 22%™ | 30:3% | 60

Note) A pin, split pins and flat washers are included.

=
>
=

Bracket Combinations

=
>
=

Bracket combination available - > Refer to the figure below. MGP
iacketior ) . Single Double Clevis
rkpie
i Ee) Shgloels | Rerlibeis knuckle joint knuckle joint | pivot bracket [H) §
Single clevis — ® — @ — COX
Double clevis — — © CK1
Single knuckle joint — ® — ® —
Double knuckle joint @ — ® — ) E(l.)KD
CILKU
No. Appearance No. Appearance [
Single clevis + Double clevis — Single knuckle joint + Double knuckle joint — cKn
. == ® = o
- H:ﬂl (5] e LY ® CKZ2N
Single clevis + Double knuckle joint S Double knuckle joint + WRF
Single clevis A
@ { 2 9 @ ’—[i ) o
=0 L[; ) o
Double clevis + Single clevis . Double knuckle joint + Single knuckle joint —
® A o . E==Erdle
| PR | I
Double clevis + Single knuckle joint — Double clevis + Clevis pivot bracket E—
. e o |, &t
@ . ) ©@ ]
S Vg
Single knuckle joint + Double clevis Double knuckle joint + Clevis pivot bracket —
© 9 © -1
@ @ INDEX

1120



Series MBY
Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Tie-rod mounting> <Band mounting>
D-M9CI/MOCIV D-Z701/Z80 D-A30/G39/K39

D-M9CIW/MOCOIWV D-Y5901/Y69L1/Y7P/Y7PV
D-M9UA/M9LIAV D-Y7OW/Y7OWV/Y7BA

D-A9CJ/A90IV
Auto switch Auto switch =Hs
L 5 F[ —%3 H[ 3 A@ Eﬁ@
= il
LA LB
D-A5C1/A60] D-A44
D-A59W
Auto switch Auto switch =Hs
- o
-—&] ST o
= el e
LA Ll
D-F501/J50

D-F500W/J59W/F5BA
D-F59F/F5NT

Auto switch =Hs

D-P3DW

Auto switch

D-P4DW

Auto switch =Hs

1121



Auto Switch Mounting Series MBY

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (mm)
Auto D-z701
switch D-Z801
D-M9CI @
model | DM S D-A30) | D-Y590 5
D-M9COW | D-A90J D-A50] D-A44 g T
D-MOOWV | D-A9CV | D-A60I D-A59W g:‘IJ:'SSEF D-F5NT D-J51 D-G39 g¥;gv D-P3DW | D-P4DW E
D-M9CIA D-K39 >
D-M9TIAV DY/ o
- D-Y7OW =
D-Y7OOWV <
Boresize\\l A| B| A|B|A|B|A|B|A|B|A|B|A|B|A|B|A|B|A|B|A|B |
32 10 | 8 |6 |4 |0 |0 |4 |2 65| 45|115| 95| 6 |4 |0 |0 |35|15|55|35|3 |1 cJ2
40 9 |9 |5 |5 |o |o |3 |3 55| 55(105[(105| 5 |5 |0 |0 |25|25[45[45|2 |2
50 10 |9 |6 |5 [0 |0 |4 |3 65| 55|115/105|/ 6 |5 |0 |0 |35|25|55|45|3 |2 cM2
63 10 |9 |6 |5 |0 |0 |4 |3 65| 55|115/105| 6 |5 |0 |0 |35|25|55|45|3 |2
80 145]11.5|105| 7.5 | 45 | 1.5 | 85 | 55 |11 |8 |16 |13 [105|75 |45 |15|8 |5 |55 |2 |75| 45| |CG1
100 14 [12 |10 |8 |4 |2 |8 |6 |105|85|155(135(10 |8 |4 |2 |75|55|5 |25|7 |5
Note) Adjust the auto switch after confirming the operating conditions in the actual setting. MB
Auto Switch Proper Mounting Height (mm) CA2
Auto D-F501 D-z700
switch | p_mgpy Dol D-Z80 €02
model | o morTw D-M9OV | D-A50] | D-F59F | D-A30 D-yser |D-Y690 cos
D-MOCIA D-A9CIV |D-M9CIWV| D-A60] B-.II:SDV\GV D-G39 D-A44 D-Y7P g-¥7P\\INV D-P3DW | D-P4DW ke
g D-M9CJAV | D-A59W | D-J59 D-K39 Y700 -
D-A9C] D-F5BA D-Y7O0W retainer

o
mn
(3]
z
=
[
=

Boresize\| Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht
32 245 |23 27.5|23 30.5 | 23 35 |245|325|25 67 |275| 77 |27.5|255|23 26.5 | 23 34 23 38 31

40 28.5|25.5|315|255|34 |255|385|27.5|36.5|275| 715(275| 815(27.5(295|26 |30 |26 |38 |26 |42 |33 MXH
50 33.5| 31 36 |31 38.5 | 31 43.5|34.5| 41 34 77 — | 87 — | 33531 34.5 | 31 42 |31 46.5| 39 MXQ
63 385|36 |405|36 |43 |36 |485|39.5|46 |39 835 — | 985| — |39 (36 |40 |36 |50 |36 |51.5|44
80 46545 |49 |45 |52 |45 |55 |46.5|525|465| 925 — |103 — |475|45 |485|45 |56 |45 |58 |51.5 MGP
100 54 53.5 | 57 53.559.5|535|62 |55 59.5 | 55 103 — | 1185 — |55.5|53.5|56.5|53.5|63.5|53.5|65.5| 60.5
coy
COX
Operating Range
—peranng 7ange CKC1
(mm)
) Bore size E(l.)KD
Auto switch model 32 20 50 63 30 100 L
D-M9CI/MOCIV E(L)Ku
D-M9CIW/M9CIWV 4 4.5 5 6 6 6 —__
D-M9TIA/MOTIAV CKQ
D-A9C)/A9CIV 7 7.5 8.5 9.5 95| 105 [
D-Z701/Z80 75| 85| 75| 95| 95| 105 CKZ2N
D-A501/A60 9 9 10 11 11 11 .
D-A59W 13 |18 |18 |14 |14 |15 WRF
D-A3C/A44 9 9 10 11 11 11
D-Y5901/Y6901
D-Y7P/Y70V
D-Y7ZOW/Y7OWV 5.5 5.5 7 7.5 6.5 5.5
D-Y7BA
D-F50/J500
D-F5C0W/J59W
D-F5BA/FSNT 35| 4 4 45| 45| 45
D-F59F
D-G39/K39 9 9 9 10 10 11
D-P3DW 4.5 5 5 5.5 4 6.5
D-P4DW 4 4 4 4.5 4 4.5
* Values which include hysteresis are for guideline purposes only, they are
not a guarantee (assuming approximately +30% dispersion) and may
change substantially depending on the ambient environment.
INDEX

1122



Series MBY

Minimum Stroke for Auto Switch Mounting/Mounting Brackets other than Center Trunnion

n: Number of auto switches (mm)

Auto switch Number of Mounting brackets other than center trunnion
9
model auto switches mounted 232, 040, 050, 063 \ 280, 2100
2 (Different surfaces, same surface) 15
D-M90) !
D-M9COIW n 15 + 40 @
(n=2,4,6,8...)Note 1)
2 (Different surfaces, same surface) 10
D-M9CIV !
D-MOCIWV | 10+30 052
(n=2,4,86,8...)Note 1)
2 (Different surfaces, same surface) 1
1 5
D-M9JA N
n 15+ 40052
(N=2,4,6,8...)Note 1)
2 (Different surfaces, same surface)
] 15
D-MSCJAV _
n 15+30 052
(n=2,4,6,8..)Note 1)
2 (Different surfaces, same surface) 15
1
D-A90] N
n 15+ 40052
(n=2,4,6,8...)Note 1)
2 (Different surfaces, same surface)
1 10
D-A9CIV ,
N 10+30 052
(n=2,4,6,8...)Note 1)
2 (Different surfaces) 35
2 (Same surface) 100
D-A30 . 35+30 (n-2)
D-G39 n (Different surfaces) (=23 4.
D-K39 100 + 100 (n - 2)
n (Same surface) (=23, 4
1 10
2 (Different surfaces) 35
2 (Same surface) 55
. 35+30(n-2)
D-A44 n (Different surfaces) (=23 4.
55 + 50 (n — 2)
n (Same surface) (=23, 4
1 10
2 (Different suriac195, same surface) 15 20
D -2 -2
D-A60] n-2) (-2
n (Different surfaces) 154557 20 +557
(N=2,4,6,8.)Note?) | (n=2 4,6, 8..)Note1)
2 (Different surfaces, same surface) 20 25
(n-2) (n-2)
D-A59W n (Same surface) 20 +557 25+557
(n=2,4,6,8...)Note 1) (n=2,4,6,8:...)Note 1)
1 15 25
D-F50] 2 (Different surfaces, same surface) 15 25
D-J500 -2 -2
D-F500W n (Same surface) 15+ 55—~ 25 + 555~
g-il:g%VAV (n=2,4,6,8.)Note) | (n=2 4,6 8..)Note1)
D-F59F 1 10 25
2 (Different surfaces, same surface) 15 25
(n-2) n-2
D-FS5NT n (Same surface) 154557 25+557
(n=2,4,6,8...)Note 1) (n=2,4,6,8...)Note 1)
1 10 25
D-Z700 2 (Different surfaces, same surface) 15
D-Z80 1
D-Y5901 (n-2)
D-Y7P n 15+40——
D-Y7OW (nN=2,4,6,8...)Note 1)

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.

1123



Auto Switch Mounting Series MB Y

Minimum Stroke for Auto Switch Mounting/Mounting Brackets other than Center Trunnion

n: Number of auto switches (mm)

Auto switch Number of Mounting brackets other than center trunnion
model auto switches mounted 032, 040 \ 250, 063 \ 280, 2100
2 (Different surfaces, same surface) 10
D-Y6901 1
D-Y7PV _
D-Y7OWV n 10+30052
(n=2,4,6,8...)Note 1)
2 (Different suﬂac1es‘ same surface) 20
D-Y7BA _
" 20+45022
(n=2,4,6,8..)Note )
2 (Different surfaces), 1 25
2 (Same surface) 45 \ 25
' 25+50 22
n (Different surfaces 2
D-P3DW ( ) (N=2,4,6,8)Note )
(n-2) (n-2)
n (Same surface) 45+50 75 25+5075
(n=2,4,6,8..)Note1) (n=2,4,6,8..)Note1)
2 (Different surfaces, same surface)
1 15
D-P4ADW ,
n 15+65 022
(n=2,4,86,8...)Note 1)

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.

Minimum Stroke for Auto Switch Mounting/Center Trunnion

n: Number of auto switches (mm

Air Cylinders

Auto switch Number of Center trunnion
model auto switches mounted 232 240 \ 250 263 280 2100
2 (Different surfaces, same surface) 75 80 85 90 95
D-MoO
D-M9OW N 75+40 04 80 +40© 85+400-% | 90+40078 | 954400079
(n=4,8, 12,16--) Noe2) (n=4,8,12,16-.) Note2) (1=4,8,12,16.) N2 | (1=4,8,12, 16.-) N2 | (1= 4,8, 12, 16.--) Noe2)
2 (Different surfaces, same surface) 50 55 60 65 70
D-M9CIV
D-MOCIWV | 50 +30 0549 55 +30 124 60+300-4 | 654+300-48 | 7043009
(n=4,8,12, 16...) Nole2) (n=4,8,12,16...) Note 2) (n=4,8,12,16--) N2 [ (n=4, 8, 12, 16.--) Noe2) | (n = 4, 8, 12, 16...) Nole2)
2 (Different surfaces, same surface) 80 85 90 95 100
D-M9JA _ _ Z — N
; 80+ 4009 85 +40 059 90+40029 | 95440029 | 100+ 40054
(n=4,8,12, 16 Yoe2 (1=4,8,12,16-.) Note2) (n=4,8,12,16-) M2 | (124, 8,12, 16.-) Ve | (124, 8,12, 16 Wed
2 (Different sur(ac195‘ same surface) 55 60 65 70 75
D-M9JAV
; 55.+30 029 60 +30 14 65+3005% | 70430054 | 75430074
(n=4,8, 12, 16-) 1062 (n=4,8,12,16::) Note2) (1=4,8,12,16.-) N2 (1= 4, 8,12, 16--) V02 | (124, 8, 12, 16-) Noe2)
2 (Different suriac195, same surface) 70 75 80 85 95
D-A90]
; 70+ 4009 75+40 059 80440059 | 85440059 | 95,4008
(n=4,8, 12,16 Note2) (n=4,8,12,16.-) Note2) (n=4,8,12,16.-)Nte2)| (124, 8, 12, 16--) Nok2) | (n =4, 8, 12, 16~ \oe2)
2 (Different sunaaes, same surface) 45 50 55 60 70
D-A9CIV
; 45+30 09 50 +30 24 55+3002% | 60430074 | 70430079

(n=4,8,12, 16...) Noe2)

(n=4,8,12,16---) Note2)

(n=4,8,12, 16 Noe?)

(n=4,8, 12, 16.) Noe2)

(n=4,8, 12, 16.-) Noe2)

Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.

1124

MGP
c
c
G

Ma

UKy
oK
el

-
O ==

INDEX




Series MBY

Minimum Stroke for Auto Switch Mounting/Center Trunnion

n: Number of auto switches (mm)

Py Number of Center trunnion
auto switches mounted 032 040 I 250 263 280 2100
2 (Different surfaces) 60 65 75 80 85
2 (Same surface) 90 95 100 105 110
D-A30 ) 60 + 30 (n - 2) 65 + 30 (n - 2) 75+30(N-2) | 80+30(N—2) | 85+30(n-2
D-G39 n (Different surfaces) | '~y g..)Nae1) (=2, 4,6,8-)Note 1) (n=2,4,6,8-)Ne | (n=2,4, 6,8 )N | (n=2, 4, 6, 8 Note )
D-K39 90 + 100 (n - 2) 95 + 100 (n - 2) 100 + 100 (n - 2)[105 + 100 (n - 2) [110 + 100 (n - 2)
n (Same surface)
(n=2,4,6,8.)Note1) (n=2,4,6,8.)Note1) (1=2,4,6,8- )N )|(n=2 4,6,8-)Nte )| (n1=2,4,6,8..) Note )
1 60 65 75 80 85
2 (Different surfaces)
70 75 80 85
2 (Same surface)
) 70+30 (n-2) 75+30 (n-2) 80 +30 (n - 2) 85+ 30 (n - 2)
D-A44 n (Different surfaces) | 'y g...)Nae1) (=2, 4,6,8-)Note 1) (n=2,4,6,8..)Note 1) (n=2,4,6,8.)Noe )
n (Same surface) 70 +50 (n - 2) 75450 (n-2) 80 +50 (n -2) 85+50(n-2)
(n=2,4,6,8.)Noe1) (n=2,4,6,8..)Note1) (n=2,4,6,8..)Note1) (n=2,4,6,8..)Noe 1)
1 70 75 80 85
2 (Different suﬂazes. same surface) 60 80 105 110 15
D-A50
D-A6 (n-4) (n-4) (n-4) (n-4) (n-4)
O n (Same surface) 60 +55 029 80+5502% | 10545502 | 11045504 | 115455024
(n=4,8,12,16.-)Note2) (n=4,8,12,16.-) N0 | (124, 8,12, 16-) W2 | (1=4,8,12, 16-)Me2) | (n=4 8, 12, 16 Note2)
2 (Different surfaces, same surface) 60 70 85 110 115 120
(n-4) (n-4) (n-4) (n-4) (n-4) (n-4)
D-A59W n(Same surtace) | B0 +55° 70 | 70485050 | 8545505 | 110455050 | 115455050 | 120455057
(n=4,8,12,16.)M02) | (1=4, 8,12, 16.)N0e2 | (n=4,8, 12, 16.-)Noe2) | (1=4, 8, 12, 16.--) ke | (=4 8, 12, 16.-)Noe2) | (n =4, 8, 12, 16...) Noe2)
1 60 70 85 110 115 120
D-F500/J500 2 (Different surfaces, same surface) 90 95 110 115 120
D-F50O0W (n-4) (n-4) (n-4) (n-4) (n-4)
D-J59W n (Same surface) | 90+ 557 95 +55 024 110+55 0% 1 115455 0°9 | 120455024
D-F5BA (n=4,8,12, 16.-) \ae2) (n=4,8,12, 16...) Note2) (1=4,8,12,16.-) M2 | (1= 4, 8,12, 16.-) V92 | (1= 4,8, 12, 16.-) Noe2)
D-F59F 1 90 95 110 115 120
2 (Different surfaces, same surface) 100 105 120 125 130
(n-4) (n-4) (n-4) (n-4) (n-4)
D-F5NTL n (Same surface) | 100+5505% 105 +55 24 120+55 0% | 125455 0°% | 130455022
(n=4,8,12, 16 Noe2) (n=4,8,12,16.)Note2) (n=4,8,12,16.-)Noe2)| (n.=4, 8,12, 16-) W02 | (124,812, 1.~ Nae2)
1 100 105 120 125 130
D-Z70 2 (Different surfaces, same surface)
D-Z80 1 80 85 90 95 100
D-Y5901 (n-4 (n-4) n-4) (n-4) (n-4
D-Y7P R 80+40028 | 85440028 90 + 40024 95+400-% | 100+ 4002Y
D-Y7OW (n=4,8,12,16.-)N0e2) | (1= 4,8, 12, 16---) o) (n=4,8,12,16...)Note 2) (n=4,8,12,16-)N2) | (n=4,8, 12, 16 Note2)
2 (Different surfaces, same surface)
D-Y6901 p 60 65 70 75 85
D-Y7PV -4 (-4 -4 -4 n-4)
D-Y7OOWV R 60 +30 ;% 65+30 0% 70+300;% | 754300;Y | 85430059
(n=4,8,12,16.- Noe2) (n=4,8,12,16...)Note 2) (n=4,8,12,16) N2 | (124, 8, 12, 16-)N9e2)| (n= 4,8, 12, 16...) Noe2)
2 (Different surfaces, same surface) 85 %0 100 105 110
D-Y7BA _ N N N N
n 85+ 4504 90 + 45024 100+ 45024 | 105+ 4502 | 110445009
(n=4,8,12,16) Noe2) (n=4,8,12,16:)Note 2) (n=4,8,12, 16~ )Nmez (n=4,8,12,16)Noe2) | (n=4,8, 12, 16-+) Note2l
2 Different sunaies, same surface) 80 85 90 95
D-P3DW N N _ _
g n 80 +50 124 80+50 024 90 +50 024 95+50 024
(n=4,8,12, 16 \ae2) (n=4,8,12,16-)Note2) (n=4,8,12,16-)Note2) (n=4,8,12, 16:) o2
2 (Different suﬁaies, same surface) 120 130 140
D-P4DW N B _
n 120 + 65 29 130 + 65 054 140 + 65 5%
(n=4,8,12,16-) Note2) (n=4,8,12,16--) Note2) (n=4,8,12,16--)Note2)

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.

Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.

1125




Auto Switch Mounting Series MB Y

Auto Switch Mounting Brackets/Part No.

Bore size (mm)
232 240 250 263 280 2100

Auto switch model

D-M9CIW/M9CIWV
D-M9TIA/MOLIAV
D-A9CI/A9CIV
D-M9CI/M9CIV
D-A3[C1/A44
D-G39/K39
D-A5C1/A601/A59W
D-F50/J500
D-F500W/J59W BT-03 BT-03 BT-05 BT-05 BT-06 BT-06
D-F59F/F5BA
D-F5NT
D-P3DW BMB9-032S | BMB9-032S | BMB9-050S | BMB9-050S | BA9IT-063S | BA9T-063S
D-P4DW BMB3T-040 | BMB3T-040 | BMB3T-050 | BMB3T-050 | BMB3T-080 | BMB3T-080
D-Z701/Z80
D-Y5901/Y6901
D-Y7P/Y7PV BMB4-032 | BMB4-032 | BMB4-050 | BMB4-050 | BA4-063 BA4-063
D-Y7OW/Y7OWV
D-Y7BA

[Stainless Steel Mounting Screw]
The following stainless steel mounting screw kit (including set screws) is available. Use it in accordance with
the operating environment. (Since the auto switch mounting bracket is not included, order it separately.)

BBA1: For D-A5/A6/F5/J5 types

Note 1) Refer to the WEB catalog or Best Pneumatics No. 3 for details on the BBA1.

The above stainless steel screws are used when a cylinder is shipped with the D-F5BA auto
switch. When only the auto switch is shipped independently, the BBA1 is attached.

Note 2) When using the D-MOJA(V) or Y7BA, do not use the steel set screws which are included with

the auto switch mounting brackets above (BMB5-032, BA7-0JCIC1, BMB4-C1000I, BA4-I000T).
Order a stainless steel screw kit (BBA1) separately, and use the M4 x 6 L stainless steel set

BMB5-032 | BMB5-032 BA7-040 BA7-040 BA7-063 BA7-063

BMB2-032 BMB2-040 BMB1-050 BMB1-063 BMB1-080 BMB1-100

Air Cylinders

- The figure shows the
mounting example for the

screws included in the BBA1. D-A9(V)/MoLI(V)/
MOOIW(V)/MITIA(V).
P s e e e e e e e e e e e e e e e e s s === === M
Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to the WEB catalog or Best Pneumatics No. 3 for the detailed specifications. M P
Type Model Electrical entry Features
D-A93V/A96V . —
D-A90V Grommet (Perpendicular) Without indicator light
Reed D-B35
D-A53/A56/Z73/Z76 Grommet (In-line) -
D-A67/Z80 Without indicator light

D-M9INV/M9PV/M9OBV
D-YB9A/Y69B/Y7PV

D-MINWV/MOPWV/MEBWY Grommet (Perpendicular) Diagnostif: iqdicleltion
D-Y7NWV/Y7PWV/Y7BWV (2-color indication)
D-M9ONAV/M9IPAV/MIBAV Water resistant (2-color indication)
D-P4DW Magnetic field resistant (2-color indication)

D-F59/F5P/J59

Solid state
D-Y59A/Y59B/Y7P —
D-Y7H
D-F59W/F5PW/J59W Grommet (In-ine) Diagnostic indication
D-Y7NW/Y7PW/Y7BW (2-color indication)
D-F5BA/Y7BA Water resistant (2-color indication)
D-F5NT With timer
D-P5DW Magnetic field resistant (2-color indication)

* With pre-wired connector is also available for solid state auto switches. For details, refer to the WEB catalog or Best Pneumatics No. 3.
+ Normally closed (NC = b contact) solid state auto switches (D-FOG/FOH/Y7G/Y7H) are also available. For details, refer to the WEB catalog or
Best Pneumatics No. 3.

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
-

INDEX

1126



Smooth Cylinder

Series CA2Y

240, 50, 063, 280, 3100

How to Order

BN cA2v[B
[ cDA2Y(B]

40
40

é
©
ve)
=
i

With auto switchT
(Built-in magnet) Made to Order
R m Refer to page 1128 for details.
Mounting . [ N_| Piotbracket |
B Basic Bore size # Only for D and T mounting types Number of auto switch
L Axial foot # Pivot bracket is shipped together —
F Rod flange %% with the product, but not Nil | 2pes.
mm n 1 pc.
G Head flange 63 | 63mm Accessories 2 "; 3 ;’ccs
c Single clevis 80 | 80mm Nil No bracket n [ pos
D Double clevis 100 | 100 mm Vv Single knuckle joint -
T Center trunnion W Double knuckle joint L—e Auto switch
" . Portthread type “AAER o S e [N Wihoutato s
Built-in Magnet Cyllnder Model Nil Rc = Rod end bracket is shipped together * For applicable auto switches,
If a built-in magnet cylinder without an TN | NPT with the product, but not assembled. refer to the table below.
auto switch is required, there is no need TF G Cylinder stroke (mm)
to enter the symbol for the auto switch. Refer to “Standard Strokes” on page 1128.
(Example) CDA2YB40-100Z + Refer to “Ordering Example of Cylinder Assembly” on page 1129.
Applicable Auto Switches/Refer to the WEB catalog or Best Pneumatics No. 3 for further information on auto switches.
. - Load voltage Auto switch model |Lead wire length (m) o
Type Special function Elec:ncal (\;VI:Ingt DC AC Tie-rod Band 0.5 1183|5 Aoy Applicable load
aity (Output) mounting | mounting | (Nil) |(M)] (L) | (2) |°°mecte"
3-wire (NPN) MON = e _e/00| O
= G59 ® — @O O i~ v
5V, 12V IC circuit
3-wire (PNP)| 24V — MoP = ® 0,00 O
Grommet — G5P ® — @0 o
— 12V M9B = ® /0 O o
a 2-wire = K59 ® —10 0 o _
S — —  |100V,200V J51 = ® —| 0 0 —
= Terminal | [3-wire (NPN) 12V G39C | G39 | — [—[—[—| —
g conduit 2-wire K39C K39 — |—=l=]=] =
s " MONW = ® /0 O o Rel
& ves| 3 Wire (NPN) SV 12V — | G59W | @ [— @[O0 O |iCaimt| mo
% Diagnostic indication 3-wire (PNP) ! MOPW = ® 0 O o
I (2-color indication) — G5PW | @ [—|@|O [¢)
] —
> 2wire | 24v | 12v | — |MIBW ® 0. 0,0 O -
@ Grommet | I3 ire (NPN) MONA™ KW 8 ° : 8 g
N -wire i — .
2WaTer .rejlsta‘nt 3-wire (PNP) 5V, 12V MOPA™ — O TO0le o 6} IC circuit
(2-color indication) 2-wire 12V MOPA™F | — o [olefo] © —
With diagnostic output (2-color indication) 4-wire (NPN) 5V, 12V F59F G59F ® —|10 |0 O [IC circuit
Magnetic field resistant 2-wire _ P3DW = o |— [ o _
(2-color indication) (Non-polar) P4DW — [ ] o
3-wire ok ircuil
< Yes| (NPN equivalent) | 5V — A96 = o |—| o — —  |ICcircuit| —
£ 100V | A93™ = o [—[e]e] — =
z Grommet o) 0 Vorless| ASO™F | — | @ |—|@[—| — oo poy,
° — [Ves| 100V,200V]  A54 B54 o [— o — PLC
E Nol e 24V 12V [200Vorless| A64 B64 o |—| 0 — —
2 Terminal — A33C A33 — [ =1=1=1 = _
> conduit A34C A3 — | =]=]= — PLC
o DIN terminal ' 100V, 20VI—p44¢C | Ad4 — === = Relay,
Diagnostic indication (2-color indication)] Grommet - - A59W B59W e —| 0| — — PLC
== Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
il (Example) MONW = Solid state auto switches marked with “O” are produced upon receipt of order.

= Lead wire length symbols: 0.5 m
1 M (Example) MONWM #+ The D-A90] and D-A9CJV cannot be mounted on 250.
L (Example) MONWL
Z (Example) MONWZ
= Since there are other applicable auto switches then listed above, refer to page 1140 for details.
= For details about auto switches with pre-wired connector, refer to the WEB catalog or Best Pneumatics No. 3.
For the D-P3DW(J, refer to the WEB catalog or Best Pneumatics No. 3.
= The D-A90)/M90IOCI/P3DW auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled for the D-A90/M900O before shipment.)

1127




Smooth Cylinder Series CAZY

Specifications

Bore size (mm)

40 50 63 8

0

100

Action Double acting
Piston speed 5 to 500 mm/s »
Fluid Air g
Proof pressure 1.05 MPa £

i perating pi 0.7 MPa 3.

. . Without auto switch: —10°C to 70°C ]
No fi =

Ambient and fluid temperature With auto switch: —10°C to 60°C (No freezing) =
Cushion None
Lubrication Not required (Non-lube)
Mounting Basic, Axial foot, Rod flange, Head flange

Single clevis, Double clevis, Center trunnion

A leak rate 0.5 L/min (ANR)
Symbol Minimum Operating Pressure
Without cushion Unit: MPa
\ Bore size (mm) [ a0 | 50 | 3 80 100 |
‘ Minimum operating pressure ‘ 0.02 ‘ 0.01 ‘
Standard Strokes
————————
Made to Bore size (mm) Standard stroke (mm) Max. stroke (mm)
order | Made to Order 25, 50, 75, 100, 125, 150, 175, 200, 250, 300,
(For details, refer to pages 1247 to 1264.) 40 350, 400, 450, 500 1000
Symbol Specifications 50,63 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 1000
-XAO | Change of rod end shape ’ 350, 400, 450, 500, 600
R Tie-rod, Cushion valve, Tie-rod nut, etc. 25, 50, 75, 100, 125, 150, 175, 200, 250, 300,
XC7 made of stainless steel 80,100 350, 400, 450, 500, 600, 700 1000
-XC14 | Change of trunnion bracket mounting position Note 1) Intermediate strokes not listed above are also available. MGP
-XC15 | Change of tie-rod length Please consult with SMC for strokes outside the above ranges. G
Double clevis and double knuckle joint pins Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air ooy
-Xc27 made of stainless steel Cylinders Model Selection” on front matter pages of the Best Pneumatics No. 2 or the cOX
WERB catalog. In addition, the products that exceed the standard stroke might not be able
-XC28| Compact flange made of $5400 to fulfill the specifications due to the deflection etc. KO
-XC29 | Double knuckle joint with spring pin
-XC30 | Rod trunnion Accessories Ok
—
-XC65 Made of stainless steel ( )
(Combination of XC7 and XC68) i
: Mounting Basic | Foot | fod | Head | Singe | Double) Center | IGLKU
-XC68 Made of stainless steel ange | flange | clevis | clevis |trunnion
(with hard chrome plated piston rod) - Rod end nut ] [ ) [ ] [ J [ ] [ ] [ cK
ancar Clevis pin — — — — — [ J — 0
. Single knuckle joint
Replacement Parts/Seal Kit _|Sngoknucdejont] @ | @ | ® | @ | @ | @ | O | iypy
Option | Double knuckle joint —
o [ ] [ ] [ ] [ ]
(with pin) WRF
SR Kit no. Contents
(mm)
40 CA2Y40Z-PS
Rod seal 1pc.
50 CA2Y50Z-PS |
Piston seal 1pe.
63 CA2Y63Z-PS Cylinder tub et 2
50 CA2Y80z-pg | CYinder tube gasket 2 pes.
100 CA2Y100Z-PS Grease pack (10 g) 1pc.
When maintenance requires only grease, use the
following part numbers to order.
Grease pack part number: GR-L-005 (5 g)
GR-L-010 (10 g)
GR-L-150 (150 g)
INDEX

1128



Series CA2Y

Ordering Example of Cylinder Assembly

Cylinder model: Double clevis
CDA2YD40-150Z-NW-M9BW

Mounting D: Double clevis
Pivot bracket  N:Yes
Rod end bracket W: Double knuckle joint

Auto switch D-MIBW: 2 pcs. # Pivot bracket, double knuckle joint and auto switch are

shipped together with the product, but not assembled.

Weights/Aluminum Tube

(kg)
Bore size (mm) 40 50 63 80 100
Basic 0.73 1.06 1.53 2.73 3.71
Axial foot 0.91 1.25 1.83 3.40 4.64
. . Flange 1.09 1.48 2.28 418 5.57
Basic weight - -
Single clevis 0.95 1.37 212 3.84 5.43
Double clevis 0.99 1.46 2.28 413 5.95
Trunnion 1.08 1.51 2.29 4.28 5.93
Additonal weight | A\ o unting brackets | 020 | 025 | 031 046 | 058
per 50 mm of stroke
. Single knuckle joint 0.23 0.26 0.26 0.60 0.83
Accessories T
Double knuckle joint (with pin) 0.37 0.43 0.43 0.87 1.27

Calculation (Example) CA2YL40-100Z (Axial foot, 240, 100 st)
* Basic weight--- 0.91kg
® Additional weight: 0.20/50 stroke
® Cylinder stroke--- 00 stroke
0.91 + 0.20 x 100/50 = 1.31 kg

1129



Basic: CA2YB

G

Smooth Cylinder Series CAZY

2xP

4xd Width across flats KA 2 x Cushion valve G
MM 1T H—F‘;‘J% @
=i i a—)
YUY o
yof Hl =
m=miti | i >
H1 = i | 8
lAL,| |WA| WA <
A K N
El N CJ2
H S + Stroke M
ZZ + Stroke M2
(mm) \GG1
Bolosiee A AL B B1 c D E F G H H1 J K KA
(mm) MB
40 30 27 60 22 44 16 32 10 15 51 8 M8 x 1.25 6 14
50 35 32 70 27 52 20 40 10 17 58 11 M8 x 1.25 7 B oAz
63 35 32 85 27 64 20 40 10 17 58 11 M10 x 1.25 7 18
80 40 37 | 102 | 32 78 25 52 14 21 71 13 M12x1.75 10 22 og2
100 40 37 | 116 | 41 92 30 52 14 21 72 16 M12x1.75 10 26 |cqs
Bore size Lube-
i ] MM N P s wA | zz reainer
40 1 M14x15 27 1/4 84 | 185 | 146
50 1 M18x1.5 30 3/8 90 | 185 | 159 JA
63 14 M18x 1.5 31 3/8 98 23 170
80 17 M22 x 1.5 37 12 | 116 | 285 | 204 MXH
100 17 M26 x 1.5 40 12 | 126 | 285 | 215
MXQ
Axi . MGP
xial Foot: CA2YL
[Hl) §
() §
H G
2xP
B J LA, K £ CKOI1
1 4x ‘ AL F 2 x Cushion valve
MM Hi mE e G(LKD
TN w af 4x0LD lonwn
o xo
51 )K% u o} = N G(L)KU
|F =il I 1
=& w&1@@§@§4J§ ] 15 = CKQ
LX T s sok ‘L’yx [ —
+ Stroke
c [T LS + Stroke Y CKZ2N
B 27 + Stroke [ —
WRF
(mm)
B"(::r:')ze AlA | B |[B | Cc|D|E|F |G| H|H J K | KA | LD | LH | LS | LT
40 30 | 27 | 60 | 22 | 44 | 16 | 32 | 10 | 15 | 51 | 8 | M8x125 | 6 | 14 | 9 | 40 | 138 | 32
50 35 | 32 | 70 | 27 | 52 | 20 | 40 | 10 | 17 | 58 | 11 | M8x125 | 7 | 18 | 9 | 45 | 144 | 32
63 35 | 32 | 85 | 27 | 64 | 20 | 40 | 10 | 17 | 58 | 11 | M10x1.25 | 7 | 18 | 115 | 50 | 166 | 3.2
80 40 | 37 | 102 | 32 | 78 | 25 | 52 | 14 | 21 | 71 | 13 | M12x1.75 | 10 | 22 | 135 | 65 | 204 | 45
100 40 | 37 | 116 | 41 | 92 | 30 | 52 | 14 | 21 | 72 | 16 | M12x1.75 | 10 | 26 | 135 | 75 | 212 | 6
Boresize |y | Ly MM N | P | s | x|V |z
(mm)
40 42 | 70 | M14x15 | 27 | 1/4 | 84 | 27 | 13 | 175
50 50 | 80 | M18x1.5 | 30 | a/8 | 90 | 27 | 13 | 188
63 59 | 93 | M18x15 | 31 | 3/8 | 98 | 34 | 16 | 206
80 76 | 116 | M22x15 | 37 | 1/2 | 116 | 44 | 16 | 247
100 92 | 133 | M26x15 | 40 | 1/2 | 126 | 43 | 17 | 258
INDEX

1130



Series CA2Y

Rod Flange: CA2YF

2xP
_9» _(_3!> 4xoFD 4xd
2 x Cushion valve
Width across flats KA
MM F:‘T; H . &
== =
qf : W oPzz ol m
‘ 1l j=n
Width across flats B1 H1 ‘} 1 é} E Eet
lLAL | i
K [of
A | FI.N N B
H S + Stroke M FX
ZZ + Stroke FZ
(mm)
B‘Z::rﬁ')ze A |[AL| B |B | C | D|E |FB|FD|FT|FV|FX|FY|FZ| G | H |H J K
40 30 | 27 | 60 | 22 | 44 | 16 | 32 | 71 | 9 | 12 | 60 | 80 | 42 | 100 | 15 | 51 | 8 |M8x1.25| 6
50 35 | 32 | 70 | 27 | 52 | 20 | 40 | 81 | 9 | 12 | 70 | 90 | 50 | 110 | 17 | 58 | 11 |M8x1.25] 7
63 35 | 32 | 85 | 27 | 64 | 20 | 40 | 101 | 115 15 | 86 | 105 | 59 | 130 | 17 | 58 | 11 |Mi0x1.25] 7
80 40 | 37 | 102 | 32 | 78 | 25 | 52 | 119 | 135 | 18 | 102 | 130 | 76 | 160 | 21 | 71 | 13 |Mi2x1.75] 10
100 40 | 37 | 116 | 41 | 92 | 30 | 52 | 133 | 135 18 | 116 | 150 | 92 | 180 | 21 | 72 | 16 |M12x1.75 10
Boresize | yp | MM N | P | s |2z
(mm)
20 14 | 11 | M14x15 | 27 | 1/4 | 84 | 146
50 18 | 11 | M18x15 | 30 | 3/8 | 90 | 159
63 18 | 14 | M18x15 | 31 | 3/8 | 98 | 170
80 22 | 17 | M22x15 | 37 | 1/2 | 116 | 204
100 26 | 17 | M26x1.5 | 40 | 1/2 | 126 | 215
Head FIange: CA2YG
4xoFD B1 4xd Width across flats KA ‘g’ 2xP . _(_5_
2 x Cushion valve
W =T 1N =
AN
w o P Tte o |
Hl =& -
! =
AL
F N N
A ||K
H S + Stroke FT|
2ZZ + Stroke
(mm)
B?ﬁ;?e A |AL| B | B | C D E F |FB | FD | FT | FV | FX | FY | FZ | G H | Hi
20 30 | 27 | 60 | 22 | 44 | 16 | 32 | 10 | 71 9 | 12 | 60 | 80 | 42 | 100 | 15 | 51 8
50 35 | 32 | 70 | 27 | 52 | 20 | 40 | 10 | 81 9 [ 12 | 70 | 90 | 50 | 110 | 17 | 58 | 11
63 35 | 32 | 85 | 27 | 64 | 20 | 40 | 10 | 101 | 115 | 15 | 86 | 105 | 59 | 130 | 17 | 58 | 11
80 40 | 37 | 102 | 32 | 78 | 25 | 52 | 14 | 119 | 135 | 18 | 102 | 180 | 76 | 160 | 21 | 71 | 13
100 40 | 37 | 116 | 41 | 92 | 30 | 52 | 14 | 133 | 135 | 18 | 116 | 150 | 92 | 180 | 21 | 72 | 16
SO e K | KA MM N P s | zz
(mm)
40 M8 x 1.25 6 | 14 | Mi4x15 | 27 | 1/4 | 84 | 147
50 M8 x 1.25 7 | 18 | M18x1.5 | 30 | 38 | 90 | 160
63 M10x125 | 7 | 18 | Mi8x15 | 31 | a8 | 98 | 171
80 Mi2x1.75 | 10 | 22 | Me2x15 | 37 | 1/2 | 116 | 205
100 Mi2x1.75 | 10 | 26 | M26x1.5 | 40 | /2 | 126 | 216

1131



Smooth Cylinder Series CAZY

Single Clevis: CA2YC

2xP
N G G
Width across flats KA -~ 2 x Cushion valve - 4xd
oCDH10
MM =T 4‘"‘ Tﬁ\ ")
S— " £
= @r_ g
Wl TEHR “ £
= | | e @ =
Width across flats B1 = el
Hi } I &) Q
AL =
A K N |U|
F| LN
H S + Stroke L
Z + Stroke RR
ZZ + Stroke
B?ﬁgﬁe A | A | B | B | C CDH10 cx D | E F | G | H | H J K
40 30 | 27 | 60 | 22 | 44 10°9%¢ 1501 16 | 32 [ 10 | 15 | 51 8 |M8x125| 6
50 35 32 70 27 52 12370 1833 20 40 10 17 58 11 [ M8x1.25 | 7
63 35 32 85 27 64 16707 25391 20 40 10 17 58 11 [ Mi0x125| 7
80 40 | 37 [ 102 | 32 78 2079% 31.533 25 | 52 14 | 21 71 13 | M12x175 | 10
100 40 37 | 116 | 41 92 25%0% 35.551 30 52 14 21 72 16 [ M12x1.75 | 10
SOk L MM N P |RR | S u z | zz
(mm)
40 30 M14x15 | 27 | 1/4 | 10 | 84 | 16 | 165 | 175
50 35 M18x1.5 | 30 | 3/8 [ 12 | 90 | 19 [ 183 | 195
63 40 M18x1.5 | 31 | 3/8 | 16 | 98 | 23 | 196 | 212
80 48 M22x1.5 | 37 | 1/2 | 20 | 116 | 28 | 235 | 255
100 58 M26x1.5 | 40 | 1/2 | 25 | 126 | 36 | 256 | 281
Double Clevis: CA2YD
MGP
U
coy
f7 COX
[ Hole diameter: 6CDH1o
ﬁ@ Shaft diameter: 0CDas CKD1
G 2xP G
Width across flats KA 2 x Cushion valve E(I.)KD
MM =] il —
AN Gy
OEE=5=13 | —
L] e CKQ
H1 = { Lﬂ:\_[ﬂ/ L
Width across flats B1 /| AL, | CKZ2N
A K N PO
F| |_N R
H S + Stroke L WRF
Z + Stroke RR1
ZZ + Stroke
* A pin and retaining rings are shipped together with double clevis and/or double knuckle joint. (mm)
B"(ﬁnﬁi)ze A |AL| B | B | C | cowo cx cz| b | E|F |G| H|H J K | KA
40 30 | 27 | 60 | 22 | 44 10'0%%® 15593 295 | 16 | 32 10 15 | 51 8 |M8x125] 6 14
50 35 | 32 | 70 | 27 | 52 iR 1803 38 | 20 | 40 | 10 [ 17 | 58 | 11 |M8x1.25]| 7 18
63 35 | 32 | 85 | 27 | 64 167907 25192 49 | 20 | 40 | 10 | 17 | 58 | 11 [M10x125] 7 18
80 40 | 37 | 102 | 32 | 78 20%0% 31.53 61 25 | 52 | 14 | 2 71 13 | M12x1.75| 10 | 22
100 40 [ 37 | 116 | 41 92 25'0% 35.5:03 64 | 30 | 52 | 14 [ 21 72 | 16 [M12x1.75] 10 | 26
SR L MM N | P |RRM|RR2| S | U | Zz |2z
(mm)
40 30 | M14x15 [ 27 | 1/4 [ 10 | 16 | 84 | 16 | 165 | 175
50 35 | M18x1.5 | 30 | 3/8 [ 12 [ 19 | 90 [ 19 [ 183 | 195
63 40 [ M18x15 | 31 [ 3/8 | 16 | 23 | 98 | 23 | 196 | 212
80 48 | M22x15 | 37 | 1/2 [ 20 | 28 | 116 | 28 | 235 | 255
100 58 | M26x15 | 40 | 1/2 | 25 [ 235 126 | 36 | 256 | 281 INDEX
+ A clevis pin, flat washers and split pins are included.

1132



Series CA2Y

Center Trunnion: CA2YT

Z + 1/2 Stroke 2 x Cushion valve
Width across G p G
flats KA 2x
ré S < s RE
B o\ %{ L 2N 1
> wl o q o) H
[ L El &¢\ H r ) H
H L B ] T
AL
ALK BLLR R I
F N
H S + Stroke
ZZ + Stroke
(mm)
B"(:ﬁ;')ze A|AL| B |B | C | D]|E F |G | H | H J K | KA MM N P
40 30 | 27 | 60 | 22 | 44 | 16 | 32 | 10 | 15 | 51 8 | M8x125]| 6 14 | M14x15] 27 | 1/4
50 3 | 32 | 70 | 27 | 52 | 20 | 40 | 10 | 17 | 58 | 11 |M8x1.25]| 7 18 | M18x1.5| 30 | 3/8
63 35 | 32 | 85 | 27 | 64 | 20 | 40 | 10 | 17 | 58 | 11 |Mi0ox125]| 7 18 | M18x15] 31 | 3/8
80 40 [ 37 [ 102 [ 32 | 78 | 25 [ 52 | 14 [ 21 71 13 [M12x1.75] 10 | 22 [ M22x15] 37 | 1/2
100 40 | 37 | 116 | 41 92 [ 30 | 52 [ 14 | 21 72 | 16 [M12x1.75] 10 | 26 | M26x1.5] 40 | 1/2
Bolcies s TDes T X | TY [ T2 | z | 2z
(mm)
40 84 15052 22 | 85 [ 62 [ 117 [ 93 [ 140
50 90 15002 22 | 95 | 74 | 127 | 103 | 154
63 98 1835 28 | 110 | 90 | 148 | 107 | 162
80 116 2505 34 | 140 | 110 | 192 [ 129 | 194
100 126 2505 40 | 162 | 130 | 214 | 135 | 206

+ Do not disassemble the trunnion type. (Refer to the standard type.)

1133



Trunnion and Double Clevis Pivot Bracket

@ Strength is the same as cylinder brackets.

Smooth Cylinder Series CAZY

Type
Boesizel cA2m40 | CA2050 | CA2063 | CA2080 | CA20100
Description
Trunnion pivot bracket CA2-S04 CA2-S06 MB-S10
Double clevis pivot bracket CA2-B04 ‘ CA2-B05 CA2-B06 CA2-B08 ‘ CA2-B10

* Order 2 trunnion pivot brackets per cylinder.

Trunnion pivot bracket

Material: Cast iron

Z + 1/2 Stroke

Air Cylinders

I al w
Bl x|l F
=
[ i
v e
TC Ty TU
(mm)
Part no. B‘z;ﬁ;')ze TA | TL | TU | TC | TX | TE | TO | TR | TT | TS | TH | TF | TY | Z | TD-H10 (Hole)
40 80 | 60 | 10 | 102 | 85 | 119 | 17 9 17 | 12 | 45 | 60 | 62 | 93 157
CA2-S04
50 80 60 10 | 112 | 95 | 129 | 17 9 17 12 45 60 74 | 103 157
CA2-506 63 100 | 70 | 15 | 130 | 110 | 150 | 20 | 11 22 | 14 | 55 | 73 | 90 | 107 B
MB-S10 80 120 | 90 | 15 | 166 | 140 | 192 | 26 | 135 | 24 | 17 | 75 | 100 | 110 | 129 255
100 120 | 90 15 | 188 | 162 | 214 | 26 | 135 | 24 17 75 | 100 | 180 | 135 2579
Double clevis pivot bracket
Material: Cast iron
Z + Stroke

MGP
coy
CcOX
CKO1

oo

Ma

CILKY
CKQ
N CKZ2N
o
WRF
Be
Rotating Angle
Bore size (mm) | A° | B° A° + B° + 90°
40
to 12° | 60° 162°
100 T
(mm)
Part no. B‘;:Te]ms'lze DA | DL | DU | DC | DX | DE | DO | DR | DT | DS | DH | DF | B | Z | DDH10 (Hole)
CA2-B04 40 57 35 11 65 15 85 10 9 17 8 40 52 60 | 165 1079
CA2-B05 50 57 | 35 | 11 | 65 | 18 | 85 | 10 9 17 8 40 | 52 | 70 | 183 i
CA2-B06 63 67 | 40 [135] 80 | 25 [ 105 [125] 11 | 22 | 10 | 50 | 66 | 8 | 196 163
CA2-B08 80 93 | 60 | 165 | 100 | 315 | 130 | 15 | 135 | 24 | 12 | 65 | 90 | 102 | 235 2079 INDEX
CA2-B10 | 100 93 | 60 | 165 | 100 [ 355 | 130 | 15 [ 135 24 | 12 | 65 | 90 | 116 | 256 25'3%

1134



Series CA2Y
Dimensions of Accessories

Y Type Double Knuckle Joint

Shaft diameter oNDso Split pin Material: Cast iron (mm)
Hole diameter sND. . Applicable o Flat
o dlameter o Flat washer: Part | esie |Ar|Ei|Di|Li| MM |RRi| U [ND| NX |Nz| L | SPRPIN | yasher
MM Polished round no. (mm) size size
=1 )
_ Y-04D| 40 [22|24|10|55|M14x15|13|25| 12| 16337 | 38 |555| 03 x 18¢ g‘ﬂfgfg
M 13 XN
‘-gL [ zlz - Polished
Y-05D | 50,63 |27 |28 |14|60| M18x 15| 15|27 (12| 16337 | 38 |555| 03 x 18¢
J round 12
D— \;TBA
© v-08D| 80 |37(36|18|71|M22x15[19|28|18| 287 | 55 |765| o4 x25¢ | FOhed
LA Ui : o - round 18
L1
v-10D| 100 |37(40|21|83|M26x15 |21 38|20 3083 | 61|83 | o4 x30e| O
& : o round 20
% = A knuckle pin, split pins and flat washers are included.
Clevis Pin/Knuckle Pin
Material: Carbon steel (mm)
peweg I bl cablSlborsloizcl Lzl m Dfi" Included | Included
2 xod g, “| clevis | Knuckle hrough split pin | flat washer
w e cDP-2A| 40 — 103% | 46 | 38 | 4 | 3 | o3x18¢ |poishedround10
W i CDP3A| 50 [40,50,63| 129%% [555(475| 4 | 3 | 03x18¢ |Poishedround t2
m| ¢ CDP-4A 63 — 162099 | 71 | 61 5 4 | @4x25¢ |Polihedound 16
L CDP5A| — 80 18308 |765(665| 5 | 4 | @4x25¢ |Poishedround 18
CDP-6A| 80 100 | 20%% | 83 | 73| 5 | 4 | @4x30¢ |poishedromnd20
cop-7A| 100 — 253% | 88 | 78 | 5 | 4 | 04x36¢ |Polshedromnd2s

= Split pins and flat washers are included.

Rod End Nut (Standard)

J%% h

Material: Free cutting sulfur steel (mm) Material: Rolled steel (mm)

Part \kpluabetoe p | o | g | Ly | MM | R | Ur | NDWO | NX Part no, |APpicable bore d H B c D
no. size (mm) size (mm)

104A| 40 | 69 | 22 | 24 | 55 |M14x15]155] 20 | 12:9°° | 163} NT-04 | 40 M14x15 8 22 | 254 | 21
1-05A| 50,63 | 74 | 27 | 28 | 60 |M18x 15[155] 20 | 12:3°° | 163} NT-05 | 50,63 M18x 1.5 11 27 | 312 | 26
1-08A| 80 | 91|37 |36 71 |M22x15|225| 26 | 189" | 283} NT-08| 80 M22 x 1.5 13 | 32 | 370 | 31
I10A| 100 |105] 37 | 40 | 83 |M26x1.5/245] 28 | 20%™ | 303} NT-10| 100 M26 x 1.5 16 | 41 | 473 | 39

1135



Series CA2Y

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Tie-rod mounting
D-M9C/M9CIV
D-M9OW/M9OIWV
D-M9OA/M9CIAV

>
D-Z701/Z80

D-Y5901/Y69L1/Y7P/Y7PV

D-Y7OW/Y70O0WV

<Band mounting>
D-B501/B64/B59W

D-A90/A9CIV D-Y7BA
LA Auto switch =Hs_
i T
el o= TRk
it = J Pk
=} S L
2ls
D-A501/A601D-
~Hs
15
D-A30C
D-G39C/K39C G1/2
A 49 Applicable cable O.D.: 06.8 to 09.6
36 / B HW
T ED
g EE_ FEE
o) il
It il
= (S g
D-F501/J50 D-F500W/J59W
D-F5NT D-F5BA/F59F
Auto switch
%@*i@m E0E
el %7 o
fon S —_1H
A_l30 LB
D-A44C G1/2

}

()
I

g

Applicable cable 0.D.: 06.8 to 011.5

o
)
©
c
Auto switch =Hs =
i LT
Al ] :E o] _% E
w1 eS8
D-A30] oM2
D-G39/K39 a1 CG1
A 49 Applicable cable O.D.: 06.8 to ©9.6
a6 B_ -Hs MB
= s /==Y 5
o i == =i ST o
= f—r ) ca2
e il e [
D-G5LCI/K59 D-G5BAL pra
D-G50W/K59W D-G59F/G5NTL
Auto switch =Hs JA
e T :
. G- YT
L i
SR
A_|_33 =B
GP
D-A44 G1/2

Applicable cable O.D.: 06.8 to 811.5

n}

1136

ﬂﬂﬂg
1
O EE

=
=
==
=

LI
>

=

=5

WRF

INDEX




Series CA2Y

Auto Switch Proper Mounting Position (Detection at stroke end) and lts Mounting Height

Auto Switch Proper Mounting Position (mm)
A_tnﬁ D-Y5901 D-G39
switcl D-Y6901 D-G39C
model | p.momy D-Y7P D-F501 D-K39 g:ﬁ:gu
iy | 2o, 20T o S | B | b
D-M9CIWV 3:?;’1‘:“' p-vzowy | D-PSDW | D-PADW | popyy | D-ASSW | D-FSNT | py pgr g:ﬁ:&v“'lv D-B64
D-M9CIA D-Y7BA D-J59W D-ASD | precoa
D-M9JAV D-Z70) D-F5BA D-ASCIC | ' oor
D-280 D-A44
Bore D-B59W D-A44C
size A|lB|A|B|A|B|A|B|A|B|A|B|]A|B|A|[B|A|[B|A|B|A]|B
40 9 | 9 |5 | 5 | 25|25 45|45 2 |2 55| 55| 3 | 3 |[105]105|0 |0 1)1 o |o
50 95| 85| 55| 45| 3 |2 |5 |4 2515 | 6 | 5 | 35| 25|11 [10 o o 15/05]0 |o
63 |125]115| 85| 75| 6 |5 |3 | 25| 55/45| 9 | 8 | 65| 55|14 [13 |25 [ 15| 45[35 |3 |2
80 |165|135|125] 95|10 |7 |75] 4 95] 65 |13 |10 |105] 75|18 [15 |65 |35 | 85|55 |7 |4
100 18 16 14 12 115 | 95 9 65 |11 9 145 | 125 | 12 10 195|175 | 8 6 10 8 8.5 6.5
Note) Adjust the auto switch after confirming the operating conditions in the actual setting.
Auto Switch Mounting Height (mm)
Auto D-B50
witch - |
fnozice' D-Z70) 3—gggw g'jgg']
RO D-Morv| D280 |b-veor Des) | p-a30 D-ASC |D-F500W|D-A3CIC
D-MoriA| P-A9CIV D-MIOWV| '~ 2™ | D-Y7PV | D-P3DW | D-PADW| "o | D-G39 | D-A44 | D-A6L] D-J59W | D-G39C | D-A44C
D-ASC! D-MOTIAV| ) vop s [DY7OWY p-csw| P-K39 D-A59W g—_l;sszlé D-K39C
D-Y7OW D-K59W D-F5NT
D-G5BAL
Bore D-G59F
size Hs | Ht |Hs | Ht | Hs | Ht |Hs | Ht | Hs | Ht |Hs | Ht |Hs | Ht | Hs Hs Hs |Hs| Ht | Hs | Ht | Hs | Ht | Hs | Ht
40 [30 |30 |31 |30[34 [30]30 [30 [30 [30 | 38|30 425|383 | 37 715 81.5 [38.5]31.5/38 [315)73 | 6981 | 69
50 |34 [34[35 [ 3438 | 3434 |34 |34 |34 |42 34 [465]375] 42 76.5 865 |42 |35.5]42 |355| 785] 77| 865| 77
63 |41 | 41[415]) 41 [44 |41 |41 |41 |41 |41 |49 4152 [43 | 49 835 935 [46.5(43 |47 [43 | 855| 91| 935| 91
80 |49.5] 49 [50 | 49 |52.5] 49 |49.5]49 |495|49 | 56 | 49 [585[51.5] 575 92 102 |535[51 [535[51 | 94 | 107102 |107
100 |56.5| 56 [58.5| 56 |61 | 56 |56.5|55.5|57.5|555)| 65 | 56 |66 [58.5| 68 1025 | 1125 |61.5]57.5/61 [57.5]104 | 121112 |121
Operating Range
(mm)
) Bore size ) Bore size
Auto switch model Auto switch model
40 50 63 80 100 40 50 63 80 100
D-M9CI/M9TIV D-Y5901/Y690]
D-MOCIW/MICIWV 45 5 55 5 6 D-Y7P/Y70IV 8 7 55 65 65
D-M9TIA/M9TIAV D-Y7OW/Y7OWV
D-Y7BA
D-A9C/A9CIV 7.5 8.5 9.5 9.5 10.5 D-F500/J500/F500W
D-Z701/Z80 85 7.5 9.5 9.5 105 D-J59W/F5BA 4 4 45 45 45
D-F5NT/F59F
g:ﬁgg@:im D-G5LC/K59/G5CIW
9 10 11 11 11 D-K59W/G5BA 5 6 6.5 6.5 7
D-A501/A60] D-G5NT/G59F
D-B51/B64 D-G5NBL 35 35 40 40 40
D-G39/K39
D-A59W 13 13 14 14 15 e 9 9 10 10 1
D-B59W 14 14 17 16 18 D-P3DW 4.5 5 6 5.5 6
D-P4DW 4 4 45 4 45

+ Values which include hysteresis are for guideline purposes only, they are not a guarantee (assuming approximately +30% dispersion) and may change substantially
depending on the ambient environment.

1137



Auto Switch Mounting Series CAZY

Minimum Stroke for Auto Switch Mounting

n: Number of auto switches (mm)

Auto switch Number of auto  [Mounting brackets other| Center trunnion
model switches mounted | than center trunnion 240 ‘ 250 263 280 2100
2 (Different surfaces 15 80 85 90 95 [4
D-M9L] and same surface) 1 %
D-MOCIW \ 15440052 80+40 5% 85+4005% | 904+4003% | e5.40005% £
(n=2,4,6,8-)Note 1) (n=4,8,12, 16 ) Note 2) (n=4,8,12,16-- )Nme?l (n=4,8,12,16--)Ne2 | (n= 4,8, 12, 16-- )Nme?l 5-
2 (Different surfaces P
D-MOCIV and same surface) 1 0 55 60 65 0 E
D-M9IWV N 10+30 052 56+30 054 60+3005% | 65430052 | 70430059
(n=2,4,6,8- )“0‘9" (n=4,8,12, 16 ) Note 2) (n=4,8,12,16--)Ne2 | (n=4,8,12,1 -)NM) (n=4,8,12,16-- ;Nove2l
2 (Different surfaces 15 80 85 95 100
and same surface) 1
D-M9[JA _ _ _ _ _
n 15440052 80+ 40054 85+400-% | 95040059 | 100440052
(n=2,4,6,8.)Note) (n=4,8,12,16...)Note2) (n=4,8,12,16-)N9e2) | (n=4,8, 12, 16-) N2 | (n= 4,8, 12, 16 Note?)
2 (Different surfaces
and same surface) 1 10 60 65 70 5
D-M9[JAV _ _ _ _ _
o N 10+30052 60+30 054 65+30 054 70+30 0549 75+30 054
(=2, 4,6,8-)Noe 1) (n=4,8 12, 16..)Note2) (n=4,8,12,16--)N9¢2)| (n=4, 8,12, 16-)Noe2)| (n = 4, 8, 12, 16-) Noe2)
2 (Different surfaces
and same surface) 1 15 s 80 85 90
D-A9[] _ _ _
N 15440032 75440059 85+ 40 "%
(n=2,4,6,8-)Nte1) (n=4,8,12, 16..) Note 2) (n=4,8, 12, 16-.) Note2)
2 (Different surfaces 10 50 60 65
and same surface) 1
D-A9[V _ _ _ _
N 10+30 052 50+ 30 054 60+ 30152 65 +30 154
(n=2,4,6,8-)Note) (n=4,8,12, 16...)Note2) (n=4,8,12, 16-)Nele2) | (1= 4,8, 12, 16.-) Note2)
D-ASJ/A6 2 (Different surfaces 15 90 100 110 120
D-F501/J5 and same surface) 1
D-F5CIW/J59W 1545502 90 + 55 054 100+55054 | 110455059 | 12045502
D-F5BA/F59F n (Same surface)
(n=2,4,6,8- )Note" (n=4,8,12, 16...)Note2) (n=4,8,12,16- )Na’eﬂ (n=4,8,12, 16- )Nmez (n=4,8,12, 16 )No'ezl
2 (Different surfaces 20 % 100 110 120
and same surface) 1
D-A59W n (Same surface) | 20+ 5550 90+55 054 100455058 | 1104550548 | 120455054
(=2, 4,6,8-)Noe 1) (n=4,8 12, 16...) Note?) (n=4,8,12,16--)N9¢2) | (n= 48m16)ww (n=4,8,12, 16-)Noe2)
1 15 90 100 110 120
2 (Different surfaces E(I')KD
and same surface) 1 25 110 120 130 140 —_—
D-FS5NT _ _ _ _ _
n (Same surface) | 25+ 5552 110 + 55 059 120455059 | 1304+5505% | 140455052 GLKU
(n=2,4,6,8-)Note 1) (n=4,8,12,16...)Note2) (n=4,8,12,16-)N9e2 | (n= 4,8, 12, 16- )No‘92 (n=4,8,12, 16.-)Noe2) CKQ
Different surfaces 15
D-BSLU/B64 2 Same surface 75 %© 100 1o
D-G50L/K59 CKZ2N
(-2 -4 (-4 -4
D-G5[1W Different surfaces 15+50°— 90 + 50— 100 + 50 110 + 50— L
D-K59W (n=2,4,6,8-)Note) (n=4,8,12, 16...)Note2) (n=4,8, 12, 16.) Noe2) (n=4,8,12,16...)Note2) WRF
g'ggsp same surface | 75 +50(n-2) 90 +50 (n - 2) 100 + 50 (n - 2) 110+ 50 (n - 2)
D-GSNT (n=2,3,4+) (n=2,4,6,8)Note ) (n=2,4,6,8-)Note 1) (n=2,4,6,8.)Note )
1 10 90 100 110
Different surfaces 20
1 1
Same surface 75 %© © 0
(n-2) n-4) (n-4) n-4)
Different surfaces 20 +50" 90 +50 100 + 507 110 +50
D-BSOW (=2, 4,6,8-)Noe 1) (n=4,8,12,16.) Note2) (n=4,8,12, 16.)Noe2) (n=4,8,12,16.) Note?)
Same surface 75+50(n-2) 90 +50 (n-2) 100 +50 (n-2) 110+50 (n-2)
(n=23,4-) (n=2,4,6,8)Note 1) (n=2,4,6,8-)Noe ) (n=2,4,6,8-)Nte)
1 15 90 100 110
Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.
INDEX

1138



Series CA2Y

Minimum Stroke for Auto Switch Mounting

n: Number of auto switches (mm)

Auto switch Number of auto  [Mounting brackets other| Center trunnion
model switches mounted | than center trunnion 240 ‘ 250 263 280 ‘ 2100
Different surfaces 35 75 80 90
Same surface 100 100 100 100
D-A3(] 35+30 (n-2) 75+30 (n-2) 80 +30 (n-2) 90 +30 (n-2)
D-G39 Difierent surfaces | (1 _ 5,3, 4.-) (n=2,4,6,8-)N0 D (n1=2,4,6,8-)" ) (n=2,4,6, 8N
n
D-K39 Same surface 100 + 100 (n - 2) 100 + 100 (n - 2)
(n=2,3,4-) n=2,4,6, 8.)Note1
1 10 75 80 90
Different surfaces 35
2 7!
Same surface 55 5 8 ©
Different surfaces| 2 +3(1=2) 75+30 (n - 2) 80 +30 (n-2) 90 +30 (n-2)
D-A44 (n=2,3,4-) (N=2, 4,6, 8)Note 1) (N=2,4,6,8)Note 1) (N=2,4,6,8..)Note)
n
same surface | 55 +50(1-2) 75+ 50 (n - 2) 80 +50 (n-2) 90 +50 (n-2)
(n=2,3,4-) (n=2,4,6,8)Note 1) (n=2,4,6,8-)Note 1) (n=2,4,6,8.)Note )
1 10 75 80 90
2 Different surfaces 20 75 80 90
Same surface 100 100 100 100
D-A30IC 20 +35(n-2) 75+35 (n-2) 80 +35(n-2) 90 +35 (n-2)
D-G39C Different surfaces (n=2,3,4-) (n=2,4,6,8..)Note ) (n=2,4,6,8.)Note?) (n=2,4,6,8.)Note )
n
D-K39C Same surface 100 + 100 (n - 2) 100 + 100 (n - 2)
(n=2,3,4,5-) n=2,4,6, 8.)Note1
1 10 75 80 90
Different surfaces 20
2 Same surface 55 I 8 %
Different surfaces | 20+ 3% (N =2) 75+435(n-2) 80+35(n-2) 90 + 35 (n-2)
D-A44C (n=2,3,4-) (n=2,4,6,8-)Note?) (n=2,4,6,8.)Note) (n=2,4,6,8.)Note)
n
Same surface | 22 +30(-2) 75+50(n-2) 80+50(n-2) 90 +50 (n - 2)
(n=2,3,4-) (n=2,4,6,8)Note 1) (n=2,4,6,8-)Note 1) (n=2,4,6,8.)Note )
1 10 75 80 90
2 (Different surfaces
D-Z7(/280 and same surface) 1 15 80 85 90 95 105
D-Y59[/Y7P (n-2) (n-4) (n-4) (n-4) (n-4) (n-4)
DY7LW n 15+40052 80 +40 052 85+40 054 90 +40 052 95+4005% | 105440052
(nN=2,4,6,8-)Note )| (n=4,8 12,162 | (1= 4,8, 12, 16--) N2 | (=4, 8, 12, 16.-) Nte2 | (n = 4, 8, 12, 16.-)Note2) | (n = 4, 8, 12, 16.-.) Note2)
e 0 o 75 ao R
D-Y69[/Y7PV
D-Y7OWV N 10+30 052 65+ 30 054 75+3005% | go4+3005Y 90+3005%
(=2, 4,6,8-)Noe 1) (n=4,8,12,16.) Note2) (n=4,8,12,16-)N02) | (14,8, 12, 16-) N2 | (1 =4, 8, 12, 16--) Noe2)
2 (Different surfaces 20 95 100 105 110
and same surface) 1
D-Y7BA - - _ _ _
N 20+45032 95+ 45024 100+450548 | 105445059 | 110445054
(=2, 4,6,8-)Noe 1) (n=4,8,12,16.) Note2) (n=4,8, 12, 16-)N9¢2 | (1= 4,8, 12, 16--)\e2)| (n=4, 8, 12, 16-) Noe2)
2 (Different surfaces 15 85
and same surface) 1
D-P3DW ) 1545002 85+50 054
(n=2,4,6,8.)Nte ) (n=4,8,12,16-)
2 (Different surfaces 15 120 130 140
and same surface) 1
D-P4DW - - _ _
N 15+65 052 120 + 65 054 130 + 65 254 140 + 65054
(=2, 4,6,8-)Noe 1) (n=4,8 12, 16.) Note?) (n=4,8,12, 16-)Not2) (n=4,8,12,16.)Note?)

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.

Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.

1139




Auto Switch Mounting Brackets/Part No.

<Tie-rod mounting>

Auto Switch Mounting Series CAZY

<Band mounting>

Auto switch Bore size (mm) Auto switch Bore size (mm)
model 40 50 63 80 100 model 40 50 63 80 100 @

- . f
g I\Ange%llﬁnimlj\\ll g 235@34: BDS-04M | BDS-05M | BMB1-063 | BMB1-080 | BMB1-100 | | 8

’ BA7-040 | BA7-040 | BA7-063 | BA7-080 | BA7-080 i c
D-MOCIW/MICIWV D-B5[/B64 =

-| >
D-M9JA/M9JAV D-B59W %)
D-A5[/A6L] D-G5[/K59 =
D-A59W D-G5[JW/K59W| BH2-040 | BA5-050 | BAF-06 BAF-08 BAF-10 <
D-F50/J5[] BT-04 BT-04 BT-06 BT-08 BT-08 D-G59F
D-F5]W/J59W D-G5NT
D-F59F/F5NT D-G5NB CJ2
D-A3[]C/A44C BA3-040 | BA3-050 | BA3-063 | BA3-080 | BA3-100 Note 1) The auto switch mounting bracket is included in the D-A30JC/A44C/
D-G39C/K39C G39C/K39C types. Specify the part number as follows depending on CMZ
D-Z71/Z80 the cylinder size when ordering.
D-Y59 /Y69 (Example) 940: D-A30JC-4, 050: D-A3JC-5, 963: D-A3[]C-6, 280:
D-Y7P/Y7PV | BA4-040 | BA4-040 | BA4-063 | BA4-080 | BA4-080 D-A3LIC-8, 9100: D-A30C-10
D-Y7COW/Y7CIWV [Stainless Steel Mounting Screw]
D-Y7BA The following stainless steel mounting screw kit (including set screws) is also
D-P3DW BMB9-050S|BMB9-050S| BAIT-063S | BAIT-080S | BA9T-080S available. Use it in accordance with the operating environment.

(Since the auto switch mounting bracket is not included, order it separately.)

D-P4DW BAP2-040 | BAP2-040 | BAP2-063 | BAP2-080 | BAP2-080 BBAT: For D-AS/AG/FS/J5 types

BBA3: For D-B5/B6/G5/K5 types

Note 2) Refer to the WEB catalog or Best Pneumatics No. 3 for details on the

BBA1 and BBAS.

The above stainless steel screws are used when a cylinder is shipped with
D-F5BA or G5BA auto switches. When only an auto switch is shipped
independently, the BBA1 or BBA3 is attached.

Note 3) When using the D-M9LJA(V) or Y7BA, do not use the steel set screws
which are included with the auto switch mounting brackets above
(BA7-000, BA4-000). Order a stainless steel screw kit (BBA1)
separately, and use the M4 x 6L stainless steel set screws included in

the BBA1.

Note 4) There is a difference in the cylinder tube thickness depending on the
cylinder model. When a band mounting type is used as an applicable
auto switch and a cylinder model is changed, use caution.

# The figure shows the mounting example for the D-A9CJ(V)/M9(V)/MITOIW(V)/MOTIA(V)L types.

S | !

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to the WEB catalog or Best Pneumatics No. 3 for the detailed specifications.

Best Pneumatics No. 3.

= With pre-wired connector is also available for solid state auto switches. For details, refer to the WEB catalog or Best Pneumatics No. 3.
= Normally closed (NC = b contact) solid state auto switches (D-FOG/F9H/Y7G/Y7H) are also available. For details, refer to the WEB catalog or

= Wide range detection type, solid state auto switch (D-G5NBL) is also available. For details, refer to the WEB catalog or Best Pneumatics No. 3.

r
1

1

1

1 Type Model Electrical entry Features

1 D-A93V/A96V . —_

1 D-A90V Grommet (Perpendicular) Without indicator light
! Reed D-AS3/A56/B53/273/276 _ -

1 Grommet (In-line) - — -

I D-A67/Z80 Without indicator light
1 D-MONV/M9PV/M9BV _

1 D-Y69A/Y69B/Y7PV

1 D-MONWV/M9PWV/M9BWV Grommet (Perpendicular) Diagnostic indication

1 D-Y7ZNWV/Y7PWV/Y7BWV (2-color indication)

! D-MONAV/M9IPAV/M9BAV Water resistant (2-color)
! . D-Y59A/Y59B/Y7P

1 Solid state —

1 D-F59/F5P/J59

1 D-Y7NW/Y7PW/Y7BW Diagnostic indication

1 D-F59W/F5PW/J59W Grommet (In-line) (2-color indication)

1 D-F5BA/Y7BA Water resistant (2-color)
: D-F5NT/G5NT With timer

1 D-P5DW Magnetic field resistant (2-color)
1

1

1

1

=

UKy
oK
el

INDEX




Smooth Cylinder

eries CS2Y

2125, 9140, 160

How to Order

] CSZY|160| —|3oo| -]
I—l
wc?szv |160| —|3oo|

With auto switch Number of auto switches
(Built-in magnet) =
Nil | 2pes.
Smooth cylinder 1 pc.
- 3 pes. IMade to Order
MountlngO— “n” pcs. Refer to page 1142 for details.
B Basic .
L oot Bore size ch
F [ Rodflange 125 125 mm [ Nil_] without auto switch |
G Head flange 140/ 140 mm + For applicable auto switches,
C | Single clevis 160| 160 mm refer to the table below.
D | Double clevis ) )
T | Center trunnion Port thread type: Suffix for cylinder
Nil Rc J Nylon tarpaulin
TN NPT Rod boot K Heat resistant tarpaulin
Built-in Magnet Cylinder Model TF G A | With double-side cushion
If a built-in magnet cylinder without an With/without | R Wim rod Cushiw
auto switch is required, there is no need Cylinder stroke (mm) cushion H With head cushion
to enter the symbol for the auto switch. Refer to “Maximum Strokes” Nil Without cushion
(Example) CDS2YL125-200 on page 1142. * When more than one symbol is specified, indicate

them in alphabetical order.

Applicable Auto Switches/Refer to the WEB catalog or Best Pneumatics No. 3 for further information on auto switches.

E— = o Load voltage Auto switch model | Lead wire length (m) Pre-wired
0 5 ectrical |5 iring " re-wire "
Type Special function g Tie-rod Band 0.5 1]13|5 Applicable load
entry | g| (Output) De AC | mounting | mounting | (Nil) || (L) | @)] e
3-wire (NPN) M9N = [J ® e O ] .
V,12v I
rommet | [3ire (PNP)| 24V v — [“mep = o [e|e[o] o |Cct
< 2 wire 12V M9B — ® (@ ® O| O _
= — — [10ov,200v]  J51 = ® —|®/O0| —
® Terminal 3-wire (NPN) 5V, 12V — G39 — |—|—=1—| — [|ICcircuit
2 conduit 2-wire 12V — K39 — |—[—]—] = = | Relay
& Yes| 3-wire (NPN) M9ONW — [ ) ® @ O ) - '
[} i i vV, 12V I it| PLC
2 Diagnostic m.d\c?t\on 3-wire (PNP) 5V, MOPW — ° ele O 16} C circui
- (2-color indication) >
_g 2-wire 24V 12V — M9BW = e (e & O o —
= . Grommet 3-wire (NPN) MONA** — O |O|@|O ) .
°
@» Water res.lsta.m 3-wire (PNP) 5V,12v MOPA™ — 6} ole o o IC circuit
(2-color indication) 2-wire 12V MOBA** = O |O|®@|O| O —
Diagnostic indication (2-color indication) 4-wire (NPN) 5V,12V F59F — ® |—| @O O |IC circuit
v wire (\PNequivalent) | — 5V — A96 — ® |—|®|—| — |[ICcircuit| —
5 L 12v [ 100V | A93 = o —|eo - -
-§ Grommet |No| 5V,12V|[100Vorless| A90 — [ — | ® IC circuit| Relay,
@ Ves| 100V,200v| A54 = e —|eoj0o — PLC
o [res)
= No, i 24V 200Vorless| A64 = e —|®& | —| —
g Terminal wire 12V — — A33 — JE N — _ PLC
e conduit = A34 — | =]=]=] =
3
= DIN terminal| ' 100V, 20— V.Y S S iy iy iy Roley
Diagnostic indication (2-color indication) | Grommet — — A59W — e —| 0| —| —

=+ \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.

= Lead wire length symbols: 0.5 m Nil  (Example) MONW + Solid state auto switches marked with “O” are produced upon receipt of order.
im M (Example) MONWM
3m L (Example) MONWL
5m Z (Example) MONWZ

= Since there are other applicable auto switches than listed, refer to page 1153 for details.
= For details about auto switches with pre-wired connector, refer to the WEB catalog or Best Pneumatics No. 3.
= The D-A90/M9CI/MOTIW/MIDIA auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

1141



Designed with a low sliding

resistance of the piston, this

air cylinder is ideal for applica-

tions such as contact pressure

control, which requires smooth

movements at low pressure.

Low sliding resistance
Min. operating pressure — 0.005 MPa

Auto switch mounting
is possible.

Symbol
Double acting/Without cushion

-

to
Made to Order

Smooth Cylinder Series CS2Y

Application Example

Low friction cylinder is used in combination with precision regulator (Series IR).

Driving roller Winding roller

Precision regulator
Precision regulator

Air Cylinders

(Moving object)

Specifications
Bore size (mm) 125 140 160
Action Double acting, Single rod
Direction of low friction Both directions
Fluid Air
Proof pressure 1.05 MPa
Maximum operating pressure 0.7 MPa

Without auto switch: 0°C to 70°C
With auto switch: 0°C to 60°C

A Less than 0.5 L/min (ANR)

Ambient and fluid temperature (No freezing)

Cushion Without cushion® (manufacturable with cushion)
Lubrication Not required (Non-lube)
Mounting Basic, Foot, Rod flange, Head flange,

Single clevis, Double clevis, Center trunnion
+ If an air cushion is not used, set the energy at the stroke end to 0.36 J or less.

MGP

() §
COIX

unit: Mpa |CKCI1

\ Bore size (mm) [ 125 [ 140 160

0.005 MPa* } CLKD

Minimum Operating Pressure

EHE

Minimum operating pressure
(For details, refer to pages 1247 to 1264.) ‘ P 9P ‘
= |f a cushion is used, this value will not include the operating pressure within the cushion stroke.
Symbol Specifications E(I.)KU
-XACI |Change of rod end shape . —
-XC3 |Special port position Maximum Strokes GKO
Adjustable stroke cylinder/Adjustable (mm)
-XC9 :
retraction type Tube material Aluminum alloy Carbon steel tube CKZ2N
-XC10 | Dual stroke cylinder/Double rod type Mounting 5 .
B: , Head fl; 3 i
-XC14 | Change of trunnion bracket mounting position bracket Singleaz:;visegousﬂeggevis ~ Basic, Head flange, Foot WRF
-XC15 | Change of tie-rod length 5 Center trunnion Ao, Doub!e S, Rod flange
Bore size Rod fl Center trunnion
-XxC26 | With spit pins for double clevis pin/double (mm) ocliange
knuckle joint pin and flat washers _ 125 1000 or less 1000 o less 1600 or less
-xC27 | Douple clevis and double knuckle pins 140 1000 or less 1000 or less 1600 or less
-XC30 | Rod side trunnion 160 1200 or less 1200 or less 1600 or less
-XC68 Made of stainless steel .
(with hard chrome plated piston rod) Accessories
-XC86 | With rod end bracket
. A Rod | Head | Single | Double | Center
Refer to pages 1151 to 1153 for cylinders with it g e || et flange | flange | clevis | clevis |trunnion|
ELlD SHEIES: Standard | Clevis pin -l -1 -]T-=-]T-—1] @[
Auto switch proper mounting position (detection Rod end nut [ J [ J [ ] [ J [ [ J [J
at stroke end) and its mounting height Single knuckle joint Y Y [ o ) [ [
* Minimum stroke for auto switch mounting " o
Option
* Operating range P DA AT [ J [ [ [ J [ ] [ ] [ ]
N . (with knuckle pin, split pin)
* Auto switch mounting brackets/Part no. INDEX
Rod boot [ J [ J (] [ J [ ] (] L]

1142



Series CS2Y

Mounting Brackets/Part No.

Rod Boot Material

Bore size (mm) 125 140 160
Foot* CS2-L12 CS2-L14 CS2-L16
Flange CS2-F12 CS2-F14 CS2-F16
Single clevis CSs2-C12 CS2-C14 CS2-C16
Double clevis™* CS2-D12 CS2-D14 CS2-D16

* Order two foot brackets per cylinder.
+# When ordering the double clevis type, the clevis pin and 2 split pins are included as accessories.

Weights
——
(kg)
Bore size (mm) 125 140 160
Basic 5.46 6.50 9.07
Foot 7.49 9.50 12.45
Rod flange 8.51 12.03 15.80
Basic
. Head flange 8.51 12.03 15.80
weight
Single clevis 8.53 10.79 14.56
Double clevis 8.99 11.54 15.41
Trunnion 9.59 12.23 15.47
Additional weight with magnet
(With built-in magnet and auto switch) 0.07 0.07 0.08
Additional weight per 100 mm of stroke 1.55 1.67 2.23
Single knuckle 0.91 1.16 1.56
Accessories | DOUDIE knuckle (With 1.37 1.81 2.48
Knuckle pin, Split pin)
Rod end nut 0.16 0.16 0.23

Calculation: (Example) CS2Y160-500
© Basic Weight.--------wwweeeee
* Additional weight:
® Cylinder stroke- 500 (mm)
12.45 + 2.23 x 500/100 = 23.60 kg

Sliding Resistance

Symbol Material Max. ambient temperature
J Nylon tarpaulin 70°C
K [Heat resistant tarpaulin 110°C*

* Maximum ambient temperature for the rod boot itself.

2125
0140

0.010

0.005

| e

Sliding resistance (MPa)
(Converted into cylinder operating pressure)
L1

0.2 0.3 0.4

Pressure (MPa)

0.5

1143

0.6

0.7




Smooth Cylinder Series CS2Y

Relationship between Cylinder Size and Maximum Stroke

The below table shows the applicable maximum stroke (in cm units), found by calculation assuming
the case where the force generated by the cylinder itself acts as buckling force on the piston rod, or

piston rod and cylinder tube.

Therefore, it is possible to find the applicable maximum stroke for each cylinder size using the
relationship between the size of the operating pressure and the cylinder support type, regardless of

the load ratio.

[Reference] If it is stopped with the external stopper on the cylinder extension side, even with a light
load, the maximum generated force of the cylinder will act on the cylinder itself.

Air Cylinders

(em)
Mounting Applicable maximum stroke according to buckling strength (cm)
Operating pressure
i i MPa
Support bracket nominal symbol Nominal (MPa) . am T
and schematic diagram symbol
Foot:L | Fedflenge: | Head flange: 03 108 92 113
:'m L, F 0.5 79 70 86
™ 0.7 66 58 72
0.3 45 38 47
@ G 0.5 33 27 34
0.7 26 22 27
Clevis: C, D Cegieguupiicn: 03 9% 83 106
C,D 0.5 71 61 76
0.7 59 50 62
: 03 135 119 147 MGP
T 0.5 101 89 111 coy
COX
0.7 84 74 91
: - CKC1
Rod flange: | Head flange: 0.3 301 267 330
£ e GUkD
L, F 0.5 231 207 253
07 193 172 212 GILIKU
0.3 144 126 156
CKQ
G 0.5 109 94 118 .
CKZ2N
0.7 90 78 97 I
0.3 433 386 476 WRF
L, F 0.5 334 297 367
0.7 281 250 309
0.3 210 185 229
G 0.5 160 141 175
0.7 134 117 129
INDEX

1144




Series CS2Y

Construction

AN
<

|

Component Parts Replacement Parts/Seal Kit
No. Description Material Note Bore size (mm) Kit no. Contents
1 | Rod cover Aluminum die-cast Chromated 125 CS2Y125A-PS . .
2 | Head cover Aluminum die-cast Chromated 140 CS2Y140A-PS tho_ut cush on Py
Consists of (6, {8, 20
3 | Cylinder tube Aluminum alloy Hard anodized 160 CS2Y160A-PS
4 | Piston Aluminum alloy Chromated 125 CS2Y125AA-PS
5 | Piston rod Carbon steel Hard chrome plating 140 CS2Y140AA-ps | With single-side cushion
" - Consists of 8, (7 (two),
6 | Bushing Oi sintered alloy 160 CS2Y160AA-PS
7 | Tie-rod Carbon steel Zinc chromated
8 | Tie-rod nut Rolled steel Nickel platin 125 CS2Y125AR-PS
9 | Cushion rin Stainless steel e 140 CS2V140AR-PS
" g - - 160 CS2Y160AR-PS
10 | Cushion valve Rolled steel Nickel plating - -
" " " = Seal kit does not include a grease pack.
11 | Piston nut Carbon steel Nickel plating When only the grease is necessary, use the following part numbers to
12 | Flat washer Carbon steel Nickel plating order.
: " Grease pack part number: GR-L-005 (5 g), GR-S-010 (10 g),
13 | Wear r|r.19 Resin GR-L-150 (150 g)
14 | Magnet™ —
15 | Retaining ring Spring steel Phosphate treatment
16 | Rod seal NBR
17 | Cushion seal** Urethane
18 | Piston seal NBR
19 | Valve seal NBR
20 | Tube gasket NBR
21 | Piston gasket NBR

= For types with built-in magnet or with auto switch
#x Used with cushion only

1145



Dimensions

Basic: CS2YB
With rod boot

Smooth Cylinder Series CS2Y

Port
Width across flats KA G G_ wv_ 73
2xP 4xd Cushion valve o
MM (R, NPT, G) — S
— HH S =
=S == t =
N N 2
wiaf ] ® ® <
AL | | E5 |
INYE . T T
. A k- F [N N e
ZZ+ ¢ H S + Stroke M OB
1+ ¢ + Stroke 77 + Stroke
(mm)
Bore size MB
(mm) A AL 0B (m[e] D E F G J \' w K KA M MM
125 50 47 143 115 32 71 43 15 M14x 1.5 15 17 15 27 27 M30x 1.5 cAz
140 50 47 157 128 32 71 43 15 M14x 1.5 15 17 15 27 27 M30x 1.5 €02
160 56 53 177 144 38 78.5 42 18 M16x 1.5 15 20 17 34 30.5 M36 x 1.5 cQs
(mm) Lube-
Bore size N P s Without rod boot With rod boot retainer
(mm) H 2z e f h ¢ 2z1 JA
125 30.5 1/2 98 110 | 235 75 40 133 1/5 Stroke 258
140 30.5 1/2 98 110 | 235 75 40 133 1/5 Stroke 258 MXH
160 34.5 3/4 106 120 | 256.5 75 40 141 1/5 Stroke 277.5
* The minimum stroke with rod boot is 30 mm or more. MXQ
## For auto switch mounting position and its mounting height, refer to page 1151.
i Refer to “Minimum Stroke for Auto Switch Mounting” on page 1152.
MGP
Foot: CS2YL
. COX
With rod boot H S + Stroke
K
Width across flats KA A F |G G Port wvVv CKD1
AL 2xP 4xd Cushion valve
MM (Re, NPT, G) — E(I')KD
[ 15 ¥ == lamwn
E5 R i CILKU
L N N P—
8 1 - rory 8 9] o © > mw CKQ
4xoLD
e=l Al (B 3 ! OKZ2N
ElR- = e/ e 1 © I
Dl or =+ WRF
e f AL x N N x ]y x|
h+¢ LS + Stroke oc
ZZ1 + ¢ + Stroke ZZ + Stroke B
(mm)
B‘z;ﬁ;i)ze A|A [B| B |Oc|D|E|F | a J V| W | K |Kh|LD|LH|LS
125 50 47 143 143 115 32 71 43 15 M14x 1.5 15 17 15 27 19 85 | 188
140 50 47 157 157 128 32 71 43 15 M14x 1.5 15 17 15 27 19 100 | 188
160 56 53 177 177 144 38 78.5 42 18 M16x 1.5 15 20 17 34 19 106 | 206
(mm)
Bore size Without rod boot With rod boot
LT LX LY MM N P X Y
(mm) s H 2z e f h ¢ zz1
125 8 100 | 156.5| M30x 1.5 30.5 1/2 98 45 20 110 273 75 40 133 1/5 Stroke 296
140 9 112 | 1785| M30x 1.5 30.5 1/2 98 45 30 110 283 75 40 133 1/5 Stroke 306
160 9 118 | 1945| M36x1.5 34.5 3/4 106 50 25 120 301 75 40 141 1/5 Stroke 322
* The minimum stroke with rod boot is 30 mm or more. INDEX
=+ For auto switch mounting position and its mounting height, refer to page 1151.
sk Refer to “Minimum Stroke for Auto Switch Mounting” on page 1152.

1146



Series CS2Y

Dimensions
—
Rod flange: CS2YF
. Port
With rod boot Width across flats KA ) G 4xd wv_
2xP 4 xoFD Cushion valve
MM (Rc, NPT, G) xo ~n e
H s = HH =
"B ORI ©
N ]
j wlq] ° of o &
= AL | |FT T ] T
A FIN oe
he¢ K- LN 0B
ZZ1 + ¢ + Stroke H S + Stroke M FX
ZZ + Stroke FZ
(mm)
B‘z:ﬁms')ze A | AL | 0B| B |OC| D E F | FD | FT | FX | FY | FZ | G J v
125 50 47 143 145 115 32 71 43 19 14 190 100 230 15 M14x 1.5 15
140 50 47 157 160 128 32 71 43 19 20 212 112 255 15 M14x 1.5 15
160 56 53 177 180 144 38 78.5 42 19 20 236 118 275 18 M16x 1.5 15
(mm)
Bore size Without rod boot With rod boot
w K KA M MM N P S
(mm) H zz e f h ¢ 2z
125 17 15 27 13 M30x 1.5 30.5 12 98 110 221 75 40 133 1/5 Stroke 244
140 17 15 27 13 M30x 1.5 30.5 1/2 98 110 221 75 40 133 1/5 Stroke 244
160 20 17 34 15 M36 x 1.5 34.5 3/4 106 120 241 75 40 141 1/5 Stroke 262
* The minimum stroke with rod boot is 30 mm or more.
## For auto switch mounting position and its mounting height, refer to page 1151.
i Refer to “Minimum Stroke for Auto Switch Mounting” on page 1152.
Head flange: CS2YG
Port
With rod boot
Width across flats KA -G p G 4xd wv_
2x 4xoFD Cushion valve
MM (Re, NPT, G) X0
=4 " Lo %o
=1 o o ‘
LR ey ¢ e o o ef T
—F : | : {?
B AL | i i) ! ©
¢ | f A | |[_.F |N
he e L1 oc
7z H S + Stroke FT 0B
1+ ¢ + Stroke 77 + Stroke FX
FZ
(mm)
B‘z;ﬁ;i)ze A | A |oB| B |OC| D | E F | | FT [ X | FY | FZ | @ J v
125 50 47 143 145 115 32 71 43 19 14 190 100 230 15 M14x 1.5 15
140 50 47 157 160 128 32 71 43 19 20 212 112 2b5) 15 M14x 1.5 15
160 56 53 177 180 144 38 78.5 42 19 20 236 118 275 18 M16x 1.5 15
(mm)
Bore size Without rod boot With rod boot
w K KA MM N P
(mm) s H zz e f h ¢ 2z1
125 17 15 27 M30x 1.5 30.5 1/2 98 110 222 75 40 133 1/5 Stroke 245
140 17 15 27 M30x 1.5 30.5 1/2 98 110 228 75 40 133 1/5 Stroke 251
160 20 17 34 M36 x 1.5 34.5 3/4 106 120 246 75 40 141 1/5 Stroke 267

* The minimum stroke with rod boot is 30 mm or more.
«# For auto switch mounting position and its mounting height, refer to page 1151.

«#+ Refer to “Minimum Stroke for Auto Switch Mounting” on page 1152.

1147



Smooth Cylinder Series CS2Y

Dimensions
Single clevis: CS2YC

With rod boot 2
Width across flats KA _Ga_ G_ Portt = wyv __ 3
- 2xP I oCDH10  4xJ Cushion valve E
- (Re, NPT, G) 441&} \ — é;
> IR O 5
: i
=E = ReS ko)
| AL | kY
hse A F N N lcT CX]
Z1 + ¢ + Stroke L oc
ZZ1 + ¢ + Stroke H S + Stroke L cB
Z + Stroke RR
ZZ + Stroke
Double clevis: CS2YD
With rod boot
Width across flats KA .G_ .G_ Port wv
MM 2xP oCDholento 49 Cushion valve
. (Re, NPT, G) Axis 9 MGP
is} T i
= ‘ @ ey
By gl (1 o5 AES g =
| 4J T TR T CKO1
,_F E
- 2 ) ClUKD
hee A | |FIN N _|cT 24 CILKU
K
Z1 + ¢ + Stroke - Ccz e
221+ ¢ + Stroke H S + Stroke L oc CKQ
Z + Stroke RR OCB S
ZZ + Stroke [:Kzz"
WRF
(mm)
Boresize | 5 | a | 0B | oc | OcB | Do | o7 [rdede] Doubledevis |y g | g J v | w
(mm) cX cX cz
125 50 | 47 | 143 | 115 | 145 |25%* | 17 | 3285 | 32183 | 648, | 32 | 71 43 | 15 M14x 1.5 15 17
140 50 47 | 157 | 128 | 160 | 289 | 17 | 3631 | 36187 | 728, | 32 | 71 43 15 M14x1.5 15 17
160 56 53 | 177 | 144 | 180 | 327%™ | 20 | 4033 | 4017 | 805, | 38 | 785 | 42 18 M16x 1.5 15 20
(mm)
i Without rod boot With rod boot
Biﬁife K| ka L M N P . 5 RR Iy z 2z e f h ¢ 21 | zza
125 15 | 27 | 65 |M30x15| 305 | 1/2 98 | 35 | 29 | 110 | 273 | 302 | 75 | 40 | 133 [1/5Stroke| 296 | 325
140 15 | 27 | 75 |M30x15| 305 | 1/2 98 | 40 | 32 | 110 | 283 | 315 | 75 | 40 | 133 [1/5Stroke| 306 | 338
160 17 | 34 | 80 |M36x15| 345 | 3/4 | 106 | 45 | 36 | 120 | 306 | 342 | 75 | 40 | 141 |1/5Stroke| 327 | 363
= The minimun] stroke wit'h rod bgot is 30 mm or more. INDEX
«# For auto switch mounting position and its mounting height, refer to page 1151.

i Refer to “Minimum Stroke for Auto Switch Mounting” on page 1152.

1148



Series CS2Y

Dimensions

Center trunnion: CS2YT

With rod boot

Z + 1/2 x Stroke

Width across flats KA G P G Port WV
— i 2x i ™~ 4xd [T T Cushion valve
Z1 + ¢+ 1/2 x Stroke - W
1 \ @ e t g
< F
|| N N\ EN s
ol | . Lol w QI o ! o >
s [ Q| ®, = f f 7 -
e 7
= Y |
AL
¢ | f "
) F |.N N
h+¢ " " LN oc
ZZ1 + ¢ + Stroke R 0B
H S + Stroke M X
ZZ + Stroke TZ
(mm)
B‘z:ﬁms')ze A | AL |DB|OC| D | E F | G V | W | K |KA| M MM N
125 50 47 143 115 32 71 43 15 M14x 1.5 15 17 15 27 13 M30 x 1.5 30.5
140 50 47 157 128 32 71 43 15 M14x 1.5 15 17 15 27 13 M30x 1.5 30.5
160 56 53 177 144 38 78.5 42 18 M16x 1.5 15 20 17 34 15 M36 x 1.5 34.5
(mm)
Bore size Without rod boot With rod boot
P R S TD. TT X TY TZ
(mm) 8 H]z [z ]|e [t [hn ¢ z1 | zz1
125 12 1 98 320060 50 170 164 234 110 159 221 75 40 133 1/5 Stroke 182 244
140 1/2 1.5 98 3650 55 190 184 | 262 110 159 | 221 75 40 133 1/5 Stroke 182 | 244
160 3/4 1.5 106 | 40009 60 212 | 204 | 292 120 173 | 241 75 40 141 1/5 Stroke 194 | 262

1149

# The minimum stroke with rod boot is 30 mm or more for 8125, 140 and 35 mm or more for 8160.
For auto switch mounting position and its mounting height, refer to page 1151.
Refer to “Minimum Stroke for Auto Switch Mounting” on page 1152.



Series CS2Y
Dimensions of Accessories

| Type Single Knuckle Joint* Knuckle Pin/Clevis Pin
A2 4
oNDwo  [Tam 4 3
1 £
~ /= =
s 4 &
-
U P
L
: Material: Cast iron Material: Carbon steel
N (mm) (mm) cJ2
< Applicable Applicable d |Appiicable
Part no.| boresize| A1 | Az | E1 | L1 MM NDn1o NX  (RRi| Us Part no.| bore size Das L|L|m gy spit pr
(mm) () yiltough)| - split pin
I-12A| 125 | 8 54|46 |100|M30 x 1.5| 25°3% | 3231 |27]33 IY-12| 125 | 2535%% |795/695| 5 | 4 |04x40
I-14A| 140 | 8 |54 |48|105/M30x 1.5| 28°3%¢ | 3673 |30|39 1Y-14| 140 | 2859 [865|765| 5 | 4 |04 x40
1-16A| 160 | 8 |60 |55 |110|M36 x 1.5| 3273 4053|3439 1Y-16| 160 | 32% |945(845| 5 | 4 |04x40
* Split pins are included.
Y Type Double Knuckle Joint* Rod End Nut
—
oND hole H10 MM A
Shaft &9 f NI g
Tﬁ ] 9
Yl ] s
%‘f B
u, Material: Cast iron
— L (mm) Material: Rolled steel
Appiicable (mm)
Partno.|boresize| A1 | E1 [ La | MM ND#1o NX NZ |RRi| Ut -
i) Partno.|taeee| d | H | B |c|D
Y-12A| 125 | 8 |46 |100|M30x1.5| 25°3° | 32183 | 648} |27 |42 | (mm)
Y-14A| 140 | 8 | 48|105|M30x1.5| 285° | 3615 | 7253 |30|47 NT-12 | 125,140 M30x 1.5| 18 | 46 |53.1| 44
Y-16A| 160 | 8 | 55|110|M36x1.5| 323" | 40383 | 80%; |34|46 NT-16 | 160 |[M36x 1.5 21 | 55 [63.5| 53 ) §

X

= Use a single knuckle joint or a double knuckle joint individually.
(Screw it entirely over the rod end threads and tighten it.)

« Extend the dimensions of A, H. when using a single/double knuckle joint together with a rod end nut.
(To extend dimensions A, H, refer to the below table, and specify the product as made-to-order -XAQ.)

KO

EHE

# A pin and split pins are included with the double knuckled joint. E(l.)KD
@ “Made to Order” with rod end bracket (-XC86) is available when ordering cylinders and l';(I')Ku
accessories together. Refer to page 1264 for details. 7
CKQ
Single/Double Knuckle Joint OKZ2N
— —
" WRF
A a
T
\ 4>
o 5
—H
L - =
1
H1
A, H Dimensions when Mounting a
(mm) Single/Double Knuckle Joint together
Symbol Applicable knuckle joint part number with a Rod End Nut (mm)
Bore H A a L1 H1 - F
size (mm) I type single knuckle | Y type double knuckle Bore size (mm) A H
125 110 50 3.5 100 156.5 I-12A Y-12A 125 65 125
140 110 50 3.5 105 | 161.5 I-14A Y-14A 140 65 125
160 120 | 56 | 85 | 110 | 1705 -16A Y-16A 160 76 140 INDEX

1150



Series CS2Y
Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Tie-rod mounting> <Band mounting>
D-M9C/M9IV D-Z701/280 D-A30
D-MOCIW/M9IWV D-Y5901/Y69/Y7P/Y7PV D-G3/K3
D-M9CJA/M9IAV D-Y7OW/Y7OWV
D-A9L/A9DIV D-Y7BA <Applicab\e cable O.D>
A Auto switch =Hs :\_J 49 G1/2,06.8 10 09.6 ~Hs
=S ] - =S e
:—vsm' 752 .l :E[ Eﬁ I—WGH. B B o]
=E é %K> =E i i =
s 36 s
- Auto switch
D-A50/A60J D-A44
(Apphcable cable O.D)
A 33 Auto switch i, A s G1/2\06.8 t0 09.6
S T = =g =
525 — T
i A =51 =
| |
s = 1s
- Auto switch
D-F50/J500/D-F5NT
D-F5BA/F59F = The indicator light faces the inside.
D-F500W/J59W
A_3q Auto switch =Hs
Sk ]
“tr [ S £
: —f 1
B
Auto Switch Proper Mounting Position (mm)
Auto switch| Mgy D-Z70/280 D-A50 D-F500W
model| p-moOIV D-Y50/Y6 | D-A60 D-J59W
D-M9TIW D-A90  |D-Y7P/Y7PV| D-A30 D-F5BA
D-MOOWV | D-A9CV |D-YZOW D-A44 | D-ASW | ppsh AW
D-M9TIA D-Y7OWV D-G39 D-J500
D-M9TIAV D-Y7BA D-K39 D-F59F
Bore size A B A B A B A B A B A B A B
125 13 | 12 9 8 | 65|55 3 2 7 6 | 95 | 85 [ 145 ] 135
140 13 | 12 9 8 | 65| 55| 3 2 7 6 | 95 | 85 | 145 | 135
160 13 | 12 9 8 | 65| 55| 3 2 7 6 | 95 | 85 | 145 ] 135

« Provided as guidelines for auto switch proper mounting position (detection at stroke end).
Adjust the auto switch after confirming the operating condition in the actual setting.

Auto Switch Mounting Height (mm)
Auto switch D-Z701/Z80 D-F500
model| D-M9O] D-Y50/Y601 D-J50
D-M9COW | D-MSCIV  |D-Y7P D-A30 D-A50 D-F500W
D-M9CIA | D-MSCIWV |D-Y7PV D-G39 D-A44 D-A60] D-J59W

D-A9C D-M9TJAV |D-Y7OW D-K39 D-A59W | D-F5BA

D-A9CIV D-Y7OWV D-F59F

D-Y7BA D-FSNT

Boresize \| Hs | Ht | Hs | Ht | Hs | Ht Hs Hs Hs | Ht | Hs | Ht
125 69 | 695 | 715 [ 695 | 69 | 69.5 116 126 75.5 | 69.5 | 74.5 | 70
140 76 |76 | 775] 76 76 | 76 124 134 81 | 765 |80 |[765
160 85 [ 85 |86 |85 85 | 85 134.5 144.5 80 |875|8 |875

1151



Minimum Stroke for Auto Switch Mounting

Auto Switch Mounting Series CSZ Y

n: Number of auto switches (mm)

1152

Auto switch . Mounting brackets Center trunnion
Number of auto switches 5
model other than center trunnion 0125 0140 2160
- " (2
With 2 pes. (Duﬂeren! surfaces, 15 105 110 115 3
D-M9] Same surface), With 1 pc. -g
D-M9CIW (n-2) (n—4) (n—4) (n—4) =
With n pes. 15 +4073 105 + 40— 110 + 40— 115 + 40— =
(n=2,4,6,8) (n=4,8,12,16-) (n=4,8,12,16-) (n=4,8,12,16---) (8)
-
With 2 pes. (Different surfaces, L
D-M9CIV Same surface), With 1 pc. 10 80 85 % <
D-MOCIWV (n-2) (n-4) (n-4) (n-4)
With n pes. 10 +3075 80 +30"5 85+30"5 90 + 305
(n=2,4,6,8-) (n=4,8,12,16.) (n=4,8,12,16-) (n=4,8,12,16.)
With 2 pcs. (Different surfaces,
Same surface), With 1 pc. 20 15 120
D-M9lJA -2 (n-4) -4
With n pes. 20 +40— 115 +40— 120 + 40—
(n=2,4,6,8"-) (n=4,8,12,16--) (n=4,8,12,16.)
With 2 pes. (Different surfaces,
Same surface), With 1 pc. 15 90 9%
D-M9CJAV (n-2) (n-4) (-4
With n pes. 15+ 30052 90 + 3005 95 + 3005
(n=2,4,6,8) (n=4,8,12,16-) (n=4,8,12,16-)
With 2 pes. (Different surfaces,
Same surface), With 1 pc. 15 100 105 110
D-A9] - - - -
With n pes 15+ 40152 100 + 40054 105 + 40159 110 + 4005
) (n=2,4,6,8-) (n=4,8,12,16-) (n=4,8,12,16--) (n=4,8,12,16--)
With 2 pes. (Different surfaces,
Same surface), With 1 pc. 10 75 80 85
D-A9ClV -2 (-4 (n-4) (-4
With n pes. 10+ 3005 75+ 3005 80 + 30105 85+ 3005
(n=2,4,6,8) (n=4,8,12,16-) (n=4,8,12,16-) (n=4,8,12,16-)
D-ASLVABL | yith 2 pes. (Different surfaces,
B:Ip\ss\%%sg Same surface), With 1 pc. 25 125 135 M P
D-F5CJwW - — _
D-J59W 25 + 550152 125 + 55054 135 + 55054 G
D-F5BA With n pcs. (Same surface) 2 2
D-F59F (n=2,4,6,8) (n=4,8,12,16-) (n=4,8,12,16--) coy
With 2 pcs. (Different surfaces, 35 145 155 COX
Same surface), With 1 pc.
AR 35+ 550152 145 + 55054 155 + 551 54) ChCt
With n pcs. (Same surface) ( er 4 628 ) ( 4+8 12 i6 ) ( 4+B 12 216 ) IE
n=2,4,6 8- n=4,8, 12,16 n=4,8,12, 16.- 0
£ ¢| Different surfaces 35 110 7( )
=q Same surface 100 c(L)Ku
D-A3C] g 110 +30(n-2) DU
D-G39 E Different surfaces 35 +30(n-2) (=2, 4,6,8-) 70K0
D-K39 < 110 + 100(n-2)
] Same surface 100 + 100(n - 2) (=2, 4,6,8-) W
With 1 pc. 15 110
£ ¢| Different surfaces 35 110 :
Sa| same surface 55 WRF
@ " 110 +30(n-2 E—
D-A44 E Different surfaces 35 +30(n-2) (=24, (6 8-44))
g Same surface 55+ 55(n -2) (:]19; io(sn _82))
With 1 pc. 15 110
D-z70] With 2 pes. (Different surfaces,
D-Z80 Same surface), With 1 pc. 15 105 110 15
D-Y59C] _ _ _ _
D-Y7P With n pos 15+ 40052 105 + 40054 110 + 40054 115+ 40054
D-Y7(OW (n=2,4,6,8) (n=4,8,12,16-) (n=4,8,12,16-:) (n=4,8,12,16--:)
With 2 pes. (Different surfaces,
D-Y69[] Same surface), With 1 pc. 10 90 95 100
D-Y7PV (n-2) (n-4) (n-4) (n-4)
D-Y7ZOOWV With n pes. 10 + 3005~ 90 + 3005 95 + 3005 100 + 3005
(n=2,4,6,8-) (n=4,8,12,16-) (n=4,8,12,16-) (n=4,8,12,16-)
With 2 pes. (Different surfaces,
Same surface), With 1 pc. 20 15 120 125
D-Y7BA Z _ - -
With n pos 20+45052 115 + 45054 120 + 45054 125+ 45054
(n=2,4,6,8-) (n=4,8,12,16-) (n=4,8,12,16-) (n=4,8,12, 16-) INDEX




Series CS2Y

Operating Range

Auto Switch Mounting Brackets/Part No.

(mm)
Auto switch model porelsf2 Auto switch model Bore size (mm)
125 | 140 | 160 0125 2140 2160
D-M9CI/MOCIV D-M9CI/M9CIV
D-M9CIW/M9CIWV 6 6.5 6.5 D-M9CIW/MOCIWV ~ . :
D-M9CIA/MOLIAV D-M9TIA/MOLIAV BS5-125 BS5-125 BS5-160
D-A9C/A9CIV 12 | 125 | 115 D:AJE/ASEY
D-Z701/Z80 14 [ 145 [ 18 g:ﬁggm#sm
D-A30C/A44 D-F50/J50
D-A50/A6] 101010 D-F5NT BT-12 BT-12 BT-16
-, D-F500W/J59W

D-A59W 17 17 17 D-F5BA/F59F
D-Y59C/Y690] .
D-Y7P/Y7PV I O D et BS1-125 BS1-140 BS1-160
D-Y7OW/Y7OWV
D-Y7BA D-Z701/Z80

D-Y5901/Y691
D-F50/J500/F500W D-Y7P/Y7PV BS4-125 BS4-125 BS4-160
D-J59W/F5BA 5 5 55 D-Y7OW/Y7OWV
D-F5NT/F59F D-Y7BA
D-G39/K39 11 11 10 [Stainless Steel Mounting Screw]

= Values which include hysteresis are for guideline
purposes only, they are not a guarantee
(assuming approximately +30% dispersion) and
may change substantially depending on the

ambient environment.

The following stainless steel mounting screw kit (including set screws) is available. Use it in
accordance with the operating environment. (Since the auto switch mounting bracket is not

included, order it separately.)

BBA1: For D-A5/A6/F5/J5 types

The above stainless steel screws are used when a cylinder is shipped with the D-F5BA auto
switch. When only the auto switch is shipped independently, the BBA1 is attached.
Note) When using the D-MOOA/M9CIAV or Y7BA, do not use the steel set screws which are
included with the auto switch mounting brackets above (BS5-000, BS4-000). Order a
stainless steel screw kit (BBA1) separately, and use the M4 x 8L stainless steel set screws

included in the BBA1.

Note) Refer to the WEB catalog or Best Pneumatics
No. 3. for details on the BBA1.

= The figure shows the mounting example for the
D-A90I(V)/M9CI(V)/MOTIW(V)/MITIA(V) types.

Best Pneumatics No. 3.

1153

1

1

1

1 Type Model Electrical entry Features

: g:iggxm%v Grommet (Perpendicular) Without indicator light
D-Z73/Z76 -

: Reed D-A53/A56 or .

. D-A67 ommet (In-line) - — -

. D-Z80 Without indicator light

1 D-F59/F5P/J59 _

1 D-Y59A/Y59B/Y7P

: gsﬁ?\‘vx;ii%ﬁgng Grommet (In-line) 2-color indication

1 D-F5BA/Y7BA Water resistant (2-color indication)

1 Solid state D-F5NT With timer

1 D-M9NV/M9PV/M9BV

1 D-Y69A/Y69B/Y7PV —

1 D-MONWV/M9PWV/M9BWV Grommet (Perpendicular) 2-color indication

1 D-YZNWV/Y7PWV/Y7BWV

1 D-MINAV/M9OPAV/M9BAV Water resistant (2-color indication)

1

1

1

=

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to the WEB catalog or Best Pneumatics No. 3 for the detailed specifications.

+ With pre-wired connector is also available for solid state auto switches. For details, refer to the WEB catalog or Best Pneumatics No. 3.
+ Normally closed (NC = b contact) solid state auto switches (D-FOG/FOH/Y7G/Y7H) are also available. For details, refer to the WEB catalog or



B casy(B
With auto switch f ] e 3]

Smooth Cylinder

eries CQSY

212, 016, 620, 625

With auto switch
(Built-in magnet)

Mounting

Th

igh-hole/Both ends tapped dard)

Foot Note)

Compact foot

Rod flange

Head flange

o|e(n|5|r|w

Double clevis

* Mounting bracket is shipped together with

the product, (but not assembled).

How to Order

Bore size c
12 | 12mm
16 | 16 mm CM
20 | 20 mm
25 | 25 mm
Action
[D [ Double acting |

Cylinder stroke (mm)

Refer to “Standard Strokes”
on page 1155.

o
20/-[30/D[C|-[M9BW|

Number of auto switches

Nil

2 pcs.

S

1pe.

n

“n" pes.

Auto switch

.m. Without auto switch

= For applicable auto switches,

refer to the table below.

Cushion/Rod end thread

With rubber bumper
Female rod end

With rubber bumper
Male rod end

Built-in Magnet Cylinder Model

If a built-in magnet cylinder without an
auto switch is required, there is no need
to enter the symbol for the auto switch.

(Example) CDQSYL25-30DC

Air Cylinders

CKCD

Applicable Auto Switches/Refer to the WEB catalog or Best Pneumatics No. 3 for further information on auto switches. E(l.)KD
E k=S il Load voltage Auto switch model Lead wire (m) 5 - rL)Ku
. 5 ectrical |5 iring re-wire 5
Type Special function £ " 0.5 1|35 Applicable load
entn g Output) DC AC | Perpendicular | In-line ; connector
¥ 2 (i P (Nil) |[(M)| (L) |(2) =
- 3-wire (NPN) 5V, 12V MINV_ | MON e (@0 O [¢] G cirouit CKQ
S e 3-wire (PNP) M9PV M9P [ ] ® @ O O e
; 2-wire 12V M9BV M9B [ ] ® @ O o — CKZN
£ | Diagnostic indication S-wire (NPN) 5V, 12V MONWY [MINW | @ |® @10, O 50, —_—
3 9 5-colon) rommet | &[3We BN P [ mopwv e [e[e[O o Relay. | \WRE
o > 2-wire 12V M9BWV [ ] ® e O o — PLC
o .
= 3-wire (NPN) MINAV*** O |O|®@]|O O -
2 5V, 12V IC circuit
2| oo micatony 3-wire (PNP) : MOPAVF o |olelol o
8 2-wire 12V M9BAV*** O |O0|@]O [0) _
M o ndioatony 2-wire (Non-polar) — — e —|o| @ )
=
S 3-wire -
- 8| (NPNequivalent) | 5V — A96V o |— o |— — IC circuit|  —
8@ —_— Grommet | >
xo L oire 24v | 12V 100V | A93V A93 e —|eo |0 — — | Relay,
3 N 100V orless]  A9OV A90 e —|o | — — IC circuit] PLC
=+ Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
= Lead wire length symbols: 0.5 m - Nil (Example) MONW * Solid state auto switches marked with “O” are produced upon receipt of order.
im - M (Example) MONWM ++ The D-P3DWO is only compatible with 625.
3m -L  (Example) MONWL It is mounted away from the port side to avoid interference with fittings.
5m -Z (Example) MONWZ
= Since there are other applicable auto switches than listed, refer to page 1161 for details.
= For details about auto switches with pre-wired connector, refer to the WEB catalog or Best Pneumatics No. 3.
For the D-P3DWJ, refer to the WEB catalog or Best Pneumatics No. 3.
= Auto switches are shipped together, (but not assembled).
Note) The D-A9CIV/MILIV/MICIWV/MIOLIAV auto switches may not be mounted on the port side depending on the cylinder stroke or the fitting size of piping.
INDEX

1154




Series CQSY

Symbol
Rubber bumper

Replacement Parts/Seal Kit

Specifications
Bore size (mm) 12 16 [ 20 [ 25
Type Pneumatic (Non-lube)
Action Double acting, Single rod
Fluid Air
Proof pressure 1.05 MPa
Maximum operating pressure 0.7 MPa

Ambient and
fluid temperature

Without auto switch: —10°C to 70°C

With auto switch: —10°C to 60°C (O eezing)

Cushion

Rubber bumper

Rod end thread

Female thread

Stroke length tolerance

+1.0 mm Note)
0

Piston speed

5 to 500 mm/s

Allowable rate

0.5 L/min (ANR) or less

Note) Stroke length tolerance does not include the amount of bumper change.

Minimum Operating Pressure

Bore size

(mm) Kit no.

Contents

12 CQSY12-PS | pigion seal
16 CQSY16-PS | Rod seal
20 CQSY20-PS | Tube gasket

1pc.
1 pe.
1 pe.
25 CQSY25-ps | Grease pack (10 g) 1 pc.

When maintenance requires only grease, use the

following part numbers to order.

Grease pack part number: GR-L-005 (5 g)
GR-L-010 (10 g)

GR-L-150 (150 g)

1155

Unit: MPa
\ Bore size (mm) [ 12 [ 16 [ 20 25 \
‘ Minimum operating pressure ‘ 0.03 ‘ 0.02 ‘
Standard Strokes
—————————
Bore size (mm) Standard stroke (mm)
12,16 5,10, 15, 20, 25, 30
20, 25 5, 10, 15, 20, 25, 30, 35, 40, 45, 50
Theoretical Output
[Tl "™ yuen

Bore size Rod size Operating Piston area Operating pressure (MPa)
(mm) (mm) direction (mm?) 0.3 05 07
IN 84.8 25 42 59

12 6
ouT 113 34 57 79
IN 151 45 75 106

16 8
ouT 201 60 101 141

IN 2 71 1 1

20 10 36 8 65
ouT 314 94 157 220
IN 378 113 189 264

25 12
ouT 491 147 245 344

Intermediate Stroke

Method Installation of spacer on standard stroke body.
Model no. Refer to page 1154 for standard model no.
Intermediate strokes at 1 mm intervals are available by
Method N § .
using spacers with standard stroke cylinders.
SENEER) Bore size (mm) Stroke range (mm)
stroke 9
Stroke range 12,16 1t029
20, 25 11049
Part no.: CQSYB25-47DC
CQSYB25-50DC with 3 mm width spacer inside.
Example B dimension is 77.5 mm.

Calculation:@25, B dimension 27.5 mm (without auto switch)
27.5 (B dimension) + 50 (st) = 77.5 (mm)




Smooth Cylinder Series CQS Y

For standard strokes

Weights/Without Auto Switch ©  Calculation: (Example) CQSYD20-20DCM
Bore size Sylincels oSl D) * Basic weight: CQSYB20-20DC -
(mm) 5 10 15 20 25 30 35 40 45 50 * Additional weight: Male rod end
12 37 43 50 57 63 70 — — — — : Double clevis - -
16 49 | 57 | 66 | 74 | 83 | 92 | — | — | — | — 2169
20 75 88 101 114 | 127 | 140 | 153 | 165 | 178 | 191
25 109 125 140 156 172 188 | 204 | 220 | 236 | 252
Weights/With Auto Switch (Built-in magnet) (@)
Bore size Cylinder stroke (mm)
(mm) 5 10 | 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50
12 45 51 58 65 71 78 —_ —_ —_ —_
16 59 67 76 85 94 103 — — — —
20 106 119 132 145 157 170 183 | 195 | 208 221
25 151 167 | 183 199 | 215 | 231 246 | 262 | 278 | 294
Additional Weights (9)
Bore size (mm) 12 16 20 25
[ Malethread | 1.5 3 6 12
Male rod end Nut 1 P) 2 P
Foot (Including mounting bolt) 55 65 159 181
Compact foot (Including mounting bolt) 32 40 97 116
Rod flange (Including mounting bolt) 58 70 143 180
Head flange (Including mounting bolt) 56 66 137 171
Double clevis (Including pin, retaining ring, mounting bolt) 34 40 92 127

Mounting Bolt for CQSYB without Auto Switch

Air Cylinders

Mounting method: Mounting bolt for through-hole Cylinder model Cc D | Mounting bolt part no. Cylinder model c D | Mounting bo't part no.
mounting style of the CQSYB is CQSYB12-5DC 30 | CQ-M3X30L CQSYB20-25DC 50 | CQ-M5X50L
Refer to the foIIowii\g/afEbolred:fi:gn ;'potcitoendlures D = L kiliod = R
. iy -15DC 40 X40L -35DC 60 X60L
Order the actual number of bolts that will be used. 20DC 6.5 25 X45L ~20DC 6.5 &5 X651 MGP
Example) CQ-M3X30L 4 pcs. -25DC 50 X50L -45DC 70 x7oL  [HE){
-30DC 55 X55L -50DC 75 x75L  [HELS
CQSYB16-5DC 30 | CQ-M3X30L CQsYB25-5DC 35 | CQ-M5X35L
-10DC 35 X35L -10DC 40 X40L CKD1
-15DC 65 40 X40L -15DC 45 X45L
200C | > [45 X451 -20DC 50 xsoL_ |G(LKC
-25DC 50 X50L -25DC 85 55 XB5L =
-30DC 55 X55L -30DC | [ 60 6oL (G(L)KU
CQsSYB20-5DC 30 | CQ-M5X30L -35DC 65 X65L ——
Note) When mounting a cylinder with -10DC 65 35 X35L -40DC 70 X70L cKn
through-hole, be sure to use the -15DC | 40 X40L -45DC 75 X75L
aftached plain washer. -20DC 45 X45L -50DC 80 X80L_ | oy
Material: Chromium molybdenum steel
Surface treatment: Zinc chromated [ =
Mounting Bolt for CDQSYB with Auto Switch WRF
= [
Mounting method: Mounting bolt for through-hole Cylinder model C D | Mounting bolt part no. Cylinder model Cc D | Mounting bot part no.
mounting style of the CDQSYB CDQSYB12-5DC 35 | CQ-M3X35L CDQSYB20-25DC 60 | CQ-M5X60L
Refer to the foIIowii\sgélf‘/o?iﬁzleerﬁisgiﬁozpetﬂles b 0 2 SBE 55 S
© >aures. -15DC 45 X45L -35DC 70 X70L
Order the actual number of bolts that will be used. 20DC 6.5 50 X50L 20DC 6.5 75 X75L
Example) CQ-M3X35L 4 pcs. -25DC 55 X55L -45DC 80 X80L
-30DC 60 X60L -50DC 85 X85L
CDQSYB16-5DC 35 | CQ-M3X35L CDQSYB25-5DC 45 | CQ-M5X45L
E Mounting bolt -10DC 40 X40L -10DC 50 X50L
i -15DC 65 45 X45L -15DC 55 X55L
i -20DC| [ 50 X50L -20DC 60 X60L
LG -25DC 55 X55L -25DC 85 65 X65L
-30DC 60 X60L -30DC| 70 X70L
D CDQSYB20-5DC 40 | CQ-M5X40L -35DC 75 X75L
Note) When mounting a cylinder with -10DC 6.5 |45 X451 -40DC 80 X80L
through-hole, be sure to use the -15DC | 50 X50L -45DC 85 X85L
attached plain washer. -20DC 55 X55L -50DC 90 X90L
Material: Chromium molybdenum steel INDEX

Surface treatment: Zinc chromated

1156




Series CQSY

Dimensions: 12 to 025

Standard (Through-hole/Both ends tapped): CQSYB/CDQSYB

212
2x4x00B H thread effective depth C 2xM5x0.8 Auto SV\.li‘Ch _
counterbore depth RB 2 x 4 x OA effective depth RA Note) Lead wire min.
bending radius 10
216 L ﬁl
T4 Iy
e T 5|
g
jxc] =
4
=
@0 T T 3 3
B ——
— 1 — - =
]
Flat washer
L B + Stroke
A + Stroke
220, 225
Male rod end
Width across flats B1 |
MM i i i
T
-y ]
]
C1
X
L1
Male Rod End
Bore size (mm) | B1 | C1 | H1 | L1 MM X
12 8 9|4 14| M5x08 105
16 10| 10| 5 |155| M6x1.0 | 12
20 13|12 | 5 |185| M8x125| 14
25 17 ] 15| 6 |225|M10x1.25|17.5
Standard
Bore size | Stroke range | Withoutauto switch | With auto switch
(mm) (mm) A B A B C D E F H | K L M N OA OB| Q |RA|RB | T
12 510 30 255| 22 |305| 27 | 6 6 25 | 5 |M3x05| 32 | 5 |35 |155]| 35 |[M4x07|65|75| 7 4 105
16 510 30 255| 22 |305| 27 | 8 8 29 | 5 |M4x0.7| 38 | 6 | 35|20 | 35 |M4x07|65|75]| 7 4 |05
20 5to 50 29 |24.5| 39 |345| 7 10 | 36 | 55 |[M5x0.8| 47 | 8 | 45 |255|54 [M6x10| 9 8 10| 7 1
25 5to 50 325|275|425|375| 12 | 12 | 40 | 55 |[M6x1.0] 52 | 10 5 28 | 54 [M6x1.0| 9 9 10 | 7 1

Note) Threaded through-hole is used for the standard of 820 with 5 to 10 mm strokes and @25 with a 5 mm stroke.

1157



Dimensions: 212 to 025

Foot: CQSYL/CDQSYL

L B + Stroke

Special cap bolt

g

LG

LX F\\ 4x0oLD
Lz LS + Stroke
A + Stroke

Male rod end

Smooth Cylinder Series CQS Y

Foot
Bore size | Stroke range | Without auto switch With auto switch
(mm) (mm) A B Ls | A B LS )
12 5t030 | 403 | 22 | 10 | 4563 | 27 | 15 o
16 5t030 | 403 | 22 | 10 [453 | 27 | 15 | 2
20 5050 [ 462 [ 245 [ 125 [ 562 [ 345 [ 225 | Z
25 5t050 | 49.7 | 275 | 125 | 659.7 | 375 | 225 | O
=
B‘:'ne"ﬁ')ze L |L|[LD|LG|LH|LT|LX|LY|LZ| X |Y [<

12 135( 24 |45 (28|17 | 2 | 34 |295| 44 | 8 |45

ra 16 135(255| 45|28 |19 | 2 | 38335/ 48| 8 | 5 |CJ2
{;g 20 [145]285]6.6| 4 |24 |32 48 |42 | 62 | 92|58
25 15 |325/6.6 | 4 | 26 [3.2| 52 | 46 | 66 |10.7]| 5.8 cMz
£:§ Foot bracket material: Carbon steel
L1 : Surface treatment: Nickel plating cG1
MB
Compact foot: CQSYLC/CDQSYLC Compact Foot CA2
A + Stroke Bore size | Stroke range | Without auto switch With auto switch
[ Beomoe (om) |~ mm) [ A [ B [Ls | A [ B [Ls IT
. ‘ ‘ 12 51030 | 496 | 22 | 406 | 546 | 27 | 456 [CQS
> { ' i Special cap bolt 16 510 30 50.6 22 40.6 | 55.6 27 45.6  |Lube-
~N W — P P .
©) » = 20 5t050 | 625 | 245 | 50.9 | 72.5 | 345 | 60.9 _ |retainer
N 51 1 1 25 5 to 50 65.5 | 27.5 | 53.9 | 75.5 | 37.5 | 63.9 JA
] ¥ Bore size
‘ LX 4xoLD /Y M (mm) L L1 |LD|LH | LT | LX LY |LZ | X Y MXH
Lz T Lsstoke 12 135] 24 |45 [ 17 | 2 [155]295] 25 | 9.3 | 45
7 16 185|255| 45 | 19 2 20 |335|29 |93 | &5
Male rod end R 20 145285 6.6 | 24 | 3.2 |255] 42 | 36 [132] 5.8 |MXQ
il 25 15 [32.5] 6.6 | 26 | 32 | 28 | 46 | 40 [13.2] 5.8
{ Compact foot bracket material: Carbon steel MGP
== Surface treatment: Zinc chromated
: 3
CKO1
Rod flange: CQSYF/CDQSYF Rod Flange Gk
Bore size | Stroke range | Without auto switch | With auto switch —
i : 7 (mm) (mm) A B A B C(LKU
g @ I 12 51080 | 355 | 22 | 405 | 27 IR
g z i 16 5t0 30 355 | 22 | 405 | 27 CKQ
e ' &I 20 5to 50 39 245 49 34.5
LFJ 25 5 to 50 425 | 275 | 525 | 875 CKZ2N
FX 2xoFD L] B+ Stroke Bore size
FZ A+ Stroke FD | FT | FV | FX | FZ L L1 P
{mrm) WRF
12 45 | 55 | 25 45 55 | 135 | 24
Male rod end 16 45 | 55 | 30 45 55 | 13.5| 25.5
20 6.6 8 39 48 60 | 14.5| 28.5
72"‘“—1_@ 25 6.6 8 42 52 64 15 | 32.5
= Flange bracket material: Carbon steel
Rod end nut”, L Surface treatment: Nickel plating
1
* For details about the rod end nut and accessory brackets,
refer to page 1174.
INDEX

1158



Series CQSY

Dimensions: g12 to g25

Head flange: CQSYG/CDQSYG

Head Flange
e Bore size | Stroke range | Without auto switch | With auto switch
i ' '@ @ (mm) (mm) A B A B
 — 2 z 12 510 30 31 | 22 | 36 | 27
. 16 5 to 30 31 22 36 27
[ e M - 20 5 t0 50 37 | 245 | 47 | 345
Ll Bxstoke | LFT FX 2xoFD 25 5t0 50 405 | 27.5 | 50.5 | 37.5
A + Stroke FZ
Male rod end Bcz’nfms')ze FD | FT | FV | FX | FZ | L | Ls
12 45 | 65| 25 | 45 | 55 | 35 | 14
16 45 | 55| 30 | 45 | 55 | 35 | 155
20 66 | 8 | 39 | 48 | 60 | 45 | 185
25 66 | 8 | 42 | 52 | 64 | 5 |225
L “\_Rod end nut* Flange bracket material: Carbon steel
Surface treatment: Nickel plating
Double clevis: CQSYD/CDQSYD Double Clevis
Lp ot Bore size |Stroke range | Without auto switch | With auto switch
‘ ‘ oCD hole H10 (mm) (mm) A | B|CL|A|B]|CL
/ Aois d9 12 51030 |455| 22 |39.5|505| 27 |445
o I 16 5t030 [46.5] 22 [40.5|51.5] 27 [45.5
B r 20 5t050 | 56 [24.5] 47 | 66 |34.5] 57
CT.licy 25 5t050 |62.5|27.5|52.5|72.5|37.5|62.5
L|| Bswoke [ CW]| |RR
£L+ Sioko Benz® | B |cojcT|cujew|ex|cz| L [ L |RR
12 12| 5 4| 7 [14]5][10]35][14] 6
Male rod end 16 14 | 5 | 4 | 10| 15 |65 12 | 35 |[155] 6
E 20 20| 8 | 5 [12] 18] 8 | 16 [45][185] 9
saeit 25 24 [10 | 5 [14 |20 ] 10 ] 20 [ 5 [225] 10
\a Double clevis bracket material: Carbon steel
L rod end nut* Surface treatment: Nickel plating

+ For details about the rod end nut and accessory brackets,
refer to page 1174.

1159



Series CQSY
Auto Switch Mounting

Minimum Stroke for Auto Switch Mounting

(mm)
. D-M9OOWV D-M9CIW "
Number of auto switches D-M9CIV D-A9CIV D-MOCAV D-A90] D-M9TIA D-M9OI D-P3DWI Nete )
With 1 pc. 5 5 10 10(5) 15(10) 15(5) 15
With 2 pes. 5 10 10 10 15(10) 15(5) 15

Note 1) 925 is only applicable for the D-P3DWO.

Note 2) The dimensions stated in ( ) shows the minimum stroke for the auto switch mounting when the auto switch does not project from
the end surface of the cylinder body and hinder the lead wire bending space. (Refer to the figure on the right.)
Order auto switches separately.

Auto Switch Proper Mounting Position (Detection at stroke end) and lts Mounting Height

212 216 to 025
Mounting Mounting

a) b) a) b)

D-M901V
D-MOCIWV
D-M9CIAV
D-A9CIV

% € | Air cylinders

[}
[T}
-

g

CA2

S
PN

retainer

o

&
I cCY
COX
[
w_ |0
IR
CKQ
CKZ2N
925 e
B
= WRF
S m——= O
=T T —
LA
Auto Switch Proper Mounting Position (mm)
Aut itch -
O el D-MOC/MOCIW T T D-A9D] D-A9CIV D-P3DWLI
Bore size A B w A B w A B Hs A B w A B Hs A B Hs
12 55|35 |55 | 55|35 | 75| 55|35 |195| 15 |0 W s o 7 | = | = | =
16 6 4 6 6 4 8 6 4 215 | 2 0 2[4.5] 2 0 19 — — —
20 10 7.5 25 | 10 7.5 4.5 | 10 75 | 25 6 3.5 -1.5[1] 6 35 | 225 | — —
25 11 9.5 05 | 11 9.5 25 | 11 9.5 | 27 7 55 -3.5[-1] 7 55 | 245 | 15 0 32
Note 1) [ ]: Denotes the dimensions of the D-A93.
Note 2) Adjust the auto switch after confirming the operating condition in the actual setting. INDEX
Note 3) The product is shipped out of the factory in installation state “a)”. To change the electrical entry direction of the switch on the head, refer to installation state “b)”.

Note 4) Negative figures for W indicate an auto switch is mounted inward from the edge of the cylinder body.

1160




Series CQSY

Operating Range

(mm)
) Bore size

Auto switch model 12 16 [ 20 | 25
D-M9CI/MOCIV
D-MOCIW/MOCIWV | 3 | 35| 55| 45
D-M9CJA/M9LIAV
D-A9C/A9CIV 6 | 75|10 |10
D-P3DW — | =] =155

= Values which include hysteresis are for guideline purposes only, they
are not a guarantee (assuming approximately +30% dispersion) and
may change substantially depending on the ambient environment.

o e e e e e e e e e e e e e e e e R e e A A A e e M e e e e e e e e e e e e e e e

I Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.

= With pre-wired connector is also available for solid state auto switches. For details, refer to the WEB catalog or Best Pneumatics No. 3.
[ - Normally closed (NC = b contact) solid state auto switches (D-F9G/F9H) are also available. For details, refer to the WEB catalog or Best

1 Pneumatics No. 3.

1
1
1
1
-

L e e e e e e o e e

APrecautions

B e

1 Be sure to read before handling.

1 Refer to page 1574 for Safety Instructions. For Actuator and Auto Switch Precautions, refer to “Handling Precautions 1
I' for SMC Products” and the Operation Manual on SMC website, http://www.smcworld.com

¢ If the cylinder is used in an application in
which a magnetic material is placed in close
contact around the cylinder as shown in the
figure on the right (including cases in which
even one of the sides is in close contact) the
operation of auto switches could become
unstable. Therefore, please consult with SMC

for this type of application.

1161

Magnetic substance
(Iron plate etc.)




s1apullAg ay

AR EAEER - FHEBREE
HEEHREERERHERAEEH C C HEEERBEE

INDEX

1162



Smooth Cylinder

eries CQ2Y

232, 340, 350, 063, 280, 2100

How to Order

B ca2y(B -Bopc[ ]z
 with auto switch [oJo]e PAAI=] kP obCl[ ]Z-

With auto switch Number of
(Built-in magnet) auto switches
Mounting Nil | 2 pcs.
B | Through-hole (Standard) Bore size o———— S 1pc.
A Both ends tapped 32 | 32mm Thread type n_ |“n"pcs.
L Foot Note) 40 | 40mm - )
LC Compact foot 50 | 50 mm Nil Re Auto switch
F | Fod fange 83 oz ™ | et (NI Wiout awo swich
G Head flange 80 80 mm TF G + For applicable auto switches,
D Double clevi . refer to the table below.
uble clevis 100 | 100 mm Cylinder stroke (mm)
* Mounting bracket is shipped Refer to “Standard Strokes” } )
together with the product, on page 1164. © Auto switch mounting groove
(outnetassembied [Z T suraces |
Actiono————
: .
[D] g Cushion Body option
[ € ] Rubber bumper | [ Nil_][ Standard (Female rod end) |
[m Male rod end |

Built-in Magnet Cylinder Model
If a built-in magnet cylinder without an
auto switch is required, there is no need
to enter the symbol for the auto switch.
(Example) CDQ2YL40-50DCZ

Applicable Auto Switches/Refer to the WEB catalog or Best Pneumatics No. 3 for further information on auto switches.

I = e Load voltage Auto switch model Lead wire (m) Ea— Pl
Type Speciitnctol entry (OUtPl?‘) DC AC  |Pemendicular| In-line (?\"ﬁ) “\1/') (E) é) T?\;‘; connector plljoa\d
3-wire (NPN) 5V, MONV M9N ® | ®/® O|—| O |, .
§ — Swire (PNP) 12V MOPV | MoP | @ @|e@ o0 —| o | ot
= 2-wire 12V M9BV | M9B |® @ /@ O|—| O -
2 Diagnostic indication | Swire (NPN)| sV, MNWIEMINUEL & &0 O — © IC circuit
3 (2?Color indication) | arommet | § L3 PNPY] o\ 12V . MOPW | @ ([@|@|O|—| O Relay,
o > 2-wire 12V MBW o e @ O|—| O — PLC
‘E Water resistant | Sire (NPH) AW MONA™| O |0 @[O0 |— o IC circuit
2 (2-color indication) 3-wire (PNP) 12V MOPA**| O [O|@[O|—| O
3 2-wire 12V M9BA**| O |O|@|O|—| O —
Magnetc feld resistant (2-color indication) 2-wire (Non-polar) — — P3DW ([ @ |—| @ | @0 — (6] —
- k= @ [Bire (NPN equivalen) | — 5V — A9V A96 o | — e |—|— — |ICcircuit] —
&z — Grommet |>| o | 54y [12V ][ 100V [ A3V | A93 | e [—|e - = — | Relay,
El No 5V, 12V|[100Vorless] A9OV A90 ® |—|®|—|—| — [ICcircuit| PLC

=+ Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.

= Lead wire length symbols: 0.5 m - Nil (Example) MONW + Solid state auto switches marked with “O” are produced upon receipt of order.
im - M (Example) MONWM
3m - L (Example) MONWL
5m -Z (Example) MONWZ

= Since there are other applicable auto switches than listed, refer to page 1179 for details.

= For details about auto switches with pre-wired connector, refer to the WEB catalog or Best Pneumatics No. 3.

1163




Symbol
Rubber bumper

Replacement Parts/Seal Kit

Smooth Cylinder Series CQZ Y

Specifications
Bore size (mm) 32 40 50 | 63 | 80 100
Type Pneumatic (Non-lube)
Fluid Air
Proof pressure 1.05 MPa
i perating pressure 0.7 MPa

Ambient and
fluid temperature

Without auto switch: —10°C to 70°C

With auto switch: —10°C to 60°C (No freezing)

Cushion

Rubber bumper (Standard)

Stroke length tolerance

+1.0mm Note)
0

Piston speed range

5 to 500 mm/s

All ble leak rate

0.5 L/min (ANR) or less

Note) Stroke length tolerance does n

ot include the amount of bumper change.

Minimum Operating Pressure
\ Bore size (mm) [ 32 [ 40 [ s0 63 80
‘ Minimum operating pressure ‘ 0.02 ‘ 0.01

Standard Strokes

Bore size (mm)

Standard stroke (mm)

32,40

5,10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100

50, 63, 80, 100

10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100

Theoretical Output

[TJrour[k—Jn

Bczlr';;rzi)ze Kit no. Contents
32 CQ2Y32-PS
40 CQ2Y40-PS Piston seal 1pc.
50 CQ2Y50-PS | Rod seal 1pc.
63 CQ2Y63-PS | Tube gasket 1pe.
80 CcQ2Y80-ps | Grease pack (10 g) 1pc.
100 CQ2Y100-PS

When maintenance requires only grease, use the

following part numbers to order.

Grease pack part number: GR-L-005 (5 g)
GR-L-010 (10 g)
GR-L-150 (150 g)

Bore size Operating Operating pressure (MPa)

(mm) direction 0.3 0.5 0.7
IN 181 302 422
32 ouT 241 402 563
m IN 317 528 739
ouT 377 628 880
IN 495 825 1155
50 ouT 589 982 1374
IN 841 1402 1962
8 ouT 935 1559 2182
IN 1361 2268 3175
o0 ouT 1508 2513 3519
IN 2144 3574 5003
100 ouT 2356 3927 5498

Intermediate Stroke

Method Installation of spacer on standard stroke body.
Model no. Refer to page 1163 for standard model no.
Intermediate strokes at 1 mm intervals are available by
Method . § .
Standard using spacers with standard stroke cylinders.
stroke Bore size (mm Stroke range (mm
Stroke range re size (mm) ‘ roke range (mm)
3210 100 | 11099
Part no.: CQ2YB50-57DCZ
CQ2YB50-75DCZ with 18 mm width spacer inside.
Example B dimension is 125.5 mm.
Calculation:¢50, B dimension 50.5 mm (without switch)
50.5 (B dimension) + 75 (st) = 125.5 (mm)

1164

Air Cylinders

MGP

Ex
K1
Ma
o
oKa

WRF

EHE

INDEX




Series CQ2Y

Mounting Bolt

Mounting method: Mounting bolt for through-hole E -
mounting style of the CQ2YB is
available as an option.
Refer to the following for ordering procedures. R
Order the actual number of bolts that will be used.

Example) CQ-M5X40L 2 pcs. lc.

Mounting bolt

Mounting Bolt for CQ2YB without Auto Switch

Cylinder model C D | Mounting bolt part no. Cylinder model (o} D | Mounting bolt part no.
CQ2YB32- 5DC 40 | CQ-M5X40L CQ2YB63- 10DC 60 | CQ-M8X60L
- 10DC 45 X45L - 15DC 65 X65L

- 15DC 50 X50L - 20DC 70 X70L

- 20DC 55 X55L - 25DC 75 X75L

- 25DC 60 X60L - 30DC 80 X80L

- 30DC 9 65 X65L - 35DC |145| 85 X85L

- 35DC 70 X70L - 40DC 90 X90L

- 40DC 75 X75L - 45DC 95 X95L

- 45DC 80 X80L - 50DC 100 X100L

- 50DC 85 X85L - 75DC 135 X135L

- 75DC 120 X120L -100DC 160 X160L
-100DC 145 X145L CQ2YB80- 10DC 65 | CQ-M10X65L
CQ2YB40- 5DC 45 | CQ-M5X45L - 15DC 70 X70L
- 10DC 50 X50L - 20DC 75 X75L

- 15DC 55 X55L - 25DC 80 X80L

- 20DC 60 X60L - 30DC 85 X85L

- 25DC 65 Xe5L - 35DC | 15 90 X90L

- 30DC 75 70 X70L - 40DC 95 X95L
-35DC| 75 X75L - 45DC 100 X100L

- 40DC 80 X80L - 50DC 105 X105L

- 45DC 85 X85L - 75DC 140 X140L

- 50DC 90 X90L -100DC 165 X165L

- 75DC 125 X125L CQ2YB100- 10DC 75 | CQ-M10X75L
-100DC 150 X150L - 15DC 80 X80L
CQ2YB50- 10DC 55| CQ-M6X55L - 20DC 85 X85L
- 15DC 60 X60L - 25DC 90 X90L

- 20DC 65 X65L - 30DC 95 X95L

- 25DC 70 X70L - 35DC | 15.5| 100 X100L

- 30DC 75 X75L - 40DC 105 X105L

- 35DC | 12.5| 80 X80L - 45DC 110 X110L

- 40DC 85 X85L - 50DC 115 X115L

- 45DC 90 X90L - 75DC 150 X150L

- 50DC 95 X95L -100DC 175 X175L

- 75DC 130 X130L Material: Chromium molybdenum steel
-100DC 155 X155L Surface treatment: Zinc chromated

1165



Smooth Cylinder Series CQZ Y

Mounting Bolt for CDQ2YB with Auto Switch (Built-in magnet)

(7]
Cylinder model [+ D | Mounting bolt part no. Cylinder model C D | Mounting bolt part no. :‘l-)
CDQ2YB32- 5 50 | CQ-M5X50L CDQ2YB63- 10 70| CQ-M8X70L 'g
- 10 55 X55L - 15 75 X75L —;
- 15 60 X60L - 20 80 X80L (§)
- 20 65 X65L - 25 85 X85L =
- 25 70 X70L - 30 90 X90L <
- 30 9 75 X75L - 35 |145] 95 X95L —_—
- 35 80 X80L - 40 100 X100L ch
- 40 85 X85L - 45 105 X105L
- 45 90 X90L - 50 110 X110L
- 50 95 X95L -75 135 X135L cMZ
-75 120 X120L -100 160 X160L
-100 145 X145L CDQ2YB80- 10 75 | CQ-M10X75L CG1
CDQ2YB40- 5 55 | CQ-M5X55L - 15 80 X80L
- 10 60 X60L - 20 85 X85L MB
- 15 65 X65L - 25 90 X90L
- 20 70 X70L - 30 95 X95L cAz
- 25 75 X75L - 35| 15 | 100 X100L
-30| | 80 X80L - 40 105 X105L £Q2
-35] " 85 X85L - 45 110 X110L cas
- 40 90 X90L - 50 115 X115L Lube-
- 45 95 X95L - 75 140 X140L retainer
- 50 100 X100L -100 165 X165L
- 75 125 X125L CDQ2YB100- 10 85 | CQ-M10X85L JA
-100 150 X150L - 15 90 X90L
CDQ2YB50- 10 65 | CQ-M6X65L - 20 95 X95L MXH
- 15 70 X70L - 25 100 X100L
- 20 75 X75L - 30 105 X105L Mxo
- 25 80 X80L - 35 |155] 110 X110L
- 30 85 X85L - 40 115 X115L
-35|125| 90 X90L - 45 120 X120L mGpP
- 40 95 X95L - 50 125 X125L coY
- 45 100 X100L -75 150 X150L coX
- 50 105 X105L -100 175 X175L
- 75 130 X130L Material: Chromium molybdenum steel CKC1
-100 155 X155L Surface treatment: Zinc chromated
UKD
CILKU
CKQ
CKZ2N
WRF
INDEX

1166



Series CQ2Y

Bore Size

232 to 050

Through-hole: CQ2YB/CDQ2YB

(Types with auto switch and without auto switch only differ
in the A and B dimensions. Refer to the table below.)

Both ends tapped: CQ2YA/CDQ2YA

CDQ2YA Both Ends Tapped (mm)
Oithread R R Bore size
1 read (mm) 01 R
32 M6x1.0 | 10
40 M6x1.0 | 10
W 50 M8x1.25 | 14
2 x P (Rc, NPT, G) Auto switch
H thread effective depth C (Port size) Lead wire min. bending radius 10
4 x oN through Q F
8 x 00 counterbore ~ =
iZe =]
75 7
7 . o
L
N ia
=7/% =
-
i 0
K, L B + Stroke
M A + Stroke
E J
w
) Male rod end
Width across flats B+
MM
C1
X
L1
Male Rod End (mm)
Bore size
(mm) B1 | C1 | Hi | L1 MM X
32 22 |20.5| 8 |285| M14x1.5 |23.5
40 22 |20.5| 8 |285| M14x1.5 |23.5
50 27 | 26 | 11 |33.5| M18x 1.5 |28.5
(mm)
Bore size | Stroke range | Witoutauoswich| With auto switch
Cc D E F H J K L M N (o] P Q w z
(mm) (mm) A|B|A|B
5to 50 40 | 33
32 50 | 43 | 13 | 16 | 45 | 7.5 | M8x1.25 | 45| 14 | 7 | 34 | 55 | 9depth7 | 1/8 | 10 |49.5 | 14
75, 100 50 | 43
5 to 50 46.5|39.5
40 56.5(49.5| 13 | 16 | 52 | 7.5 | M8x1.25 | 5 14 7 40 | 55 | 9depth7 | 1/8 |125| 57 | 14
75, 100 56.5|49.5
10to 50 |48.5]|40.5
50 58.5|50.5| 15 | 20 | 64 (105 M10x15 | 7 | 17 | 8 | 50 | 6.6 | 11depth8 | 1/4 |{10.5| 71 | 19
75, 100 58.5|50.5

1167



Bore Size

232 to 050

Foot: CQ2YL/CDQ2YL

L B +Stroke

: @ Special cap bolt
+
fad 140 2! 1 2
Lx___NaxolD XM, Vx|La
LZ LS + Stroke

Male rod end

A + Stroke

K=

Compact foot: CQ2YLC/CDQ2YLC

Male rod end

A + Stroke
L B+ Stroke
Special cap bolt
.
gk
‘ LX ‘ 4xoLD ! X X %
LZ
LS + Stroke

=
=

L1

Rod flange: CQ2YF/CDQ2YF

Special cap bolt

FT
L | B + Stroke

A + Stroke

Smooth Cylinder Series CQZ Y

(Types with auto switch and without auto switch only differ
in the A and B dimensions. Refer to the table below.)

Foot (mm)
Bore size | Stroke range | Without auto switch | With auto switch L lwlw
(mm) (mm) A|BJ[LS|A[B]|LS o
5 to 50 57.2| 33 | 17 e
(7]
32 75,100 672 43 | 27 67.2| 43 | 27 | 17 |38.5| 6.6 _g
5to 50 63.7|39.5|23.5 =
40 75,100 7371495335 73.749.5|33.5| 17 |38.5| 6.6 3
10 to 50 66.740.5|17.5 —
50 75, 100 76.71505(27.5 76.7|50.5|27.5| 18 (435 9 =
Bore size | Stroke range
LG |LH LT |LX |LY |LZ| X Y
(mm) (mm) c J2
32 51050 |, |30 |a2]|s7 |57 |71 11258
75, 100 M2
5 to 50
40 4 33 32|64 | 64|78 |112| 7
75, 100
50 1010 50 5 39 (32|79 |78 | 9 |147| 8 cG1
75, 100 ) i

Compact Foot

Foot bracket material: Carbon steel
Surface treatment: Nickel plating

W
a2 _

(<)
=

cQ:
om 08
Al

B

2

S

Lube-
B rela?ner

X

X

Bore size | Stroke range | Without auto switch | With auto switch Ll
(mm) (mm) A|BJLS|A[B]|LS
5to 50 72 | 33 |60.4
32 75, 100 82 a3 [70a] 82 | 43 |704] 17 385 66 ‘JA
5 to 50 80.9/39.5|66.9
40 75, 100 90.9149.5/76.9 90.9/49.5|76.9| 17 |38.5| 6.6 M H
10 to 50 89.9/40.5/73.9
50 75,100 99.9150.583.9 99.9|50.5/83.9| 18 [435| 9 M 0
Bore size | Stroke range
LH | LT |LX | LY |LZ | X Y
(mm) (mm) MGP
32 f;"{:’)% 30 | 32| 34|57 |45 [137| 58
510 50 COIX
40 33 32| 40 | 64 | 52 |13.7| 7
75, 100 CKD1
10 to 50
50 39 {32 |50 | 78| 64 |16.7| 8
75, 100 “.KD
Compact foot bracket material: Carbon steel ( )
Surface treatment: Zinc chromated
CILKY
CKQ
Rod Flange mm) S
Bore size | Stroke range | Withoutauoswich | With auto switch | FT | Fv |Fx | Fz CKZ2N
(mm) (mm) A B A B —
51050 50 | 33 WRF
32 75,100 50 | 43 60 | 43 |55| 8 |48 |56 |65
5 to 50 56.5|39.5
40 75, 100 6651495 66.5/49.5/55| 8 |54 (62|72
10 to 50 58.5|40.5
50 75, 100 6851505 68.5/50.5/6.6| 9 |67 |76 | 89
Bore size | Stroke range
o) ) L L |m
5 to 50
32 75,100 17 |38.5| 34
5 to 50
40 75,100 17 |38.5| 40
10 to 50
50 75, 100 18 |43.5| 50
Flange bracket material: Carbon steel
Surface treatment: Nickel plating
* For details about the rod end nut and accessory brackets, refer to page 1174.
INDEX

1

168



Series CQ2Y

Bore Size
32 t 50 (Types with auto switch and without auto switch only differ
Q o g in the A and B dimensions. Refer to the table below.)
Head flange: CQ2YG/CDQ2YG Head Flange (mm)
Special cap bolt Bore size | Stroke range | Withoutautoswich | With auto switch Ll
(mm) (mm) A A
+ . 5 to 50 48
32 75,100 58 58 7 |285
5to 50 54.5
il 40 75,100 64.5 64.5 7 |285
L B + Stroke FT 4xoFD 50 17%1‘1 gg Z;g 67.5 8 1335
A + Stroke Fz > -

Flange bracket material: Carbon steel
Surface treatment: Nickel plating
(= Dimensions except A, L and L1 are the same as rod flange type.)

L1
Double clevis: CQ2YD/CDQ2YD Double Clevis (mm)
4xN Bore size | Stroke range Without auto switch | With auto switch
cr Cap bolt (mm) (mm) A BJCL|A]|BICL CD | CT |CU
5to 50 70 | 33 | 60
J—
t [N {mﬂ 32 75,100 80 | 43 | 70 80 | 43 | 70 | 10 5 14
% [ A 5 to 50 78.5]39.5|68.5
%] 1 40 75, 100 8851495785 88.5(49.5/78.5| 10 6 14
Ccu 50 172_’“1053 1900655 gg: ;gg 100.5/50.5|86.5| 14 | 7 | 20
L B + Stroke [CW| | RR = = = -
CL + Stroke Bore size | Stroke range ewlex|czl| L | L N RR
A + Stroke (mm) (mm) !
5to 50
32 75, 100 20 | 18 | 36 7 |285| M6x1.0 | 10
5 to 50
40 75,100 22 | 18 | 36 7 |285| M6x1.0 | 10
10 to 50
50 75, 100 28 | 22 | 44 8 |335|M8x1.25| 14

Double clevis bracket material: Cast iron

Surface treatment: Painted

# For details about the rod end nut and accessory brackets, refer to page 1174.
# A double clevis pin and retaining rings are included.

1169



Bore Size

263 to o100

Through-hole: CQ2YB/CDQ2YB

Smooth Cylinder Series CQZ Y

(Types with auto switch and without auto switch only differ
in the A and B dimensions. Refer to the table below.)

Both ends tapped: CQ2YA/CDQ2YA

o Both Ends Tapped (mm) | @
1 thread R R - (7]
[ — Bore size o1 R o
(mm) £
} } } 63 M10x15 | 18 3-
80 M12x1.75| 22 =<
_ 100 M12x1.75| 22 <
CJ2
2xP (Re, NPT, G) Lead wire min. bending radius 10
(Port size) 3 GMZ
H thread effective depth € 4 x oN through Auto switch
8 x 60 counterbore Q F
— ] CG1
MB
s o=
= 1 ban = CA2
N|=|w Q @
\ \V ca2
cas
1 Lube-
retainer
JA
L B + Stroke
A + Stroke MXH
mxa
MGP
Male rod end I:
coy
Width across flats B1 cOxX
MM
CKC1
UKD
CILKU
CKQ
c CKZ2N
X L
L
! WRF
Male Rod End (mm)
Bore size
(mm) B1 | C1 | Hi | L1 MM X
63 27 |26 11 |33.5| M18x 1.5 |28.5
80 32 [32.5| 13 |435| M22x 1.5 |35.5
100 41 |32.5| 16 |43.5| M26x 1.5 |35.5
(mm)
Bore size | Stroke range | Withoutauto switch | With auto switch
(mm) (mm) A B A B C D E F H J K L M N o P Q| w| z
10 to 50 54 | 46
63 64 | 56 | 15 | 20 | 77 [10.5|M10x15| 7 17 8 60 9 |14depth105| 1/4 | 15 | 84 | 19
75,100 64 | 56
10 to 50 63.5|53.5
80 735(635| 21 | 25 | 98 |125|M16x2.0| 6 | 22 | 10 | 77 | 11 [175depth135| 3/8 | 16 | 104 | 25
75, 100 73.5|63.5
10t050 | 75 | 63 INDEX
100 85 | 73 | 27 | 30 {117 | 13 |[M20x25| 6.5 | 27 | 12 | 94 | 11 |175depth135| 3/8 | 23 |123.5| 25
75, 100 85 | 73

1170



Series CQ2Y

Bore Size

263 to o100

Foot: CQ2YL/CDQ2YL

B + Stroke

LY

Special cap bolt

7
o

& &
N Lx:r APMELD X\‘("J:T rﬁ

LG

LS + Stroke

A + Stroke

Compact foot: CQ2YLC/CDQ2YLC

(Types with auto switch and without auto switch only differ
in the A and B dimensions. Refer to the table below.)

Foot e
Bore size | Stroke range | Without auto switch | With auto switch L lulLw
(mm) (mm) A | B|LS|A|B|LS

o [t e ] e fne
- 17(;"25[? gg Zg:g §g§ 95 63.5(335| 20 |535| 13
100 17%1“:53 ﬁ)z sg ig 108 | 73 | 39 | 22 |53.5| 13
B&zrﬂ? rii)ze S"Orrﬁnza)”ge LG |LH LT X |LY |Lz| X | Y

63 ;‘;‘:gg 5 | 46 | 32| 95 |915(113|162| 9

80 ;‘;f‘;gg 7 | 59 | 45 |118 | 114 | 140 |195| 11

100 17‘:‘1’(‘?8 7 | 71| 6 |137|136|162| 23 |125

Foot bracket material: Carbon steel
Surface treatment: Nickel plating

Compact Foot (mm)
A + Stroke Bore size | Stroke range | Without auto switch | With auto switch L L | LD
B + Stroke (mm) (mm) A B |LS| A B | LS
, , 10to 50 |100.4) 46 |82.4
T i 63 75, 100 110.4] 56 |92.4 110.4) 56 |92.4| 18 |43.5| 11
. 10to 50  |120.5/53.5|98.5
Special cap bolt 80 75, 100 130.563.5 108.5130'5 63.5(108.5 20 [53.5| 13
£ Sy 10to50 [136] 63 [ 111
&I 100 75,100 126 | 73 [ 124 146 | 73 | 121 | 22 |53.5| 13
Bore size | Stroke range
x|y e i LH|LT|LX|LY |LZ| X | Y
LS + Stroke 10 to 50
al dend 63 75, 100 46 | 32| 60 |915| 77 |18.2| 9
ale rod en 10 to 50
% 80 75,100 59 | 45| 77 |114| 98 |225| 11
10 to 50
% 100 75, 100 71| 6 | 94 (136|117 | 24 |125
.:j Compact foot bracket material: Carbon steel
L1 Surface treatment: Zinc chromated
Rod flange: CQ2YF/CDQ2YF Rod Flange mm)
Special cap bolt Bore size | Stroke range | Wihoutautoswich | With auto switch
(mm) (mm) A B A B FD | FT |FV |FX | FZ
1 e ! 10to 50 64 | 46
o 2> 63 75,100 74 | 56 74 | 56 | 9 | 9 [80|92|108
w 10 to 50 73.5|53.5
E 80 75, 100 835635 83.5(63.5| 11 | 11 | 99 116|134
10 to 50 85 | 63
FT
4 xoFD 100 75,100 95 | 73 95 | 73 | 11| 11 |{117|136|154
L B + Stroke
A K Bore size | Stroke range
+ Stroke (mm) (mm) L L | M
10 to 50
63 75, 100 18 |43.5| 60
10 to 50
80 75, 100 20 [53.5| 77
10 to 50
100 75,100 22 |535| 94

1171

Flange bracket material: Carbon steel
Surface treatment: Nickel plating

+ For details about the rod end nut and accessory brackets, refer to page 1174.



Bore Size

263 to o100

Head flange: CQ2YG/CDQ2YG

Special cap bolt

T e &
& P O B
5 . LN/ ]
it o
L B + Stroke FT FX 4xoFD
A + Stroke Fz

Double clevis: CQ2YD/CDQ2YD

4xN

Cap bolt
cT oCD hole H10

W
é S

L_| | B +Stroke |CW
CL + Stroke
A + Stroke

Smooth Cylinder Series CQZ Y

(Types with auto switch and without auto switch only differ
in the A and B dimensions. Refer to the table below.)

Head Flange (mm)
Bore size | Stroke range | Wiioutauto switch | With auto switch Ll L
(mm) (mm) A A
10 to 50 63
63 75, 100 73 73 8 |335
10 to 50 74.5
80 75, 100 845 84.5 10 435
10 to 50 86
100 75. 100 % 96 12 1435

Flange bracket material: Carbon steel

Surface treatment: Nickel plating

(+ Dimensions except A, L and L1 are the same as rod flange type.)

Air Cylinders

Double Clevis mm)
Bo(r:] nil)ze Stro(knt? n:]e;nge W:hOU‘aBU‘OSWgT W:h autBo sw(';ih cD|CT|cu
63 170;158 1958 gg 23 108 | 56 | 94 |14 |8 |20
o [ ROt s o]
100 ;%f?gg 1;2 sg gg 152 | 73 | 130 | 22| 13 31
BO(frﬁrii)Zé S"":‘ﬂfnrf)‘"ge cw|cx|cz| L |ut| N |RR
63 17‘;"233 30|22 |44 | 8 |335|M10x 15| 14
- ;‘;f‘:gg 38 | 28 | 56 | 10 [435[M12x1.75| 18 MGP
100 170;‘:5’8 45|32 |64 | 12 |435|M12x1.75| 22 gg}

Double clevis bracket material: Cast iron
Surface treatment: Painted

# For details about the rod end nut and accessory brackets, refer to page 1174.
* A double clevis pin and retaining rings are included.

1172

KOt
e

e
oK

WRF

EHE

INDEX




Series CQ2Y

Weights
Weights/Without Auto Switch )
Bore size Cylinder stroke (mm)
(mm) 5 10 15 20 25 30 35 40 45 50 75 100
32 134 154 174 193 213 233 252 272 291 311 457 556
40 211 232 254 275 297 318 340 361 383 404 577 689
50 — 369 402 435 467 500 533 566 598 632 902 1073
63 — 557 595 633 671 709 747 786 824 862 1189 1386
80 — 983 1043 1104 1164 1224 1284 1345 1405 1465 1985 2281
100 — 1711 1792 1872 1952 2033 2113 2194 2274 2354 3086 3494
Additional Weights @
Bore size (mm) 32 40 50 63 80 100
Both ends tapped 6 6 6 19 45 45
[ Male thread 26 27 53 53 120 175
Male rod end
‘ Nut 17 17 32 32 49 116
Foot (Including mounting bolt) 142 154 243 320 690 1057
Compact foot (Including mounting bolt) 99 114 177 241 501 770
Rod flange (Including mounting bolt) 180 214 373 559 1056 1365
Head flange (Including mounting bolt) 165 198 348 534 1017 1309
Double clevis (Including pin, retaining ring, mounting bolt) 151 196 393 554 1109 1887
Calculation (Example) CQ2DS32-20DCMZ
* Basic weight: CQ2BS32-20DCZ .
* Additional weight: Both ends tapped
Male rod end
Double clevis -151g
Total 393 g
Weights/With Auto Switch (Built-in magnet) (9)
Bore size Cylinder stroke
(mm) 5 10 15 20 25 30 35 40 45 50 75 100
32 191 211 230 250 270 289 309 329 348 368 468 567
40 284 305 327 348 369 391 412 434 455 477 589 701
50 . 480 513 546 579 611 644 677 710 743 915 1087
63 - 710 748 787 825 863 901 939 977 1015 1211 1408
80 — 1229 1289 1350 1410 1470 1530 1591 1651 1711 2008 2305
100 — 2070 2150 2231 2311 2391 2472 2552 2633 2713 3121 3529
Additional Weights )
Bore size (mm) 32 40 50 63 80 100
Both ends tapped 6 6 6 19 45 45
‘ Male thread 26 27 53 53 120 175
Male rod end
‘ Nut 17 17 32 32 49 116
Foot (Including mounting bolt) 142 154 243 320 690 1057
Compact foot (Including mounting bolt) 84 98 152 216 462 714
Rod flange (Including mounting bolt) 180 214 373 559 1056 1365
Head flange (Including mounting bolt) 165 198 348 534 1017 1309
Double clevis (Including pin, retaining ring, mounting bolt) 151 196 393 554 1109 1887

Calculation (Example) CDQ2DS32-20DCMZ
* Basic weight: CDQ2BS32-20DCZ: -+ 250 g

* Additional weight: Both ends tapped 69
Male rod end 43¢

Double clevis -151g

Total 450 g

Add each weight of auto switches when auto switches are mounted.

1173



Series CQ2Y
Dimensions of Accessories

Single Knuckle Joint

For 1-G012, I-Z015A
1-G02, I-G03

MM @NDH10

o

A1 [Us

Material: Carbon steel
Surface treatment: Nickel plating

Ei

For I-G04, I-G05
-G08, I-G10

MM 9@NDH1o

Material: Cast iron
Surface treatment: Nickel plating

Double Knuckle Joint

For Y-G012, Y-Z015A For Y-G04, Y-G05 [
Y-G02, Y-GO03 Y-G08, Y-G10 g
c
i
oND hole H10 oND hole H10 (&)
MM Axis d9 | =
20 <
o
f AT
gl e 2
Al ] x| |
b L | |CM2
A

Material: Carbon steel
Surface treatment: Nickel plating

Material: Cast iron
Surface treatment: Nickel plating

[x]
[}
-

Applicable Applicable Applicable
Part no. [boesize| A | Ar | E+ | Li | MM |PRi| Ui | NDwo | NX Part no. [boesize| A |Av[Ev|Li| MM |"Ri|Us|NDwio| NX |NZ|L| pin
(mm) _ (mm) | partno. c A2
1-G04 |32,40| 42 | 14 |@22| 30 |[M14x15]| 12 | 14 | 106*° | 1853 Y-GO04 |32,40|42 |16 |022| 30 | M14x15 | 12| 14 | 1008°° | 18135 |36|45| IY-G04
I-GO5 |50,63| 56 | 18 |@28| 40 |M18x15| 16 | 20 | 14'6°° | 22768 Y-GO05 |50, 63| 56 | 20 |028| 40 | M18x 15 | 16 | 20 | 14'6°™ | 22135 |44|505| IY-GO5 €02
I-GO8 | 80 | 71 | 21 |@38| 50 |M22x15| 21 | 27 | 188" | 2858 Y-GO8 | 80 |71|23|03| 50| M22x15 | 21|27 | 18" | 2855 |56|64|IY-GO8 |CQS
I-G10 | 100 | 79 | 21 |@44| 55 |M26x15| 24 | 31 | 22%* | 3268 Y-G10 | 100 |79 |24 |o44] 55 | M26x 1.5 | 24 | 31 | 22:°* | 32:33 |64|72| IY-G10 Lube-
# A knuckle pin and retaining rings are included. retainer

.

Knuckle Pin (Common with double clevis pin) Rod End Nut MXH
mxa
- PE
| =8 MGP
m L m
coy
T
AL 5 cOX
CKC1
Material: Carbon steel E(I')KD
Material: Carbon steel Surface material: Nickel plating
(mm) (mm) E(L)KU
Applicable Applicable Applicable bore D
Part no. bo(ryﬁjn)ze Dd9 Lid|L | m|¢t retaining ring Part no size (mm) d H B C GKO
1IY-G04 | 32,40 1066 |41.6] 9.6 | 36.2| 1.55| 1.15 | Type C 10 for axis NT-04 32, 40 M14x 1.5 8 22 254 =
IY-G05 | 50, 63 14888 |50.6| 13.4 | 44.2]2.05] 1.15 | Type C 14 for axis NT-05 50, 63 M18x 1.5 11 27 31.2 [:Kzz"
1Y-G08 80 18888 64 | 17 | 56.2|2.55 | 1.35 | Type C 18 for axis NT-08 80 M22x 1.5 13 32 37.0
1Y-G10 100 2238%% 72 | 21 |64.2)|2.55]1.35 | Type C 22 for axis NT-10 100 M26 x 1.5 16 4 47.3 WRF
+ Type C retaining rings for axis are included.

INDEX

1174



Series CQ2Y

Simple Joint: 332 to 5100

Joint and Mounting Bracket
(Type A, Type B) Part No.

Type A Mounting Bracket

U T 2xoD
[~ Al
C Lz
e o TR
sl - =|E
Ry
7;7 Joint
L E.|

Material: Chromium molybdenum steel (Nickel plating)

(VA ]-[03] . ()
Part no. B‘;':]rf")ze B|D|E|F|m T Te
Applicable air cylinder bore YA-03| 32,40 | 18 (68 | 16 | 6 | 42 6.5 10
. 03 For 082, 040 YA-05| 50,63 | 20 | 9 | 20 | 8 | 50 6.5 12
Mounting bracket 058 Fora50, 863 YA-08| 80 |26 |11 |25|10|62]| 85 16
YA | Type A mounting bracket 08 For 280 a .
YB | Type B mounting bracket 10 For 2100 YA-10 100 31 14 | 30 | 12 | 76 10.5 18
U Joint Bore size
Part no. (mm) u v W | Weight (g)
. YA-03 | 32,40 6 18 | 56 55
AIIowabIg Eccentricity (mm) YA05 | 50,63 | 8 | 22 | 67 100
Bore size 032 ‘ 240 ‘ 250 ‘ 063 | 280 (2100 YA-08 80 10 | 28 | 83 195
Eccentricity tolerance +1 1.5 | £2 YA-10 100 12 | 36 | 100 340
Backlash 0.5
<Ordering>
« Joints are not included with the A or B type mounting brackets.
Order them separately. Type B Mounting Bracket
(Example)
Bore size 240 Part no.
* Type A mounting bracket part n -YA-03 —
* Joint: -YU-03
Joint and Mounting Bracket (Type A, Type B) Part No. - oz »S
Bore size Applicable mounting bracket > Ni e TR sz
Joint part no. : : L T A KNS
(mm) Type A mounting bracket | Type B mounting bracket s L] =
32, 40 YU-03 YA-03 YB-03 :{ \/2
50, 63 YU-05 YA-05 YB-05 —
80 YU-08 YA-08 YB-08 T:3 2 x oD through
100 YU-10 YA-10 YB-10 -~ 2 x 00 counterbore |<3»
E
©
2
£ < . H . Material: Stainless steel
éé (With locking) (mm)
55
o Partno.|Bo®SiZe| g | p | E | g | m 00
- o | (mm)
o o
°® H ° YB03| 32,40 |12 | 7 | 25| 9 | 34 11.5 depth 7.5
YB-05 | 50, 63 12 9 32 | 11 42 14.5 depth 8.5
CLIES YB-08| 80 16| 11 [ 38| 13 | 52 18 depth 12
UA € YB-10 100 19 | 14 | 50 | 17 | 62 21 depth 14
Material: Chromium molybdenum steel (Nickel plating) -
Applicable b Welaht Bore size q
Partno. |"PRICEBEOCIUA| € | di | de H K|L|ur|"E Partno.| = ) T T V | W | RS | Weight (g)
YU-03 32, 40 17|11 |158| 14| M8x125| 8 | 7 | 6 | 25 YB-03 | 32,40 6.5 10 18 | 50 9 80
YU-05 50, 63 1713|198 18 | M10x15| 10| 7 | 6 | 40 YB-05 | 50, 63 6.5 12 22 | 60 | 11 120
YU-08 80 22120(248|23| M16x2 | 13| 9 | 8 | 90 YB-08 80 8.5 16 28 | 75 | 14 230
YU-10 100 26|26 (29828 | M20x2.5| 14 | 11 | 10 | 160 YB-10 100 10.5 18 36 | 90 | 18 455

1175




Series CQ2Y
Auto Switch Mounting

Auto Switch Proper Mounting_; Position (Detection at stroke end) and Its Mounting Height

D-M9OI 232 to 2100 A 5 g
D-M9COIW i
D-M9CIA =
D-A9CIV ) 8
D-MoLCIV - - 2
D-M9CIWV e
D-M9JAV CJ2
D-A90]
jow2_
D-A70 D-F7NT 032 to 2100 CG1
D-A80 D-A73C T MB
D-A70H  D-A80C e@«‘fﬁ\w@
D-A80H D-J79C : fﬁ CA2
0
D-F70 D-A79W &y €02
D-J79 D-F7O0WV o Q% S5 é’g cas
D-F7OW D-F700V ! ‘ ‘ = Lube-
>
D-J79W ! %%N %,@y A EE%J B retainer
D-F79F JA
MXH
D-P3DW 232 to 100
=u A B
p = — =[O [ ]
% @ @ () §
5 & 2.0.) I = I — Ok
i G{LKD
. . - G(L)KU
Auto Switch Proper Mounting Position (mm) e
Auto switch| D-M9C1/D-M9OCIV D-A72/A70H/A80H CKQ
model | D-MOCIW D-A9C] D-A73 D-A73C/A80C/F70]
D-M9OIWV D-ASCIV D-AB0 D-F79F/J79/F70IV D-F7NT D-A79W D-P3DW P——
D-M9IA D-J79C/F7T00W CKZ2N
D-M9TJAV D-J79W/F7TO0WV
Bore size A B A B A B A B A B A B A B WRF
32 18 13 14 9 15 10 15.5 105 20.5 15.5 125 75 8 35
40 215 16 17.5 12 185 13 19 135 | 24 185 16 105 115 6.5
50 19 195 15 155 16 16.5 16.5 17 215 | 22 135 14 9.5 9.5
63 215 | 225 175 185 185 195 19 20 24 25 16 17 12 125
80 245 | 27 20.5 23 215 24 22 245 | 27 29.5 19 215 15 17
100 275 | 335 | 235 29.5 24.5 305 | 25 31 30 36 22 28 18 24
Note) Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height (mm)
Auto switch D-F70J79
model D-F7O0WN79W
D-F700V D-A70] D-A73C
D-M9CIV D-A901V g-FF77géIF7NT D-E7OWV D-J79C D-AS0 D-ABOC D-A79W D-P3DW
D-A7CJH/A80H
Bore size u U u u u u u u u
32 30 27.5 36 36.5 39.5 34 40.5 37.5 33
40 32 30 38 40 425 375 435 40.5 36.5
50 375 35 435 45 48 43 49 46 42
63 425 40.5 485 50.5 53.5 48 54.5 51.5 47
80 51 49 57 59 615 56.5 62.5 59.5 555 INDEX
100 59 57 65.5 67 70 64.5 71 68 65.5




Series CQ2Y

Minimum Stroke for Auto Switch Mounting

(mm)
D-A9CIV
Number of | D-M9OV | D-A70] D-MOUWV| D-MID | ool oo DT
awo | D-FZOV | D-ABO | D-A9 |D-MoUAV| D-F70 | DMICW | D-ATCHl | pazew | DITBW | p.p3pw
swiches | D-J79C | D-A73C D-F7OWV | D-J79 L
D-A80C
With 1 pc. 5 5 10(5) 10 15(5) 15(10) 15(5) 15 20(10) 15
With 2 pes. 5 10 10 15 15(5) 15 15(10) 20 20(15) 15

Note) The dimensions stated in () shows the minimum stroke for the auto switch mounting when the auto switch does not project from the end surface of the cylinder
body and hinder the lead wire bending space. (Refer to the figure below.)
Order auto switches and auto switch mounting brackets separately.

J

P>y
A

Py
<7

— )

Operating Range

(mm)
X Bore size

Auto switch model 32 20 50 3 30 100
D-M9CI(V)
D-M9CIW(V) 5 5 6 6.5 7 7.5
D-M9TIA(V)
D-A9CI(V) 9 95 | 95 | 11 105 | 105
D-A7C(H)(C)
D-ABOLI(H)(C) 105 | 115 | 11 13 115 | 115
D-A79W 14 155 145 17 15 15.5
D-F70I(V)
D-J79(C)
D-F70O0W(V) 5 5 5 6 7 8
D-F7NT
D-F79F
D-P3DW 3 45 | 45 6 55 6.5

+ Values which include hysteresis are for guideline purposes only, they are not
a guarantee (assuming approximately +30% dispersion) and may change
substantially depending on the ambient environment.

* The auto switch mounting bracket BQ2-012 is not used for 832 or more with
the D-M9I(V)/MITIW(V)/MITIA(V)/A9L](V) types. The above values indicate
the operating range when mounted with the conventional auto switch

installation groove.

1177



Auto Switch Mounting Series CQZ Y

Auto Switch Mounting Brackets/Part No.

Applicable Cylinder Series: CDQ2

bracket part no.

D-MC/MOCIV D-F70Y/F70IV/J79/J79C/F7C0W
Applicable D-M9CIW/MOIWV J79W/F7CIWV/D-F7BA/F7TBAV D-P3DW
auto switch D-M9CJA/MOLCIAV F79F/F7NT/D-A7CJ/A80/A7CIH
D-A9C/A9CIV A80H/A73C/A80C/A79W
Bore size (mm) 23210 0100
Auto switch mounting BQ5-032 BQ6-032S

® Auto switch fixing screw (M2.5 x 10 L)
® Auto switch mounting screw (M3 x 8 L)
® Auto switch spacer

© Auto switch mounting nut

® Hexagon socket head cap screw (M 2.5x 6 L)
® Auto switch mounting bracket (nut)
Weight: 5 g

mounting surface

Auto switch Weight: 3.5 g
mounting bracket
fitting parts When requesting the enclosure of the auto
lineup/Weight switch mounting brackets (2 pcs.)
with the cylinder for shipment, add “-BQ” to
the end of the cylinder model number.
Standard model no. + BQ
Example) CDQ2B32-30DZ-BQ
Surfaces with auto switch mounting slot A/B/C side except port side Surfaces with auto switch mounting slot
Port side
AR
Auto switch c\:ﬂ@%\?mﬂlé

&

L
Eﬂ B

Mounting of
auto switch

Auto switch h

mounting screw
i Auto switch

© When tightening the auto switch mounting screw,
use a watchmakers' screwdriver with a handle 5 to
6 mm in diameter.

Tightening torque for auto

switch mounting screw (N-m)
Auto switch model Tightening torque
D-M9L}(V)
D-M9CIW(V) 0.05100.15
D-M9IA(V)
D-A9L(V) 0.10100.20

(Dinsert the nut into the auto switch mounting
slot on the cylinder tube, and place it in the
roughly estimated setting position.

(@With the lower tapered part of the auto switch
spacer facing the outside of the cylinder tube,
line up the M2.5 through hole with the M2.5
female thread of the auto switch mounting nut.

®Gently screw the auto switch mounting nut
fixing screw (M2.5) into the thread of the auto
switch mounting nut through the mounting hole.

(®Engage the ridge on the auto switch mounting
arm with the recess in the auto switch spacer.

(5 Tighten the auto switch mounting screw (M3)
to fix the auto switch. The tightening torque of
the M3 screw must be 0.35 to 0.45 N-m.

(®Confirm where the mounting position is, and

tighten the auto switch fixing screw (M2.5) to

fix the auto switch mounting nut. The
tightening torque of the M2.5 screw must be

0.2510 0.35 N-m.

The detection position can be changed under

the conditions in step ).

Auto switch mounting screw
(M3x05x8L)

Auto switch

Auto switch fixing screw
(M25x0.45x10 L)

Auto switch spacer

/\'\ Auto switch mounting nut

(DFix the auto switch and the auto switch mounting
bracket temporarily by tightening the hexagon socket
head cap screw (M2.5 x 9.5 L) attached to the auto
switch 1 to 2 turns.

(@nsert the temporarily tightened mounting bracket into
the mating groove of the cylinder tube, and slide the
auto switch onto the cylinder tube through the groove.
To insert the auto switch onto the cylinder/actuator
through the groove, first hold the back of the auto
switch (lead wire side) and the back of the auto switch
mounting bracket together.

(3)Check the detecting position of the auto switch and fix
the auto switch firmly with the hexagon socket head
cap screw (M2.5x6 L, M2.5x9.5L).%

(@l the detecting position is changed, go back to step (2.

# The hexagon socket head cap screw (M2.5 x 6 L) is
used to fix the mounting bracket and cylinder tube.
This enables the replacement of the auto switch
without adjusting the auto switch position.

Note 1) Ensure that the auto switch is covered with the

mating groove to protect the auto switch.

Note 2) The tightening torque of the hexagon socket

head cap screw (M2.5 x 6 L, M2.5 x 9.5 L) must
be 0.2t0 0.3 N-m.

Note 3) Tighten the hexagon socket head cap screws

evenly.

Hexagon socket head cap screw
(attached to the auto switch) ———s
(M25x95L)

Hexagon socket head cap screw
M2.5 x 6 L) ——

Note) Auto switch mounting bracket and auto switch are enclosed with the cylinder for shipment.
The auto switch mounting bracket for the D-F7BA(V) type uses the BQ5-032 with the normal specifications (iron screw).

1178

Air Cylinders

Ma

Y
CKQ
CKIN

WRF

INDEX




Series CQ2Y

R e e e e e e e e e T R

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to the WEB catalog or Best Pneumatics No. 3 for the detailed specifications.

Pneumatics No. 3.

1179

* Trimmer auto switch (D-F7K) and heat resistant solid state auto switch (D-F7NJ) are not available.

+ With pre-wired connector is also available for solid state auto switches. For details, refer to the WEB catalog or Best Pneumatics No. 3.
+ Normally closed (NC = b contact) solid state auto switches (D-FOG/F9H) are also available. For details, refer to the WEB catalog or Best

1
1
1
1 Type Model Electrical entry Features Applicable bore size
1 D-A72 —
1 D-A73 ) —
1 Grommet (Perpendicular) - — -
D-A80 Without indicator light
: D-A79W Diagnostic indication (2-color indication)
! Reed D-A75C Connector (Perpendicular) —
1 D-A80C Without indicator light
1 D-A72H —
1 D-A73H/A76H Grommet (In-line) —
: D-A80H Without indicator light 432100100
1 D-F7NV/F7PV/F7BV —_
1 D-F7NWV/F7BWV Grommet (Perpendicular) | Diagnostic indication (2-color indication)
1 D-F7BAV Water resistant (2-color indication)
1 D-J79C Connector (Perpendicular) —
! Solid state D-F79/F7P/J79 —
: D-F79W/F7PW/J79W Diagnostic indication (2-color indication)
1 D-F7BA Grommet (In-line) Water resistant (2-color indication)
1 D-F79F With diagnostic output (2-color indication)
1 D-F7NT With timer
1
1
1
1
=



s1apullAg ay

AR EAEER - FHEBREE
HEEHREERERHERAEEH C C HEEERBEE

INDEX

1180



Series CJ2X-Z/CM2X-Z/CQSX/CQ2X/CUX

IS Y I

CcJ2X-Z -
o
22 10, 16 1 1182
20, 25, 32, 40 0.5 1196
casx 12,16 1
Double 1216
acting
20, 25 0.5
cQz2x
32, 40, 50, 63, 80, 100 0.5 1225
cux 10, 16 1
1240
20, 25, 32 0.5
Clean Series
Air Cylinders Compact Cylinders Compact Cylinders
Series 10-/11-CM2X-Z Series 10-/11-CQSX Series 10-/11-CQ2X

P

1181

ZSNC



Low Speed Cylinder
Double Acting, Single Rod

eries CJ2X

210, 16

How to Order

Bore size

[1s]

Double-side bossed
Double clevis
Single foot
Double foot
Rod flange
Head flange

+ Foot bracket and flange bracket are shipped
together with the product, but not assembled.

©|mE romwm

Cylinder standard stroke (mm)
Refer to “Standard Strokes” on page 1183.

Rod end bracket

Nil

None

[
E
(7}
k-]
£
>
(&)
x
<

(1]
(2
N

Single knuckle joint

Double knuckle joint

[=)
=
~

Rod end cap (Flat type)

Rod end cap (Round type)

With auto switch (Built-in magnet)—l—
Head cover port location &

16]-/60][ |Z-

Low speed cylinder

* Rod end bracket is shipped together with
the product, but not assembled.
# A knuckle joint pin is not provided with

[}
[T}
-

g

Perpendicular

Auto switch

m Without auto switch

+ For applicable auto switches,

the single knuckle joint.

(<)
=
N

retainer

Auto switch

HE 4

i - Pivot bracket N
Nil to axis § > _ refer to the table below. mounting type MXH
. Nil None - -
N | Pivotbracket s shipped together A Rail mounting MXQ
R Axial § > with the product. Number of B | Band mounting
s = Only for CJ2D (double clevis) auto switches # For rail mounting, screws
* For double clevis, the product is ® Ego:js‘ran%ie;;s sr:\t;:lpzd together with the prod- Nil 2 pes. :gi;t‘:(”s":(::‘s I::.:to switches MGP
perpendicular to the cylinder axis. ? sembled. S 1pc. = Refer to page 1194 for auto
# For double-side bossed, the product s switch moungtin brackets. [F) §
is perpendicular to the cylinder axis. n n” pcs. 9 g COX
Applicable Auto Switches/Refer to the WEB catalog or Best Pneumatics No. 3 for further information on auto switches. KT
Feir] B o Load voltage Auto switch model Lead wire length (m) CORTEn R —
5 5 lectrical | 5 iring 5 = 5 re-wire pplicable
Type| Special function 2 Band mounting Rail mounting 05| 1| 3| 5 [None E(l.)KD
ent S | (Output; D Al y connector load
ol =) e I C In-line_| Pependiular]_In-ine | (N1) | (M) (1| @) [ (N)
3-wire (NPN) —
wire (NPN) 5V.12V M9ONV MON M9NV M9N ® @ 00 ) IC circuit l:(I')Ku
£ Grommet 3-wire (PNP) M9OPV M9P M9PV M9P ® | ®|/0® O — [e)
= . M9BV M9B M9BV M9B ® | ®/® O|—| O
2- 12V —
3 Connector wire = H7C J79C = e —|o/00 — cKn
)
S N 3-wire (NPN) MONWV | MONW | MONWV | MONW | @ (@ ®@ O|—| O .
= | Di i i 5V,12V IC circuit
- it Ves| Bate (PIP) |24 V —  [moPWV [ MoPW | MoPWV | MoPW | @ [@ e 0| o | | Reay | |CKIN
8 2-wire 12V MOBWV | M9BW | MOBWV | MOBW | @ (@ ®@ O|—| O —
w _ Grommet | [ (VPN MONAV*| MONA™ [MONAV**| MONA™ | O O [@ |O[—| © WRF
B | Waterresistant 5Vv12v = = = = IC circuit
S | (2-color indication) 3uire (PNP) M9PAV**| MOPA** | MOPAV**| MOPA O|0O|®@|O|—] O
@ 2-wire 12V M9BAV**| MOBA™* |M9BAV**| M9BA™* | O (O |@ | O |—| O —
I 4-wire (NPN) 5V,12V — H7NF — F79F ®  —|® O|— O |[Circuit
3-wire "
S NP equvaent) | — 5V - A%6V A9%6 A9V A96 ® |— @ —|—| — |[Corut|] —
=
H crommet| — [ 200v — — A72 | A72H | o |—[®|—[— _
° [ | 100V A93V A93 A93V A93 o | —|o 0| —| —
z ol ire 1oy [100Vorless| A9OV A90 Agov A90 ® |—|®| —|—| — [Coiut| Relay,
2 Yes| 24V — — C73C A73C = o | — o0 0 — — | PLC
2 Connector [No 24V orless = Cc80C A80C = ® |— 1 ©®/® @ — Coiui
Diagosicncaion(2onrnaior) | Grommet | Yees| — — — — A79W = o | —|e|—|—| — —
+x Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
+ Lead wire length symbols: 0.5 m - Nil (Example) MONW
M (Example) MONWM
- L (Example) MONWL
- Z (Example) MONWZ
- N (Example) H7CN
+ Since there are other applicable auto switches than listed above, refer to page 1195 for details.
+ For details about auto switches with pre-wired connector, refer to the WEB catalog or Best Pneumatics No. 3. INDEX
+ Solid state auto switches marked with “O” are produced upon receipt of order.

+ The D-A900/MIOOC/A7O0/A800/F700/J700 auto switches are shipped together, (but not assembled). (For band mounting, only the auto switch mounting brackets are assembled before shipment.) —————

1182



Series CJ2X

Symbol
Double acting, Single rod, Rubber bumper

Specifications
——————
Bore size (mm) 10 I 16
Action Double acting, Single rod
Fluid Air
Proof pressure 1.05 MPa
Maximum op ing pressure 0.7 MPa

Ambient and fluid temperature

Without auto switch: —10°C to 70°C "
With auto switch: —10°C to 60°C (° reezing)

Cushion Rubber bumper (Standard equipment)
Lubrication Not required (Non-lube)
Stroke length tolerance 0

Piston speed 1 to 300 mm/s

Allowable kinetic energy } z:g gggg j

Minimum Operating Pressure

Unit: MPa
I Bore size (mm) I 10 16 |
\ Minimum operating pressure \ 0.06 \
Mounting Brackets/Part No. Standard Strokes
. Bore size (mm) Bore size (mm) Standard stroke (mm) f ble stroke (mm)
Mounting bracket 10 16 10 15, 30, 45, 60, 75, 100, 125, 150 400
Foot CJ-Lo10C CJ-Lo16C 16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 400
Flange CJ-Fo10C CJ-Fo16C Note 1) Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)
T-bracket™ CJ-To10C CJ-To16C Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air Cylin-

+ A T-bracket is used with double clevis (D).

1183

ders Model Selection” on front matter pages of the Best Pneumatics No. 2 or the WEB catalog.
In addition, the products that exceed the standard stroke might not be able to fulfill the specifica-

tions due to the deflection etc.

Mounting and Accessories For details, refer to page 1189.

@®---Mounted on the product. O---Please order these separately.
Mounting Basic Foot Flange Doub_le‘
clevis
2 |Mounting nut [ ) [ ) [ ] —
g Rod end nut [ ] [ ] [ ] [ ]
& | Clevis pin — — — [ )
Single knuckle joint o o O o
_§ Double knuckle joint* o o [©) [©)
& |Rod end cap (Flat/Round type) o o o O
T-bracket — — — [e)
= A pin and retaining rings are included with double clevis and/or double knuckle joint.
Ordering Example of Cylinder Assembly
—
Double clevis

Cylinder model: CDJ2XD16-60Z-NW-M9BW-B

Mounting D: Double clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

* Pivot bracket, double knuckle joint and auto
switch are shipped together with the product,
but not assembled.

Double knuckle joint

Pivot bracket

Auto switch
Band mounting



Low Speed Cylinder
Double Acting, Single Rod

A\Precautions

P oo e e e e e e e e e e e e e e e e e e e e e e e e e o gy

I Be sure to read before handling. Refer to page 1574 for Safety Instruc- I

Itions. For Actuator and Auto Switch Precautions, refer to “Handling Pre- I
cautions for SMC Products” and the Operation Manual on SMC website,

» http://www.smcworld.com

1
'
e L L L T |

\ Mounting
/A\Caution

1. During installation, secure the rod cover and tighten by applying an appropriate
tightening force to the retaining nut or to the rod cover body.
If the head cover is secured or the head cover is tightened, the cover could rotate,
leading to the deviation.

2. Tighten the retaining screws to an appropriate tightening torque within the range given
below. Apply a Loctite® (no. 242 Blue) for mounting thread.

Bore size | Proper tightening torque for mounting thread (N-m)
(mm) (Tightening torque for mounting nut)
10 3.0t03.2
16 54105.9

3. To remove and install the retaining ring for the knuckle pin or the clevis pin, use an
appropriate pair of pliers (tool for installing a type C retaining ring).
Especially with 10, use ultra thin pliers.

4. In the case of auto switch rail mounting type, do not remove the rail that is mounted.
Because retaining screws extend into the cylinder, this could lead to an air leak.

We ghts

[(¢)}

Bore size (mm) 10 16
Basic weight Basic 22 46
(When the stroke Axial plpmg - - — 22 46
is zero) Double lc\ews (including clevis pin) 24 54
Head-side bossed 23 48
Additional weight per 15 mm of stroke 4 7
Single foot 8 25
Mounting bracket | Double foot 16 50
weight Rod flange 5 13
Head flange 5 13
Single knuckle joint 17 23
Double knuckle joint (including knuckle pin) 25 21
Accessories Rod end cap (Flat type) 1 2
Rod end cap (Round type) 1 2
T-bracket 32 50

# Mounting nut and rod end nut  Calculation: Example) CJ2XL10-45Z

are included in the basic weight. © Basic weight----- .22 (910)

--4/15 stroke
-45 stroke
-8 (Axial foot)

Note) Mounting nut is not included e Additional weight
in the basic weight for the o Cylinder stroke-------
double clevis. o Mounting bracket weight-

22+4/15x45+8=42g

Series CJ2X

1184

Air Cylinders

MGP
[H) §
COX
K1
Ma
Y
CKQ
CKIN

WRF

EHE

INDEX




Series CJ2X

Dimensions

Basic (B)

CJ2XB‘Bore size‘— ‘Stroke‘ ‘ Head cover port location | Z

(

Section Y detail

¢ Mounting nut

Rod end nut Y GA Piping port 2 x M5 x 0.8 GB__
& wm\ i
o3 (f% ’
m
/ N,
B_6s A F | NA NB
H S + Stroke
Z + Stroke
-‘ Piping port M5 x 0.8
INA
.
Head cover port location
Axial location (R)
* The overall cylinder length does not change.
¢ Refer to page 1189 for details of the mounting nut.
(mm)
Bore size A B Cc D F GA GB H MM NA NB NDh8 NN S z
10 15 12 14 4 8 8 5 28 M4 x0.7 125 | 95 8.5 020 M8 x 1.0 46 74
16 15 18.3 20 5 8 8 5 28 M5 x 0.8 125 | 95 10 em M10x 1.0 47 75
Single foot (L)
CJ2XL ‘Bore size‘ - ‘Stroke‘ ‘ Head cover port location ‘ V4
% Mounting nut
Rod end nut NN\ F GA  Piping port2 x M5 x 0.8 GB
Cover surface ‘\ =~
MM \ <,
£ a 2 1 &
S, HiE T R
©ONEE : “% 40
|
N/ 51 Y
N N 0
B-os
o] 5
Lz A Piping port M5 x 0.8
2xoLC X|_Y_|_NA NB
Mounting hole H S + Stroke
Z + Stroke
Head cover port location
Axial location (R)
# The overall cylinder length does
¥ Refer to page 1189 for details of the mounting nut. not change.
(mm)
Bore size A|B|C|D F |GA|GB| H |LB|LC |LH|LT |LX|LY|LZ MM NA | NB NN S Y | Z
10 15|12 | 14 | 4 8 8 5 28|15 45| 9 |16 |24 [165| 32 | M4x0.7 |[125|/9.5| M8x1.0 | 46 | 5 7 |74
16 15 (18.3| 20 | 5 8 8 5 |28 |23 55|14 |23 |33 |25 |42 | M5x0.8 |125(9.5 | MI0x1.0 | 47 | 6 9 |75

1185



Low Speed Cylinder .
Double Acting, Single Rod Series CJ2X

Dimensions
—
Double foot (M)
CJ2XM [Bore size| - Stroke| Z o
£
3
H ¢ Mounting nut =
Y¢ Mounting nut =
F |GA (%)
‘Rod end nut NN Piping port 2 x M5 x 0.8 NN é

Cover surface
. MM al
Q

(1]
(2
N

KJ - } j1 [
[N\ £ 5 cm2
‘ LX ‘ i CG1
Lz A
4x0LC ~ T MB
Mounting hole XY | NA NB Y X
S + Stroke CA2
LS + Stroke
Z + Stroke Egg
Lube-
Y¢ Refer to page 1189 for details of the mounting nut. retainer
(mm)
Bore size A D F |GA|GB| H [LB|LC|LH|LS |LT |LX|LY]|LZ MM NA | NB NN S X Y z JA
10 15 | 4 8 8 5 28|15 |45| 9 | 60 | 16| 24 |16.5| 32 | M4x0.7 |125| 95 | M8x1.0 | 46 | 5 7 | 86
16 15 | 5 8 8 5 | 28|23 |55|14 |65 |23|33 | 25| 42 | M5x0.8 |[125| 9.5 | M10x1.0| 47 | 6 9 | 90 MXH
mxa
MGP
Rod flange (F) coy
COX
CJ2XF ‘Bore size‘— ‘Stroke‘ ‘ Head cover port location | Z CKOI
Y¢ Mounting nut E(l.)KD
Cover surface Rod end nut Piping port 2 x M5 x 0.8 GB [P
~ o CILKU
MM o —
(7Y ol > g CKQ
&R EE 3 17 —
CKZ2N
EX BlSs L
Fz 2xoFC INB WRF
Mounting hole S + Stroke
Z + Stroke
Piping port M5 x 0.8
Head cover port location
Axial location (R)
¢ Refer to page 1189 for details of the mounting nut. * The overall cylinder length does not change.
(mm)
Bore size A B [ D 7 FB | FC | FT | FX | FY | FZ |GA |GB | H MM NA | NB NN S z
10 15 | 12 | 14 4 8 13 |45 |16 | 24 | 14 | 32 8 5 28 | M4x0.7 |[125] 9.5 | M8x1.0 | 46 | 74
16 15 |18.3| 20 5 8 19 | 55| 23| 33 | 20 | 42 8 5 28 | M5x0.8 |125| 9.5 | MI0Ox1.0 | 47 | 75

INDEX

1186



Series CJ2X

Dimensions
——
Head flange (G)
Cu2XG [Stroke]2
Rod end nut GA Piping port 2 x M5 x 0.8 GB_ Y¢ Mounting nut Cover surface
o NN N
< MM a » |
® I T
i (O e B o
g e i , T
B-ds A F | NA NB||_ |FT FX 2x0oFC
H S + Stroke F Fz Mounting hole
Z + Stroke

Y¢ Refer to page 1189 for details of the mounting nut.
(mm)
Bore size A B [ D F FB | FC | FT | FX | FY | FZ |GA |GB | H MM NA | NB NN S z
10 15 | 12 | 14 4 8 13 |45 |16 | 24 | 14 | 32 8 5 28 | M4x0.7 |[125] 9.5 | M8x1.0 | 46 | 82
16 15 |18.3| 20 5 8 19 | 55 | 283 | 33 | 20 | 42 8 5 28 | M5x0.8 |125| 9.5 | M10x1.0 | 47 | 83

Double clevis (D)

[Stroke| 2

CJ2XD
oCDHY'5™
GA Piping port 2 x M5 x 0.8 NB Clevis pin (acddgig_ggg)
Rod end nut GB
< MM <
® a ‘2 %
\ S EiH e o
! /(J/ Stml N wilF
1] o ) [3) =
B2, A NA cxiof
H S + Stroke U czl,
Z + Stroke R
ZZ + Stroke
# A clevis pin and retaining rings are included.
(mm)
Bore size A B C |CD(cd)| CX cz D GA | GB H MM NA | NB R S Y4 zZ
10 15 12 14 3.3 3.2 12 4 8 18 28 M4 x0.7 | 125|225 5 46 8 82 87
16 15 183 | 20 5 6.5 | 18.3 5 8 23 28 M5x0.8 | 125 | 27.5 8 47 10 85 93

1187



Low Speed Cylinder .
Double Acting, Single Rod Series CJ2X

Dimensions

Double-side bossed (E)

Cu2XE [Bore size - Sivaka] 2

[ . .
& || Air Cylinders

CM2

Section Y detail ¢ Mounting nut

Rodendnut NN\ Y GA  Piping port2xM5x0.8

MM
$ :
-3 %ﬂ L
o j
B A . F.oNA ; . Luhe-
S Section YY detail retainer
H S + Stroke I
Z + Stroke JA
MXH
Y¢ Refer to page 1189 for details of the mounting nut. (
mm)
Bore size A B [ D F GA GB H MM NA NB NDh8 NN S 4
10 15 12 14 4 8 8 5 28 M4x07 | 125 | 95 8302 M8 x 1.0 46 82 GP
16 15 | 183 | 20 5 8 8 5 28 M5x08 | 125 | 95 108 M10x1.0 | 47 | 83

ﬂﬂﬂg
1
O EE

INDEX

1188



Series CJ2X
Dimensions of Accessories

Single Knuckle Joint

Clevis Pin

Knuckle Pin

MM @NDrio
BR: i L fat T—
mt m !
o L1 g 2
[=]
1 ! 8 °
Ai| U:'8? NX=8% | T
AL T ] gl
L 7 12 8
Material: Rolled steel Material: Stainless steel Material: Stainless steel
Applicable| Applcable: Included Appicable: Included
Part no. | #%% As L | MM |NDsro[NX| R | Ut Partno. (| D9 | d L \Ly|m| t |zt Partno.| . e | D9 | d | LiLaim it
1-J010C| 10 | 8 |21|M4x07|33%°%|3.1| 8 | 9 CD-J010| 10 |3.3395%| 3 |152|122(1.2(0.3|TypeC32 CD-J010| 10 |3.3:3%%| 3 |152[122[1.2]0.3|Type C32
1-J016C| 16 | 8 |25|M5x08|575%°|6.4| 12|14 CD-2015| 16 |520050 |4.8(227(183|1.5]0.7 | Type C5 1Y-J015| 16 |55.080 [4.8|166122]1.5]0.7| TypeC5

Double Knuckle Joint

+ Retaining rings are included with a clevis pin.

Mounting Nut

* For size 10, a clevis pin is diverted.
= Retaining rings are included with a knuckle pin.

Rod End Nut

d
MM oND hole Hio L d
Axis dg
7 e
« —i= r/\ H QD;
L_ i \_/
NX 782 B Ha
12
— B H

Material: Rolled steel Material: Carbon steel Material: Carbon steel
Partno. [4elcablel Ay | L [ Li | MM licabl Applicable
Y-J010C 10 8 [152] 21 |Méx07 Part no. b?re size B | C d H1 Part no. bors siz6 B2 | C d H2
Y-J016C 16 11 |16.6| 21 | M5x0.8 SNJ-010C| 10 11 [12.7| M8x1.0| 4 NTJ-010C| 10 7 |81 | M4x07 | 3.2
Part no. NDes | NDo | NX | R: Us SNJ-016C 16 14 [16.2| MI0x10 | 4 NTJ-015C 16 8 |92 |M5x08| 4
Y-JO10C |3.3206%/3.30**| 3.2 8 10
Y-J016C 0000 | 50°° | 5 | 12 | 10

# A knuckle pin and retaining rings are included.

T-bracket

Rod End Cap

TDs1o

Flat type/CJ-CFO OO

Round type/CJ-CROOO

A MM
ﬁ:ﬁ
4x0oTC . : E[
LN
E E
v Material: Polyacetal
- Part no Anplicabl
- policablel o | p | L | MM [N|R|W
Flat type |Round type | bore size
Partno. [PPEl1cT 1o [t k|77 ru[Tv[w[rx[v[rz CJ-CF010 [ CJ-CRO10| 10 | 8 |10[ 13| M4x0.7 | 6 [10] 8
on s CJ-CF016 | CJ-CRO16 | 16 [10[12[15] M5x0.8 | 7 [12] 10

CJ-TO10C| 10 |4.5]3.3'0°®|29|18|3.1| 2

9 [40(22|32|12| 8

CJ-TO16C| 16 |55| 50%° |35|20|64|23

14/48|28|38|16| 10

= A T-bracket includes a T-bracket base, single knuckle joint, hexagon

socket head bolt and spring washer.

= For dimensions of (U) and (S + Stroke), refer to the double clevis

drawing on page 1187.

1189



Series CJ2X

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and lts Mounting Height

Solid state auto switch
<Band mounting>

D-M9O

D-M9CW
D-M9CIA

Auto switch
gl e
[ d=— —=0d
alal s
(24)

( ): Dimension of the D-M9LJA
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-MoCIV

D-M9CIMV

D-M9CIAV

=Hs Auto switch
.‘ g . !
== 2
A.JA.‘ *LE

(22)

( ): Dimension of the D-M9CIAV
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-H70
D-H7OW
D-H7BA
D-H7NF
D-H7C
Auto switch
| !
i ==
i L
Al LB

Reed auto switch
<Band mounting>

D-A90

Auto switch

L . b, !

e =

A|| 245 ‘L .B
(22)

(): Dimension of the D-A96
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-A9CIV

Auto switch

L i o |

Air Cylinders

CJ2

[}
[T}
-

g

CA2

retainer

prms
alzl s

A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-C701/C80
D-C73CLI/C80C

Auto switch
| !
[ [ p— ]
I = g
[ T
AllL LB

1190

£s
=
JA
MX

(v X~}
m|m}
<=

o= o
=|= || =
JEIE

LI
>

=

=5

WRF

INDEX




Series CJ2X

Auto Switch Proper Mounting_; Position (Detection at stroke end) and Its Mounting Height

<Rail mounting>

D-M9CI
D-M9OIW
Auto switch
=
235 || B
(25.5)

(): Dimension of the D-M9TJA

D-M9CIV
D-M9OIWV
D-M9JAV Auto switch
=
v
215|| B
(23.5)

(): Dimension of the D-M9CIAV

D-F70J79
D-F70O0W/J79W
D-F79F/F7BA

Auto switch

A.E B

D-F7OV/IF7TOWV

D-F7BAV
D-J79C Auto switch
o =
Al .B

1191

<Rail mounting>

D-A9C]
Auto switch
235
( ): Dimension of the D-A96
D-A9CIV
Auto switch
] S
ki ‘ T T =
125( |, [125 A,E 235 || B
D-A7C1/A80
D-A73C/A80C
D-A79W Auto switch

i B

D-A7CH/A80H

Auto switch

B i =i




Auto Switch Mounting Series CJZX

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (mm)
Auto switch Band mounting
model
D-M9C]
D-M9IV D-C70] D7
D-M9CIW D-A9C] D-C80 D-H7NF
D-M9CIWV D-A9CV D-C73C D-H7OW
D-M9CIA D-C80C D-H7BA
D-M9CJIAV
Bore size A B A B A B A B
10 (5)6 (5)6 (1)2 (1)2 25 25 15 15
16 (55)6.5 | (5.5)6.5 | (1.5)2.5 | (1.5)2.5 3 3 2 2
# The values in () are measured from the end of the auto switch mounting bracket.
(mm)
Auto switch Rail mounting
model D-A70H/ABOH
D-A73C/A80C
DI D-F70/J79
D Mo, Deadsl Bearisl D-FYOVIFTOWY D-F7NT D-A7OW
D-M9CIWV D-A9CIV D-A80 D-F79F
D-M9CJA D-J79C
D-M9JAV D-F7BA
D-F7BAV
Bore size A B A B A B A B A B A B
10 4.5 4.5 0.5 0.5 3 3 3.5 3.5 8.5 8.5 0.5 0.5
16 5 5 1 1 3.5 3.5 4 4 9 9 1 1
+ Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height (mm)
Auto switch Band mounting
model
D-M9oC] D-M9oCIV D-C7[J/C80
D-MoCIW D-M9CIWV D-H7C/H7C0W D-C73C D-H7C D-A70]
D-M9CJA D-M9CJAV D-H7NF D-C80C D-A80
D-A9C] D-A9CIV D-H7BA
Bore size Hs Hs Hs Hs Hs Hs
10 17 18 17 19.5 20 16.5
16 20.5 21 20.5 23 23.5 19.5
(mm)
Auto switch Rail mounting
model
D-M9C]
R D-A7CIH/AS0H
D-MOCIWV D-F700/J79 D-A73C D-F700V
D-MOTIA D-F7O0WN79W D-A80C D-F700WV D-J79C D-A79W
D-F7BA/F79F D-F7BAV
D-M9CIAV D-F7NT
D-A9C]
D-A9CIV
Bore size Hs Hs Hs Hs Hs Hs
10 17.5 17.5 23.5 20 23 19
16 21 20.5 26.5 23 26 22

1192

[
b
(7}
°
=
>
o
=
<

DD
2 g

g

CA2

S
PN

retainer

o

=
>
=

=
| =
=)

5@

P

KOt
e

e
oK

WRF

INDEX




Series CJ2X

Minimum Stroke for Auto Switch Mounting

(mm)
A itch Number of auto switches
ito SVY“C Auto switch model X With 2 pcs. With n pcs. (n: Number of auto switches)
mounting With 1 pc. - A
Different surfaces| Same surface Different surfaces Same surface
D-M9oC] -
D-MOCIW 10 15Note 1) a5Noe 1) 15+ 35022 45415 (n—2)
D-M9CIA 2 (n=2,3,4,5.)
D-A9[] (n=2,4,6...)Note3) )9 4
n-2 _
D-MOIV 5 15 Note 1) 35 15+3555 35_"223 (2 52>
(n=2,4,6..)Noted) (n=2,34,5.)
(n-2)
D-M9CIWV 15+35 35+25(n—-2)
10 15 Note 1) 35 2
D-M9IAV (=24, 6., Nowd (n=2,3,4,5..)
. n-2 _
Band mounting | p-AgCIV 5 10 35 10+35%— 35:+225 (2 2)
(n=2,4,6..)Noted) (n=2,34,5..)
D-C70] 10 15 50 15 +40(%) 50 +20 (n-2)
EHEED (N=2,4,6..)Note3) (n=234,5..)
D-H7CY/H7OW (n=2) -
D-H7BA 10 15 60 15+4575 60+225(n-2)
D-H7NF (n=2,4,6...)Note3) (n=2,84,5..)
D-C73C (n-2) ~
D-C80C 10 15 65 15+5077 ?ffﬁfsa
D-H7C (n=2,4,6..)Note ) =23,4,5..)
10+10(n-2
D-MoC1V 5 — 5 — (n=4, 5“(.) Nme)4)
10+15(n-2
D-A9CIV 5 — 10 — (=4, 6__(_) e
D-M9[] 15+ 15 (n—2)
D-A9] 10 - 10 - (N=4,6...)Note )
D-M9CIWV 10 _ 15 _ 15+15(n-2)
D-M9CJIAV (n=4,6...)Note )
20+15(n-2,
D-M9CIW 15 - 15 — A
20+15(n-2
D-MeIA 15 — 20 — e ey w2y
D-A7C1/A80
Rail mounting | D-A7CIH/A80H 5 - 10 - B0l
D-A73C/A80C (n=46.)
D-A7CH 5 _ 10 _ 15+ 15 (n—2)
D-A80H (n=4,6...)Note )
10+15(n-2)
D-A79W 10 — 15 - (n=4,6...)Note4)
D-F70 5 _ 5 _ 15+ 15 (n-2)
D-J79 (n=4,6...)Note d)
D-F70V s _ 5 _ 10+10 (n—2)
D-J79C (n=4,6...)Noted)
D-F7OW/J79W 10 _ 15 - 15+20 (n—-2)
D-F7BA/F79F/F7NT (n=4,6..)Noio )
D-F70WV 10 - 15 - 10+15 (n-2)
D-F7BAV (n=4,6...)Noted)

Note 1) Auto switch mounting

Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 4) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.

However, the minimum even number is 4. So, 4 is used for the calculation when

n"is 110 3.

Auto switch model

With 2 auto switches

Different surfaces Note 1)

Same surface Note 1)

Auto switch

The proper auto switch mounting position is 5.5 mm inward
from the switch holder edge. The above A and B indicate values
for band mounting in the table of page 1192.

The auto switch is mounted by slightly displacing it in a direction
(cylinder tube circumferential exterior) so that the auto switch
and lead wire do not interfere with each other.

D-MOLC/M/9CIW/MILIA

Less than 20 stroke Note 2)

Less than 55 stroke Note 2)

D-A90/A93

Less than 50 stroke Note 2)

Note 2) Minimum stroke for auto switch mounting in styles other than those mentioned in Note 1.

1193



Auto Switch Mounting Series CJZX

Operating Range Auto Switch Mounting Brackets/Part No.
————————— —
(mm)
- itch model Bore size Auto switch - itch model Bore size (mm)
uto switch model o T mounting | AU SWitch model o T
D-M9LC/MOCIV D-M9oC] )
o| D-MOCIW/MICIWV 25 3 D-M9oClV [7}
£ |D-M9LIA/MOLIAV D-M9CIW BJ6-010 BJB-016 2
3 |D-A9] 6 7 D-M9( WV (Asetofa,b,c,d) (Asetofa,b,c,d) —;
£|b-c7iucsoic7acicsoc | 7 7 D-A9C] o
-
& [D-H7C/H7OW 4 4 D-A9LIV =z
®|D-H7BA/H7NF D-M9[JA Note2) BJ6-010S BJ6-016S
D-H7C 8 9 D-M9[JAV Note 2) (Asetofa,b,d,e) (Asetofa,b,d, e)
D-MO/MOIV - - CJ2
D-M9LIW/MILIWV 3 | ss Band o [T > /
_ g ransparent (Nylon) Note
D-M9CIA/MOLJAV mounting e [Whits (PBT) B e cMZ
o|D-A9L/A9CIV 6 6.5
|D-ATLUABO/ATHIABOH | o | | CG1
g D-A73C/A80C R MB
s D-A79W n 13 (Zinc die-casted) Auto switch mounting screw
D-F7C/J79/F700W/J79W
D-F70V/F7TOWV/F79F s s CA2
D-J79C/F7BA/F7TBAV ¢ a T
LA Auto switch mounting band cgs
# Values which include hysteresis are for guideline
purposes only, they are not a guarantee D-C7L1/C80 Lube-
(assuming approximately +30% dispersion) and Band | D-C73C/C80C BJ2-010 BJ2-016 retainer
ranrﬁgigztaggsifg:;‘:ma”y depending on the mounting | D-H7CY/H7COIW (A set of band and screw) (A set of band and screw) A
D-H7BA/H7NF J
BQ2-012(S) BQ2-012(S)
(A set of a and b) (A set of a and b)
D-M9C] Set screw
D-Mo[IV (Accessory)
D-MoCIW 8
RNaoille 4) D-MOCIWV BQ2-012 % / MGP
mounting | D-MOTIA - Note5) BQ2-0128 ™™ l coY
D-M9LIAV Notes) % cOX
D40 Auto switch b
D-A9ClV Auto switch mounting screw| CKD1
Nut (Cylinder accessory) E([)KD

chloroform, methylamines, hydrochloric acid or sulfuric acid is splashed over, so it cannot
be used. Please contact SMC regarding other chemicals.

Note 2) Avoid the indicator LED for mounting the switch bracket. As the indicator LED is projected cKn
from the switch unit, indicator LED may be damaged if the switch bracket is fixed on the ————
indicator LED. cKzz"

Note 3) When the cylinder is shipped, the auto switch mounting bracket and the auto switch will
be included. [

Note 4) For the D-M9JA(V), order the BQ2-012S, which uses stainless steel mounting screws. WRF

Note 1) Since the switch bracket (made from nylon) are affected in an environment where alcohol, E(I.)KU

Band Mounting Brackets Set Part No.

Set part no. Contents
* Auto switch mounting band (a)
BJ2-00000 * Auto switch mounting screw (b)
* Switch bracket (White/PBT) (e)
BJa-1 « Switch holder (d)
BJ5-1 * Switch bracket (Transparent/Nylon) (c)
* Switch holder (d)

[Stainless Steel Mounting Screw]
The following stainless steel mounting screw kit is available. Use it in accordance with the operating
environment. (Since the auto switch mounting bracket is not included, order it separately.)
BBA4: For D-C7/C8/H7 types
Note 5) Refer to the WEB catalog or Best Pneumatics No. 3 for details on the BBA4.
When the D-H7BA type auto switch is shipped independently, the BBA4 is attached.

INDEX

1194



Series CJ2X

R e e e e e e e e e T R

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to the WEB catalog or Best Pneumatics No.3 for the detailed specifications.

Grommet (Perpendicular)

D-A80 (Perp ) Without indicator light

« With pre-wired connector is also available for solid state auto switches. For details, refer to the WEB catalog or Best Pneumatics No. 3.

+ Normally closed (NC = b contact) solid state auto switches (D-F9G/F9H) are also available. For details, refer to the WEB catalog or Best
Pneumatics No. 3.

1

1 1
1 1
1 Type Mounting Model Electrical entry Features 1
1 Band N D-H7A1/H7A2/H7B — 1
1 = D-H7NW/H7PW/H7BW . Diagnostic indication (2-color indication) 1
1 Grommet (In-line) 1
S D-F79/F7P/J79 — .

: Rail mountin D-F79W/F7PW/J79W Diagnostic indication (2-color indication) I
1 ° D-F7NV/F7PV/F7BY Grommet (Perpendicular) — 1
1 D-F7NWV/F7BWV s Diagnostic indication (2-color indication) 1
1 . D-C73/C76 — 1

Band [¢] " — -

1 D-C80 Grommet (In-fine) Without indicator light 1
! Reed D-A73H/A76H — 1
: Rail mountin D-A80H Without indicator light :
1 g D-A73 — 1
1 1
1 1
1 1
1 1
= o

1195



Low Speed Cylinder
Double Acting, Single Rod

eries CIM2X

020, 925, 332, 240

Mounting
B | Basic (Double-side bossed) T Head trunnion
L Axial foot E Integral clevis
F Rod flange V | Integral clevis (90°)
G Head flange BZ Boss-cut/Basic
(o3 Single clevis Boss-cut/
- FZ Rod flange

D Double clevis

- uz Boss-cut/
U Rod trunnion Rod trunnion

With auto switch—l_

(Built-in magnet)

Low speed cylinder

Bore size

Built-in Magnet Cylinder Model

20 | 20 mm

25 | 25 mm

If a built-in magnet cylinder without an

32 | 32mm

auto switch is required, there is no need
to enter the symbol for the auto switch.

40 | 40 mm

(Example) CDM2XF32-100Z

How to Order

Cylinder stroke (mm)

Pivot bracket

None

Pivot bracket is shipped
together with the product.

Refer to “Standard Strokes” Nil
on page 1197.
N
Rod end thread
m Male rod end * Only for G,
| _F_| Female rod end

T, U, E, V, UZ mounting types

Made to Order
Refer to page 1197 for details.

= Pivot bracket is shipped together with
the product, but not assembled.

-[M9BW]

Port thread Rod end bracket
type Nil None
Nil Rc ) Single knuckle joint
TN NPT w Double knuckle joint
TF G + No bracket is provided for the female

rod end type.

+ A knuckle joint pin is not provided with

the single knuckle joint.

+ Rod end bracket is shipped together
with the product, but not assembled.

Number of
auto switches
Nil 2 pcs.
S 1 pc.

n "n" pcs.

Auto switch

m Without auto switch

refer

* For applicable auto switches,

to the table below.

on page 1197.

= Refer to “Ordering

of Cylinder A

Applicable Auto Switches/Refer to the WEB catalog or Best Pneumatics No. 3 for further information on auto switches.

Air Cylinders

5 k=3 - Load voltage Auto switch model Lead wire length (m)
Type| Special function B | = inng 05| 1|35 [None s Applicable load
entry | Z| (Output) DC AC Perpendicular (Nil) ™| O @ | Ny connector
3-wire (NPN) 5V.12V MONV e |— O|—| O IC circuit E(I')KD
a Grommet 3-wire (PNP) ! M9PV e |— O|l—| O —
S . M9BV e |— O|—| O C(LIKU
= N g —
= Connector 2-wire 2v — e |— [ ] — ( )
@ - - -
Terminal 3-wire (NPN) 5V,12V = — | === — |IC circuit
2 conduit_| [~ -wire 12V = === =1 — | peiy CKQ
= " I O | 3-wire (NPN) | 24V — MONWV ® | ® ® O|—| O " |
>
% D(?.%Zf;nﬁyg;g:&tf)n 3-wire (PNP) 5V,12V MOPWV o el0| 0 — 6) IC circuit| PLC [:|(12||
» 2-wire 12V M9BWV ® | ®@ @ O0|—| O —
] . Grommet 3-wire (NPN) MIONAV*** olole]lOo[—] O .
s (‘Q’f;;’r ":;';‘;‘0’:) 3-wire (PNP) 5v.12v MOPAVF™ Ololelol— o |'Ceret WRF
2-wire 12V MOBAV*** olo|e|lO|—] O — —
Withdagnosticoupt 24l inciafion) 4-wire (NPN) 5V,12V = H7! ® |—|®@ O|—| O |[ICcircuit
@ | uite (NPN equialent) | — 5V — A96V A ® |—|® | —|—| — |ICcircuit| —
> 100V A93V A o | —elo[—| — [ —
"5 Grommet | 2 | 12v 100 V or less A90V A e — |0 | —|— IC circuit
] [ 2] 100V, 200 V = B54 e | — | —| — Relay,
g 2 200 V or less = B64 ® —| @ | —|—| — — PLC
= 3 . — = C73C o — o0 0
3 = X
© Connector 2 2-wire 24V 24V or less = c80C ® |— ® ® | ® | — |(Ccircuit
3 Terminal 12V — — ABA [ —|—[—[—[@] — PLC
T conduit | @ — 34A —|—]—] @ — _
DIN terminal| > 100V, 200V — AMA [ — = —T—Te| — R:Ing,
Diagostondeaton (o indiain)| Grommet — — = B59W o — 0| —|—| —
=« Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
+ Lead wire length symbols: 0.5 m Nil (Example) MONW = Solid state auto switches marked with “O” are produced upon receipt of order.
M (Example) MONWM + Do not indicate suffix “N” for no lead wire on the D-A3CJA/A44A/G39A/K39A models.
L (Example) MONWL
Z (Example) MONWZ
N (Example) H7CN
= Since there are other applicable auto switches than listed above, refer to page 1213 for details.
= For details about auto switches with pre-wired connector, refer to the WEB catalog or Best Pneumatics No. 3. INDEX
* The D-A900/M900O auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

* The D-C700/C80/H700 auto switches are assembled before shipment.

1196




Series CM2X

Model Selection” on front matter pages of the Best
Pneumatics No. 2 or the WEB catalog. In addition,
the products that exceed the standard stroke might
not be able to fulfill the specifications due to the
deflection etc.

to
Made to Order

(For details, refer to pages 1247 to 1264.)
Specifications

Special port location

Mounting nut with set screw

Symbol
-XC3
-XC52

Ordering Example of Cylinder Assembly

Cylinder model: CDM2XC40-150Z-NV-M9BW

Specifications
————
Bore size (mm) 20 25 32 40
Type Pneumatic
Action Double acting, Single rod
Fluid Air
Proof pressure 1.5 MPa
operating pressure 1.0 MPa
Symbol ; itoh: —10° o
v . . Ambient and fluid temperature tho_m auto SW!tCh' 100C to 700C (No freezing)
Double acting, Single rod, Rubber bumper With auto switch: —10°C to 60°C
Cushion Rubber bumper
Lubrication Not required (Non-lube)
Stroke length tolerance 4 mm
Standard Strokes Minimum Operating Pressure
———————— —
Unit: MPa
Bore size Standard strok \ Bore size (mm) [ 20 [ 25 32 40 |
(mm) HETTEETC) et (i) ‘ Minimum operating pressure ‘ 0.025 ‘
20 .
25 25, 50, 75, 100, 125, 150 _P'Ston Speed
32 200, 250, 300
40 Bore size (mm) 20 ‘ 25 ‘ 32 ‘ 40
Note 1) Manufacture of intermediate strokes in 1 mm Piston speed (mm/s) 0510 300
intervals is possible. (Spacers are not used.) Allowable kinetic energy (J) ‘(Ma\e thread) 0.27 ‘ 0.4 ‘ 0.65 ‘ 1.2
Note 2) Applicable strokes should be confirmed according
to the usage. For details, refer to “Air Cylinders ‘[Fema‘ethmad] 0.11 ‘ 0.18 ‘ 0.29 ‘ 0.52

Mounting Brackets/Part No.

Mounting bracket Ofdl\glrn&'ty % Bor:;'z‘e;:m) m g%r:regbsa ggtryTinimum
Axial foot* 2 CM-L020B | CM-L032B | CM-L040B | 2 foots, 1 mounting nut
Flange 1 CM-F020B | CM-F032B | CM-F040B | 1 flange
Single clevis*™* 1 CM-C020B | CM-C032B | CM-C040B | 1 single clevis, 3 liners
Double clevis (with pin 1 | cM-D020B | CM-D032B | CM-D040B 1 :g“/ll’s'ep‘cr'le‘gsrefa::ismgs
Trunnion (with nut) 1 CM-T020B | CM-T032B | CM-T040B | 1 trunnion, 1 trunnion nut

* Order 2 foots per cylinder.

=+ 3 liners are included with a clevis bracket for adjusting the mounting angle.
= A clevis pin and retaining rings (split pins for 940) are included.

Mounting and Accessories

Single clevis
Accessories Standard Option
- T Single oo ) Note 4 Note ) o 7]
Mounting |Rod end | Clevis knugkle kDoulf(lle Clevis | Pivot Pivot
Mounting nut nut pin ot r}gi%te b?a“(l:ﬁ}et bracket | bracket pin
Basic (Double-side bossed) | @ (1 pc.) [ — [ J L] —
Axial foot ®(2 [ J — [ ] ] —
Rod flange ® (1) [ ] — [ J [ — — —
Head flange ®(1) [ — [ J (] —
Pivot bracket Integral clevis — Note 1) o — [ J [ J [ J
Single clevis —Note!) | @ — [ ] [ ] — [ [
ig Note 3) — J— J— —
‘Auto switch Double clgws fote Note 1) ® |@Notebs) [ ] [ ]
Rod trunnion @ ()Note?)| @ — [ J (] — °
Mounting C: Single clevis Head trunnion @ (1)Note?)| @ — [ [ —
Pivot bracket  N: Yes Boss-cut/Basic ®(1) [ — [ ] [J —
e cosscurige | o0 [ ¢ - Te el -1} -
‘2 pes. Boss-cut/Trunnion @ (1)Note?)| @ — [ [J —

* Pivot bracket, single knuckle joint and auto
switch are shipped together with the product, but
not assembled.

# Pivot bracket is only applicable to mounting C,
T, U, E, Vand UZ.

# No rod end bracket is provided for the female
rod end type.

1197

Note 1) Mounting nuts are not attached to the integral clevis, single clevis and double clevis types.

Note 2) Trunnion nuts are mounted on the rod trunnion and head trunnion types.

Note 3) A pin and retaining rings (split pins for 240) are included with the double clevis and double knuckle joint types.
Note 4) A pin and retaining rings are included with the clevis pivot bracket.
Note 5) Retaining rings (split pins for 240) are included with the clevis pin.
Note 6) A pin and retaining rings are included with the pivot bracket.
Note 7) Retaining rings are included with the pivot bracket pin.



Low Speed Cylinder
Double Acting, Single Rod

Series CM2X

A\ Precautions

Fr———— e m e m e mmmmmm e m e mmmm e mmmmm == =
1 Be sure to read before handling. 1
I Refer to page 1574 for Safety Instructions. For Actuator and Auto Switch Precautions, refer to “Handling Precautions 1|
Lfor SMC Products” and the Operation Manual on SMC website, http:/www.smcworld.com

\ Maintenance |

A\ Caution

1. Replacement parts/Seal kit
Order it in accordance with the bore size.

\ Operating Precautions \

A\ Warning

1. Do not rotate the cover.
If a cover is rotated when installing a cylinder or screwing a fitting

[
£
(7}
°
£
>
(8)
x
<

(1]
(2
N

into the port, it is likely to damage the junction part with cover. = N
7':;')& Kit no. Contents cMZ
. 20 CM2X20-PS GG1
A Cautlon 25 CM2x25.ps | Rod seal 1pc.
1. Not able to disassemble. iz gmiiii: Grease pack (10g) 1 pc. MB
Cover and cylinder tube are connected to each other by caulking .
method, thus making it impossible to disassemble. Therefore, 2. Grease pack GA2
internal parts of a cylinder other than rod seal are not replaceable. When maintenance requires only grease, use the following part a2
2. Use caution to the popping of a retaining ring. numbers to order. cQs
When replacing rod seals and removing and mounting a retaining Grease pack part number: Lube-

ring, use a proper tool (retaining ring plier: tool for installing a type
C retaining ring). Even if a proper tool is used, it is likely to inflict
damage to a human body or peripheral equipment, as a retaining

GR-L-005 (5 g)
GR-L-010 (10 g)
GR-L-150 (150 g)

retainer

ring may be flown out of the tip of a plier. Be much careful with the
popping of a retaining ring. Besides, be certain that a retaining ring
is placed firmly into the groove of rod cover before supplying air at
the time of installment.
. Do not use an air cylinder as an air-hydro cylinder.
If it uses turbine oil in place of fluids for cylinder, it may result in oil
leakage.
4. The oil stuck to the cylinder is grease.
5. The base oil of grease may seep out.
The base oil of grease in the cylinder may seep out of the tube,
cover, crimped part or rod bushing depending on the operating
conditions (ambient temperature 40°C or more, pressurized
condition, low frequency operation).

w

1198

o

=
>
=

=
S| =
=)

55

P

KOt
e

e
oK

WRF

INDEX




Series CM2X

Basic (Double-side Bossed) (B)

- [strokel[ ]z

G
Width across flats B2 Hz G 2xP 2x NN
Width across Hi (Re, NPT, G) . &
flats B1 HITd ¥
< I (a
n{ u <
B [ /N | 4
i i o W =
MM Effective thread length
AL 1.5 1.5 NA
Width across /T~ A Kl | F 2xFL e
flats KA | H | S + Stroke F
! ZZ + Stroke
Boss-cut Female rod end
Female thread MM
Wik i Thread depth A1 Ll
" = /
ZZ + Stroke 85|,
H
ZZ + Stroke
(mm)
Bore size A |AL | B | B | D E F|FL| G| H | H | H I K | KA MM NA NN P | S |zz
20 18 [15.5| 13 | 26 | 8 | 2033 | 13 |105| 8 | 41 | 5 8 |28 | 5 6 M8x1.25 | 24| M20x15 |1/8| 62 |116
25 22 |195| 17 | 32 | 10 | 265453 | 13 |105] 8 |45 | 6 8 |835|/55| 8 | M10x1.25 | 30 | M26x1.5 |1/8| 62 |120
32 22 |19.5( 17 | 32 | 12 | 26_pp33 | 13 |105| 8 | 45 | 6 8 |875/55| 10 | M10x1.25 |345| M26x1.5 |1/8| 64 |122
40 24 | 21| 22 | 41 | 14 | 32505 | 16 [135| 11 | 50 | 8 | 10 [46.5| 7 | 12 | M14x1.5 |425 M32 x 2 1/4 | 88 | 154
Boss-cut (mm) Female Rod End (mm)
Bore size Y24 Bore size Ai H MM zZ
20 103 20 8 20 M4 x 0.7 95
25 107 25 8 20 M5 x 0.8 95
32 109 32 12 20 M6 x 1 97
40 138 40 13 21 M8x1.25 | 125

1199

+ When female thread is used, use a thin wrench
when tightening the piston rod.

+ When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being
deformed depending on the material of the
workpiece.



Low Speed Cylinder .
Double Acting, Single Rod Series CM2X

Axial Foot (L)

[stroke][ ]2

H
K

A F1G,  2xp s
Width across flats B1 |, AL Hz (Rc, NPT, G) G _F 2x NN 3
TR = _
Width across flats KA Hi Tir B (Effective thread length 2 x FL) E
Bt * 3
=) _ -
ey ] - 9 -
2xoLC K =
/ FW\dth across H 4xoLD K =
M EH2 2 Width across flats ONA N— [ i
._T Yl x S + Stroke XX
bt 4 LS + Stroke
ZZ + Stroke

Female rod end
ZZ + Stroke

3.5

[t

Female thread MM

Thread depth A1 ; —}

Boresize | A |AL| B |Bi|Bz| D |F [FL|G |H |Hi|H:| | | K |KA|LC|LD|LH|LS|LT|LX|LZ MM |NA NN P|S|X|Y
20 18(155{40|13|26| 8 |13 [105] 8 |41| 5|8 |28| 5| 6 | 4 |6.8/25[102(3.2/40 |55 M8 x1.25|24 |M20x 1.5|1/8/62|20| 8
25 22195471732 |10|13|105| 8 |45| 6 | 8 |335|5.5| 8 | 4 |6.8|28|102|3.2|40|55|M10x 1.25|30 |[M26 x 1.5|1/8/62|20| 8 |25|135 [HE{
32 22[195]47 17|32 12]13]105| 8 [45| 6 | 8 [3755.5] 10| 4 |6.8/28]104|3.2[ 40|55 |M10x 1.25|345] M26 x 1.5]1/8] 64| 20| & | 25137 LHELS
40 2421|5422 |41|14|16|135/11 |50 | 8 |10|465| 7 |12| 4 | 7 | 30|134]|3.2|55|75|M14 x 1.5 |425| M32x 2 |1/4|88|23|10|27 |171 CKD1
* Mounting bracket is shipped together with the product.
Female Rod End (mm) E(l-)KD
Bore size A H MM zz
20 8 20 M4 x 0.7 110 c(L)Ku
25 8 | 20 M5 x 0.8 110
32 12 | 20 M6 x 1 112 cKn
40 13 21 M8 x 1.25 142

+ When female thread is used, use a thin wrench when
tightening the piston rod.

* When female thread is used, use a washer etc. to WRF
prevent the contact part at the rod end from being I
deformed depending on the material of the workpiece.

CKZ2N

INDEX

1200



Series CM2X

Rod Flange (F)

Width across flats Bz

H.
IS Width across  Hi = G 2xNN
N Qﬂ s
q 2 : i
7 C{ L]
FX MM/ M i Efective thread length
: AL Width across flats ONA 1. ongth
040 Mounting hole FZ Width across 2K FT 2 2xFL
020 t0 032 flats KA z
H S + Stroke F
ZZ + Stroke
Boss-cut
iBE T[T
. 1 .
N
ZZ + Stroke
Female rod end Female thread MM
Thread depth A1 i }
35
H
ZZ + Stroke
(mm)
Boresize | A |AL| B |B:1|Bz2|Cz| D E F |FL|FD|FT|FX|FY|FZ| G |H |H:i|H:| | | K [KA MM NA| NN P|S|Z|zZ
20 18 (15534 |13 |26 |30 | 8 | 2000 |13[105| 7 | 4 |60|—|75| 8 |41| 5|8 |28| 5| 6 | MBx 1.25 |24 |M20x1.5{1/8| 62|37 |116
25 22(19.5/40|17 |32 37 | 10| 260 | 13|105| 7 | 4 |60 | — (75| 8 |45| 6 | 8 (335/5.5| 8 | M10x 1.25 |30 |M26x1.5|1/8|62 | 41 |120
32 22195/ 40 (17 |32 |37 |12 | 26005 |13]105| 7 | 4 60| — |75| 8 |45| 6 | 8 [37.5(5.5| 10| M10x 1.25 |345|M26x 1.5(1/8| 64 | 41 |122
40 2421|5222 |41 [47.3| 14 | 32%s |16|135| 7 | 5 (66 |36|82|11|50| 8 |10 (465 7 | 12| M14x 1.5 |425|M32x2 |1/4| 88|45 |154
Boss-cut (mm) Female Rod End (mm)
Bore size 7z Bore size A H MM b73 * Mounting bracket is shipped together with the product.
20 103 20 8 20 M4 x 0.7 95
25 107 25 8 20 M5 x 0.8 95
32 109 32 12 20 M6 x 1 97
40 138 40 13 21 M8x1.25 | 125

* When female thread is used, use a thin wrench
when tightening the piston rod.

= When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being
deformed depending on the material of the
workpiece.

1201



Low Speed Cylinder .
Double Acting, Single Rod Series CM2X

Head Flange (G)

CM2XG —[stroke|[ |2z

Effective thread length 2 x FL

Width across

Width across  Hi2x NN G 2xP S % asB & ﬁxm;Fh? 4xoFD
flats B1'\ ‘ (Re, NPT, G) ” r; Mourting hole o
=l | & T [ 5
2 ©
glef | - N T 2
e _—
’ \ 1 Z 1| 3
MM/ /AL ) idth across flats ONA FX =
Widhacross T A JK| | F] Fz 040 <

flats KA H S + Stroke FT| 220 to 032
Z + Stroke
ZZ + Stroke

Female rod end

Female thread MM
Thread depth A1

3.5
=2

ZZ + Stroke
(mm
Bore size A AL B B+ B2 C: D E F FL | FD | FT | FX | FY FZ G H Hi H: 1
20 18 | 155| 34 | 13 | 26 | 30 8 20505 | 13 [ 105 | 7 4 60 | — | 75 8 Ll 5 8 28
25 22 | 19.5| 40 17 32 37 10 26503 18 | 105 7 4 60 = 75 8 45 6 8 |335
32 22 | 19.5| 40 17 32 37 12 265035 13 | 105 7 4 60 — 75 8 45 6 37.5
40 24 21 52 22 41 | 473 | 14 32800 16 | 185 7 5 66 36 82 11 50 8 10 | 46.5
(mm) Female Rod End (mm)
Bore size| K KA MM NA NN P S z zz Bore size A H MM zz
20 5 6 |M8x125| 24 |M20x1.5| 1/8 | 62 | 107 | 116 20 8 20 M4 x 0.7 95 %;
25 5.5 8 |M10x1.25| 30 |M26x1.5| 1/8 | 62 | 111 | 120 25 8 20 M5 x 0.8 95
32 5.5 10 |M10x1.25|34.5 |[M26x1.5| 1/8 64 | 113 | 122 32 12 20 M6 x 1 97 cKD1
40 7 12 |M14x15|425| M32x2 | 1/4 | 88 | 143 | 154 40 13 21 M8x1.25 | 125
* Mounting bracket is shipped together with the product. * When female thread is used, use a thin wrench E(l.)KD
when tightening the piston rod.
+ When female thread is used, use a washer etc. to E(I.)KIJ
prevent the contact part at the rod end from being
deformed depending on the material of the
workpiece. GKQ
CKZ2N
WRF
INDEX

1202



Series CM2X

Single Clevis (C)

- [strokel[ ]z

Effective thread length FL

oCDHo™3%%*

W\dthf?cro;s Hi NN G 2xP G
ats Br (Rc, NPT, G) >
tR K fﬁ
& S <
el B -2 | =z
Q) ) [
MM AL 1.5 | CX_ 62
Width across, A K IF u NA
flats KA H S + Stroke L
3%+ Stroke RR
ZZ';° + Stroke
Female rod end Female Rod End (mm)
Female thread MM Bore size A | H MM (¢£4]
Thread depth A1 20 8 | 20 | M4x07 | 121
25 8 | 20 | M5x08 | 121
& 32 12 | 20 M6 x 1 123
40 13 | 21 | M8x1.25 | 159

3.5

ZZ'i* + Stroke

*When female thread is used, use a thin wrench when
tightening the piston rod.

+ When female thread is used, use a washer etc. to prevent
the contact part at the rod end from being deformed
depending on the material of the workpiece.

mm)
Boresize | A |AL|B: | CI |[CD|CX| D E F|FL|G|H|H | I KA| L MM NA NN P |RR| S | U | (2|22
20 18 [155(13 |24 | 9 (10| 8 | 2000 |13 |105| 8 |41 | 5 |28 | 5 | 6 [30| MBx1.25 |24 | M20x 1.5 [1/8| 9 | 62 | 14 | 133|142
25 22119517 | 30| 9 |10 | 10 | 26805 | 13 [105| 8 |45| 6 [335|55| 8 |30 | M10x1.25 |30 | M26x 1.5 |1/8| 9 |62 | 14 |137 | 146
32 22 19517 30| 9 |10 |12 | 2600 | 13|105| 8 | 45| 6 |375(55]| 10 | 30 | M10x1.25 |345| M26x 1.5 |1/8| 9 |64 | 14 |139| 148
40 24|21|22|38|10| 15|14 | 32005 | 16 [135|11 |50 | 8 [465| 7 |12 |39 | M14x15 |425| M32x2 |1/4| 11|88 |18 |177 188
Double Clevis (D)
————————
CM2XD ~[stroke|[ |z
Effective thread length FL €D hole H10*3.°%®
. Axis d9 —0-040 CL
Width across  Hi NN G 2xP G 0,076 '_"\
flats B1 '\ (Re, NPT, G) L
T i [ ¥ j?s
2 l & { <
Ig%{ @ Q 1 i =
— N
mm/ /AL 15 U, T lexig?
Width across |, A K| |LF cz |
flats KA H S + Stroke L NA
's° + Stroke RR
ZZ';* + Stroke |
Female rod end Female Rod End (mm)
Female thread MM Bore size A H MM (Z2)
Thread depth A1 .. 20 8 20 M4 x 0.7 121
S 25 8 20 M5 x 0.8 121
AN 32 12 [ 20 [ Mex1 [123
] 40 13 [ 21 | M8x1.25 | 159
3.5 + When female thread is used, use a thin wrench when
H tightening the piston rod.
am— - * When female thread is used, use a washer etc. to prevent
ZZ'5*+ Stroke the contact part at the rod end from being deformed
depending on the material of the workpiece.
(mm)
Boresize | A [AL|B: |CD|CI |CL|CX|CZ| D 2 F|FL|G|H|H: |l |K|KA|L MM NA NN P |RR| S | U |(2)|(Z2)
20 18 (15513 | 9 |24|25|10|19| 8 | 2000 | 13105 8 [41| 5 |28| 5| 6 |30| M8x1.25 |24 | M20x 1.5 |1/8| 9 | 62|14 |133| 142
25 22(195(17| 9 [30(25|10|19|10| 2690 |13|105| 8 |45| 6 33555 8 |30| M10x1.25 |30 | M26x 1.5 [1/8| 9 | 62|14 |137| 146
32 22(195/17| 9 |30|25|10|19| 12| 2650 |13[105| 8 |45| 6 (375551030 | M10x1.25 |345| M26 x 1.5 [1/8| 9 |64 | 14 |139| 148
40 24(21|22 (10|38 |412|15|30| 14| 32350 |16(135/11|50| 8 [465| 7 [12|39| M14x15 |45 M32x2 |1/4|11|88|18|177|188

1203

* A clevis pin and retaining rings (split pins for 240) are shipped together.



Low Speed Cylinder .
Double Acting, Single Rod Series CM2X

Rod Trunnion (U)

CM2XU - [z

Width across flats B2

B G 2xP G 2xNN
2 Width across H1 — Rc, NPT, G)
e flats Br\ 5 [T T (4
S — [7)
> nI { = [H |- k-]
(= E w| s c
&s AL O : £
/| 3
- MM | BE y Effective thread length
> AL Width across flats INA H_ =
L Tz Width across, ‘_A"I Kkl [TT 15 2xFL <
" flats KA Z : |
H S + Stroke F
ZZ + Stroke
Boss-cut
T K] il
),
1 A ZAN
I — Jﬂ_
| Z2Z + Stroke

Female rod end

Female thread MM
Thread depth A1

3.5
=2,

ZZ + Stroke * Mounting bracket is shipped together with the product. |[VIGP
[Hl) §
(mm) [HELS
Boresize | A | AL | B, | B. | D E F|FL| G| H|H]| I | K]JKA MM NA NN P oKt
20 18 |155| 13 | 26 | 8 | 2030 | 13 |105| 8 | 41 | 5 | 28 | 5 | 6 | M8x125 | 24 | M20x15 | 1/8
25 22 [195| 17 | 32 | 10 | 2650 | 13 |[105| 8 | 45 | 6 |335| 55 | 8 | MI0x1.25 | 30 | M26x1.5 | 1/8 e
32 22 [195] 17 | 32 | 12 | 265, | 13 [105] 8 | 45 | 6 |375] 55 | 10 | M10x1.25 | 345| M26x1.5 | 1/8
40 24 | 21 | 22 | 41 | 14 | 8285 | 16 [185| 11 | 50 | 8 |465| 7 | 12 | M14x15 |425| M32x2 | 1/4 CILKU
(mm) Boss-cut (mm) Female Rod End (mm) ———
Boresize | S | TD | TT | TX | TY | 12 | Z | zZ Bore size zz Boresize | Ar | H MM zz |CKQ
20 62 | 8 | 10 | 32 | 32 | 52 | 36 | 116 20 103 20 8 | 20 | M4x07 | 95
25 62 | 9 | 10 | 40 | 40 | 60 | 40 | 120 25 107 25 8 | 20 | M5x08 | 95 |OKIN
32 64 | 9 | 10 | 40 | 40 | 60 | 40 | 122 32 109 32 12 | 20 | M6x1 7
40 88 | 10 | 11 | 53 | 53 | 77 |445] 154 40 138 40 13 | 21 | mex125 | 125 |WRF

+ When female thread is used, use a thin wrench
when tightening the piston rod.

+ When female thread is used, use a washer etc.
to prevent the contact part at the rod end from
being deformed depending on the material of the
workpiece.

INDEX

1204



Series CM2X

Head Trunnion (T)

- [stroke[ |z

Effective thread length 2 x FL

2xNN 2% P G Width across §§
Width across _HiT— (R, NPT, G) flats B2 [y
flats B \ TIT TIT
©
a3 HE 3
©
MM/ A7AL | .15 \ Width across flats ONA
Width across A K| |.F
flats KA H S + Stroke T
Z + Stroke
ZZ + Stroke

Female rod end

Female thread MM
Thread depth A1

ST

i
3.5
H
ZZ + Stroke + Mounting bracket is shipped together with the product.
(mm)
Bore size A AL B B: D E F FL G H Hi I K KA MM NA NN P
20 18 | 155| 13 26 8 203035 13 |105| 8 M 5 28 5 6 M8 x 1.25 24 M20 x 1.5 1/8
25 22 |195]| 17 32 10 26303 13 |105| 8 45 6 |335| 55 8 M10x 1.25 | 30 M26 x 1.5 1/8
32 22 |195]| 17 32 12 26001 18 |105| 8 45 6 |375| 55 10 | M10x1.25 | 345 | M26x1.5 1/8
40 24 21 22 41 14 32303 16 | 135 | 11 50 8 |465| 7 12 M14x15 | 425 M32 x 2 1/4
(mm) Female Rod End (mm)

Bore size| S TD | TT | TX | TY | TZ 4 zz Bore size A H MM zz

20 62 8 10 32 32 52 | 108 | 118 20 8 20 M4 x 0.7 97

25 62 9 10 40 40 60 | 112 | 122 25 8 20 M5 x 0.8 97

32 64 9 10 40 40 60 | 114 | 124 32 12 20 M6 x 1 99

40 88 10 11 53 53 77 | 1435 | 154 40 13 21 M8x1.25 | 125

1205

# When female thread is used, use a thin wrench when
tightening the piston rod.

+ When female thread is used, use a washer efc. to prevent
the contact part at the rod end from being deformed
depending on the material of the workpiece.



Low Speed Cylinder .
Double Acting, Single Rod Series CM2X

Integral Clevis (E)

CM2XE ~[stroke][ |z
(2
LZ + Stroke o
ZZ + Stroke T
Z + Stroke LP =
H S + Stroke L >
A K F 1] +0058) NA O
At 2xP 1 oCDHo 0 CX-3; =
FT’ 15 'I (Rc, NPT, G) E
- n i I H i " f\
2 7a =
w3 g
= % N
MM
. 2xoLD
Width across fiats B / NN ’ \ \\
B ——/._.. Effective thread length FL ) \ i %_ﬁ ]
flats KA ; T
LF| LG\ ]
ar L v Lv
Refer to page 1209 for details
of clevis pivot bracket.
Female rod end Integral clevis (90°) (V)
35 Port
Female thread MM
Thread depth A1 / ik H
ZZ + Stroke = The outer dimensions are the same as those for the integral clevis (E).

MGP
(mm)

Bore size A |AL | B: ([CD| CI |CX| D E F |FL| G H Hi I K |[KA| L MM NA NN
20 18 |1565| 13 | 8 | 20 | 12 8 | 20505 | 13 [105] 8 | 41 5 | 28 5 6 12 M8 x 1.25 24 M20 x 1.5 COX
25 22 [195| 17 | 8 | 22 | 12 | 10 | 2680 | 13 [105| 8 | 45 | 6 [335|55 | 8 12 | M10x1.25 | 30 M26 x 1.5 CKD1
32 22 [195| 17 | 10 | 27 | 20 | 12 | 2650 | 13 |10.5| 8 45 6 |375| 55| 10 | 15 M10x1.25 [345| M26x15
40 24 | 21 | 22 | 10 | 33 | 20 | 14 | 328 | 16 |135| 11 | 50 | 8 |465| 7 12 | 15 M14x1.5 |425 M32 x 2 E(l)KD

(mm) Female Rod End (mm) CILKU
Boresizel P |RR| S Y] zZ |2z Bore size A H MM zz ( )
20 18| 9 62 [11.5/115| 124 20 8 20 M4 x 0.7 103 GKQ
25 1/8 | 9 | 62 [11.5]119| 128 25 8 20 M5 x 0.8 103
32 1/8 | 12 | 64 |14.5| 124 | 136 32 12 20 M6 x 1 111 BI(ZZN
40 1/4 | 12 | 88 [14.5| 153 | 165 40 13 21 M8x1.25 | 136
# When female thread is used, use a thin wrench WRF
when tightening the piston rod.
# When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being
deformed depending on the material of the
workpiece.
INDEX

1206



Series CM2X

Dimensions of Accessories

With Single Knuckle Joint

Single Knuckle Joint
———————————————
1-020B, 032B Material: Carbon steel  1-040B Material: Free-cutting steel

* Retaining rings (split pins for 040) are included.

1207

Y (MAX
I 5
oNDH10 MM ¥ oND+10
i MM N\
- L [ >
¢ N 5 / - (X?\& "l
NG5 = / & 1 (
v Q ‘ '
NXi1 A / £
Ui H / A | Ui M
Ro| Z (MIN) LB
A
(mm) mm)
Boresize| A | H MM NDHw | NXi |Ui [R: | Y | Z Part no. | Afpicable | A | Ay | E1 [LB| MM | NDwio | NX |Ri| Ui
20 18 | 41 |[M8x1.25| 9%° | 9231 |14 | 10 | 11 | 66 1-020B 20 |46|16|20|36|M8x125| 9% | 931 |10 14
25,32 | 22 | 45 [M10x1.25| 9% | 9%} | 14 | 10 | 14 | 69 1-032B | 25,32 |48 |18|20 |38 | MI0x125| 99°° | 923 [10] 14
40 24 | 50 |M14x 15| 12/%°° | 1635 | 20 | 14 | 13 | 92 1-040B 40 69 | 22 | 24 | 55 | M14x1.5| 1270°° | 1653 |155] 20
With Double Knuckle Joint
oND hole H10 MM Y (MAx)
(mm)
Boresizel A | H | L | MM ND [NX2 | R [ U2 | Y | Z
20 18 | 41 | 25 |M8x125| 9 221 10 | 14 | 11 | 66
25,32 | 22 | 45 | 25 [M10x125| 9 9167 ] 10 | 14 | 14 | 69
40 24 | 50 |49.7|M14x15| 12 |16:33] 13| 25 | 13 | 92
Double Knuckle Joint
Y-020B, 032B Material: Carbon steel Y-040B Material: Cast iron
o
oND hole H10
um oND hole H10 MM Axis 49 [ ]
Axis d9 o
0 N 0! X[N| <t
| = Z/J "E,]: I Z|2/ 4
Ai] |U4] Aq Ui
L L
A A (mm)
Partno. | “pplicable | A | Ay | E1 | LA | LB MM ND NX | NZ | Ri | Ui | [ncludedpin [Betaining inggze
Y-020B 20 46 | 16 | 20 | 25 | 36 | MBx1.25 9 351 18 | 5 | 14 | CDP-1 |TypeC9foraxis
Y-032B 25, 32 48 | 18 | 20 | 25 | 38 | M10x1.25 9 65 | 18 | 5 | 14 CDP-1  |Type C 9 for axis
Y-040B 40 68 | 22 | 24 |49.7| 55 | M14x 1.5 12 |16 |38 | 13| 25| CDP-3 | e3x18L
* A knuckle pin and retaining rings (split pins for 940) are included.
Double Clevis Pinmateriai: Carbon steel (mm) Double Knuckle Pinmateriai: carbon steel (mm)
———————————
Bore size/020, 925, 232 Bore size/o40 Bore size/020, 925, 932 Bore size/z40
CDP-2 CDP-1 " CDP-3
2x03 “Dg; 2x03
Through hole  £5 e Through hole 83
22 o | Ny % I*’,‘?
S 8 I bl B
4] 332 s 175||[_192 [ 175 a7 [ %
41.2 s A 25 T 45 497
Retaining ring: Type C9 for axis Split pin: 63 x 18 L Retaining ring: Type C9 for axis Split pin: 63 x 18 L

* Retaining rings (split pins for 940) are included.



Rod End Nut
. Material: Carbon steel
Sl d
Al ~
T
|
ik 1
— ]
i 8]
(mm)
Partno. | fpleable | g | ¢ | D d H
NT-02 20 13 [15.0|125| M8x1.25 | 5
NT-03 | 25,32 | 17 |196(165| MI0x125| 6
NT-04 40 22 (254|210 M14x15| 8

Mounting Nut

Material: Carbon steel

& d.
@51 y
b
nl

Dimensions of Accessories Series CMZX

Clevis Pivot Bracket (For CM2XE(V))

Material: Carbon steel

L
LV
RLR oLC hole 134 LX
Ax\siggég
T
'—l_l
-
== b 1
L—v ¥
LF| LG
LE \2xoLD
LY
(mm)
Applicable Included pin
Partno. | * ot ize L ([LC|LD|LE|LF|LG(LH|LR|LT|LX|LY| LV part no.
CM-E020B| 20,25 |245| 8 [6.8|22 | 15|30 |30 |10 |3.2| 12 | 59 |184| CD-S02
CM-E032B| 32, 40 34 |10| 9 (25 |15|40 |40 |13 | 4 |20 | 75 | 28 | CD-S03

Note 1) A clevis pivot bracket pin and retaining rings are included.
Note 2) It cannot be used for the single clevis (CM2XC) and the double clevis (CM2XD).

Air Cylinders

- B mm  Clevis Pivot Bracket Pin (For CM2XE(V))

Partno. | tpleable | g | ¢ | p d H Material: Carbon steel

SN-020B 20 26 | 30 [255|M20x1.5| 8 3

SN-032B| 25,32 |32 | 37 [315|M26x15] 8 K]

SN-040B 40 41 |47.3|40.5|M32x2.0| 10 m L2

t L t
Trunnion Nut .
runnion Nu i
— Part no. /;pphcgble Das d Lt L. m i retlgiﬂ;der?n
Material: Carbon steel CIOEED 9 fing

CD-S02 20, 25 8557 7.6 245 | 19.5 1.6 0.9 | Type C 8 foraxis
CD-S03 | 32,40 0y 96 | 34 | 29 | 1.35 | 1.15 |TypeCi0foraxs

(mm)
Partno. | tpleable | g | ¢ | p d H
TN-020B| 20 |26 |28 [255| M20x15| 10
TN-032B| 25,32 |32 | 34 [315| M26x15 | 10
TN-040B| 40 |41 |45 [405/M32x2| 10

Note) Retaining rings are included.

Refer to the Best Pneumatics No. 3 (-XB12: External stainless steel cylinder) for stainless steel mounting brackets and accessories (some are not applicable.).

1208

Y

c
COX
KO

EHE

e
e
oK

WRF

INDEX




Series CM2X

With Single Clevis

° Z + Stroke CX
S B = oCD >
E)
T
o
TN ol
@
268 171205
75 40 6.8 x3.4
R 57
Rotation Angle (mm)
Bore size A° B° A° + B° + 90° Mounting Part no. | Applicable bore size | CX Z + Stroke CD | LX | LZ
(mm) 20 133
20 25 85 200 CM2XC CM-B032 25 10 137 9 | 44 60
25,32 21 81 192 (Single clevis) 32 139
40 26 86 202 CM-B040 40 15 177 10 | 49 65

With Rod Trunnion

Note) A pivot bracket pin and retaining rings are not included with the pivot bracket.

With Head Trunnion

Z + Stroke Z + Stroke TX
oCD oCD
L S — e
T ey B q
6.8 x3.4 26.8 17(205
7.5, 40
57
6.8x3.4 (mm)
Rod trunnion Head trunnion
Mounti Part no. Applicable b i X CcD LX Lz
ounting art no pplicable bore size 2+ Stoke 2+ Stoke
CM-B020 20 32 36 108 8 66 82
CM2XU/CM2XT 25 112
M-B032 4 4 74
(Rod/Head trunnion) c 03 32 0 0 114 9 %0
CM-B040 40 53 44.5 143.5 10 87 103
Note) A pivot bracket pin and retaining rings are not included with the pivot bracket.
Pivot Bracket Pivot Bracket Pin (For CM2XC)
—————
* Pivot brackets consists of a set of two brackets.
7.5 40 40 7.5
.34 34 [T
O #. Q,
@ & > S
7 2 ﬁ pr 9
} f
e} | | [re)
Y ,9&2 ‘b!’ Y g
[ S g & e (] I %I
S o B a
S S Q
s t I e
oCD 33 X 8 oCD 38 L2 m
0.05 Lo )) 0.05 7 S
t] L1 Nt
T T
28 ¥ ¥ 28
57 57 (mm)
(mm) Applicable Included
ool ) bore size Part no. Das d L1 L2 m t retﬁhrgng
CM-B020 o2 | g ) ) o 20to 32 | CDP-1 %2 | 86 | 25 [19.2]1.75 | 1.15 | TpeCoiorais
CM-B032 | 9 Note 1) A pivot bracket pin and retaining rings 0w
_CM-BO32 | are not included with the pivot bracket. 40 CD-S03 | 10507 | 9.6 | 34 |29 1.35 | 1.15 |Type C10foraxis
CM-B040 10 Note 2) Only for the trunnion Note) Retaining rings are included with the pivot bracket pin.

1209



Series CM2X

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and lts Mounting Height

Solid state auto switch

D-M9O1
D-M9COW
D-M9CA
~Hs
e
Allz| 8]
(24)
( ): Dimension of the D-M9JA

A and B are the dimensions from the end of the

head cover/rod cover to the end of the auto switch.
D-M901V
D-M9CIWV
D-M9OAV

Alln] B

(22

(): Dimension of the D-M9CIAV
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-H70/H7COW/H7NF/H7BA/H7C

~Hs
O SEE=E
[ F
A

D-G5NT
=Hs
@ @@@ ;S
- =l
3 A B
D-G39A/K39A
ZHS
A * wy
QS =B =u
A B

Reed auto switch

D-A90I
=Hs
(OIS = 151
Allzus| B
(22)
(): Dimension of the D-A96
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.
D-A9C1V

-

A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

Allz] B

D-C7/C8/C73C/C80C

Air Cylinders

CJ2

CM2

CA2

retainer

£
Lube-
JA

=i
-

| —— |
.
B

D-B5/B6/B59W
Hs
@ @q@@ el
- L
3 Al

D-A33A/A34A

o
Q=

1210

o0
|}
<=

(]
=
Q

=
=
==
=

INDEX




Series CM2X

Auto Switch Proper Mounting_; Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (mm)
Auto switch
model D-C70 D-A30A D-H70)
HAEIE) D-B50 D-C80 D-G39A D-H7C
S D-B64 D-C73C DB D-K39A D-H7OW DCER
D-C80C D-A44A D-H7NF
Boresize\| A B A B A B A B A B A B A B A B
20 I 95 | 7 55 | 1 0 7 6 4 | 3 | 05| o0 6 5 | 25 | 15
25 10 | 10 B 5 1 0 7 ® 4| 3 | 05| o0 5 5 | 25 | 15
32 15 | 105 | 75 | 65| 2 1 8 7 5 | 4 | 15 | 05 7 6 | 35 | 25
40 17.5 15.5 13.5 11.5 7 6 13 12 10 9 6.5 515] 12 1 8.5 75

Note) Adjust the auto switch after confirming the operating condition in the actual setting.

Auto Switch Mounting Height (mm)
Auto switch D-B50I p-c70
model| p-| H -
Wy | D-B64 D-C80 p.c7ac | D-A3DA
D-MoDAv | D-B5SW | D-H7O D-cgoc | D-G39A D-A44A
D-A9CIV D-G5NT D-H7OW D-K39A
D-H7C D-H7NF
Bore size Hs Hs Hs Hs Hs Hs
20 235 25.5 225 25 60 69.5
25 26 28 25 27.5 62.5 72
32 29.5 31.5 285 31 66 755
40 335 35.5 325 35 70 79.5

1211



Auto Switch Mounting Series CMZX

Minimum Stroke for Auto Switch Mounting

(mm)
Number of auto switches
Auto switch model o With 2 pcs. With n pcs. (n: Number of auto switches)
l C.
= Different surfaces Same surface Different surfaces Same surface g
(n-2) 55+35 (n -2
- Note 1) Note 1) 20 + 35 =~ +35(n-2) k=]
D-MorI 5 15 40 (=2 4.6, Lnes) (n=2,3,4,5..) £
— 2 >
D-M9CIW 10 15 Note 1) 40 Note 1) 20+35 022 55+ 35 (n—2) 3
(n=2,4,6..) N3 (n=2,34,5..) =
(-2 _ <
D-M9CJA 10 25 40 Note 1) 25+ 35 3 60 +35(n—2)
(n=2,4,6...)Nwd (n=2,3,4,5...)
(n-2) _
D-A9] 5 15 30 15+35 05 50 + 35 (n—2)
(n=2,4,6..) Note3) (n=2,3,4,5..)
(n-2) _
D-MoCIV 5 20 35 20+35 35+35(n-2)
(n=2,4,6..) Noe3) (n=2,8,4,5...)
(n-2) _
D-A9CIV 5 15 25 15+35 05 25+35(n-2)
(n=2,4,6..)Now3) (n=2,34,5..)
D-M9CIWV 10 20 35 20+35 052 35+35(n-2)
D-M9LIAV (h=2,4,6.) N3 (n=2,34,5..)
- (n-2) -
D-C70] 10 15 50 15+45 55 50 + 45 (n—2)
D-C80 (n=2,4,6..) N3 (n=2,3,4,5..)
D-H7O (h=2) -
D-H7OW 10 15 60 15+ 45 > 60 + 45 (n—2)
D-H7NF (n=2,4,6..) N3 (n=2,34,5.)
D-C73C (n-2) -
D-C80C 10 15 65 15450 (02 65 + 50 (n - 2)
D-H7C (h=2,4.6..) Ned) (n=2,3,4,5...)
D-B501/B64 10 15 75 15+50 (0=2) 75 + 55 (n-2)
D-G5NT (n=2,4,6..) N3 (n=2,3,4,5..)
(n-2) _
D-B59W 15 20 75 20+50 = 75+ 55 (n—2)
(n=2,4,6...)Nwd (n=2,3,4,5...)
D-A30JA/G39A 10 s 100 35+30(n-2) 100 + 100 (n—2)
D-K39A/A44A (n=2,3,4,5..) (n=2,34,5..)

Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 1) Auto switch mounting

With 2 auto switches

Y
Different surfaces Same surface X
CKC1
Auto switch model E(l.)KD
= The auto switch is mounted by slightly displacing it in a E(L)Ku
The proper auto switch mounting position is 3.5 mm inward | direction (cylinder tube circumferential exterior) so that the | Le——x-—
from the switch holder edge. auto switch and lead wire do not interfere with each other. cKn
D-M9O L
D-MOCIW Less than 20 stroke Note 2) Less than 55 stroke Note 2) [:KZZ"
D-M9CIA Less than 25 stroke Less than 60 stroke Note 2)
D-A90J — Less than 50 stroke Note 2) WRF
Note 2) Minimum stroke for auto switch mounting in styles other than those in Note 1. —
Operating Range
(mm) (mm)
Auto switch model poreise Auto switch model poteise
uio swieh mocel "0 [ 25 [ a2 | 40 ulo swishmocel "0 [ 25 [ 32 | 40
D-A91(V) 6 6 | 6 6 D-B59W 12 [12 [13 |13
D-M9O(V) D-H70/H7OW 4| a 45| 5
D-M9OIW(V) 35| 3 | 35| 3 D-G5NT/H7NF i
D-M9TJA(V) D-H7C 7 | 85] 9 [10
D-C701/C80 7 s |8 8 D-G39A/K39A 8 | 9 9 9
D-C73C/C80C
D-B501/B64
D-A3CIA/A44A S A I
# Values which include hysteresis are for guideline purposes only, they are not a guarantee (assuming
approximately +30% dispersion) and may change substantially depending on the ambient environment.
INDEX

1212




Series CM2X

Auto Switch Mounting Brackets/Part No.

Bore size (mm)

Auto switch model

220 225 232 240
g:m:gw()v) BM5-020 BM5-025 BM5-032 BM5-040
D-A9CI(V) (Asetofa,b,c,d) | (Asetofa,b,c,d) | (Asetofa,b,c, d) | (Asetofa,b,c,d)
D-MOTIA(V) BM5-020S BM5-025S BM5-032S BM5-040S

(Asetofb,c,d, e)

(Asetofb, c,d, e)

(Asetofb,c,d,e)

(Asetofb,c,d,e)

Switch bracket (Resin)

Auto switch

a| Transparent (Nylon) Note 1)

e|White (PBT) %
D-C70/C80
g:ﬁ;é‘”caoc BM2-020A BM2-025A BM2-032A BM2-040A
D-H7O0W (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-H7NF
D-H7BA BM2-020AS BM2-025AS BM2-032AS BM2-040AS

(A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)

D-B501/B64
D-B59W BA2-020 BA2-025 BA2-032 BA2-040
D-G5NT (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-G5NB
D-A3CIA/A44A Note 3) BM3-020 BM3-025 BM3-032 BM3-040
D-G39A/K39A (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)

Note 1) Since the switch bracket (made from nylon) are affected in an environment where alcohol,
chloroform, methylamines, hydrochloric acid or sulfuric acid is splashed over, so it cannot be used.
Please contact SMC regarding other chemicals.
Note 2) Avoid the indicator LED for mounting the switch bracket. As the indicator LED is projected from
the switch unit, indicator LED may be damaged if the switch bracket is fixed on the indicator LED.
Note 3) The D-A3CJA/A44A/G39A/K39A cannot be mounted on the CDM2[IP series centralized piping

type.

Band Mounting Brackets Set Part No.

Set part no.

Contents

BM2-OJO0A(S)
* S: Stainless steel screw

®Auto switch mounting band (c)
®Auto switch mounting screw (d)

BJ4-1

*Switch bracket (White/PBT) (e)
*Switch holder (b)

BJ5-1

*Switch bracket (Transparent/Nylon) (a)
*Switch holder (b)

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.

Refer to the WEB catalog or Best Pneumatics No. 3 for the detailed specifications.

Type Model Electrical entry Features
Reed D-B53/C73/C76 —
D-C80 Without indicator light
D-H7A1/H7A2/H7B Grommet (In-line) —
Solid state D-H7NW/H7PW/H7BW Diagnostic indication (2-color indication)
D-G5NT With timer

* With pre-wired connector is also available for solid state auto switches. For details, refer to the WEB catalog or Best Pneumatics No. 3.
+ Normally closed (NC = b contact) solid state auto switches (D-F9G/F9H) are also available. For details, refer to the WEB catalog or Best

Pneumatics No. 3.

+ Wide range detection type, solid state auto switch (D-G5NB) is also available. For details, refer to the WEB catalog or Best Pneumatics No. 3.

1213



Clean Series Low Speed Cylinder Series 10', 1 1'CM2X

How to Order

The type which is applicable for using inside the clean room graded Class 100 by making an actuator’s rod
section a double seal construction and discharging by relief port directly to the outside of clean room.
Since the external dimensions and applicable auto switches are the same as standard type, refer to the

WEB catalog or “Pneumatic Clean Series” catalog.

-[150]_|Z-M9BW]|

10]- C(D)M2X|40|

[
b
(7}
°
=
>
o
=
<

Clean series
- Wlth auto switch Number of
[10] Relief type (Built-in magnet) auto switches
(1] Vacuumtype | -
Low speed cylinder "gl 21968.
i C.
Mounting n o gcs
B Basic Bore sizee———
L Axial foot 20| 20mm Port thread i
F Rod flange 25| 25mm type Auto switch
G Head flange 32 32 mm Nil Rc n W\thc_>ut_ auto switch
BZ Boss-cut/Basic 40 40 mm ™ NPT (Built-in magnet)
Boss-cut/ G * For applicable auto switches,
Fz Rod flange L2 refer to page 1196.
Cylinder stroke (mm)
Clean series Bo(;:rii)ze Standard stroke (mm)
10 :g Rod end thread
(Retettype) 2 e e ]
40
20 25, 50, 75, 100, 125, 150, 200, 250, 300
11- 25
(Vacuum type) 32
40

Specifications

= Manufacture of intermediate strokes in 1 mm intervals is possible. (Spacers are not used.)

CJ2

DD
2 g

g

CA2

S
P AN

retainer

o

Bore size 10- (Relief type) | 11- (Vacuum type) MGP
(mm) 20 25 32 40 20 25 32 40
Fluid ‘ ‘ A‘ir ‘ ‘ ‘ coy
COX
Proof pressure 1.5 MPa
Maximum operating pressure 1.0 MPa
i operating pressure 0.035 MPa \ 0.025 MPa
" . Without auto switch: —10°C to 70°C
Ambient and fluid temperature With auto switoh: —10° to 60°6 (NO freezing) CLKD
Cushion Rubber bumper
Piston speed 1to 200 mm/s 0.5 to 200 mm/s E(L)KU
Piston rod size 08 210 012 014 08 [ o0 | o2 [ ol4 e
Rod end thread M8x1.25 | M10 x 1.25 | M14x15 | M8x1.25 | M10 x 1.25 [ miax15 | |CKQ
Stroke tolerance 4 mm —
Port size 1/8 I 14 ] 1/8 I 1/4 CKZ2N
Vacuum port, Relief port M5 x 0.8
WRF
T T TSR TR EEEEEEEEE A
1 Be sure to read before handling. 1
1 Refer to page 1574 for Safety Instructions. For Actuator and Auto Switch Precautions, refer to “Handling Precautions 1
I for SMC Products” and the Operation Manual on SMC website, http://www.smcworld.com 1
I' For the precautions in clean environments, refer to the WEB catalog or “Pneumatic Clean Series” catalog. J
\ Operating Precautions \ \ Maintenance
A\Warning /A\Caution
1. Do not rotate the cover. 1. Grease pack
- When installing a cylinder or screwing a pipe fitting into the port, the - When maintenance requires only grease, use the following part
coupling portion of the cover could break if the cover rotated. number to order.
- Grease pack part number:
A\ Caution CRX005 (5 o)
1. Be careful of the retaining ring to pop out. INDEX
- When replacing the rod seal, be careful of the retaining ring not to pop

out while removing it.

1214




(\)

1215



Mcnosx 300

Low Speed Cylinder
Double Acting, Single Rod

eries CQSX

212, 916, 620, 325

With auto switch
(Built-in magnet)

How to Order

] casx D

Low speed cylinder

Mounting

B | Through-hole/Both ends tapped common (Standard)
L Foot Note) Bore size
LC Compact foot 12 [ 12mm
F Rod flange 16 | 16 mm
G Head flange 20 | 20 mm
D Double clevis 25 | 25 mm

# Mounting bracket is shipped together with the product, (but not
assembled).

Cylinder stroke (mm)

Bore size Standard stroke
12,16 5, 10, 15, 20, 25, 30
20,25 5, 10, 15, 20, 25, 30, 35, 40, 45, 50

* Manufacturing of intermediate stroke

M9BW|

Auto switch

[ Nil [ without auto switch

+ For applicable auto switches,
refer to the table below.

Air Cylinders

Number of auto switches

Nil 2 pcs.
S 1pc.
n “n” pcs.

Cushion/Rod end thread
Nil Standard (Female rod end)
C With rubber bumper
M Male rod end

Action

n Double acting

+ Combination above is possible.

Built-in Magnet Cylinder Model

If a built-in magnet cylinder without an MGP
auto switch is required, there is no need

Intermediate strokes by the 1 mm interval are available by using

spacers with standard stroke cylinders. The overall length of cylinder

will be the same as the standard stroke with a longer one.

Example) 3 mm width spacer is installed in the standard cylinder
CQSXB25-50D to make the CQSXB25-47D.

to enter the symbol for the auto switch.
(Example) CDQSXL25-30D

Applicable Auto Switches/Refer to the WEB catalog or Best Pneumatics No. 3 for further information on auto switches.

Ma

e 5 o Load voltage Auto switch model | Lead wire length (m) PO E(L)Ku
. 8 ectrical | 5 iring re-wire B
Type| Special function £ . . 0.5 1|13|5 Applicable load
entry | £| (Output) DC AC Perpendicular|  In-line h connector
2 i (Ni) (M) (L) | @) S
3-wire (NPN) SV 12V MONV | MON | e [e|e[O[ o [, . o Cka
—_— 3-wire (PNP) ! M9PV M9P [ ] e e O o —
2-wire 12V M9BV M9B [ ] e @ O o — CKZ2N
%f_, oi e indicati 3-wire (NPN) 5V 12V MONWV | MONW [ ] ® @ O o IC cirout [
BE | e tioson | Grommet [ves SMre PNPY| 7" _ |[mePwv| mopw | @ [e]e@[O] O Relay. | [\WRF
25 2-wire 12V M9BWV | MOBW e (@@ O @) — PLC
o N LEEd skl
¥ . 3-wire (NPN) MINAV***| MONA o O|®@|O O .
5V,12V 5 = IC circuit
Potodisici S-wire (PNP) M9PAV™Z[MOPA**| O |O[@|O| O
2-wire 12V MOBAV***|M9BA***| O cle|O o _
Magnetc fidresistant (2-color incicaton) 2-wire (Non-polar) — P3DW**| @ |—|@®@ | ® o
§ 3-wire — | sv — A96V | A9 ® —|® —| — |Coimutl —
8E G . Yes| (NPN equivalent)
13 — rommef
2o L owire o4y | 1py 100V [ A93V | A93 o |—|e|jo]| — — | Relay,
s No 100Vorless| A90V A90 e |—|eo|— — |ICcircuit| PLC
=k Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
= Lead wire length symbols: 0.5 m - Nil  (Example) MONW + Solid state auto switches marked with “O” are produced upon receipt of order.
im- M (Example) MONWM «+ The D-P3DW( is only compatible with 825.
L  (Example) MONWL Itis mounted away from the port side to avoid interference with fittings.
Z (Example) MONWZ
= Since there are other applicable auto switches than listed, refer to page 1223 for details.
= For details about auto switches with pre-wired connector, refer to the WEB catalog or Best Pneumatics No. 3.
For the D-P3DWJ, refer to the WEB catalog or Best Pneumatics No. 3.
= Auto switches are shipped together, (but not assembled).
Note) The D-A90IV/MOLIV/MICIWV/MILIAV auto switches may not be mounted on the port side depending on the cylinder stroke or fitting size for piping. Please consult with SMC
separately.
INDEX

1216




Series CQSX

Symbol
Single rod, Without cushion

Single rod, Rubber bumper

| APrecautions

Specifications

Bore size (mm)

12 16 [ 20

25

Type Pneumatic (Non-lube)
Action Double acting, Single rod
Fluid Air

Proof pressure 1.5 MPa
Maximum operating pressure 1.0 MPa

Ambient and fluid temperature

Without auto switch: —10°C to 70°C
With auto switch: —~10°C to 60°C

(No freezing)

Cushion

None, Rubber bumper

Rod end thread

Female thread

Stroke length tolerance

+1.0 Note)
0

Piston speed

212, 16: 1 to 300 mm/s
@20, 825: 0.5 to 300 mm/s

Note) Stroke length tolerance does not include the amount of bumper change.

Minimum Operating Pressure

Unit: MPa

Bore size (mm)

[ 12 [ 16 [ 20 [ 25 |

Minimum operating pressure ‘ 0.03 ‘ 0.03 ‘ 0.025 ‘ 0.025 ‘

Mounting Brackets/Part No.

1 Be sure to read before handling. Refer |
1 to page 1574 for Safety Instructions. 1
I For Actuator and Auto Switch Precau- |
1 tions, refer to “Handling Precautions 1
1 for SMC Products” and the Operation 1
1 Manual on SMC website, http:/www. |
1 smcworld.com 1

\ Retaining Ring Installation/Removal
/\Caution

. For installation and removal, use an appropriate pair
of pliers (tool for installing a type C retaining ring).
Even if a proper plier (tool for installing type C
retaining ring) is used, it is likely to inflict damage
to a human body or peripheral equipment, as a
retaining ring may be flown out of the tip of a
plier (tool for installing a type C retaining ring).
Be much careful with the popping of a retaining
ring. Besides, be certain that a retaining ring is
placed firmly into the groove of rod cover before
supplying air at the time of installment.

-

»

\ Maintenance
A\Caution

1. Replacement parts/Seal kit
Order it in accordance with the bore size.

Bore size y
(mm) Kit no. Contents
12 CASX12-PS | piston seal: 1pc.
16 | CQSX16-PS | Rod seal: 1 pe.
20 CQSX20-PS | Tube gasket: 1pc.
25 cQsx25-ps | Grease pack (10 g):1 pe.

N

. Grease pack
When maintenance requires only grease, use
the following part numbers to order.
Grease pack part number:
GR-L-005 (5 g)
GR-L-010 (10 g)
GR-L-150 (150 g)

1217

Bo(ﬁr:i)ze Foot Note 1) Compact foot Flange Double clevis
12 CQs-Lo12 CQs-LCo12 CQsS-Fo12 CQs-Do12
16 CQs-Lo16 CQs-LCo16 CQsS-Fo16 CQSs-Do16
20 CQs-L020 CQS-LC020 CQSs-F020 CQs-D020
25 CQs-L025 CQS-LC025 CQS-F025 CQs-D025

Note 1) Order two foots per cylinder.

Note 2) Parts belonging to each bracket are as follows.
Foot, Compact foot, Flange: Body mounting bolt

Double clevis: Clevis pin, Type C retaining ring for shaft, Body mounting bolt




Low Speed Cylinder: Double Acting, Single Rod Series CQSX

Mounting Bolt for CQSX/Without Auto Switch

Mounting method: Mounting bolt for through-hole
mounting style of the CQSXB is
available as an option.

Refer to the following for ordering procedures.

Order the actual number of bolts that will be used.

Example) CQ-M3X25L 4 pcs.

i

Note) The appropriate flat washer must be used for
through-hole mounting.

Mounting Bolt for CDQSX/With Auto Switch

Mounting method: Mounting bolt for through-hole
mounting style of the CDQSXB is
available as an option.

Refer to the following for ordering procedures.

Order the actual number of bolts that will be used.

Example) CQ-M3X30L 4 pcs.

E Mounting bolt

==

D

Note) The appropriate flat washer must be used for
through-hole mounting.

Accessories

For accessory bracket for the CQS series, refer
to page 1233, since it is commonly used with
the CQ2 series.

« Single knuckle joint
* Double knuckle joint

* Knuckle pin
* Rod end nut

Cylinder model Cc D |Mounting bolt part no. Cylinder model Cc D |Mounting bolt part no.
CQSXB12-5D 25 | CQ-M3X25L CQSXB20-30D 50 | CQ-M5X50L
10D 30 X30L 35D 55 X55L 2
18D | |35 XasL 40D | 65 | 60 X60L §
20D 40 X40L 45D 65 X65L =
25D 45 X45L 50D 70 X70L 5'
Mounting bolt 30D 50 X50L CQSXB25-5D 30 | cQ-M5X30L 5
CQSXB16-5D 25 | CQ-M3X25L 10D 35 X35L
10D 30 X30L 15D 40 X40L
15D 35 X35L 20D 45 X45L
200 | *° [w0 X40L 25D 50 X50L
25D 45 X45L o0 | °° s X56L
30D 50 X50L 35D 60 X60L
CQSXB20-5D 25 | CQ-M5X25L 40D 65 X65L
10D 30 X30L 45D 70 X70L MB
15D | 65 | 35 X35L 50D 75 X75L cAz
20D 40 X40L Material: Chromium molybdenum steel
25D 45 X451 Surface material: Zinc chromated Egg
Lube-
retainer
JA
MXH
mxa
MGP
Cylinder model Cc D {Mounting bolt part no. Cylinder model Cc D |Mounting bolt part no.
CDQSXB12-5D 30 | CQ-M3X30L CDQSXB20-30D 60 | CQ-M5X60L gg;
10D 35 X35L 35D 65 X65L
15D 40 X40L 40D| 65 | 70 X70L CKD1
200 *° [ 45 X45L 45D 75 X75L IE
25D 50 X50L 50D 80 X80L ( )
30D 55 X55L CDQSXB25-5D 40 | CQ-M5X40L I:(I.)KU
CDQSXB16-5D 30 | CQ-M3X30L 10D 45 X45L —————
10D 35 Xas5L 15D 50 xso.  |GKQ
15D 40 X40L 20D 55 Xs5L [ ——
65 CKZ2N
20D 45 X45L 25D 85 60 X60L
25D 50 X50L 30D 65 X65L WRF
30D 55 X55L 35D 70 X70L
CDQSXB20-5D 35 | CQ-M5X35L 40D 75 X75L
10D 40 X40L 45D 80 X80L
15D| 6.5 | 45 X45L 50D 85 X85L
20D 50 X50L Material: Chromium molybdenum steel
25D 55 X551 Surface material: Zinc chromated
INDEX

1218




Series CQSX

Dimensions: 212 to 925

* For the auto switch mounting position and its mounting height,
refer to page 1222.

Standard (Through-hole/Both ends tapped common): CQSXB/CDQSXB

212
Auto switch
. Minimum lead wire
2x4x00B H thread effective depth C 2xM5x0.8 bending radius 10
@16  counterbore depth RB 2 x 4 x OA effective depth RA N
<
[=2]
3
o
£
=z
T Q
x
i —— ~
i
H | —— ]
Flat washer
4 pes.
L B + Stroke
A + Stroke
220, 025
Male rod end
Width across flats B1
MM T
T\ -
\_/7 swe])
I
C1
X
L1
Male Rod End (mm)
Boresize | g, | ¢ | py L MM X
(mm)
12 8 9 4 14 M5x0.8 10.5
- How to calculate the length with intermediate stroke 16 10]10] 5 15.5 M6 x 1.0 12
Spacer installation type - The dimensions will be identical to those of the 20 13|12 ] 5 18.5 M8 x 1.25 14
nearest long stroke. 25 17 115 ]| 6 225 M10 x 1.25 17.5
Standard (mm)
Bore size| Standard | Without auto switch | With auto switch
stroke c D E F H | K L M| N OA OB Q |[RA|RB| T
o | mm | A | B | A | B

12 5t030 | 205 17 255 22 6 6 |25 | 5 |[M3x05|32 | 5 |35|1565/35|[M4x0.7[65|75| 7 4
16 5t030 | 20.5 17 25.5 22 8 8 |29 | 5 [M4x0.7| 38 | 6 [35)|20 |35 |M4x07|65|75]| 7 4 105
20 510 50 24 19.5 34 29.5 7 |10 | 36 |55 |[M5x08| 47 | 8 |45 |255|54 |M6x1.0| 9 9 10| 7

25 5 to 50 275 | 225 | 375 | 825 | 12 [ 12 | 40 |55 |M6x1.0| 52 | 10 | 5 |28 |54 |[M6x1.0| 9 110 | 7 1
Note 1) Threaded through-hole is used for the standard of 812 and 16 with a 5 mm stroke and 20 with 5 to 15 mm strokes and @25 with 5 and 10 mm

strokes and 920 with auto switch built-in magnet with a 5 mm stroke.

Note 2) Rubber bumper type has the same dimensions as those indicated above.
+ For details about the rod end nut and accessory brackets, refer to page 1233.

1219



Low Speed Cylinder: Double Acting, Single Rod Series CQSX

Dimensions: 212 to 925

Foot: CQSXL/CDQSXL

Male rod end

L B + Stroke Special cap bolt
e il
-}
BT T
E
H= =2
l‘.ﬁ f: x| Le
LS + Stroke
A + Stroke

L1

Compact foot: CQSXLC/CDQSXLC

L

A + Stroke
B + Stroke

Special cap bolt

!

Male rod end

t
4xoLD /L |x |

L

LE e

Male rod end

A+ Stroke

Foot (mm)
Bore size |Standard stroke|Without auto switch| With auto switch L L1
(mm) A B [LS| A B | LS »
12 51030 353 | 17 5 1403 | 22 10 | 135 | 24 :ﬁ
16 51030 353 | 17 5 403 | 22 10 | 185|255 .g
20 5to 50 412|195 | 75 | 512 295|175 | 145 | 285 i
25 51to 50 447 | 225 | 75 | 547 |325|175| 15 | 325 (8]
=
Bore size =
(mm) LD | LG | LH LT | LX | LY | LZ X Y <
12 45 | 2.8 17 2 34 | 295 44 8 4.5
16 45 | 28 19 2 38 |335]| 48 8 5
20 6.6 4 24 3.2 48 42 62 9.2 | 58
25 6.6 4 26 | 32 | 52 46 66 | 10.7| 5.8

Compact Foot

Foot bracket material: Carbon steel
Surface treatment: Nickel plating

Rod end nut* /|

.
-
[§)

Bore size |Stroke range|Without auto switch| With auto switch L
(mm) (mm) A|[B|LS|A|B]|Ls
12 510 30 446 | 17 | 35.6 |49.6 | 22 |40.6 | 135 | 24
16 510 30 456 | 17 | 356 |50.6 | 22 | 40.6 | 13.5 | 25.5
20 5to 50 57.5|19.5 | 45.9 | 67.5 | 29.5 | 55.9 | 14.5 | 28.5
25 5to 50 60.5 | 22.5 | 48.9|70.5 | 325|589 | 15 | 325 JA
Bore size
LD | LH | LT | LX | LY | LZ X Y
{mm) MXH
12 4.5 17 2 165|295 | 25 93 | 45
16 4.5 19 2 20 [335| 29 | 93 5 MXQ
20 66 | 24 | 32 |255| 42 36 |13.2| 58
25 66 | 26 | 32 | 28 46 40 | 132 5.8
Compact foot bracket material: Carbon steel MGP
Surface treatment: Zinc chromated ooy
CKO1
Rod Flange () GLKD
Bore size |Standard stroke |Without auto switch |With auto switch
B M R O L
12 51030 305| 17 |355| 22 | 45 | 55 | 25 45 [
16 51030 |305| 17 |355] 22 | 45 | 55 | s0 | 45 |GKQ
20 5to 50 34 |195| 44 |295]| 6.6 8 39 48
25 5t050 |37.5|225|475[325] 66 | 8 | 42 | 52 |CKI2N
Bore size ———
FZ L L
(mm) ! WRF
12 55 | 135 | 24
16 55 | 13.5| 25.5
20 60 | 145|285
25 64 15 | 32.5
Flange bracket material: Carbon steel
Surface treatment: Nickel plating
= For details about the rod end nut and accessory brackets, refer to page 1233.
INDEX

1220



Series CQSX

Dimensions: 212 to 925

Head flange: CQSXG/CDQSXG Head Flange (mm)
e rh Bore size |Standard stroke | Without auto swich [With auto switch
= J (mm) (mm) A B A B
hE==: P & 12 51030 26 17 31 22
| 16 510 30 26 17 31 22
20 5 to 50 32 |19.5| 42 | 295
L B isé‘{::fe FT L FX 2xoFD 25 5 to 50 35.5 | 22.5 | 45.5 | 32.5
Bore size
Male rod end (mm) FD | FT | FV | FX | FZ L L1
12 45 | 55 | 25 45 55 | 35 14
16 45 | 55 | 30 45 55 | 835 | 155
20 6.6 8 39 48 60 | 45 | 185
25 6.6 8 42 52 64 5 |225
Fod end nut* Flange bracket material: C_arbon stgel
Surface treatment: Nickel plating
Double clevis: CQSXD/CDQSXD Double Clevis (mm)
Cap bolt Bore size |Standard stroke| Without auto switch| With auto switch
(mm) (mm) A[B|CL|A|B]|CL
H—i7 e 12 51030 | 405 | 17 | 345|455 | 22 | 395
é 5 71&: ) 16 510 30 415 | 17 | 355|465 | 22 | 40.5
1 é’ = 20 5 to 50 51 |19.5| 42 61 |29.5| 52
i 25 5 to 50 575 | 225|475 | 675|325 | 575
CTLcu] =
Ll Bypuoe fCW L BR Boresize | cp | cp | T | cu |cw|cx | cz| L | Lt | RR
[ A:stoke (mm)
12 12 5 4 7 14 5 10 3.5 14 6
Male rod end 16 14 [ 5 [ 4 [10[ 15 [65] 12 [ 35 [155] 6
20 20 8 5 12 18 8 16 | 45 | 185 9
25 24 10 5 14 20 10 20 5 |225] 10
Double clevis bracket material: Carbon steel
Surface treatment: Nickel plating
Rod end nut*
Lu = For details about the rod end nut and accessory brackets, refer to page 1233.

1221



Series CQSX
Auto Switch Mounting

Minimum Stroke for Auto Switch Mounting

(mm)
. ' : D-MOCIWV i D-M9CIW ' ! -
Number of auto switches D-MoCIV D-A9CIV D-MOCIAV D-A90 D-M9TIA D-M90 D-P3DW Note !
With 1 pc. 5 5 10 10(5) 15(10) 15(5) 15
With 2 pcs. 5 10 10 10 15(10) 15(5) 15

Note 1) 925 is only applicable for the D-P3DW.

Note 2) The dimensions stated in () shows the minimum stroke for the auto switch mounting when the auto switch does not project from
the end surface of the cylinder body and hinder the lead wire bending space. (Refer to the figure on the right.) *@
Order auto switches separately.

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

12 Mounting 216 to 625 Mounting
a) b) a) b)

D-A9CIV
D-MoCIV
D-M9CIWV
D-M9CA

% € | Air cylinders

[x]
[}
-

g

CA2

S
PN

retainer

o

MXH
D-M9O1
D-M9CIW MXQ
D-MOCIAV A R w s 5 w  ugp
17| : 1
coy
:W CLX
= =
X CKC1
w A 8 w_|oukD
= Voo
5 ! Ly (C(LIKU
= CKQ
CKZ2N
225 L
e B WRF
e
[T —
A
Auto Switch Proper Mounting Position (mm)
Auto switch D-M9CIV/MIIWV
el D-M9CI/M9CIW D-M9CIA D-MOTIAV D-A90] D-A9CIV D-P3DW
Bore size A B w A B w A B Hs A B w A B Hs A B Hs
12 55| 385 | 55 55|35 | 75 55| 45 |195| 1.5 | 0 [1514 | 15 | 0 17 — — —
16 6 4 6 6 4 8 6 4 215| 2 0 [2]45 | 2 0 19 — | = =
20 10 75 | 25 | 10 75 | 45 | 10 75 | 25 6 35 |[-15]1] 6 35 225 — | — | —
25 11 95 | 05 | 11 95 | 25 | 11 95 | 27 7 55 |[-85]-1] 7 55 | 245| 15 0 32
[ ]: Denotes the dimensions of the D-A96.
Note 1) Adjust the auto switch after confirming the operating condition in the actual setting.
Note 2) The product is shipped out of the factory in installation state “a)”. To change the electrical entry direction of the switch on the head, refer to installation state “b)”. |INDEX
Note 3) Negative figures for W indicate an auto switch is mounted inward from the edge of the cylinder body.

1222




Series CQSX

Operating Range

(mm)

Bore size
12 | 16 | 20 | 25

Auto switch model

D-M9CI/M9CIV
D-M9CIW/MOOIWV 3 |4 55| 45
D-M9CIA/MOLIAV
D-A9C/A9CIV 6 | 75|10 |10
D-P3DW — | —1—155
* Values which include hysteresis are for guideline purposes only, they
are not a guarantee (assuming approximately £30% dispersion) and
may change substantially depending on the ambient environment.

o e e e e e e e e e e e e e e e e R e e A A A e e M e e e e e e e e e e e e e e e

I Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.

= With pre-wired connector is also available for solid state auto switches. For details, refer to the WEB catalog or Best Pneumatics No. 3.
[ I Normally closed (NC = b contact) solid state auto switches (D-F9G/F9H) are also available. For details, refer to the WEB catalog or Best

1

1

1

1 Pneumatics No. 3. 1
|

L e e e e e e o e e

APrecautions

B e

1 Be sure to read before handling. 1
1 Refer to page 1574 for Safety Instructions. For Actuator and Auto Switch Precautions, refer to “Handling Precautions 1

I' for SMC Products” and the Operation Manual on SMC website, http://www.smcworld.com 1

e |

« If the cylinder is used in an application in
which a magnetic material is placed in close
contact around the cylinder as shown in the
figure on the right (including cases in which
even one of the sides is in close contact) the
operation of auto switches could become
unstable. Therefore, please consult with SMC
for this type of application.

)
Magnetic substance

//é‘/ Magnetic substance ==
/ ;M 771\ (Iron plate etc.)
7

1223



Clean Series Low Speed Cylinder

How to Order

Series 10-,11-CQSX

u/_

The type which is applicable for using inside the clean room graded Class 100 by making an actuator’s rod
section a double seal construction and discharging by relief port directly to the outside of clean room.
Since the external dimensions and applicable auto switches are the same as standard type, refer to the
WEB catalog or “Pneumatic Clean Series” catalog.

[10]-C(D)QSX[B][20]-[30|D[ |-[M9BW]

Clean series

Relief type
Vacuum type

With auto swnch[ Low speed cylinder

(Built-in magnet)

Mounting

[ B_] Through-hole/Both ends tapped (Standard) |

Cylinder stroke (mm) e———

Bore size
12 12 mm
16 16 mm
20 20 mm
25| 25mm

Specifications

make the 10-CQSXB25-47D.

Number of
auto switches
Nil 2 pcs.
S 1 pe.

n “n” pes.

Auto switch

+ For applicable auto switches,
refer to page 1216.

Without auto switch
(Built-in magnet)

) * Auto switches are shipped together,
Bore size Standard stroke (but not assembled).
12,16 5, 10, 15, 20, 25, 30
20 5,10, 15, 20, 25,
25 30, 35, 40, 45, 50 Rod end thread
* Manufacturing of intermediate stroke ‘ Nil ‘ Standard (Female rod end) ‘
Intermediate strokes by the 1 mm interval are
available by using spacers with standard stroke ‘ M ‘ Male rod end ‘
cylinders. The overall length of cylinder will be the
same as the standard stroke with a longer one. Acti
Example) 3 mm width spacer is installed in the ction
standard cylinder 10-CQSXB25-50D to n Double acting

Air Cylinders

. 10- (Relief type) 11- (Vacuum type)
I8 ElF (i) 2 | 1 | 20 | 25 12 | 1% | 20 | 25
Fluid Air Air
Proof pressure 1.5 MPa 1.5 MPa
operating pressure 1.0 MPa 1.0 MPa
operating pressure 0.04 MPa I 0.035 MPa 0.03 MPa I 0.025 MPa
" . Without auto switch: —10°C to 70°C Without auto switch: —10°C to 70°C
Ambient and fluid temperature With auto switch: ~10°C to 60°C With auto switch: ~10°C to 60°C ‘E(UKD
Piston speed 1 to 200 mm/s 1 to 200 mm/s 0.5 to 200 mm/s [
Piston rod size 06 28 210 212 26 o8 210 012 E(I.)KU
Rod end thread [Female thread| M3x 0.5 M4 x 0.7 M5 x 0.8 M6 x 1.0 M3 x 0.5 M4 x 0.7 M5 x 0.8 M6x1.0 |———
| Malethread | M5x0.8 M6x1.0 | M8x1.25 | M10x1.25 | M5x08 M6x1.0 | M8x1.25 | Mox1.25 | |GKQ
Stroke tolerance £ mm “omm —_—
Port size M5 x0.8 M5 x 0.8 [:Kzz"
Vacuum port, Relief port M5 x 0.8 M5 x 0.8
WRF
/\Precautions o
P |
1 Be sure to read before handling. 1
1 Refer to page 1574 for Safety Instructions. For Actuator and Auto Switch Precautions, refer to “Handling Precautions 1
I for SMC Products” and the Operation Manual on SMC website, http://www.smcworld.com 1
I' For the precautions in clean environments, refer to the WEB catalog or “Pneumatic Clean Series” catalog. J
\ Operating Precautions \ \ Maintenance
AWarning /A\Caution
1. Do not rotate the cover. 1. Grease pack
- When installing a cylinder or screwing a pipe fitting into the port, the - When maintenance requires only grease, use the following part
coupling portion of the cover could break if the cover rotated. number to order.
ACaution Grease pack part number:
GR-X-005 (5 g)
1. Be careful of the retaining ring to pop out.
- When replacing the rod seal, be careful of the retaining ring not to pop INDEX
out while removing it.

1224




Low Speed Cylinder: Standard Type
Double Acting, Single Rod

eries CQ2X

232, 040, 850, 063, 380, 3100

How to Order

] cazx%g D
[ cDQ2X (B 30D M9BW]|

T Number of auto switches
With auto switch Nil 2 pes.
(Built-in magnet) [ 1pc.

n “n” pes.

Low speed cylinder
Auto switch

Mounting [ NiL_] Wihout auto swieh |

B |Through-hole (Standard)|| F Rod flange « For applicable auto switches,
A Both ends tapped G Head flange refer to the table below.
L Foot Note) D | Double clevis )
LC Compact foot —— o Cushion/Rod end thread
# Mounting bracket is shipped together with . Nil Standard (Female rod end)
the product, (but not assembled). Action C With rubber bumper
Bore sizee——m—————— | [[D [ Double acting M Male rod end
32| 32mm Port thread type + Combination above is possible.
40| 40mm Nil | Re Cylinder stroke (mm) . .
50 | 50 mm TN | NPT | 032t0o0100 Refer fo ‘Standard Strokes' on Built-in Magnet Cylinder Model
G page - P - N
63 | 63mm W.I;: PP T———— If a built-in magnet cylinder without an
80| 80mm * M'th;“'a:“ 0 switch, 032, 5 strokes: auto switch is required, there is no need
100| 100 mm The symbol is Nil when ordering the to enter the symbol for the auto switch.
M thread. (Example) CDQ2XL32-50D
Applicable Auto SwitchesyRefer to the WEB catalog or Best Pneumatics No. 3 for further information on auto switches.
A =3 o Load voltage Auto switch model Lead wire length (m) Pa—
Type Special function EEiilE] g paag) . 05| 1|3 /| 5 [None [EIE Applicable load
entry |8 (Output) DC AC | Pempendiouar| In-ine | i | v 1y | 2 [Ny connector
3-wire (NPN) 5V, MONV MON ® | ®/® O/ —| O G cirouit
Grommet 3-wire (PNP) 12V M9PV M9P ® | ®@/®@ O|—| O
5 2-wire M9BV M9B ® ®® O/—| O _
.‘; Connector 12v J79C = o — o006 —
7 oi Jic indicat 3-wire (NPN) 5V, MONWV | MONW | ®© (@ ®@ | O | — O C circuit
o iagnostic indication M= (PNPY | 12V —
= (2-color indication) 3-wire (.PNP) MO9PWV | M9PW | @ (@ @ | O ] Relay,
: Yes|  2-wire 24V | 12V — MOBW © @/ @ O|—| O — PLC
] ) 3-wire (NPN) sV 12y M9NAV‘ “IMONA***| O |[O|@|O[—] O 1C circuit
U (2‘_";3}5{ \rr?;i';?i?n) Grommet | [3-wire (PNP) ' MOPA***| O [O|@|O|—| ©
5 2-wire 12V M9OBAV***| M9BA™**| O |O | @ |O|—| O —
D | With diagnostic output (2-color indication) 4-wire 5V, 12V = F79F ® | — @& O|— @] IC circuit
Magnetic field resistant 2-wire _ - P3DW | ® [—|® ® —| O _
(2-color indication) (Non-polar) — PaDW** | — [— @ |@|—=| ©
3-wire .
E (NPN equivalent) | — 5V — A%V A9%6 ® | —|®| —(—| — |[Ccircuit|f —
= Grommet | — [200v ] A72 | A72H (e |—|@|—|—| — _
° —_— L 12V | 100V | A93V A93 o —\ o0 — —
g No 2.wire 5V,12V]100Vorless| A90V A90 e —| 0 —|— — IC circuit| Relay,
] Connector €| 24V | 12V | — A73C — o | —|oj0oj0 -— — | PLC
& No 5V,12V]24Vorless| A80C — o |—|eoe|@|@®@] — [iCcirui
Diagnostic indication (2-color indication) | Grommet |Yes — — A79W — o —|o | —|— — —
== Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
= Lead wire length symbols: 0.5m - Nil  (Example) MONW + Solid state auto switches marked with “O” are produced upon receipt of order.
im M (Example) MONWM ++ The D-P4DW is compatible with 40 to 2100.
3m - L  (Example) MONWL ++ Only the D-P4DW is assembled at the time of shipment.
5m - Z (Example) MONWZ
None - N (Example) J79CN

= Since there are other applicable auto switches than listed, refer to page 1238 for details.

= For details about auto switches with pre-wired connector, refer to the WEB catalog or Best Pneumatics No. 3. For the D-P3DW, refer to the WEB catalog or Best Pneumatics No. 3.
= When the D-A90](V)/M9TI(V)/MIWOI(V)/MITIA(V) with 32 to 850 are mounted on a side other than the port side, order auto switch mounting brackets separately. Refer to page 1237 for details.
= Auto switches are shipped together, (but not assembled).

1225



Symbol
Single rod, Single rod,
Without cushion Rubber bumper

Low Speed Cylinder: Standard

Double Acting, Single Rod

Type

Series CQ2X

Specifications
Bore size (mm) 32 [ 4 [ s0 [ e3 [ 8 [ 100
Type Pneumatic (Non-lube)
Fluid Air
Proof pressure 1.5 MPa
Maximum operating pressure 1.0 MPa

Ambient and fluid temperature

Without auto switch: ~10°C to 70°C (No freezing)
With auto switch: —10°C to 60°C 9

Air Cylinders

Cushion

None, Rubber bumper

Rod end thread

Female thread

+1.0 mm Note)
0

Stroke length tolerance

— ==

Through-hole

Piston speed

0.5 to 300 mm/s

| APrecautions |

P -
1 Be sure to read before handling. Refer to page 1
V1574 for Safety Instructions. For Actuator and 1
1 Auto Switch Precautions, refer to “Handling 1
1 Precautions for SMC Products” and the Operation
1 Manual on SMC website, http:/lwww.smcworld.com §

\ Retaining Ring Installation/Removal \
ACaution

. For installation and removal, use an appropriate

-

Note) Stroke length tolerance does not include the amount of bumper change.

- . MB
Minimum Operating Pressure I:
= ’7
Unit: MPa cAz
Bore size (mm) 2 | 40 50 63 80 100 02
Minimum operating pressure 0.025 0.01 Qs

Standard Strokes

Bore size (mm) Standard stroke (mm)

* Manufacturing of intermediate stroke

w

5, 10, 15, 20, 25, 30, 35,

strokes by the 1 mm interval are available

e

. . . N L by using spacers with standard stroke cylinders. But, as
ﬁﬁg)m pliers (tool for installing a type C retaining 32,40 40, 45, 50, 75, 100 for 240 to 6100 with bumper, please consult with SMC qu
2. Even if a proper plier (tool for installing type C 50, 63 10, 15, 20, 25, 30, 35, Example) 18 mm width spacer is installed in the
retaining ring) is used, it is likely to inflict damage 80, 100 40, 45, 50, 75, 100 standard cylinder CQ2XB40-75D to make the MGP
to a human body or peripheral equipment, as a CQ2XB40-57D.
retaining ring may be flown out of the tip of a coy
plier (tool for installing a type C retaining ring). =
Be much careful with the popping of a retaining Mountlng BraCKetSIPart NO. CLX
ring. Besides, be certain that a retaining ring is CKD1
placed firmly into the groove of rod cover before
supplying air at the time of installment. Bore size (mm) Foot Note 1) Compact foot Flange Double clevis Note 3) E(l.)KD
Pneumatic Circuit ‘ 32 CQ-L032 CQ-LC032 CQ-F032 ©Q-D032
- " 40 CQ-Lo40 CQ-LCo40 CQ-F040 CQ-D040 D I. Ku
1. Pressure supplied to cylinder should be set 50 CQ-L050 CQ-LC050 CQ-F050 CQ-D050 ( )
affordably. When the operating pressure is low,
low speed operation may not be stable 63 CQ-Lo63 CQ-LCO63 CQ-F063 CQ-D063 cKn
depending on a load condition. Besides, the 80 CQ-L080 CQ-LCo80 CQ-F080 CQ-D08o
maximum speed may be restricted depending on 100 CQ-L100 CQ-LC100 CQ-F100 CQ-D100
a pneumatic circuit, or operating pressure. Note 1) Order two foots per cylinder. BKZZH
Note 2) Parts belonging to each bracket are as follows. —
i Foot, Compact foot, Flange: Body mounting bolt, Double clevis: Clevis pin, Type C retaining ring
‘ Maintenance for shaft, Body mounting bolt WRF
Acaution Note 3) A clevis pin and retaining rings are included with the double clevis.
1. Replacement parts/Seal kit
Order it in accordance with the bore size.
Bore size -
(mm) Kit no. Contents
32 CQ2X32-PS | . .
Piston seal: 1 pc.
40 CQ2X40-PS
50 CQSX50-Ps | Rod seal: 1 pc.
63 CQ2X63-PS | Gasket: 1 pe.
80 CQ2X80-PS
100 CQ2X100-PS Grease pack (10 g): 1 pc.
2. Grease pack
When maintenance requires only grease, use
the following part numbers to order.
Grease pack part number:
GR-L-005 (5 g)
GR-L-010 (10 g) INDEX
GR-L-150 (150 g)

1226



Series CQ2X

Bore Size

232 to 050

Both ends tapped: CQ2XA/CDQ2XA

Oithread R rll
Both Ends Tapped (mm)
Bore size
Standard (Through-hole) CQ2XB/ = — "‘ﬁ {mm) O1 R
CDQ2XB i i 32 | Mex10 | 10
Lead wire min. bending radius 10 40 M6 x 1.0 10
Auto switch
H thread effective depth C g x “g ‘h"’“tghb a . 50 | M8x1.25 | 14
x @0 counterbore 2xP (Re, NPT, G) [~ 7] E
(Port size)
L=
? & 3
L B + Stroke
A + Stroke
E J
w
Male rod end
MM
A ()
\ @
@ Male Rod End (mm)
Width across flats B1 | Bo(l:nii)ze B1|C1|H1|Ls MM X
Ct 32 |22|205| 8 |285] M14x 1.5 |235
X 40 |22|205| 8 [285| M14x 1.5 |235
L1 50 |27|26|11|335] M18x 1.5 |285
Standard  For the auto switch mounting position and its mounting height, refer to page 1235. (mm)
Bore size Stroke range Without auto switch With auto switch
(mm) (mm) A B F P Q A B F P Q © o = i L J 2 L L
5 30 | 23 55| M5x0.8 |[11.5
32 10 to 50 75 1/8 105 40 | 33 | 75| 1/8|10.5| 13 | 16 | 45 |(M8x1.25| 60 |45 | 14 | 7 | 34
75, 100 40 | 33 i )
5to 50 36.5|29.5
40 75, 100 265395 8 1/8 11 |46.5(395| 8 | 1/8| 11 | 13 | 16 | 52 (M8x1.25| 69 | 5 | 14 | 7 | 40
10to 50 38.5|30.5
50 75, 100 285405 10.5 1/4 10.5(48.5|40.5(10.5| 1/4 |10.5| 15 | 20 | 64 |[M10x15| 86 | 7 17 | 8 | 50
Bk o) Note 1) Dimensions for rubber bumper are same as the standard type above.
(mm) N o S|U|w| |z « For details about the rod end nut and accessory brackets, refer to page 1233.
Note 2) Refer to page 1226 for calculation of the longitudinal dimension of the
intermediate strokes since there is the spacer-installed type.
32 5.5 | 9depth 7 |58.5|31.5/49.5| 14
40 5.5 |9depth7 | 66 | 35 | 57 | 14
50 6.6 [11depth8| 80 | 41 | 71 | 19

1227



Bore Size

232 to 050

Foot: CQ2XL/CDQ2XL

G
© %
¢ Il
]
‘ LX F 4xoLD
LZ

Compact foot: CQ2XLC/CDQ2XLC

L __ B+ Stroke

X

Low Speed Cylinder: Standard Type
Double Acting, Single Rod

LG

LS + Stroke

A + Stroke

A + Stroke

L B+ Stroke

Special cap bolt

Series CQ2X

Foot (mm)
Bore size | Stroke range | Without auto switch | With auto switch Ll wlw
(mm) (mm) A|BJ[LS|A[B]|LS [
5 to 50 47.2] 23 7 (7]
32 75,100 572 33 | 17 5721 33 | 17 | 17 |38.5| 6.6 'g
5 to 50 53.7129.5|13.5 =
40 75,100 63.7139.5(235 63.7(39.5|23.5| 17 |38.5| 6.6 o
10 to 50 56.7|30.5| 7.5 =
50 75, 100 66.71405(17.5 66.7|40.5|/17.5| 18 [435| 9 <
Bore size | Stroke range Gl tH| T x|y |z | x %
(mm) (mm) CJ2
510 50
32 75, 100 4 (3032|5757 |71 11258 GMZ
5to 50
40 75, 100 4 33 (32|64 |64 |78 (112 7 cG']
10 to 50
50 75, 100 5 (3932|7978 |95 147 8

Foot bracket material: Carbon steel
Surface treatment: Nickel plating

Male rod end

x

[FT
B + Stroke

-

A + Stroke

LS + Stroke

(173
cas
Compact Foot (WIS
Bore size | Stroke range | Without auto switch | With auto switch L L1 | LD retainer
(mm) (mm) A|BJ[LS|A[B]|LS IE
5to 50 62 | 23 |50.4
32 75, 100 72 | 33 (604 72 | 33 |60.4| 17 |38.5| 6.6
Special cap 5 to 50 70.9]129.5|56.9 MXH
bt 40 75,100 [80.6|30.5] 66.0| 202 |39-5(669| 17 |385] 656
10to 50 79.9/30.5|63.9
50 75, 100 80,0 40,5 75.0| 8%-9|40.5|73.9| 18 |435| 9 ‘MXQ
Bore size | Stroke range
s era9® L | LT | X | LY | Lz | X | ¥ MGP
5 to 50 coy
32 75,100 30 [ 32| 34 | 57 | 45 |13.7| 5.8 COX
5to 50
40 75, 100 33 (32|40 | 64 | 52 |13.7| 7 CKD1
10 to 50
50 75, 100 39 32|50 |78 |64 |16.7| 8 E(I.)KD
Compact foot bracket material: Carbon steel —
Surface treatment: Zinc chromated E(L)Ku
CKQ
Rod Flange mm) CKIN
Bore size | Stroke range | Withoutauoswich | With auto switch I
(mm) (mm) A[B|A][B | PFTFV|FX FZ WRF
32 510 50 40 | 23 50 | 33 |55| 8 |48 |56 |65 —
75, 100 50 | 33 }
5 to 50 46.5|29.5
40 75, 100 56.539.5 56.5/839.5(55| 8 |54 62|72
10 to 50 48.5|30.5
50 75, 100 58.51405 58.5|40.5/6.6| 9 |67 |76 | 89
Bore size | Stroke range
(mm) (mm) L L1 M
5 to 50
32 75, 100 17 |38.5| 34
5 to 50
40 75,100 17 |38.5| 40
10 to 50
50 75, 100 18 |43.5| 50
Flange bracket material: Carbon steel
Surface treatment: Nickel plating
* For details about the rod end nut and accessory brackets, refer to page 1233.
INDEX

1228




Series CQ2X

Bore Size

232 to 050

Head flange: CQ2XG/CDQ2XG

FV
M

B + Stroke FT

A + Stroke

Male rod end

Applicable to{

4xoFD

Head flange
Double clevis

Double clevis: CQ2XD/CDQ2XD

4xN
T Cap bolt
[ —
oCD hole H10

B + Stroke _|CW

CL + Stroke

A + Stroke

Male rod end

1229

%
&

Head Flange (mm)
Bore size | Stroke range | Wilhoutauoswich | With auto switch Ll L
(mm) (mm) A A

51050 38

32 75, 100 48 48 7 |%85
51050 44.5

40 75,100 54.5 54.5 7 285
10 to 50 47.5

% 75,100 57.5 575 | 8 |5

Flange bracket material: Carbon steel
Surface treatment: Nickel plating
(+ Dimensions except A, L and L1 are the same as rod flange type.)

Double Clevis

(mm)
B?ﬁnii)ze Slro(k,-ﬁraa)nge W:houtaButosng WAlth au;: swg&lz-h cplcT|cu
= 2SS |
40 f;"é% 33:2 ggg gg:g 78.5|39.5/685| 10 | 6 | 14
| oo [saslaos|res 05 |05|70s| 14| 7 | 20
Bo(ﬁmsi)ze Slro(krﬁnr]e)mge cw|cx|cz| L | L N RR
32 ;551101%% 20 | 18 | 36 | 7 |285| M6x1.0 | 10
- 755‘101%% 22 |18 | 36 | 7 |285| M6x1.0 | 10
50 ;gf‘zgg 28 |22 | 44 | 8 |335|M8x1.25| 14

Double clevis bracket material: Cast iron
Surface treatment: Painted
# For details about the rod end nut and accessory brackets, refer to page 1233.

#x A double clevis pin and retaining rings are included.



Low Speed Cylinder: Standard Type .
Double Acting, Single Rod Series CQZX
Bore Size

263 to o100

Both ends tapped: CQ2XA/CDQ2XA  Both Ends Tapped (mm)
Bore size
Oittread  R_ R om) | O R
63 | M10x15 | 18
80 |Mi2x1.75| 22
100 | M12x1.75 | 22

==
4 x oN through ;
8 x 20 counterbore 2 i

Air Cylinders

Standard (Through-hole)

Lead wire min. bending radius 10 Ayto switch

H thread effective depth C

2xP (Re,NPT,G) . Q_ F
(Port size)

oD
N

L B + Stroke

A + Stroke
E J
w
Male rod end
. =
% - Male Rod End (m) |MXQ
@ Boresize| 5. [ oy [y | L e
(mm) Al A = MGP
Width across flats B /1" |y, 63 _|27]26] 11]385[ M18x 15285 3
C1 80 |32|325|13|435| M22 x 1.5 |35.5 X
X 100 |41 (32516 (435 M26 x 1.5 |35.5
L CKC1
e
Standard  For the auto switch mounting position and its mounting height, refer to page 1235. (mm) E(L)Ku
Bore size Stroke range | Witoutauto switch | With auto switch
() om > [aTB[AlB]C|P|E|F| H |1|J|K|L M N| o |Pjla|s CKQ
63 17(:01;8 gj ig 54 | 46 | 15 | 20 | 77 |{10.5{M10x1.5[{103| 7 |17 | 8 | 60 | 9 | 14depth105| 1/4| 15 | 93 [:Kzz"
80 17%“:5[? ggg ggg 635|535 21 | 25 | 98 |125|M16x2.0(132| 6 | 22 | 10 | 77 | 11 | 17.5depth 135 | 3/8 | 16 |112.5 WRF
100 1705t01:(()) 32 gg 75 | 63 | 27 | 30 {117 | 13 |M20x2.5|156| 6.5 | 27 | 12 | 94 | 11 | 175depth 135 | 3/8 | 23 |132.5

Note 1) Dimensions for rubber bumper are same as the standard type above.

Bore size "
u | w, z * For details about the rod end nut and accessory brackets, refer to page 1233.

mm

(mm) Note 2) Refer to "Standard Strokes" on page 1226 for calculation of the
63 475| 84 | 19 longitudinal dimension of the intermediate strokes.

80 57.5| 104 | 26

100 67.5(123.5| 26

INDEX

1230



Series CQ2X

B@683 to 0100

Foot: CQ2XL/CDQ2XL

L B + Stroke

i

Special cap bolt

N '—l
-
= =
4x0LD xﬁ Mx|[ et
Lz LS + Stroke
A + Stroke

Male rod end

Compact foot: CQ2XLC/CDQ2XLC

A + Stroke
L B + Stroke

Special cap bolt

Foot (mm)
Bore size | Stroke range | Without auto switch | With auto switch
(mm) | (mm) |A|[B|LS|A|B LS

10to 50 | 622 | 36 | 10
63 75,100 722 46 | 20 722146 | 20 |18 45|11 | 5 |46|32

10to 50 | 75 |435] 135
80 75,100 | 85 | 535 ] 235 85 | 535|235 |20(535(13| 7 |59 |45

10to 50 | 88 | 53 | 19
100 75,100 | 98 | 63 | 29 98 | 63 | 29 |22|535(13|7 |71| 6

Bnmr:i)ze Stro(krﬁr;e)mge wILy|zl x |y
63 17(;’“1’35 95915| 13| 162| 9
80 ;gf‘:gg 118|114|140{ 195 11
100 ;g,t(:sg 137|136 |162| 23 | 125

Foot bracket material: Carbon steel
Surface treatment: Nickel plating

Compact Foot (mm)

Bore size | Stroke range| Without auto switch | With auto switch
(mm) | (mm) A[BJLS[A[BI]LS

10t0 50 | 90.4 | 36 | 724
63 75,100 | 1004 | 46 | 82.4 1004 | 46 (824 | 18 |43.5| 11

10to 50 | 110.5 | 435 | 88.5
80 75,100 | 1205 | 535 | 98.5 1205(53.5(98.5| 20 |53.5| 13

LS + Stroke

FX ‘ 4xoFD | LLFT

B + Stroke
A + Stroke

1231

10t0 50 | 126 | 53 | 101
100 75,100 | 136 | 63 | 111 136 | 63 | 111 | 22 |535| 13

Bore size | Stroke range LH

LT | LX | LY | LZ | X Y

(mm) (mm)

63 Lg"‘:gg 46 | 32| 60 |915| 77 |182| 9
80 17??58 59 | 45| 77 | 114 | 98 |225| 11
100 172}‘;058 71| 6 | 94 | 136|117 | 24 (125

Compact foot bracket material: Carbon steel
Surface treatment: Zinc chromated

Rod Flange (mm)
BT:; ;i)ze slror; r;e;nge W\Ilrfulautosgtch nglautosvgtch o|FTIFVIFX|FZ| L (L1 | m
63 101050 | 54 | 36 64 | 46 | 9 | 9 |80|92|108| 18 |435| 60

75,100 | 64 | 46

10to 50 | 635 | 435
80 75,100 | 735 | 535 785 | 535 |11 (11|99 116(134| 20 |535| 77

10t050 | 75 | 53
100 75,100 | 85 | 63 85 | 63 | 11|11 |117|136|154| 22 |535| 94

Flange bracket material: Carbon steel
Surface treatment: Nickel plating

# For details about the rod end nut and accessory brackets, refer to page 1233.



Bore Size

263 to o100

Head flange: CQ2XG/CDQ2XG

L || B+Stoke || FT
A + Stroke

Male rod end

Double clevis: CQ2XD/CDQ2XD

4xN

Cap bolt
oCD hole H10 {
Axis d9

CT

D)
&

RR

L B + Stroke _|CW
CL + Stroke
A + Stroke

Male rod end

Low Speed Cylinder: Standard Type
Double Acting, Single Rod

Head Flange (mm)
Bore size|Stroke range| Without auto switch | With auto switch Ll
(mm) (mm) A A
10 to 50 53
63 75, 100 53 63 8 |335
10 to 50 64.5
80 75, 100 745 745 10 | 435
10 to 50 76
100 75,100 86 86 12 1435

Flange bracket material: Carbon steel
Surface treatment: Nickel plating
(+ Dimensions except A, L and L1 are the same as rod flange type.)

Double Clevis

Series CQ2X

Air Cylinders

BT:rew ;u)ze Slro(l;ﬁ r;a)mge W}:hout aButo sv(v;lih V“’A"h au;: swchT CD|CT|CcU

8 |75 To0 Ton [as [aa] %8| % | %18 |20

o e P

w 9522 2118 e s | ]
B?::;i)zesno(k;nr]é)lﬂge CZ|L|Li| N |RR

63 ;l;ytcig’g 44 8 |335| Mi0X15| 14 MGP
@ ;‘;f‘:gg 56|10 |435|Mi2x1.75 18 EE;
100 172}‘:58 64 | 12435 |Mi2x175| 22 K1

Double clevis bracket material: Cast iron

Surface treatment: Painted
+ For details about the rod end nut and accessory brackets, refer to page 1233.
+ A double clevis pin and retaining rings are included.

1232

e
UKy
oK
WRF

EHE

INDEX




Series CQ2X
Dimensions of Accessories

Single Knuckle Joint

Double Knuckle Joint

For I-G012, I-Z015A For I-G04, I-G05 For Y-G012, Y-Z015A For Y-G04, Y-G05
1-G02, 1-GO3 -G08, 1-G10 Y-G02, Y-G03 Y-GO8, Y-G10
oND hole H10 @ND hole H10
MM ONDHo MM ONDHio MM s dd
55 555 ; > l
R 4 o J 2 )
A (U u A NX
L NX G Nz
A A
Material: Carbon steel Material: Cast iron Material: Carbon steel Material: Cast iron
Surface treatment: Nickel plating Surface treatment: Nickel plating Surface treatment: Nickel plating Surface treatment: Nickel plating
(mm) (mm)
Applicable Applicable Applicable
Part no. |boresze| A | A1 | E1 | La MM | ®Ri| Ui | NDuo NX Part no. bo(resw’ze A |Ai|Ei[Li| MM [*Ri|U:|[NDuo| NX |NZ|L Elm
(mm) part no.
1-G04 |32,40| 42 | 14 |022| 30 |Mi4x15| 12 | 14 | 103 | 1828 Y-G04 |32,40|42 | 16 |022| 30 | Mi4x1.5 | 12 | 14 | 106%™ | 18:33 |36|46] IY-GO4
1-GO5 |50,63| 56 | 18 |©28| 40 |M18x15| 16 | 20 | 148°° | 22:68 Y-GO05 |50, 63| 56 | 20 |@28| 40 | M18x 15 | 16 | 20 | 146 | 22135 |44|505| IY-GO5
-G08 80 | 71 | 21 |038| 50 | M22x15| 21 | 27 | 18°8° | 2882 Y-GO8 | 80 |71 |23 03850 | M2x15 |21 |27 | 1857 | 28:33 |56|64| IY-G08
I-G10 | 100 | 79 | 21 |044| 55 |M26x15| 24 | 31 | 2278 | 328 Y-G10 | 100 |79 |24 |o44| 55 | M26x 1.5 | 24 | 31 | 225 | 32563 |64]72|1Y-G10

# A knuckle pin and retaining rings are included.

Knuckle Pin (Common with double clevis pin) Rod End Nut
m L
S, SR S—— Hl
1.
Material: Carbon steel
Material: Carbon steel Surface treatment: Nickel plating
(mm) (mm)
Applicable Applicable Applicable bore
Part no. bo(ryﬁjn)ze Dd9 Lid|L | m|t retaining ring Part no size (mm) d H B C
1IY-G04 | 32, 40 10882 |41.6] 9.6 | 36.2| 1.55| 1.15| Type C 10 for axis NT-04 32, 40 M14x 1.5 8 22 25.4
IY-GO5 | 50, 63 14888 |50.6| 13.4|44.2]2.05| 1.15 | Type C 14 for axis NT-05 50, 63 M18x 1.5 11 27 31.2
1Y-G08 80 18888 64 | 17 | 56.2|2.55 | 1.35 | Type C 18 for axis NT-08 80 M22x 1.5 13 32 37.0
1Y-G10 100 2238%% 72 | 21 |64.2)|2.55]1.35 | Type C 22 for axis NT-10 100 M26 x 1.5 16 Al 47.3

+ Type C retaining rings for axis are included.

1233




Simple Joint: 332 to 3100

p——

Joint and Mounting Bracket
(Type A, Type B) Part No.

YA |-[ 03 ]

Applicable air cylinder bore
i 03 For 32, 940
Mounting bracket 05 For 050, 063
YA | Type A mounting bracket 08 For 080
YB | Type B mounting bracket 10 For 2100
YU Joint
Allowable Eccentricity (mm)
Bore size 032 ‘ 240 ‘ 50 ‘ 063 | 280 | 2100
Eccentricity tolerance +1 +.5 | +2
Backlash 0.5
<Ordering>

« Joints are not included with the A or B type mounting brackets.
Order them separately.

(Example)

Bore size 940

* Type A mounting bracket part n

« Joint;

Part no.
-YA-03
YU-03

Joint and Mounting Bracket (Type A, Type B) Part No.

Bore size X Applicable mounting bracket
Joint part no. s
(mm) Type A mounting bracket | Type B mounting bracket
32, 40 YU-03 YA-03 YB-03
50, 63 YU-05 YA-05 YB-05
80 YU-08 YA-08 YB-08
100 YU-10 YA-10 YB-10
)
2
3 H
g 3 (With locking)
<8
E{ T EJ
ut L
UA [+
Material: Chromium molybdenum steel (Nickel plating)
Applicable bore Weight
Partno. | e ) [UA|C | di|d:| H K|L|ut'd
YU-03 32, 40 17|11 |158| 14| M8x125| 8 | 7 | 6 | 25
YU-05 50, 63 1713|198 18 | M10x15| 10| 7 | 6 | 40
YU-08 80 22120(248|23| M16x2 | 13| 9 | 8 | 90
YU-10 100 26|26 (29828 | M20x2.5| 14 | 11 | 10 | 160

Dimensions of Accessories Series CQZX

Type A Mounting Bracket

U T 2xeD
[~ ~ A
== RN
T el - ==
S = Rz
1
7;7 Joint

. E.|

Material: Chromium molybdenum steel (Nickel plating)

Air Cylinders

CG1

g

(mm)
Part no. B‘;':"zi)ze B|D|E|F|m W T ‘GAZ
YA-03| 32,40 | 18 |68 | 16 | 6 | 42 6.5 10 €02
YA-05| 50,63 | 20 | 9 | 20 | 8 | 50 6.5 12 cas
YA08| 80 |26 | 11| 25| 10| 62 8.5 16 Lube-
YA10| 100 |31 |14 |30 |12|76| 105 18 retaner
Partno.[BOr¢SiZe| y | v | w |weight (g) IE
(mm)
YA-03| 32,40 | 6 | 18 | 56 55 MXH
YA-05| 50,63 | 8 | 22 | 67 100
YA-08| 80 | 10 |28 | 83 195 Mxa
YA-10| 100 | 12 |36 [100| 340 MGP
[Hl) §
[HI) §
Type B Mounting Bracket CKO1
GLKD
T es Se—
Liasy
- '_Ni «wa/ sl= G(L)KU
CKQ
- CKZ2N
2 x oD through —
2x 00 counterbore <3l WRF
E
Material: Stainless steel
(mm)
Part no. B‘z’[ﬁ rﬁi)ze B|D|E|[J|m 00
YB-03| 32,40 |12 | 7 [25| 9o | 34 11.5 depth 7.5
YB-05| 50,63 | 12| 9 [32 | 1142 14.5 depth 8.5
YB-08| 80 16 | 11 [ 38 | 13 | 52 18 depth 12
YB-10| 100 | 19 | 14 [ 50 [ 17 | 62 21 depth 14
Part no. B‘i'nfrﬁi)ze T i V | W | RS | Weight (g)
YB-03 | 32,40 6.5 10 18 | 50 | 9 80
YB-05 | 50,63 6.5 12 22 [ 60 | 11 120
YB-08| 80 85 16 28 | 75 | 14 | 230 INDEX
YB-10| 100 10.5 18 36 | 90 | 18 | 455

1234




Series CQ2X

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

232 to 100 = A B
D-M9C1 D-MOOIV )
D-M9COW D-M9CIWV [— p—
D-MSCJA D-MILAV = % % - &
D-A90]  D-A9CIV g\\/ e . =
© ©
D-A701 D-F79F 232 to 2100 B e
D-A80 D-F7NT : :
D-A7CH D-A73C
D-A80H D-A80C VA
D-F70 D-J79C
D-J79 D-A79W
D-F7O0W D-F7O0WV
D-J79W D-F700V A B
D-P3DW 232 to 2100 E.‘W
[ % %
T
E:
A
D-P4DW 240 to 2100 gainy gainy
o [20==]
S moac) = r
[===B D
A —_.B
Auto Switch Proper Mounting Position (mm)
Auto switch g-mggv D-A72/A700H/A80H
model = -
DMOLTV/ e, AL DFOFATARTN|  D-FNT D-A79W D-P3DW D-P4DW
D-MDA D-J79C/F70W
D-M9CIAV D-J79W/F70O0WV
Bore size A B A B A B A B A B A B A B A B
32 12 9 8 5 9 6 95 | 65| 145 | 115 | 65 | 35 | 25 | 0 — —
40 16 11.5 12 7.5 13 8.5 135 9 18.5 14 10.5 6 6.5 2 9 4.5
50 14 145 | 10 105 | 11 115 | 115 | 12 165 | 17 85 | 9 45 | 45 | 7 7.5
63 165 | 175 | 125 | 135 | 135 | 145 | 14 15 19 20 11 12 7 75 | 95 | 105
80 195 | 22 155 | 18 165 | 19 17 195 | 22 245 | 14 165 | 10 12 125 | 15
100 24 27 20 23 21 24 215 | 245 | 265 | 295 | 185 | 215 | 145 | 175 | 17 20
Note) Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height (mm)
Auto switch D-
mo%!| b Mecv DFTD-479
D-MOOWV | D-Asv | DATLL Ippow | DATSC | D-FTCM | p.zec | D-A7OW | D-PSDW | D-PADW
D-M9CIAV D-J79W
D-F79F
D-F7NT
Bore size u u u u u u u u U u
32 29 27 31.5 32.5 385 35 38 34 34.5 —
40 325 30.5 35 36 42 38.5 415 37.5 38 44
50 38.5 36.5 41 42 48 44.5 47.5 43.5 44 50
63 42 40 475 485 54.5 51 54 50 475 56.5
80 52 50 57.5 58.5 64.5 61 64 60 57.5 66.5
100 62 60 67.5 68.5 74.5 71 74 70 67.5 76.5




Auto Switch Mounting Series CQZX

Minimum Stroke for Auto Switch Mounting

(mm)
D-A9CIV
D-F7O0W
Number of | D-MOOIV | D-A70] D-MOCWV | D-M9OI
ao | D-F7OV | D-AB0 | D-A9D) |D-MeUAV | D-F70 | D-MSDW | B-ATOM | pazew | D79W | ppapw | p-Papw | | 2
switches D-J79C D-A73C D-F7O0WV | D-J79 %
D-F7NT
D-A80C =
With 1 pe. 5 5 10 (5) 10 15 (5) 15 (10) 15 (5) 15 20 (10) 15 15 3
With 2 pcs. 5 10 10 15 15 (5) 15 15 (10) 20 20 (15) 15 15 E
Note) The dimensions stated in () shows the minimum stroke for the auto switch mounting when the auto switch does not project from the end surface of the cylinder

body and hinder the lead wire bending space. (Refer to the figure below.)
Order auto switches and auto switch mounting brackets separately.

—

D iy
\Wj I

— ]

(1]
(2
N

[=)
=
~

[}
[}
-

g

Operating Range

CA2

(mm)

B i €02

] ore size cas

Auto switch model 32 20 50 63 80 100 e
D-M9OCI(V) retainer
D-M9CIW(V) 6 5.5 6.5 7.5 7.5 85
D-M9CIA(V) JA
D-A9CI(V) 9.5 9.5 95 | 115 9 11.5

D-A70(H)(C)
D-A80L1(H)(C)

=
>
=

12 11 10 12 12 13

D-A79W 13 14 14 16 15 17 MX
D-F7C1(V) 0
D-J79(C
D-F7DV\)(V) 6 6 6 65| 65| 7 MGP
D-F7NT
D-F79F coy
D-P3DW 6.5 6.5 5.5 75 7 8.5 [H) ¢
D-P4DW . 5 5 5 5 5.5 KO
* Values which include hysteresis are for guideline purposes only, they are not a
guarantee (assuming approximately +30% dispersion) and may change
substantially depending on the ambient environment. E(l.)KD

* The auto switch mounting bracket BQ2-012 is not used for 232 or more with the

D-M9O(V)/MITIW(V)/MITIA(V)/A9LI(V) types. The above values indicate the

operating range when mounted with the conventional auto switch installation l:(l.)KU

groove. e
CKQ
CKZ2N
WRF
INDEX

1236



Series CQ2X

Auto Switch Mounting Brackets/Part No.

Auto switch Bore size (mm)
m:\‘jp}'“g 032, 240, 050 263, 280, 0100
Port side Port side
Auto switch Auto switch mounting surface Auto switch mounting surface
model Port side A, B, C side Port, A, B, C side
®BQ-2
2BQ2-012
Two types of auto switch mounting
bracket are used as a set.
Set screw
D-M9TI (not used) %
g:mgg:{v No auto \
D-M9CIWV ?nvgtﬂ:in / No auto switch mounting
D-M9CIA brack 9 bracket necessary.
D-MoDAv | racket
D-A9C] necessary.
D-A9CIV

Note 1) For the CDQ2[132 to 50, when a compact auto switch is mounted on the three sides (A, B and C above)
other than the port side of bore sizes 832 to 850, the auto switch mounting brackets above are required.
Order them separately from cylinders. (It is the same as when mounting compact cylinders with an auto
switch mounting rail, but not with a compact auto switch installation groove for the CDQ20163 to 100.)

Example

CDQ2XB32-100DM-M9BW:------1 unit

BQ-2---
BQ2-01
Note 2) When the cyl

2p

Auto switch model

Bore size (mm)

232

240 to 26100

D-A701/A80
D-A73C/A80C
D-A700H/A80H
D-A79W
D-F701/J79
D-F700V
D-J79C
D-F70W/N79W
D-F700WV
D-F79F/F7NT

BQ-2

D-P3DW

BQ6-032S

D-P4DW

BQP1-050

Note) When the cylinder is shipped, an auto switch mounting
bracket and auto switch are included in the shipment.
However, 840 to 6100 with the D-P4DW are assembled at
the time of shipment.

1237

CcSs.
inder is shipped, an auto switch mounting bracket and auto switch are included in the shipment.

Auto Switch Mounting Bracket Weig

ht

Auto switch mounting bracket part no.| Applicable cylinder bore size | Weight (g)
BQ-2 32 to 2100 1.5
BQ6-032S 232 to 6100 5
BQP1-050 240 to 2100 16




P L L T

Auto Switch Mounting Series CQZX

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
F

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.

Refer to the WEB catalog or Best Pneumatics No. 3 for the detailed specifications.

Air Cylinders

* With pre-wired connector is also available for solid state auto switches. For details, refer to the WEB catalog or Best Pneumatics No. 3.
= Normally closed (NC = b contact) solid state auto switches (D-FO9G/FOH/Y7G/Y7H) are also available. For details, refer to the WEB catalog or

Best Pneumatics No. 3.

1

1

1

Type Model Electrical entry Features Applicable bore size 1

D-A73 Grommet (Perpendicular) — !

D-A80 P Without indicator light 1

Reed 232 to 8100 1
D-A73H/A76H " -

Grommet (In-line) " — " I

D-A80H Without indicator light 1

D-F7NV/F7PV/F7BY Grommet (Perpendicular) — !

D-F7NWV/F7BWV P Diagnostic indication (2-color indication) 1

. D-F79/F7P/J79 — 232 to 6100 1

Solid state —— " 1

D-F79W/F7PW/J79W Grommet (in-line) Diagnostic indication (2-color indication) I

D-F7NT With timer 1

D-P5DW Magnetic field resistant (2-color indication) 240 to 100 1

1

1

1

o

1238

MGP
[H) §
COX
K1
Ma
Y
CKQ
CKIN

WRF

EHE

INDEX




Series 10-,11-CQ2X

How to Order

The type which is applicable for using inside the clean room graded Class 100 by making an actuator’s rod
section a double seal construction and discharging by relief port directly to the outside of clean room.
Since the external dimensions and applicable auto switches are the same as standard type, refer to the
WEB catalog or “Pneumatic Clean Series” catalog.

—C(D)QZXT_BIW -[30]D[_ ]-[J79W]

Clean series With auto switch Number of
[10]  Relieftype (Buit-in magnet) auto switches
(1] vacuumtype | I Nil_| 2pos.

Low speed cylinder S 1'; -
Bore sizee———— n_ | pos.
32| 32mm Port thread type
4 i .
dol, 40 mm Nil_| Re Auto switch
50| 50mm TN _|NPT| 03210 0100
63 63 mm TF G
+ Without auto switch, 832, 5 strokes: « For applicable auto switches,
M thread refer to page 1225.
# Auto switches are shipped together,
Cylinder stroke (mm)e—— (but not assembled).
Bore
i Standard stroke
32,40 | 5,10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100 Rod end thread
50, 63 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100 [ Nil_| Standard (Female rod end) |
« Manufacturing of intermediate stroke M Male rod end ‘
Intermediate strokes by the 1 mm interval are available by using
spacers with standard stroke cylinders. But, as for g40 with bumper,
please consult with SMC separately. Action
Example) 18 mm width spacer is installed in the standard cylinder
10-CQ2XB40-75D to make the 10-CQ2XBA40-57D. [D [ Double acting
Specifications
" 10- (Relief type) 11- (Vacuum type)
BB 67 (i) 32 | 4 | 50 | 63 322 | 40 | 5 | 63
Fluid Air Air
Proof pressure 1.5 MPa 1.5 MPa
i operating pressure 1.0 MPa 1.0 MPa
operating pressure 0.035 MPa I 0.03 MPa 0.025 MPa I 0.02 MPa
" . Without auto switch: —10°C to 70°C Without auto switch: —10°C to 70°C
Ambient and fluid temperature With auto switch: ~10°C to 60°C With auto switch: ~10°C to 60°C
Piston speed 1 to 200 mm/s 0.5 to 200 mm/s
Piston rod size 216 220 216 220
Rod end thread \ Female thread M8 x 1.25 M10x 1.5 M8 x 1.25 M10x 1.5
‘ Male thread M14x1.5 M18x 1.5 M14x 1.5 M18x 1.5
Stroke tolerance “°mm “Homm
Port size M5 x 0.8, 1/8 Note) I 1/4 M5 x 0.8, 1/8 Note) I 1/4
Vacuum port, Relief port M5 x 0.8 M5 x 0.8

Note) Only 5 stroke comes with M5 x 0.8 in the case of no auto switch on 932.

APrecautions

1 Be sure to read before handling. -l
1 Refer to page 1574 for Safety Instructions. For Actuator and Auto Switch Precautions, refer to “Handling Precautions 1
1 for SMC Products” and the Operation Manual on SMC website, http://www.smcworld.com 1
I' For the precautions in clean environments, refer to the WEB catalog or “Pneumatic Clean Series” catalog. J

\ Operating Precautions \ \ Maintenance

AWarning /A\Caution

1. Do not rotate the cover. 1. Grease pack
- When installing a cylinder or screwing a pipe fitting into the port, the - When maintenance requires only grease, use the following part
coupling portion of the cover could break if the cover rotated. number to order.

A . Grease pack part number:
Caution GR-X-005 (5 g)

1. Be careful of the retaining ring to pop out.
- When replacing the rod seal, be careful of the retaining ring not to pop
out while removing it.

1239



Low Speed Cylinder
Double Acting, Single Rod

Series CUX

210, 16, 020, 925, 332

With auto switch
(Built-in magnet)

How to Order

Low speed cylinder

-(30] ?
-[30] D-[M9BW]

Number of
auto switches

Auto switch
Bore size [ Nil [ without auto switch |
10 10 mm + For applicable auto switches,
16 16 mm refer to the table below.
20 20 mm )
25 25 mm Action
32| 32mm [ D _[Double acting]
Port thread type @ Cylinder standard stroke (mm)
Symbol [ Type Bore size [ 10,16 ] 5, 10, 15, 20, 25, 30
Nil | M5x08 [ 010,016,020, 025 |20,25,32| 5, 10, 15, 20, 25, 30, 40, 50 |
Rc1/8 032
TN [ NPT1/8 032
TF G1/8 032 Built-in Magnet Cylinder Model

If a built-in magnet cylinder without an
auto switch is required, there is no need
to enter the symbol for the auto switch.
(Example) CDUX20-25D

Applicable Auto Switches/Refer to the WEB catalog or Best Pneumatics No. 3 for further information on auto switches.

A 5 i Load voltage Auto switch model |Lead wire length (m) p—
Type Special function entry g (Oulpugt) 5E AC | Pemendicuar| In-line (?\jﬁ) (rj/l) (E) (g) connector | APPlicable load
3-wire (NPN) MONV M9N ® & @ O O
— Bwire (PNP) sV, 12y MOPV | MoP | e |e|e o] o |co
o5 2-wire 12V M9BV M9B ® &0 O o —
%’é Diagnostic indication Svire (NPN) 5V, 12V MONWVIEMONWE © (@ @ | O o IC circuit | Rela
34 (2-%olor indication) Grommet |Yes| 3-wire (PNP) | 24V ! — MOPWV | MOPW | @ (@ | ® | O o PLCy’
3% 2-wire 12V M9BWV | M9BW | @ (@ @ O o —
s w ] 3-wire (NPN) sV 12V MONAV** [ MNA**| O [O| @] 0O O o it
(2 ealor ieation) 3-wire (PNP) ’ M9PAV™* | MOPA™* | O [O|@[O| ©
2-wire 12V M9BAV**| M9BA** | O |O | @ | O o —
g Swie | _ | sv | — | Agev | A% | e |—|e@|—| — |icomit| —
T = o G t Yes| (NPN equivalent)
&9 romme ) 100V | A93V | A93 | e |—|e|e| — — | Relay,
s [No] 2wire 24V 2V NoVaks| A9V A90 e —|o | — — |ICcircuit| PLC

=+ \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.

+ Solid state auto switches marked with “O” are produced upon receipt of order.

Nil
M

= Lead wire length symbols: 0.5 m
im
3m
5m-

z

(Example) MONW

(Example) MONWM
L  (Example) MONWL
(Example) MONWZ

= Since there are other applicable auto switches than listed, refer to page 1244 for details.
= For details about auto switches with pre-wired connector, refer to the WEB catalog or Best Pneumatics No. 3.

= Auto switches are shipped together, (but not assembled).

1240

Air Cylinders

MXH
mxQ

MGP

coy
COIX

Ma

G(UKU
cKo
el

-

INDEX




Series CUX

Symbol
Double acting, Single rod, Rubber bumper

1241

Specifications
————
Bore size (mm) 10 16 20 25 32
Fluid Air
Proof pressure 1.05 MPa
0.7 MPa

Maximum operating pressure

Ambient and fluid temperature

Without auto switch: ~10°C to 70°C
With auto switch: —10°C to 60°C

(No freezing)

Lubrication

Not required (Non-lube)

Piston speed °

220 to 832: 0.5 to 300 mm/s

10, 916: 1 to 300 mm/s

Cushion Rubber bumper on both ends

Rod end thread Male thread

Stroke length tolerance +3.0 Note)

Mounting Basic
Note) Tolerance *{-°

Minimum Operating Pressure

—
Unit: MPa

\ Bore size (mm) [ 10 [ 16 | 20 | 25 | 32
‘ Minimum operating pressure ‘ 0.06 ‘ 0.06 ‘ 0.05 ‘ 0.05 ‘ 0.05 ‘

Standard Strokes

Bore size (mm)

Standard stroke (mm)

10,16

5,10, 15, 20, 25, 30

20, 25, 32

5,10, 15, 20, 25, 30, 40, 50

A\Precautions

e

1 Be sure to read before handling.
1 Refer to page 1574 for Safety Instructio
1 Precautions, refer to “Handling Precau

1
ns. For Actuator and Auto Switch 1
tions for SMC Products” and the 1

I Operation Manual on SMC website, http://www.smcworld.com _:
Mounting Maintenance
A\Caution A\Caution

1. Tightening the cylinder beyond the
range of the indicated torque (shown in
the table below) may affect operation.

1. Replacement parts/Seal kit

Order it in accordance with the bore
size.

Apply a Loctite® (no. 242, Blue) to the Bore i
mounting threads. o(:]rﬁl)ze Kit no. Contents
Bore size | Hexagon socket | Proper tightening torque 16 CUX16-PS| Piston seal: 1 pc.

() || (iEEE)mm) || ()i eras) 20 |CUX20-PS| Rod seal: 1 pe.
10 M3 0.54 +10% 25 |CUX25-PS| Gasket: 1 pe.
16 M4 1.23+10% 32 |CUX32-PS| Grease pack (10 g): 1 pe.

20, 25 MS 2.55 +10% # It is impossible to replace seals in bore
32 M6 4.02£10% size 10 mm.

\ Operating Precautions
AWarning

1. It might not be able to control the CUX10
by meter-out at a low speed operation.

/ACaution

1. For the CUX10, up to 0.1 N L/min (ANR)
of internal leakage is anticipated due to
cylinder structure.

2. Grease pack
When maintenance requires only grease,
use the following part numbers to order.
Grease pack part number:
GR-L-005 (5 g)
GR-L-010 (10 g)
GR-L-150 (150 g)



Low Speed Cylinder .
Double Acting, Single Rod Series (017) ¢

Dimensions: Double Acting, Single Rod

210

2 x oP through 2XM5x0.8

Rod end nut

Air Cylinders

| 2 x oP through

‘ A E 4x0T Auto switch
Lad = ol

H S + Stroke |
[_ Z + Stroke

016 to 032
2 x oP through
2 x M5 x 0.8 (032: Rc1/8)
Rod end nut
8,
" / J, o|
s {EEE — & i I Rod End Nut/Accessories
1
— MGP
-E;B— d
4xNN MM g%;
s CKCH
)
\L/
o | _ !HJ B G{LKD
Material: Carbon steel ﬂ(l.)KU
} Part no. buir\epg\“zcea?rfm) d |Hi|B1|C1 ———
wdh across fats L) | 2 P through ‘ NTP-010 10 [waxo7|24] 7 |81 |CKQ
LA | LE 4x0T counterbore NTJ-015A | 16 |M5x08| 4 |8 [92
B H S + Stroke Auto switch NT-015A 20 |M6x10] 5 |10]115 |CKZZN
7+ Stroke NT-02 25 |[NBx125 5 [13 150 ———
— - NT-03 32 [wm0x125] 6 [17]196 |WRF
(mm)
B"([ﬁrzi)zeAA'BCDEGAGBHJKL MM NN P|lalaa
10 10 | — | 15 | 24 | 4 | 7 | 165 | 10 | 16 | 11 | 18 | — | M4x0.7 |M3x05depth5| 32 | — | —
16 11 [125] 20 | 382 | 6 | 7 [165%e|11.5| 16 | 14 | 25 | 5 | M5x08 |M4x0.7depth6| 45 | 4 | 2
20 12 | 14 | 26 | 40 | 8 | 9 | 19 [125| 19 | 16 | 30 | 6 | M6x1.0 |[M5x08depth8| 55 | 9 | 45
25 [155| 18 | 32 | 50 | 10 | 10 | 215 | 13 | 23 | 20 | 38 | 8 | M8x1.25 [M5x0.8depth8| 55 | 9 | 45
32 195 22 | 40 | 62 | 12 | 11 | 23 |125]| 27 | 24 | 48 | 10 |M10x1.25|M6x1.0depth 9| 6.6 | 13.5 | 4.5
Boresize| p = Without auto switch | With auto switch ~ Note) 5 stroke (CUX16-5D): 14.5 mm
(mm) S Y4 S Y4
10 9 | 6depths | 36 | 52 | 36 | 52
16 12 [7.6depth65| 30 | 46 | 40 | 56
20 16 | 9.3depth8 | 36 | 55 | 46 | 65
25 20 | 93depth9 | 40 | 63 | 50 | 73
32 24 |11depth115| 42 | 69 | 52 | 79

INDEX

1242



Series CUX
Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

D-M9OI
D-M9CIW
D-M9CJA
D-A90]

D-M9CIV
D-M9CIWV
D-M9TJAV
D-A90IV

0.5
2

w

(): Dimension of the D-A93

A

20
(22)

.

(): Dimension of the D-A9C1V/

CDUX Double Acting, Single Rod

(mm)
Bore size D-M9C], D-M9CIW D-M9C1V, D-M9CIWV D-M9CIA D-M9CIAV D-A90], D-A9CIV
(mm) A B w A B w A B w A B w A B w

10 16.5 7.5 2.5 16.5 7.5 0.5 16.5 7.5 4.5 16.5 7.5 2.5 12.5 3.5 (-1.5)1
16 20 8 1.5 20 8 -0.5 20 8 3.5 20 8 iES) 16 4 (-2)0.5
20 24 10 0 24 10 -2 24 10 2 24 10 0 20 6 (—4)-1.5
25 26.5 11 -1.5 26.5 11 -3.5 26.5 11 0.5 26.5 11 -1.5 22.5 7 (-5.5)-3
32 27.5 12,5 2.5 27.5 125 -4.5 27.5 125 -0.5 27.5 12.5 —2.5 23.5 85 |[(-6.5-4

Note 1) Figures in the table above are used as a reference when mounting the auto switches for stroke end detection.
Adjust the auto switch after confirming the operating condition in the actual setting.
Note 2) Negative figures in the table W indicate an auto switch is mounted inward from the edge of the cylinder body.
Note 3) In the case of the 5 stroke or the 10 stroke, there are times in which the auto switch will not turn OFF or 2 auto switches will turn ON simultaneously due to
their movement range. Therefore, set the position approximately 1 to 4 mm outward from the values given in the table above. Then, perform an operation
inspection to make sure that the auto switches operate normally (if 1 auto switch is used, make sure that it turns ON and OFF properly; if 2 auto switches are
used, make sure that both auto switches turn ON).
Note 4) () in column W is the dimensions of the D-A96.

Operating Range

(mm)
Auto switch model Bore size
10 16 20 25 32
D-M901, M9V
D-M9OIW, M9OWV 4 5.5 7 7 7.5
D-M9CIA, MOIAV
D-A90], A9CIV 6 9 11 12.5 14

* Values which include hysteresis are for guideline purposes only, they are not
a guarantee (assuming approximately +30% dispersion) and may change
substantially depending on the ambient environment.

1243



Auto Switch Mounting Series CUX

el R il |

I Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable. 1

1
I Pneumatics No. 3.

+ Normally closed (NC = b contact) solid state auto switches (D-FOG/F9H) are also available. For details, refer to the WEB catalog or Best 1

- e R e e e e e e e e e e e e e e e

(of:]

When free mounting cylinders equipped with auto switches are used,
the auto switches could activate unintentionally if the installed distance
is less than the dimensions shown in the table. Therefore, make sure
to provide a greater clearance. Due to unavoidable circumstances, if
they must be used with less distance than the dimensions given in the
table, the cylinders must be shielded. Therefore, affix a steel plate or a
magnetic shielding plate (MU-S025) to the area on the cylinder that
corresponds to the adjacent auto switch. (Please contact SMC for
details.) Auto switches may malfunction if a shield plate is not used.

Dimensions of shielding plate (MU-S025) that is sold
separately are indicated as reference.

TEI

Material: Ferrite stainless steel, Thickness: 0.3 mm
Since the back side is treated with adhesive, it is possible to attach to
the cylinder.

36

n Proximity Installati

1
(2
b
(7]
©
=
>
(&)
=
<
Bore size (mm) Mounting pitch L (mm)

10 30 ch

16 33

20 40

25 46

32 56

1244

EOQ g (] ()
28| = o
TeS B = 2|8

MXH
mxQ

MGP
[H) §
COX
K1
Ma
Y
CKQ
CKIN

WRF

EHE

INDEX




Smooth Cylinders/Low Speed Cylinders
Q Specific Product Precautions 1
Be sure to read before handling. Refer to page 1574 for Safety Instructions. For

Actuator and Auto Switch Precautions, refer to “Handling Precautions for SMC
Products” and the Operation Manual on SMC website, http://www.smcworld.com

\ Recommended Pneumatic Circuit

A\ Warning

Horizontal Operation

I

Dual speed controller
Speed is controlled by meter-out circuit. Using concurrently the
meter-in circuit can alleviate the stick-slip. More stable low speed
operation can be achieved than meter-in circuit alone.

Meter-in speed controller
Meter-in speed controllers can reduce lurching while controlling
the speed. The two adjustment needles facilitate adjustment.

Vertical Operation
I

I *

m‘!’

(1) Speed is controlled by meter-out circuit. Using concurrently
the meter-in circuit can alleviate the stick-slip.*

(2) Depending on the size of the load, installing a regulator with
check valve at position (b) can reduce lurching during descent
and operation delay during ascent.

As a guide,
when W + Poa > PoA,
adjust P1 to make W + P1a = PoA.

(1) Speed is controlled by meter-out circuit. Using concurrently
the meter-in circuit can alleviate the stick-slip.*

(2) Installing a regulator with check valve at position (c) can
reduce lurching during descent and operation delay during
ascent.

As a guide,
adjust P2 to make W + P2A = Poa.

W: Load (N) Po: Operating pressure (MPa) P1, P2: Reduced pressure (MPa) a: Rod side piston area (mm2) A: Head side piston area (mm2)

/A Warning

Since the low speed cylinder CCJUX10 is subject to internal leakage due to its construction, the speed may not be fully controlled with the meter-
out controller (*) during low speed operation.

1245



Ak

Smooth Cylinders/Low Speed Cylinders
Specific Product Precautions 2

Be sure to read before handling. Refer to page 1574 for Safety Instructions. For
Actuator and Auto Switch Precautions, refer to “Handling Precautions for SMC

Products” and the Operation Manual on SMC website, http://www.smcworld.com

\ Design |

Mounting

A\ Caution

1. Provide a construction that does not apply a lateral
load to the cylinder.
Applying a lateral load to the cylinder may cause a malfunction.
(Only for low speed cylinders)

. Design the system to prevent vibration from being
applied to the cylinder.
A malfunction may occur due to the vibration.

. Avoid using a guide with obvious variations in
operating resistance.
Operation may become unstable when using a guide that
manifests variations in operating resistance, or when the
external load changes.

. Avoid a system structure in which the mounting
orientation changes.
Operation may become unstable if the mounting orientation
changes.

. Avoid operation where the temperature fluctuates
greatly. Also, when using at low temperatures, make
sure that frost does not form inside the cylinder and
on the piston rod.

Operation may become unstable.

. Do not use the product at a high frequency.
Use it at 30 cpm or less as a guideline.

. Adjust the speed in accordance with the operating
environment.
When the operating environment changes, the speed
adjustment will be off unless it is reset to reflect operation in
the new environment.

. For cylinders with long strokes, sliding resistance
will increase due to the deflection of the piston rod
and other factors. Take measures such as the
installation of a guide. (Only for smooth cylinders)

. Do not apply excessive lateral load to the piston
rod. (Only for smooth cylinders) Note 1)
Note 1) Easy checking method
Minimum operating pressure after the cylinder is mounted to
the equipment (MPa) = Minimum operating pressure of
cylinder (MPa) + {Load weight (kg) x Friction coefficient of
guide/Sectional area of cylinder (mm?)}
If smooth operation is confirmed within the above value, the
load on the cylinder is the resistance of the thrust only and it
can be judged as having no lateral load.

N

w

F-y

(3}

o

~

[

©

\ Pneumatic Circuit |

/A Caution

1. The piping length between the speed controller and
the cylinder port must be kept as short as possible.
If the speed controller and the cylinder port are far apart,
speed adjustment may be unstable.

2. Use a speed controller for low speed operation to
easily adjust for low speed operation or a dual
speed controller (Series ASD) to prevent cylinders
from popping out.

(When the speed controller for low speed operation is used,
the maximum speed may be limited.)
Refer to “Recommended Pneumatic Circuit” on page 1245.

/A Caution

1. Do not apply a lateral load to the piston rod.
Applying a lateral load to the piston rod may cause a
malfunction. (Only for low speed cylinders)

2. Do not apply excessive lateral load to the piston
rod. (Only for smooth cylinders) Note 1)
Note 1) Easy checking method
Minimum operating pressure after the cylinder is mounted to C
the equipment (MPa) = Minimum operating pressure of
cylinder (MPa) + {Load weight (kg) x Friction coefficient of
guide/Sectional area of cylinder (mm2)}
If smooth operation is confirmed within the above value, the
load on the cylinder is the resistance of the thrust only and it
can be judged as having no lateral load.

s 8 % € | Air cylinders

CA2

Lubrication

A\ Caution

28
CAN]

Lube-
1. Operate without lubrication from a pneumatic retainer
system lubricator.

A malfunction may occur when lubricated in this fashion. A

2. Only use the grease recommended by SMC. MXH

The low speed cylinder and the low speed cylinder with
clean room specifications use different types of grease. The qu
MGP

Wi

use of grease other than the specified type can cause a

malfunction and particulate generation.

* Order using the following part numbers when only
maintenance grease is needed.

Greas coy
rease COX
Volume Part no.

59 GR-L-005 CKC1
10g GR-L-010
150 g GR-L-150 CLKD
3. Do not wipe out the grease in the sliding part of the CUKU
air cylinder.
Doing so may cause a malfunction. cKQ
| CKZ2N
Air Supply o
: WRF
A\ Caution =
1. Take measures to prevent pressure fluctuation.
A malfunction may occur with the fluctuation of pressure.
INDEX

1246



Series COY/CUOX
Simple Specials/Made to Order =

Please contact SMC for detailed specifications, delivery and prices.

. . The following special specifications can be ordered as a simplified Made-to-Order.
|| Slmple Speclals There is a specification sheet available on paper and CD-ROM. Please contact your SMC sales representatives if necessary.

Smooth cylinders
Double acting, Single rod
cJ2y ‘ cm2y ‘ CG1Y ‘ MBY ‘ CA2Y ‘ csa2y

m | Change of rod end shape | [ ) [ ) o [ ) )
-XC14 | Change of trunnion bracket mounting position | [ ) [ ) [ )
-XC15 | Change of tie-rod length | [ [

B Made to Order

Smooth cylinders
Double acting, Single rod
cJ2y ‘ cm2y ‘ CG1Y ‘ MBY ‘ CA2Y ‘ cs2y

Special port location
Made of stainless steel

Tie-rod, cushion valve, tie-rod nut, etc. made of stainless steel

-XC10 Dual stroke cylinder/Double rod type

Adjustable stroke cylinder/Adjustable retraction type

Auto switch rail mounting

|

|

|

|

|

|

Head cover axial port |
No fixed throttle of connection port |
|

|

|

|

|

|

|
|
|
|
|
|
|
|
| With split pins for double clevis pin/double knuckle joint pin and flat washers
|
|
|
|
|
|
|
|

-XC27 Double clevis and double knuckle joint pins made of stainless steel

B (o71:ll | Compact flange made of SS400
-XC29 Double knuckle joint with spring pin

Rod trunnion
-XC52 Mounting nut with set screw

P (LWl | Made of stainless steel (Combination of XC7 and XC68) | [ )

P (o1l | Made of stainless steel (with hard chrome plated piston rod) | [ )

D (o1::ll | With rod end bracket | )

1247



Simple Specials/Made to Order Series CDY/C DX

Low speed cylinder @
Double acting, Single rod Page °
cm2X 2
>
3
=
Page 1251 <
Page 1252 c J2
CM2
Low speed cylinder
Double acting, Single rod Page cﬁ‘l
CM2X
MB
[ ] Page 1253
Page 1253 CA2

28
CAN]

,_
E
=3
]

Page 1256

o0
m|m}
<=

Page 1261

=
=
==
[

Page 1262

=
=
o=
=

[ ) Page 1263

(]
=
2

Page 1263

Page 1263

B
[
=

o o o o o o o ) o
[ o || o [ [ [ [ 2 2
«Q «Q «Q «Q «Q «Q «Q «Q «Q
[ o o [ [ [ [ [ o
- all=afl===]= P |
N (I[N NN NN
-3 ollollal|la|l a | a a (| o
- o o © @® @ ~ S »

(]

=

]

=

WRF

INDEX

1248



Series CLY/CLX

Simple Specials

These changes are dealt with Simple Specials System.

For details, refer to the Simple Specials
System in the WEB catalog.

http://www.smcworld.com

Symbol

Kl change of Rod End Shape -XAO to XA30
Series Description Model Action Symbol for change of rod end shape Note
CJ2-Z Smooth cylinder CJ2y Double acting, Single rod XAO0, 1,10, 11 Except pivot bracket and rod end bracket
CM2-Z Smooth cylinder cMm2y Double acting, Single rod XAO0 to 30 Except pivot bracket and rod end bracket
MB-Z Smooth cylinder MBY Double acting, Single rod XAO0 to 30 Except pivot bracket and rod end bracket
CA2-Z Smooth cylinder CA2Y Double acting, Single rod XAO to 30 Except pivot bracket and rod end bracket
CS2 Smooth cylinder csay Double acting, Single rod XAO to 30

Precautions

. SMC will make appropriate arrangements if no dimension,

tolerance, or finish instructions are given in the diagram.

N

. Standard dimensions marked with “+” will be as follows to the rod

diameter (D). Enter any special dimension you desire.

Symbol: AQ

T

Symbol: A4

1

e

Symbol: A8

B AL

30°

Symbol: A12

C0.5

R sphere

Symbol: A1

Symbol: A5

Symbol: A9

= C0.5 file chamfer
[}

Symbol: A13

D<6—-D-1mm 6<D<25—-D-2mm

D >25— D-4 mm

3. In the case of double rod type and single acting retraction type, enter
the dimensions when the rod is retracted.
4. The XAO0 of CJ2Y has no width across flats.

Symbol: A2

Symbol: A6

Symbol: A10

R sphere TP

&y

Symbol: A14

Symbol: A3

.X.
[

Symbol: A7

Symbol: A11

R sphere

H

c oDA 30°

TR
AL
e H ]

1249




Symbol: A16

AL DA

=
=

b

Lo
)

30°

*

C A

H

Symbol: A20

Symbol: A24

MM

AL

Symbol: A28

Symbol: A17
MM 30°
A
H
Symbol: A21
<<
30%
VIV
N

Symbol: A25

MM

AL

Symbol: A29

~
%iﬁt@\’

Simple Specials Series CD Y/CDX

Symbol: A18
MM 30°
s

Symbol: A22

MM < 30%

oDB
Ty
E

> |-

Symbol: A26

Symbol: A19

Symbol: A30

MM 307

1250

Air Cylinders

(1]
(2
N

[x)
=
N

CA2

retainer

£t
Lube-
JA

(v X~}
|}
<=

<«
=
Q

INDEX




Series C[]

cox

E Change of Trunnion Bracket Mounting Position

The position for mounting the trunnion pivot bracket on the cylinder can be moved from the standard mounting position to any desired position.

Symbol

(Z + 1/2 Stroke) =:

Trunnion position for -XC14A

Trunnion position for -XC14B

finish instructions are given in the diagram.
3.The possible range of trunnion bracket mounting position is indicated in

the table below.

Series Description Model Action Note ‘ Precautions

MB-Z | Smooth cylinder | MBY | Double acting, Single rod . . L
CA2-Z | Smooth cylinder | CA2Y | Double acting, Single rod 1. _S;Ceﬁxé;:fﬁ:&?isﬂgszZzi?;r:,:rni?g?n bracket position is not
CS2 | Smooth cylinder | CS2Y | Double acting, Single rod 2. SMC will make appropriate arrangements if no dimension, tolerance, or

4. Some trunnion mounting positions do not allow auto switch mounting.
Please consult with SMC for more information.

5. The CS2 series has a greater range of trunnion bracket mounting
positions than the CS1 series, so the value of “Z + 1/2 Stroke” at -XC14A
and -XC14B is different.

M BY (mm)
Symbol Z + 1/2 Stroke
For-XC14 Reference -
Bore size IR B IR LS Minimum Maximum Standard (Center trunnion) Mipmumsione
32 82.5 95.5 + Stroke 84 94 + Stroke 89 + 1/2 Stroke 2
40 89 97 + Stroke 90 96 + Stroke 93 + 1/2 Stroke 2
50 100.5 109.5 + Stroke 102 108 + Stroke 105 + 1/2 Stroke 2
63 103.5 106.5 + Stroke 105 105 + Stroke 105 + 1/2 Stroke 2
80 127 131 + Stroke 128 130 + Stroke 129 + 1/2 Stroke 2
100 130 128 + Stroke 131 127 + Stroke 129 + 1/2 Stroke 2
CA2Y (mm)
Symbol Z + 1/2 Stroke
For -XC14 Reference .
Bore size For -XC14A ez gkle Minimum Maximum Standard (Center trunnion) Minimumlstioke
40 89 97 + Stroke 89.5 96.5 + Stroke 93 + 1/2 Stroke 1
50 99 107 + Stroke 99.5 106.5 + Stroke 103 + 1/2 Stroke 1
63 103 111 + Stroke 103.5 110.5 + Stroke 107 + 1/2 Stroke 1
80 125 133 + Stroke 125.5 132.5 + Stroke 129 + 1/2 Stroke 1
100 132 138 + Stroke 132.5 137.5 + Stroke 135 + 1/2 Stroke 1
CS2Y (mm)
Symbol Z + 1/2 Stroke
For-XC14 Reference .
Bore size Rep S R 2ETES Minimum Maximum Standard (Center trunnion) Minimum stroke
125 165.5 152.5 + Stroke 166 152 + Stroke 159 + 1/2 Stroke 25
140 168 150 + Stroke 168.5 149.5 + Stroke 159 + 1/2 Stroke 30
160 186 160 + Stroke 186.5 159.5 + Stroke 173 + 1/2 Stroke 35

1251



E Change of Tie-rod Length

Cylinder with M dimension for tie-rod length changed from the standard length.

Simple Specials Series CD Y/CDX

Symbol

Series Description Model Action Note
CA2-Z | Smooth cylinder | CA2Y |Double acting, Single rod
Cs2 Smooth cylinder | CS2Y |Double acting, Single rod

CA2Y

Tie-rod Length Changeable Range (mm)
Bore size All bore size
M Min. 0
M Max. 300
cs2y

Tie-rod Length Changeable Range (mm)
Bore size 125 140 160
Mounting bracket| L |B, F,G,C,D,T| L |B,F,G,C,D,T| L |B,F,G,C,D, T
M Min. |20 12 21] 12 23| 14
M Max. 270

% € | Air cylinders

Precautions

1.To order, specify the M dimension as well as the part number.

2. SMC will make appropriate arrangements if no dimension, tolerance, or
finish instructions are given in the diagram.

3. Tie-rod length changeable range is described in the below.

4.The M dimension of the bracket mounting side of Flange (F, G), Clevis
(C, D) types cannot be specified.

1252

[x]
[T}
-

g

CA2

S
PN

retainer

o

=
>
=

=
>
=]

MGP

KOt
e

e
oK

WRF

< [xIx]
|}
<=

INDEX




Series CL1Y/CLIX
Made to Order

Please contact SMC for detailed dimensions, specifications and lead times.

je to'
Mgﬂier

Symbol
n Special Port Location -XC3

Compared with the standard type, a cylinder which changes the connection port location of rod/head cover and the location of cushion valve.

Applicable Series

Series Description Model Action Note
: " Rail mounting,
CJ2-Z | Smooth cylinder | CJ2Y | Double acting, Single 10d | v i 2t cuhion
cM2-Z Smooth cylinder | CM2Y | Double acting, Single rod | Without air cushion
Low speed cylinder| CM2X | Double acting, Single rod | Without air cushion
CS2 Smooth cylinder | CS2Y | Double acting, Single rod

How to Order
cJ2y
cMm2y
CM2X

Standard model no. | = XC3
Special port location I

Rod port location viewed from the rod side

+ For port location, refer to the following diagrams
and show the symbols of A, B, C and D.

Head port location viewed
from the rod side

Port Location

Specifications: Same as standard type

csa2y Standard model no. | - XC3

Special port IocationI

Port location viewed from the rod side
= For port location, refer to the following diagrams
and show the symbols of A, B, C and D.

Cushion valve location viewed
from the rod side

Series Corresponding symbol of mounting bracket (Positional relationship)
<Positional relationship between clevis and
* Viewed from the rod side, the ports are port>
rendered A, B, C, and D, in the * Viewed from the rod side, with the clevis
cJ2y clockwise direction. positioned as shown in the diagram, the
cmay ports are rendered A, B, C, and D, in the
clockwise direction.
Positional relationship between port and cushion valve cannot be changed.
Cushion Cushion Cushion Cushion Cushion Cushion Cushion
valve Port  valve Port valve Port valve Port valve Port  valve Port valve Port
ol
)
oE%C
cs2y © ) ) ) )
Basic Foot Rod flange Head flange Single clevis Double clevis Center trunnion
1. Symbol of position for port and cushion valve has to be looked from the rod side, as figures above. (In the case of standard cylinders, port
must be positioned in the upper side.) Define the upper side to be A, and then B, C, and D in a clockwise order.
2. Model of combination between port and cushion valve is applicable only when the position of a port and a cushion valve on the rod cover
and the head cover will be changed to the same position against the support bracket, as a rule.
3. -XC3AA is not available in terms of the position between port and cushion valve, since it is available in the standard products.

E Made of Stainless Steel
Suitable for the cases it is likely to generate rust by being immersed in the water and corrosion.

Applicable Series Specifications

Symbol

Series Description Model Action Note ‘ Parts changed to stainless steel ‘ Piston rod, Rod end nut
CM2-Z | Smooth cylinder | CM2Y | Double acting, Single rod Specificati

) pecifications other than above
CG1-Z | Smooth cylinder | CG1Y | Double acting, Single rod and external di ions Same as standard type

How to Order
Standard model no.

|- xce
Made of stainless steeII

1253



Made to Order Series CD

B Tie-rod, Cushion Valve, Tie-rod Nut, etc. Made of Stainless Steel

stainless steel.

Symbol

When using in locations where the rust generation or corrosion likelihood exists, the standard parts material have been partly changed to the

Applicable Series Specifications
Series Description Model Action Note Parts changed to Tie-rod, Tie-rod nut, Mounting bracket nut,
Smooth Double acting, stainless steel Cushion valve, Retaining ring, Washer
MB-Z cylinder MBY Single rod Specificati
" pecilications Same as standard type
Smooth Double acting, other than above
CA2-Z cylinder CA2y Single rod
Dimensions Same as standard type
How to Order
Standard model no. |- XC7

Tie-rod, Cushion valve, Tie-rod nut, etc.I

made of stainless steel

[
b
(7}
°
=
>
o
=
<

n Adjustable Stroke Cylinder/Adjustable Retraction Type

Symbol

P
H
©

2(g/g
_A§N

g

(<)
=
N

[H173
The retract stroke of the cylinder can be adjusted by the adjusting bolt. s
R . . - Lube-
Applicable Series Specifications tetaner
Series | Description | Model Action Note Series CJ2y CM2Y, CS2Y
CcJ2-Z Smooth | oy | Double acting, | Except double-side bossed and Stroke adjustment symbol — A ‘ B JA
cylinder Single rod | clevis types, Without air cushion Stroke range (mm) 0to 15 0to 25 ‘ 0to 50
CcM2-2 Smooth | 1oy | Double acting, Except clevis and Specifications other than above ‘ Same as standard type ‘ MXH
cylinder Single rod boss-cut types
cs2 Smooth cs2y Double acting, Except head flange MXQ
cylinder Single rod and clevis types
MGP
How to Order coY
= a " [Hm) ¢
CcJ2y | Mounting ” Bore size |—| Stroke | z —| Pivot bracket ” Rod end bracket |- XC9 l:
CKC1
Adjustable stroke cylinder/Adjustable retraction type
G0
CM2y | Mounting || Bore size |-|Stroke|| Rod end thread | Y4 -| Pivot bracket || Rod end bracket |-| Auto switch |- XC9 C{LJkU
Adjustable stroke cylinder/Adjustable retraction type cKﬂ
Stroke adjustment symbol CKZ2N
Symbol | Stroke adjustment range
A 0to 25 mm
B 0050 mm WRF
CS2Y | Mounting || Bore size | -| Stroke | | Suffix | | Stroke adjustment symbol | - XC9
(After the stroke is adjusted, with cushion on both sides is altered Adjustable stroke cylinder/I
to single-sided, with cushion.) Adjustable retraction type
Symbol .
e /\Caution
e n Precautions
—EE»*‘ 1. When air is supplied to the cylinder, if the stroke adjusting bolt is
loosened in excess of the allowable stroke adjustment amount, be
Ad:;;ble "ange aware that the stroke adjusting bolt could fly out or air could be
! o discharged, which could injure personnel or damage the peripheral
equipment.
2. Adjust the stroke when the cylinder is not pressurized. INDEX
If it is adjusted in the pressurized state, the seal of the adjustment

section could become deformed, leading to air leakage.

1254




Series CL1Y/CLX

Symbol
n Adjustable Stroke Cylinder/Adjustable Retraction Type
Dimensions (Dimensions other than below are the same as standard type.)
CcJ2y
BM
Adjustment bolt (mm)
"@ Bore size BM 2z
“’f‘l}j=t 10 M5 x 0.8 74
16 M5 x 0.8 75
ZZ + Stroke MAX.30

= Dimensions other than listed above are the same as standard type.

CcM2Yy
BM (Adjustment bolt) (mm)
Bore size BM MH zz
20 M10x 1.25 26.5 | 1425
= j 25 M14x 1.5 29 149
> 32 M14x 1.5 29 151
MH + Adjustment 40 M16x15 | 32 | 186
ZZ + Stroke + Adjustment (A: 25 mm, B: 50 mm)
csa2y
M24 x 1.5
i S (mm)
T T
- @ @ Bore size a b d 2z
o o] 7o) © 125 142 | 19 | 63 | 271
[ [~ | AN\ 140 155 | 19 | 63 | 271
160 174 19 59 285
I | ]
=15 | o | ®
d+ a
ZZ + Stroke + Adjustment

1255



Made to Order Series CD

Symbol
A bual stroke Cylinder/Double Rod Type -XC10
Two cylinders are constructed as one cylinder in a back-to-back configuration allowing the cylinder stroke to be controlled in three steps.
Applicable Series Specifications g
Series | Description | Model Action Note Series CM2Y cs2y 'g
CM2-2 Smooth M2y Double acting, | Except clevis and boss-cut types, Bore size (mm) 20 to 40 125,140 ‘ 160 =
cylinder Single rod pivot bracket, rod end bracket Maximum stroke (mm) 1000 1000 ‘ 1200 3
Smooth Double acting, Except clevis and — =
cs2 cylinder cs2y Single rod trunnion types Specifications other Same as standard type P
than above

(1]
(2
N

How to Order
CM2Y |Mounting || Bore size |- | Stroke A| +|Stroke B|Z -XC10

Dual stroke cylinder

CS2Y |Mounting || Bore size |- | Stroke A||Suffix| +|Stroke B|[Sutfix| - xc10

Dual stroke cylinder

[x)
=
~

[x]
[T}
-

g

[ Function | ICA2
|® oc 1@ When air pressure is supplied to ports B stroke B ®lc IQ When air pressure is supplied to ports [H173
EB @ and @, both A and B strokes retract. 4F(:IJE|* @ and @, B out strokes. cas
Lube-
O DI® A pgroke  When air pressure is supplied to ports Bstoke B_@}|® A Astroke  When air pressure is supplied to ports | retaner
® and @, A out strokes. @® and @, both strokes A and B out

o

strokes.

=
>
=

Dimensions (Dimensions other than below are the same as standard type.)

MX
cMm2y GD _ Cport 0
B port stroke B B port GC stroke A A port MGP
: e _
‘ ik ‘ o) coY
Fé;‘ Bore | Gc |Gp | sA | sB | zz COX
Am H H size
SB + stroke B SA + stroke A Z: ; zj j: ;2 2(1); CKD1
‘ L+ dhroke (A+ ) 32 | 7 |24 | 49 | 80 | 219 ClLKD
40 |10.5|33.5|66.5|110.5| 277 —
cs2y G por CILKU
B port stroke B D port stroke A A port —
g N W - ‘ CKQ
T T T T I8 (mm) _
4
’ CKL2N
Boresize | S | ZZ L———

125 196 | 416 WRF

140 196 | 416
160 212 | 452

=

Th
1

S + stroke (A + B) = For rod flange type “F”, the flange bracket will be
2Z + stroke (A + B) attached to the stroke A side.

INDEX

1256



Series CL1Y/CLX

A Auto switch Rail Mounting

A cylinder on which a rail is mounted to enable auto switches, in addition to the standard method for mounting auto switches (Band mounting).

Applicable Series

How to Order

‘ Series ‘ Description ‘ Model ‘ Action ‘ Note ‘
‘ CM2-Z ‘Smooth cylinder‘ CDM2Y ‘ Double acting, Single rod ‘ ‘

CDM2Y Applicable Auto Switches

Solid | D-F70O, D-F70V, D-F7BA, D-F79F, D-F79W,
Rail state | D-F7O0WV, D-J79, D-J79C, D-J79W
mounting Reed D-A9L/A901V, D-A7/A8, D-A7IH/A80H,
D-A73C/A80C, D-A79W
Auto switch Refer to the WEB catalog or Best Pneumatics
specifications No. 2 for additional information on auto switches.

Auto Switch Proper Mounting Position

(Detection at stroke end) and Its Mounting Height

B A

|- xc13a

Rail mounting direction

Mounted on the right side when
viewed from the rod with the
ports facing upward.

Mounted on the left side when
viewed from the rod.

Mounted on the underside
when viewed from the rod.

| Standard model no.

Port

XC13A

XC13B

c Xc13C

X

2 G@E‘u/‘f

———

L

<l

féi\ A H%QH ,

5

L]

-Hs A, Bl
Auto Switch Proper Mounting Position (Detection at stroke end) (mm) Auto Switch Mounting Height (mm)
Auto | D-FTOI/F79F/F70V D-FTOIFT9F
switch | DJ7979C D-A9CI DT9FINT | popry
model | D-F7OWN79W/FTOWV D-A700 D-FTOWNT7IW D-A70 |D-A73C
D-FTBAFFTBAV DR O ATow D-A80 prrea | oFEHIDITEC p.agy | p.agoc | PATW
D-A72/A7C0H/A80H D-A9CI/A9CV
. D-A73C/A80C A7CH/A80H
Bore size A B A B A B A B Hs Hs Hs Hs Hs Hs
20 8.5 7 13.5 12 5.5 4 8 6.5 23.5 26 29 22,5 29.5 25
25 7.5 7.5 12.5 12.5 4.5 4.5 7 7 26.5 29 32 25.5 32,5 28
32 9 8 14 13 6 5 85 7.5 30 325 | 355 | 29 35 31.5
40 15 13 20 18 12 10 14.5 12.5 34 36.5 39.5 33 40 35.5
Note) Adjust the auto switch after confirming the operating condition in the actual setting.
Minimum Stroke for Auto Switch Mounting Operating Range
— — —
(mm) (mm)
Number of auto switches o Bore size
. Aut itch model
Auto switch model With | With2pes. | With n pes. (n: Number of auto switches) o switeh mode 20 25 32 40
1 pc. |Same surface Same surface D-F70/F79F/F70V
D-F700V 10+10 (n—2) D-J79/J79C
D-J79C 5 5 (n = 4, 6-.) Note) D-F7OW/J79W/F7TOWV| 35 35 4 35
D-F701 15+ 15 (n-2) D-F7BA/F7TBAV
D-J79 5 5 (n = 4, 6.--) Note) D-F7NTL
D-F700WV D-A901/D-A9CIV 5.5 6 6.5 6.5
D-F7BAV 10 15 10+15 (n—2) D-A7C1/A80
(n =4, 6-)Note) D-A7CJH/A80H 7.5 8 85 8.5
D-A79W
D-F7OW/J79W D-A73C/ABOC
D:F7BA 10 15 15+20 (n-2) D-A79W 10 10.5 125 12.5
D-F79F/F7NT (n =4, 6)Note) + Values which include hysteresis are for guideline purposes only, they are not
a guarantee (assuming approximately +30% dispersion) and may change
D-A9C] 5 10 10+ 15 (n—2) substantially depending on the ambient environment.
D-A9CIV (n =4, 6:-) Note)
D-A7C1/A80 15410 (n-2) Auto Switch Mounting Brackets/Part No.
D-A7CH/A80H 5 10 (1= 4, 6oy Nt -
D-A73C/A80C . Bore size (mm)
D-A7CH 15+ 15 (n—2) Auto switch model 20 10 040
D-A80H 5 10 (n =4, 6...) Note) 020 to @
- D-A9CI/A90IV BQ2-012

Note) When “n” is an odd number, an even number that is one larger than this
odd number is used for the calculation. However, the minimum even
number is 4. So, 4 is used for the calculation when “n” is 1 to 3.

1257

Note 1) When adding the D-A9](V), order a set of auto switch mounting brackets
BQ-1 and BQ2-012 for the CDQ2 series (212 to 825) separately.
When adding the auto switches other than the D-A90J(V) mentioned above
and D-F7BA(V), order an auto switch mounting bracket BQ-1 separately.
Note 2) When adding the auto switch D-F7BA(V), order a stainless steel screw
set BBA2 separately.



Made to Order Series CD Y/C DX

Symbol
Head Cover Axial Port -XC20

Head side port position is changed to the axial direction.
Applicable Series How to Order

‘ Series ‘ Description ‘ Model ‘ Action ‘ Note ‘ | Standard model no. |_ XC20
‘ CM2-Z ‘Smooth cylinder‘ CcMm2y ‘ Double acting, Single rod ‘Except clevis type‘

Head cover axial portl
Specifications: Same as standard type

[
b
(7}
°
=
>
o
=
<

Construction (Same dimensions as standard type except port size.)

CJ2
Connection port Bore size (mm) Port size cM2
20, 25, 32 Rc 1/8
40 Rc 1/4 cG‘I
Boss-cut MB
Symbol CA2
ﬂ No Fixed Throttle of Connection Port -XC25 Egg
Type with no restrictor on the port, since it's using air-hydro type on the rod cover and the head cover of air cylinder CM2 series. Lube-
Applicable Series How to Order relainer
[ Series [ Description [ Model | Action Note | Standard model no. |_ XC25 JA
‘ CM2-Z ‘Smooth cylinder‘ cMm2y ‘ Double acting, Single rod‘ ‘
* Except with air cushion No fixed throttle of connection portl MXH

Specifications: Same as standard type

=
>
=]

Construction (Dimensions are the same as standard.)

=
=
-]

A\ Caution

1. Use a shock absorber etc.
When the piston speed exceed 750 mm/s, make sure that direct impact
does not apply on the cylinder cover by using an external stopper CK
(shock absorber etc).

(v X~}
|}
<=

1

Ma

UKy
oK
WRF

INDEX

1258



Series CL1Y/CLX

ﬂ With Split Pins for Double Clevis Pin/Double Knuckle Joint Pin and Flat Washers

Symbol
-XC26

Flat washer is added for the double clevis (one of the mounting styles) or double knuckle joint (one of the accessories).

Applicable Series

Specifications

‘ Series ‘ Description ‘Model‘ Action ‘ Note

Mounting

‘ Only double clevis type (D), double knuckle joint ‘

‘ CS2 ‘Smooth cylinder‘ cs2y ‘ Double acting, Single rod ‘

Changed parts ‘

Clevis pin, knuckle joint pin, flat washer ‘

How to Order

* Product
CSZYDl Standard model no. |— XC26
Double clevis type 1
With clevis pin, split pin and flat washer

* Parts assembly
CS2-D 12 - XC26

T IWith clevis pin, split pin and flat washer
B

ore size
12 | 125 mm
14| 140 mm
16 | 160 mm

Double clevis

Y-| 12A, 14A, 16A

|- xc26
IDoubIe knuckle joint

With knuckle joint pin,
split pin and flat washer

1y -| 12,14,16

TCIevis pin

Knuckle joint pin

|- xc26

With clevis pin, knuckle joint pin,l
split pin and flat washer

1259

Specifications
other than above

Same as standard type ‘

Dimensions (pimensions other than below are the same as standard type.)

Double clevis
Split pin

—

(
)

cw

Double knuckle joint
Split pin

Flat washer

# For mounting bracket, split
pin, clevis pin and flat washer
are shipped together, (but not
assembled).

# Mounting method is the same
as standard type.

(mm)
Bore size | CW
0125 90
2140 104
2160 113

+ For mounting bracket, split pin,
knuckle joint pin and flat washer
are shipped together, (but not
assembled).

+ Mounting method is the same
as standard type.

(mm)
Bore size L
0125 90
2140 104
0160 113




Made to Order Series CD Y/C DX

Symbol
m Double Clevis and Double Knuckle Joint Pins Made of Stainless Steel -XC27

To prevent the oscillating portion of the double clevis or the double knuckle joint from rusting, the material of the pin and the retaining ring has

been changed to stainless steel. o
-
Applicable Series How to Order S
Series Description Model Action Note CM2YD _i
. Doubl ting, | E t rod end
CM2-Z | Smootn cyinder| cvizy | Poneecar | Bxcppiiend | MBYD Standard model no. |-xca7 | ©
: <
MB-Z | Smooth cylinder| MBY Dos"::lel:f;'gg' EXCE’:;:;Zte”d Cs2yD Double clevis pin made of stainless steel
9 - Double clevis type ch
CA2-Z | Smooth cylinder | CA2Y Do;blel actlgg, Exczpt ridtend L.
ingle ro racke! Knuckle joint
CSs2 Smooth cylinder| Cszy | Double acting, tm2
Y Single rod ForCM2Y Y-|  020B, 032B,040B |- XC27 pre
T T
Specifications For MBY Y -[ 03m, 04Mm, 05M, 06M, 10M |- XC27
Mounting Only double clevis type (D), double knuckle joint For CA2Y Y - | 04D, 05D, 08D, 10D |- xca7 MB
Pin, retaining ring, flat washer . T T
and split pin material Stainless steel 304 ForCS2Y Y - | 12A, 14A, 16A |- XC27 CA2
Specifications Same as standard type IDoubIe knuckle joint ca2
other than above - cas
Double knuckle joint pin
made of stainless steel I'Uh'?'
retainer
Clevis pin/Knuckle pin JA
For CM2Y CDP - | 1,2 |- xca7
-7 T
ForMBY CD -|  MO03, MO5, M08 |- xC27
T T
For CA2Y CDP —| 2A, 3A, 4A, 5A, 6A, 7A |- XC27
- T
ForCs2y 1Y -| 12,14,16 |- xc27
Clevis pin coy
Knuckle pin COX
Clevis pin I CKC1
Knuckle pin made of stainless steel
Symbol E(I')KD
m Compact Flange Made of SS400 -XC28 N1
Width of a flange bracket on the rod and head side has the same dimensions as the cylinder’s rod cover to save the mounting space. (Flange shape GKQ
and FV-dimensions are only different from the standard type.)
Applicable Series How to Order CKZ2N
Seri D ipti Model Acti Not 7
ores eserpton oce ¢ 'on_ o CA2Y Standard model no. |— XC28 WRF
CA2-Z | Smooth cylinder| CA2Y D%:ﬁ'ﬁ:%gg‘ l
9 Compact flange made of SS400
Specifications: Same as standard type Mounting
ﬂ Rod flange
ﬂ Head flange
Dimensions (pimensions other than below are the same as standard type.)
;{';' - h% (mm)
Bore size FT | FV | FZ
5 @ z 40 12 | 60 | 100
L{j:;M{ r j 50 12 | 70| 110
=, | 63 15 | 85| 130
[ 80 18 | 102 | 160
f_'[ 100 18 | 116 | 180
= Other dimensions are the same as flange on the rod side and head side of standard type. INDEX

(Figure is the case of flange on the rod side.)

1260



Series C[]

cox

B Double Knuckle Joint with Spring Pin

To prevent loosening of the double knuckle joint of standard air cylinder.

Symbol

|- xc29

Applicable Series How to Order
Series Description Model Action Note Standard model no.
G224 Smooth cylinder | CM2Y DoSuitn)lgelea%igg, Excg;;;éﬁgtend Double knuckle joint with spring pin
MB-Z | Smooth cylinder| MBY D‘g'ig'gel acting, | Except rod end
CA2-Z |Smooth cylinder| CA2Y Double acting, | Except rod end

Single rod

bracket

Specifications: Same as standard type

Dimensions (For mounting bracket, pin is shipped together.) (Dimensions other than below are the same as standard type.)

cmMm2y

oNDH10 (Hole dia)

oNDds (Shatt dia.)

(mm)
T e Boresize| H | L1 | NDHio | NZ | R X Z | ZZ | Spring pin
o a8 .
ZJ ERs=lELl 20 41|36 | 99 [ 18|10 | 5 | 61 [146| 03x 16L
— 25 45 | 38 | 99 | 18 | 10 | 5 | 65 [ 150 | @3 x 16L
Setnaen s K 32 [45/38 | 93% [ 18|10 | 5 | 65 |152] 03x 16L
: E— 224 Stroke 40 50 | 55 | 123 | 38 | 13 | 11 | 83 |200 | 04 x 24L
MBY
Hole: oNDH10
!
e e T
Spring pin
U1
L+
RR:1, PY
ZZ + Stroke
(mm)
Bore size| oE1| L L1 | oNDds | oNDH10 NX NZ PY |RR1| U1 Y44
32 20 | 44 | 30 | 102332 | 10°9°® | 14333 | 2831 | 635| 10 | 16 | 161.5
40 22 | 44 | 40 | 1029970 | 10°9%° | 14353 | 28231 72 11 | 19 | 171
50 28 | 60 | 50 | 147089 | 1473 | 20193 | 4033 | 87 | 14 | 24 | 199
63 28 | 60 | 50 | 14229 | 14°3°° | 20133 | 4033 | 87 | 14 | 24 | 199
80 40 | 82 | 65 | 22709% | 22°3% | 30!83 | 6031 | 113 20 | 34 | 251
100 | 40 | 82 | 65 | 22339% | 22:9° | 30103 | 603} | 116 | 20 | 34 | 254
CA2Y
Hole: NDH10 H
Shaft: 6NDdg
Lot =
‘ N _ﬁ (mm)
N p‘[‘ Tl =
2 JﬁJ‘Pﬂ‘j | H | Lt | oNDe | oNDuio | NX | NZ | PY |RR1| 2Z
x| & = 40 | 51 | 55 | 12389 [ 129°° 1633 | a8 | 84| 13 | 192
-4 —0.050 +0.070 +03
50 |58 | 60 | 1220%8% | 127 16103 | 38 | 91| 15 | 207
L1 Spring pin 63 | 58 | 60 | 122032 | 12'3°° | 165338 | 91| 15 | 218
RRi PY 80 | 71 | 71 | 182339 | 18%3°° | 28133 | 55 | 105| 19 | 257
2Z + Stroke 100 | 72 | 83 | 207095 | 20°3% 30133 | 61 [118| 21 | 282

1261



cox

Made to Order Series CD

Symbol
m Rod Trunnion -XC30

This cylinder shortens the distance between the fulcrum and the rod end by installing a trunnion bracket in front of the rod side cover.

Applicable Series How to Order 5
Series Description Model Action Note MBY 'g

. Double acting, CA2YT | Standard model no. |- XC30 | =

MB-Z | Smooth cylinder | MBY Single rod cs2y _l_ l 5-
Double actin Trunnion bracket Rod trunnion =

CA2-Z | Smooth cylinder | CA2Y Single 1o d9' <

Double acting,

CS2 |Smooth cylinder| CS2Y Single rod

Specifications: Same as standard type

Dimensions (Dimensions other than below are the same as standard type.)

MBY
z (mm)
T [ e Banm Bore | u | oTDes | TT | TX | TY |12 | 2 | 22
REE 75\ ¢ i
z|8 I 7N [N 32 | 47 | 1238% | 17 | 50 | 49| 74 385|135
S N 8 t 40 | 60 | 16352 | 22 | 63| 58| 95|49 | 148
5 é 50 | 66 | 169%% | 22 | 75| 71 |107 |55 | 164
63 | 72 | 203% [ 28 | 90| 8713058 | 170
X 80 | 86 | 203%3 [ 34 [ 110 ] 110 | 150 |69 | 204
1Z ZZ + Stroke 100 | 92 | 25332 | 40 [ 132 | 136 | 182 |72 | 210
CA2Y
z GA
1T MGP
j‘ T ‘H Lt# GDY
73 @; > CcOX
N W [ F
o | | CKC1
[H H————————— (14
TT |_n
H S + Stroke TX %
2ZZ + Stroke TZ E(l.)KU
(mm) P
Symbol
= n GA H s TDes T | X | TY | TZ z 2z cKa
Bore size —___
40 23 | 11 | 66 80 | 15382 | 22 85 | 62 | 117 | 55 | 151 CKZ2N
50 26 13 71 86 | 1538 | 22 95 74 | 127 [ 60 [ 163 T
63 27 13 79 94 | 18332 | 28 | 110 9 | 148 [ 65 [ 179 WRF
80 32 16 945| 111 | 25032 | 34 | 140 | 110 | 192 | 775 | 2125
100 35 16 | 100 | 121 | 25338 | 40 | 162 | 130 | 214 [ 80 [ 229
Ccs2y
€4 op ac
“1‘: (mm)
m= 8 Bore | GA | GB | GC | NA | S | TDes
,J = size
] G o] } z 125 |38 | 23 | 45 |285| 96 | 32383
i 140 | 405| 23 | 45 |285| 96 | 3600
i = 160 |46 | 26 | 50 [32.5] 104 | 40359
| 1z .
z NA S|t |TY (T2 | H |z |2z
H S + Stroke
ZZ + Stroke 125 | 50 | 164234 [ 11287 |221
140 | 55 | 184|262 | 112 |84.5] 221 INDEX
160 | 60 204|292 [ 12292 [241

1262



Series CL1Y/CLX

Symbol
m Mounting Nut with Set Screw -XC52

In order to prevent the mounting nut from being loosen, set screw should be tighten from the two directions to fix the mounting nut.

Applicable Series
Series Description Model Action Note

Double acting, 3xM4x0.7
Single rod 2 x Hexagon socket head set screw

Dimensions (Dimensions other than below are the same as standard type.)

Smooth cylinder | CM2Y
CM2-Z

Low speed Double acting, | |
cylinder CM2X Single rod i T

How to Order
Standard model no. |- XC52

J

Mounting nut with set screwl

Specifications: Same as standard type

Symbol

m Made of Stainless Steel (Combination of XC7 and XC68)

Suitable for the cases it is likely to generate rust by being immersed in the water and corrosion.

Applicable Series Specifications
Series Description Model Action Note Tie-rod, Tie-rod nut, Cushion valve,
] Double acting :;'r‘sl:sr':!?;‘: to Piston rod (with hard chrome plated),
MB-Z | Smooth cylinder | MBY Single rod Rod end nut
. i Double acting, Specifications other than
CA2-Z | Smooth cylinder | CA2Y Single rod above and external Same as standard type
dimensions
How to Order
| Standard model no. |- XC65
Made of stainless steel
(Combination of XC7 and XC68)
Symbol
m Made of Stainless Steel (With Hard Chrome Plated Piston Rod) -XC68
Suitable for the cases it is likely to generate rust by being immersed in the water and corrosion.
Applicable Series Specifications
Series Description Model Action Note \ Parts changed to stainless steel \ Piston rod, Rod end nut \
. . Double acting, ificati ther th: by
. Double acting,
CA2-Z | Smooth cylinder | CA2Y i )
Single rod Maximum Stroke (mm)
. Double acting, Double actin, Double acting, Single rod
S| th cylinds csay " 9, g, Sing
Cs2 mooth cylinder Single rod Model Single rod with rod boot
cs2y 1600 1400
How to Order
Standard model no. |- XC68

Made of stainless steell
(with hard chrome plated piston rod)

1263



Made to Order Series CD

Symbol
With Rod End Bracket -XC86

With rod end bracket type to simplify the order process.

Applicable Series How to Order 5

Series Description Model Action Note Standard model no. |_ XC86 'g

) Double acting, =

2 | Smooth cylinder | CS2Y " ! >

e i Single rod With rod end bracketl o

Note 1) Rod end brackets are shipped together. Suffi =

Note 2) A pin and two split pins are attached for double knuckle joint. umix <
Note 3) XC86A to C: Standard type, XC86D to F: Standard type except for rod With rod end nut

end thread length (A and H dimensions) With double knuckle joint
With single knuckle joint
With double knuckle joint and rod end nut
With single knuckle joint and rod end nut
With rod end nut (For knuckle joint)

mmo0 o>

Dimensions (pimensions other than below are the same as standard type.)

XC86B, XC86C

H
A o
\_t T ]
7 g (mm)
VN i } } B [ Symbol m A 1 - Applicable knuckle joint part no.
\ // ot - 5 Bore size ¢ | type single knuckle | Y type double knuckle
— 125 110 | 50 3.5 | 100 | 156.5 I-12A Y-12A
L1 = 140 110 | 50 | 3.5 | 105 | 161.5 I-14A Y-14A
H1 160 120 | 56 | 3.5 | 110 | 170.5 I-16A Y-16A
MGP
XC86D, XC86E
coy
H H CCX
A A
= e T = CKO1
B+ ) ==
= S Th A [ e Hyc
\ > s ) Iy
—= H: —H e
L He o e CKQ
H1
(mm) | CKZ2N
Symbol i joi ' I
ymbol H A Lt Hi Ha ApPllcabIe knuckle joint part no. Applicable
Bore size 1 type single knuckle | Y type double knuckle | rod end nut | \WRF
125 125 | 65 | 100 | 181 18 I-12A Y-12A NT-12 —
140 125 | 65 105 | 186 18 I-14A Y-14A NT-12
160 140 | 76 | 110 | 198 21 I-16A Y-16A NT-16
INDEX

1264



Related Products/Made to Order
-XB13: Low Speed Cylinder

5 to 50 mm/s (CY1/CY3: 7 to 50 mm/s)

Symbol
Kl Low Speed cylinder -XB13
CY1
CG1 | Standard model no. |— XB13 cY3 | Standard model no. |— XB13
Low speed cylinderl |
MGPY | Standard model no. |- XB13
MGGM | Standard model no. |- XB13
MGCM | Standard model no. |— XB13
I
CX2 | Standard model no. |- XB13
I
cxwy | Standard model no. |— XB13
I
cxs! | Standard model no. |- XB13
I
MXH | Standard model no. |— XB13
cxty |
LM | Standard model no. |— XB13
CXSJ
Note 1) Operate without lubrication from a pneumatic system lubricator. Low speed cylinderl

Specifications
————
. N 0 Magnetically |Compact| Guide cylinder
:plrl::::)le Alsrt:::;:g:r coupled guide Slide unit Dual rod cylinder Compact slide zlal:;ﬂ::
i rodless cylinder| cylinder | <Slide bearing> Y

Series CG1 cY} MGP) | MGGM | MGCM | cx2 | cxw® |cxsJ | cxs MXH cxtl!
Action Dou_ble acting, Double acting

Single rod

[CY3B]
20,2532 | &i0, 1520 ;g 20,25 | 5,25 10,16 | 6,10 6,10 12,16
: , 29, 25, 32, 40 s s s s s s
SEDED 40,50, 63 0. 63 32,40 | 3240 | 35740 | 1015 | 20725 | 15,20 | 15,20 6,10 20, 25
(mm) , 50, 63 25 16, 20
80, 100 50, 63 80. 100 50 32 25,32 25,32 32, 40
[CY1S,CY1L] | go 100 | &
6to 40
q 5to 50 7 to 50 5to 50
Piston speed mm/s mm/s mm/s 5 to 50 mm/s
. Rubber Rubber bumper Shock absorber
Cushion bumper Rubber bumper (Basic cylinder) (CX2: Option) Rubber bumper
Auto switch Mountable
Basic
Foot Basic Basic

Mounting Flange Slider Basic Front mounting Basic

Trunnion Flange

Clevis

Dimensions
Specifications Dimensions and specifications are the same as standard products of double acting.
other than
above

* No shock absorber is available for the MGGM series.

1265



Related Products:
Speed Controllers for Low Speed Operation

The effective area of controlled flow is approximately 1/10 of the standard type. These controllers are suitable for

controlling the speed of low speed cyl

linders.

The dual type speed controller is especially suitable for cylinders with a small bore size.

Elbow/Universal Type

Flow Rate and Sonic Conductance

[
-
- Model AS12001FM-M5 |AS2201FM-CJ01|  AS22[11FM-102 %
g AS13001FM-M5 |AS23C01FM-0J01|  AS230C011FM-002 E
q i w Metric size 03.2,04,06 |03.2,04| 06,08 | 04 | 06 |08 010 5‘
Tubing . " . | ©3/16" o1/4" =
v ; .D. Inch size 2;?6”2/13/3 ;51/{1,82" o1/4" | 05/32"|03/16" | 05/16" | | <
- = ' 05/16" 23/8"
; FI te L/min (ANR] 7 12 38
Sl o2
<) oY | dmsban o oz °° cm2
= Flow rate L/min (ANR) 100 180 230 | 260 | 390 | 460
Free flow | Sonic conductance
dmel(s-bar) 15 2.7 35 4 6 7 CcG1
Note) Supply pressure: 0.5 MPa, Temperature: 20°C MB
In-line Type CA2
Flow Rate and Sonic Conductance cQ2
= Y Model AS1001FM AS2001FM As2051Fm__| LGOS
s Ut Tubing Metric size 03.2, 04, 06 04 26 06 08 l“‘hE.'
e - f T ] |retainer
o.D. . 21/8", 85/32 " 03/16' " o1/
‘}F /f / Inch size 53/16", o1/4" 05/32 21/4" 03/16 05/16" A
) Ny ) FI te L/min (ANR] 7 12 38
— . Controlled S:r‘:\i’cr(a:oend:::ltr;l('lce )
B flow dm¥/(s-bar) 0.1 0.2 0.6 ‘ XH
\ S Flow rate L/min (ANR) 100 130 230 290 460
— Free flow | Sonic conductance 15 5 a5 45 7 MXQ
dm?/(s-bar) ) § -

Note) Supply pressure: 0.5 MPa, Temperature: 20°C

Elbow Type (Metal body)

< [xIx]
|}
<=

. Flow Rate and Sonic Conductance KOt
Model AS12010M AS22[10M-C101 | AS22[10M-102 E(l.)KD
; @\ 7 | ) Cylinder side R1/8_ | R1/4_|
- Port size — M5 x 0.8 | 10-32UNF NPT1/8 NPT1/4
. ] - Tube side Rc1/8 ‘ Rc1/4 ‘ c(L)Ku
e & peefmimen z :
O} flow iAo 0.1 02 06 CKQ
| & i
| Flow rate L/min (ANR) 105 280 420
ME Free flow | Sonic conductance CKZ2N
dmel(epar) 1.6 43 6.5 —
Note) Supply pressure: 0.5 MPa, Temperature: 20°C WRF
— Flow Rate and Sonic Conductance
i Model ASD230FM-M5 | ASD330FM-101 | ASD430FM-102
v dle Metric size 04, 06 06, 08 06 28, 810
' ! Tubing } " o1/4"
ot Qu. 0.D. Inch size 2;;?6”2/13/‘2‘ 03/16", 01/4" — | o5/16"
= ; ' 03/8"
A
{ .
‘! = . Controled flow Flow rate L/min (ANR) 7 12 38
(Free flow) Sonic conductance
- (m dm?i(s-bar) 0.1 0.2 0.6
= Note) Supply pressure: 0.5 MPa, Temperature: 20°C
INDEX

1266




	New Products Guide 1
	INDEX
	Directional Control Valves
	5 Port Solenoid Valve: Series SY3000/5000/7000 
	Features
	Variations
	INDEX
	Optimum Actuation Size Chart of Air Cylinder
	Valve Specifications
	Valve Construction
	Valve Replacement Parts
	With Residual Pressure Release Valve
	Made to Order
	Plug-in Sub-plate Type [IP67 Compliant]
	Plug-in Metal Base
	Type 50/51 D-sub, Flat Ribbon Cable, PC Wiring
	Type 52 D-sub, Flat Ribbon Cable, PC Wiring
	Type 50/51 Series EX510
	Type 52 Series EX510
	Type 50/51/52 Manifold Exploded View 
	Plug-in Connector Connecting Base
	Type 10/11 D-sub, Flat Ribbon Cable, PC Wiring
	Type 12 D-sub, Flat Ribbon Cable, PC Wiring
	Type 10/11 Terminal Block Box
	Type 12 Terminal Block Box
	Type 10/11 Lead Wire
	Type 12 Lead Wire
	Type 10/11 Circular Connector
	Type 12 Circular Connector
	Type 10/11 Series EX500
	Type 12 Series EX500
	Type 10/11 Series EX600
	Type 12 Series EX600
	Type 10/11 Series EX250
	Type 12 Series EX250
	Type 10/11 Series EX260
	Type 12 Series EX260
	Type 10/11 Series EX126
	Type 12 Series EX126
	Type 10/11 Series EX120
	Type 12 Series EX120
	Common Dimensions
	Series SY3000/5000 Type 10/11 Plug-in Mixed Mounting Type Manifold
	Series SY5000/7000 Type 10/11 Plug-in Mixed Mounting Type Manifold
	Type 12 Plug-in Mixed Mounting Type Manifold
	Type 10/11/12 Manifold Exploded View
	One-touch Fittings and Plug Assembly/Part No.
	Manifold Options
	Specific Product Precautions

	Fieldbus System (For Input/Output): Series EX600
	Features
	How to Order
	SI Unit Specifications
	Digital Unit Specifications
	Analog Unit Specifications
	Parts Description
	Dimensions
	Accessories
	Manifold Solenoid Valves for Series EX600
	SY3000/5000 (Type10/11)
	SY3000/5000 (Type12)
	SV1000/2000/3000
	S0700
	VQC1000
	VQC2000
	VQC4000
	Specific Product Precautions

	2/3 Port Mechanical Valve: Series VM100/200
	Actuator Variations
	Mechanical Valve Variations
	VM100 
	VM200
	Made to Order
	Specific Product Precautions

	Foot Pedal Type 5 Port Mechanical Valve XT34-60/67
	XT34-60 (With lock)
	XT34-67 (Without lock)

	Actuators
	Air Cylinder: Series CJ2 
	Features
	Variations
	Combinations of Standard Products and Made to Order Specifications
	CJ2 Standard Type: Double Acting, Single Rod
	Dimensions of Accessories
	CJ2W  Standard Type: Double Acting, Single Rod
	CJ2 Standard Type: Single Acting, Spring Return/Extend
	CJ2K Non-rotating Rod Type: Double Acting, Single Rod
	CJ2K Non-rotating Rod Type: Single Acting, Spring Return/Extend
	CJ2Z Built-in Speed Controller Type: Double Acting, Single Rod
	CJ2ZW Built-in Speed Controller Type: Double Acting, Double Rod
	CJ2R Direct Mount Type: Double Acting, Single Rod
	CJ2R Direct Mount Type: Single Acting, Spring Return/Extend
	CJ2RK Direct Mount, Non-rotating Rod Type: Double Acting, Single Rod　
	CJ2RK Direct Mount, Non-rotating Rod Type: Single Acting, Spring Return/Extend
	CBJ2 With End Lock
	Auto Switch Mounting
	Prior to Use: Auto Switch Connection and Example
	Simple Specials/Made to Order
	Specific Product Precautions

	Air Cylinder: Series CM2
	Features
	Variations
	Combinations of Standard Products and Made to Order Specifications
	CM2 Standard Type: Double Acting, Single Rod
	Dimensions of Accessories
	CM2W Standard Type: Double Acting, Double Rod
	CM2 Standard Type: Single Acting, Spring Return/Extend
	CM2K Non-rotating Rod Type: Double Acting, Single Rod
	CM2KW Non-rotating Rod Type: Double Acting, Double Rod
	CM2K Non-rotating Rod Type: Single Acting, Spring Return/Extend
	CM2R Direct Mount Type: Double Acting, Single Rod
	CM2RK Direct Mount, Non-rotating Rod Type: Double Acting, Single Rod
	CM2□P Centralized Piping Type: Double Acting, Single Rod
	CBM2 With End Lock
	CM2Q Low Friction Type: Double Acting, Single Rod
	Auto Switch Mounting
	Prior to Use: Auto Switch Connection and Example
	Simple Specials/Made to Order

	Air Cylinder: Series CG1
	Features
	Variations
	Combinations of Standard Products and Made to Order Specifications
	CG1 Standard Type: Double Acting, Single Rod
	Dimensions of Accessories
	CG1W Standard Type: Double Acting, Double Rod
	CG1 Standard Type: Single Acting, Spring Return/Extend
	CG1K Non-rotating Rod Type: Double Acting
	CG1KW Non-rotating Rod Type: Double Acting, Double Rod
	CG1R Direct Mount Type: Double Acting　
	CG1KR Direct Mount, Non-rotating Rod Type
	CBG1 With End Lock
	CG1□Q Low Friction Type: Double Acting, Single Rod
	Auto Switch Mounting
	Prior to Use: Auto Switch Connection and Example
	Simple Specials/Made to Order

	Air Cylinder: Series MB
	Features
	Variations
	Combinations of Standard and Made to Order Specifications
	MB Standard Type: Double Acting, Single Rod
	MBW Standard Type: Double Acting, Double Rod
	MBK Non-rotating Rod Type: Double Acting, Single Rod
	MBKW Non-rotating Rod Type: Double Acting, Double Rod
	MBB With End Lock
	MB□Q Low Friction Type
	Auto Switch Mounting
	Prior to Use: Auto Switch Connection and Example
	Simple Specials/Made to Order
	Specific Product Precautions

	Air Cylinder: Series CA2
	Features
	Variations
	Combinations of Standard Products and Made to Order Specifications
	CA2 Standard Type: Double Acting, Single Rod
	Dimensions of Accessories
	CA2W Standard Type: Double Acting, Double Rod
	CA2K Non-rotating Rod Type: Double Acting, Single Rod
	CA2KW Non-rotating Rod Type: Double Acting, Double Rod
	CBA2 With End Lock
	CA2□H Air-hydro Type: Double Acting, Single Rod
	CA2W□H Air-hydro Type: Double Acting, Double Rod
	CA2□Q Low Friction Type
	Auto Switch Mounting
	Prior to Use: Auto Switch Connection and Example
	Simple Specials/Made to Order
	Specific Product Precautions

	Compact Cylinders/Double Clevis Pivot Bracket: Series CQ2/CQS
	Cylinder with Stable Lubrication Function (Lube-retainer)
	CM2 Air Cylinder/Standard: Double Acting, Single Rod
	CG1 Air Cylinder/Standard: Double Acting, Single Rod
	CA2 Air Cylinder/Standard: Double Acting, Single Rod
	CQS Compact Cylinder/Standard: Double Acting, Single Rod
	CQ2 Compact Cylinder/Standard: Double Acting, Single Rod
	MXQ□A Air Slide Table/Double Ported Type
	MGP Compact Guide Cylinder
	CXS Dual Rod Cylinder

	Floating Joint: For Pneumatic Cylinders (φ180, φ200) JA-X530
	Compact Slide: Series MXH 
	Features, Series Variations
	Model Selection
	How to Order
	Specifications, Standard Stroke, Theoretical Output, Weight
	Table Displacement
	Table Displacement, Table Accuracy, Allowable Moment
	Construction
	Dimensions
	Auto Switch Mounting
	Prior to Use: Auto Switch Connection and Example
	Simple Specials
	Made to Order
	Specific Product Precautions

	Air Slide Table: Series MXQ
	Combination chart of guide size and cylinder size
	Features
	INDEX
	MXQ□A Double Ported Type
	MXQ□B Low Thrust with High Rigidity Type
	MXQ□C Single Side Ported Type
	MXQ Height Interchangeable Type
	Common Adjuster Options
	Auto Switch Mounting
	Made to Order
	Model Selection
	Specific Product Precautions

	Compact Guide Cylinder: Series MGP
	Features
	Series Variations
	Combination of Standard Products and Made to Order Specifications
	Specific Product Precautions
	MGP Standard Type　　
	Model Selection
	Construction
	Dimensions
	MGP-A With Air Cushion
	Model Selection
	Construction
	Dimensions
	Auto Switch Mounting
	Prior to Use: Auto Switch Connection and Example
	Simple Specials/Made to Order

	Smooth/Low Speed Cylinders: Series C□Y/C□X
	Features
	Smooth Cylinders: Series C□Y
	CJ2Y Double Acting: Single Rod
	CM2Y 
	CG1Y 
	MBY 
	CA2Y 
	CS2Y 
	CQSY
	CQ2Y 
	Low Speed Cylinders: Series C□X
	CJ2X Double Acting: Single Rod
	CM2X Double Acting: Single Rod
	CQSX Double Acting: Single Rod
	CQ2X Standard Type: Double Acting, Single Rod
	CUX Double Acting: Single Rod
	Specific Product Precautions
	Simple Specials/Made to Order
	Related Products/Made to Order (-XB13)
	Related Products: Speed Controllers for Low Speed Operation

	Clamp Cylinder: Series CK□1
	Features, Series Variations
	CKG1/CKP1 Magnetic Field Resistant Auto Switch (Rod Mounting Style)
	CK1/CKG1 Magnetic Field Resistant Auto Switch (Band Mounting Style)
	CKG1 Standard Auto Switch (Band Mounting Style)
	Options
	Auto Switch Mounting
	Standard Auto Switch Mounting
	Prior to Use: Auto Switch Connection and Example
	Made to Order
	Specific Product Precautions
	Related Products

	Pin Clamp Cylinders: Series C（L）KQG32/C（L）KU32
	Features
	C（L）KQG32 Compact Cylinder Type
	C（L）KU32 Plate Cylinder Type
	C（L）KU32 Small Auto Switch Mounting/Plate Cylinder Type
	Options
	Auto Switch Mounting

	Pin Plate Cylinder: Series C（L）KU32-X2359　
	How to Order
	Specifications, Clamping Force, Weight, Replacement Parts
	Dimensions
	Option/Auto Switch Mounting

	Pin Shift Cylinder: CKQG-X2370/CKQP-X2371
	How to Order
	Specifications, Theoretical Output, Weight, Rod End Deflection
	Dimensions
	Auto Switch Mounting

	Slim-line Power Clamp Cylinder: CKZ2N-X2346
	How to Order, Maximum Clamping Moment, Cylinder Specifications, Solid State Auto Switch Specifications
	Setup Procedure
	Dimensions

	Frame Clamp Cylinder: Series WRF100
	How to Order, Specifications
	Dimensions
	Protective Cover Kit (Option)
	Limit Switch Mounting Bracket (Option)
	Specific Product Precautions

	Rotary Actuator/Vane Type: Series CRB□2
	Features
	Series Variations
	CRB2 Rotary Actuator
	CRB2□WU Rotary Actuator with Angle Adjuster
	CRBU2 Free Mount Type Rotary Actuator
	CRBU2WU Free Mount Type Rotary Actuator With Angle Adjuster
	Simple Specials -XA1 to -XA24: Shaft Pattern Sequencing1
	Simple Specials -XA31 to -XA58: Shaft Pattern Sequencing2
	Made to Order XC1/2/3/4/5/6/7/30
	Component Unit
	Angle Adjustment Setting
	With Auto Switch

	Rotary Actuator: Series CRA1
	Features
	Series Variations
	CRA1 Rotary Actuator
	CRA1□□U Rotary Actuator: Angle Adjustable Type
	Auto Switch Mounting
	Simple Specials
	Made to Order
	Made to Order: -X6 to -X16

	Parallel Style Air Gripper With Dust Cover: MHZL2-X6110/MHZJ2-X6100
	MHZL2-X6110 Long Stroke Type/With Dust Cover
	MHZJ2-X6100 With Dust Cover

	Parallel Style Air Gripper: 3 Finger/Single Acting: MHS3-X84
	How to Order
	Models/Specifications
	Gripping Point, External Effective Gripping Force
	Internal Effective Gripping Force
	Dimensions
	Protrusion of Auto Switch from Edge of Body
	Auto Switch Mounting
	Specific Product Precautions

	Trimmer Auto Switch: Series D-M9K/D-□7K/D-R□K
	Features
	Specifications, Internal Circuit
	Applicable Actuators and Operating Range
	Dimensions
	How to Mount and Move the Auto Switch
	Specific Product Precautions

	Vacuum Equipment
	Vacuum Unit(Vacuum Ejector/Vacuum Pump System): Series ZK2 
	Features
	INDEX
	How to Order Single Unit: Vacuum Pump System
	How to Order Single Unit: Ejector System
	How to Order Manifold
	Specifications, Weight
	Ejector Exhaust Characteristics/Flow-rate Characteristics
	Vacuum Pump System Flow-rate Characteristics, Vacuum Release Flow-rate Characteristics
	How to Read Flow-rate Characteristics Graph
	Pressure Sensor/Digital Pressure Switch for Vacuum Specifications
	Digital Pressure Switch for Vacuum Specifications, Description, Internal Circuit and Wiring Example
	Port Layout
	Construction
	Replacement Parts/How to Order
	Exploded View of Manifold
	Dimensions
	Electrical Wiring Specifications, Optional Specifications/Functions/Applications
	Cable Assembly
	Specific Product Precautions

	4.5-Stage Bellows Pad: Series ZP2
	With adapter: How to Order
	With adapter: Dimensions
	Pad unit: How to Order, Dimensions
	Component Parts
	Mounting Adapter Part No.
	Pad Displacement to Vacuum Pressure

	Vacuum Saving Valve: Series ZP2V
	Model Selection
	How to Order, Specifications
	Working Principle, Construction
	Dimensions
	Specific Product Precautions

	Non-contact Gripper: Series XT661
	Cyclone Type
	Low Profile Cyclone Type (-X260)
	Bernoulli Type
	Related Products
	Model Selection
	How to Order, Specifications
	Sold Separately Options: External Stopper
	Lifting Force, Air Consumption, Lifting Force-Distance from the Workpiece
	Vibration
	Construction
	Dimensions

	Model Index
	Safety Instructions



